# F.No. 7-3/2019-IS-13 Government of India Ministry of Human Resource Development Department of School Education & Literacy (IS-13 Section)

\*\*\*\*

Shastri Bhawan, New Delhi Date: 16.07.2019

Subject: Minutes of the Meeting of the Project Approval Board (PAB) held on 14<sup>th</sup> May, 2019 to consider the Annual Work Plan & Budget (AWP&B), 2019-20 of Samagra Shiksha for the State of Chhattisgarh –reg.

The Meeting of the Project Approval Board (PAB) for considering the Annual Work Plan & Budget (AWP&B), 2019-20 under Samagra Shiksha for the State of Chhattisgarh was held on 14<sup>th</sup> May, 2019.

A copy of the minutes in respect of Chhattisgarh is enclosed.

(Ashok Giri) Under Secretary to the Govt. of India 011-23381849

# To

- 1. Secretary, Ministry of W & C.D.
- Secretary, Ministry of Labour & Employment.
- 3. Secretary, Ministry of Social Justice & Empowerment
- 4. Secretary, Ministry of Tribal Affairs
- 5. Secretary, Ministry of Drinking Water & Sanitation, 4<sup>th</sup> floor, Paryavaran Bhavan, CGO Complex, Lodhi Road, New Delhi-110003.
- Secretary, Ministry of Minority Affairs, 11<sup>th</sup> floor, Paryavaran Bhavan, CGO Complex, Lodhi Road, New Delhi-110003.
- 7. Secretary, Department of Empowerment of Persons With Disabilities, Ministry of Social Justice & Empowerment
- Adviser (Education), Niti Aavog.
- Director, NCERT- with a request to kindly nominate faculties for PAB meetings.
- 10. Vice Chancellor, NIEPA
- 11. Chairperson, NCTE, Hans Bhawan, Wing II, 1 Bahadur Shah Zafar Marg, New Delhi 110002.
- 12. Vice Chancellor, IGNOU, Maidan Garhi, New Delhi
- 13. Member Secretary, NCPCR, 5<sup>th</sup> Floor, Chanderlok Building, Janpath, New Delhi-110001.
- 14. Ms. L.S. Changsan, JS(SS-I)

- 15. Shri Sachin Sinha, JS(AE&Coord)
- 16. Shri Maneesh Garg, JS(SS-II)
- 17. Ms. Darshan M Dabral, JS&FA, MHRD
- 18. Shri R. C. Meena, JS (MDM)
- 19. Secretary (Education), Government of Chhattisgarh.
- 20. State Project Director, Chhattisgarh.

# Copy to:

- 1. All Divisional Heads of ISSE Bureau I & II.
- 2. All Under Secretaries of ISSE Bureau I & II
- 3. Ms. Kiran Dogra, Sr. Consultant for circulation among the appraisal Team.
- NIC/PMS-with request to upload minutes on the portal.

# Copy for information to:-

PPS to Secy (SE&L)

(Ashok Giri)

Under Secretary to the Govt. India

# Government of India Ministry of Human Resource Development Department of School Education and Literacy

Minutes of the meeting of the Project Approval Board held on 14<sup>th</sup> May 2019 to consider the Annual Work Plan & Budget (AWP&B) 2019-20 of Samagra Shiksha for the State of Chhattisgarh.

# 1. <u>Introduction</u>

The meeting of the Project Approval Board for considering the Annual Work Plan and Budget (AWP&B) 2019-20 for SAMAGRA SHIKSHA for the State of Chhattisgarh was held on 14<sup>th</sup> May 2019. The list of participants who attended the meeting is attached at *Annexure-I*.

#### 2. Initiatives of the State

Ms. Rina Ray, Secretary (SE&L) invited Chhattisgarh to give a presentation on school education in the State. Sh. Gaurav Dwivedi, Secretary (Chhattisgarh), gave a presentation which included the following major points:

- a) State has conducted State Level Assessment replacing the district led traditional Summative Assessment II through SCERT. This assessment was introduced from classes one to eight including all subjects and different medium. SCERT developed question papers based on Learning Outcomes and the whole assessment was conducted systematically using observers from adjacent schools and paper evaluation in different clusters. The entries were done online using an app developed by NIC, Chhattisgarh.
- b) The state is now developing a Unified Digital System (UDS) for school education department. Under this there will be a single source of database. This will help the department for proper planning, budgeting and implementation of various schemes.
- c) State has introduced Teacher Training Management System which helps the state to design teacher training programs, identify teachers as per their interest as well as needs, opt for different sessions, pre and post tests to know the impact of capacity building programs and different follow-up activities to improve classroom performance after training programs.
- d) State has started a special school "Akar" in Sukma through PPP mode and 100 children with special needs are having education through residential facilities under the care of special teachers.
- e) State shared the process of absorbing teachers from Panchayat Department to School Education Department. Now all the teachers are under direct control of School Education Department.
- f) State has offered different online courses for teachers, from which more than one lakh teachers have benefited.
- g) State has organised job fairs for vocational education students in which 329 students were placed.

A soft copy of the State's presentation is available at 'www. samagra.mhrd.gov.in'.

#### 3. Review of Commitments and Expected Outcomes & Action Taken during 2018-19

The progress made in implementing the commitments and expected outcomes given by the State in 2018-19 was reviewed and the status in respect of pending items is as under:

Sl. No.	Commitment and Expected Outcomes	Action Taken	Comments of PAB 2019-20
1	For the year 2017-18, State has identified 24714 Out of School Children (OoSC) and it has committed that all will be enrolled in schools during 2018-19	8236 OoSC children are yet to be enrolled, only 16478 children were enrolled.	ensure 100%
2	Dropout rate will be reduced at elementary level and secondary level especially for girls	Dropout rate has been reduced but still very high at secondary level.	reduce high dropout
3	The State has committed to complete the previously approved construction works.	The state has yet to complete 10.11% pending civil works against sanctioned at secondary level.	the pending civil work on priority and

# 4. Review of Performance during 2018-19

State has secured a score of 732 in Performance Grading Index (PGI) and was placed in Grade III (actually Category VI as no States are in the levels of 850 and above which form the first three levels). The Domain-wise Gaps are shown below:

	Categ	Category 2	Total		
Domain 1	Domain 2	Domain 3	Domain 4	Domain 1	All Domains
(180)	(80)	(150)	(230)	(360)	(1000)
46	14	37	24	147	268

State was requested to examine its score in each domain and take measures to improve its overall PGI.

**a)** Learning Outcomes & Quality (C-1, D-1): As per National Achievement Survey (NAS) score, State need to lay more focus on Learning Outcomes with respect to all classes.

State was requested to analyse NAS results and provide interventions to improve learning outcomes of the students.

**b) Access Outcomes (C-1, D-2):** The State has achieved 94.29% transition rate from primary to upper primary Level but 100% transition has not been achieved.

State was requested to take steps to ensure 100% transition rate.

c) Infrastructure & Facilities (C-1, D-3): State need to focus on CAL in Upper Primary Schools, Lab facilities in Secondary Schools, Vocational Education, Drinking Water facility in schools and Free Textbook for elementary students within a month of the start of the academic session.

State was advised to set-up CAL facilities and Science Lab facilities in upperprimary and secondary schools respectively and ensure timely delivery of text books before the start of academic session.

**d) Equity Outcomes (C-1, D-4):** State needs to focus on CWSN receiving Aids and Appliances, provision of Ramps for CWSN and Functional CWSN friendly toilets in schools.

State was requested to focus on accessibility for CWSN in all schools.

e) Governance Process (C-2, D-1) Indicators requiring more focus are: Teachers ID in Electronic database (2.1.2), Students and Teachers Attendance captured digitally (2.1.3, 2.1.4), Availability of required number of Teachers, Head-teacher and Principals (2.1.9, 2.1.10 and 2.1.11) Position filled in DIETs (2.1.12), Teachers Evaluated (2.1.17), School Leadership & Teacher Training (2.1.18), Teacher recruitment and Transfer through transparent online system (2.1.21, 2.1.22) and Head-teachers/principals recruited through a merit-based selection system (2.1.23).

State was requested to examine all these indicators and take necessary actions for improving them.

#### 5. Appraisal issues

- a) In SCERT, 45 academic posts need to be sanctioned as per scheme. State Govt. has sanctioned only 31 posts, out of which only 28 are filled up. State has been requested to fill up all the post.
- **b)** As per the scheme 475 academic posts (19 DIETs x 25) need to be sanctioned. State Govt. has sanctioned only 361 academic posts, out of which 198 are filled up, the vacant posts may be filled on priority.
- c) In 2018-19, PAB had given in-principal approval to DIET Surajpur and Gariyabad. The State Govt. is yet to submit the complete documents including PWD estimates. State has been requested to submit required documents.
- **d)** State has not been able to complete construction of 02 KGBV buildings in Type IV. State was asked to take up these pending civil works on priority.

# 6. New Approaches 2019-20

During the year 2019-20, certain new approaches have been introduced for enhancing the effectiveness of the Samagra Shiksha scheme and making it more outcomes oriented. These new approaches aim to engage all administrators, schools, teachers and children in activities which would enable to improve the learning outcomes and also measure the impact and outcome of various components under the scheme.

A presentation on the New Approaches was given and after discussions, these details have been incorporated in the **activity wise details mentioned in Para 10**. These are given below:

# i) PISA (Programme for International Student Assessment)

PISA is conducted by 'Organization for Economic Co-operation and Development' every three years. It is a competency based assessment which unlike content-based assessment, measures the extent to which students have acquired key competencies. The assessment tests the children in Reading, Mathematics and Science. Learning from participation in PISA will help to introduce competency based examination reforms in the school system and move away from rote learning. Schools run by *Kendriya Vidyalaya Sangathan (KVS)*, *Navodaya Vidyalaya Samiti (NVS) and Chandigarh all of which are affiliated to CBSE will participate in PISA*, 2020-21. Although no specific activity or funding has been given for PISA to the states, MHRD will involve all States and UTs in orientation and capacity building programme for PISA.

#### ii) Shagunotsav

This is a Census based audit to be carried out in September, 2019 of all 11.85 lakh government and government aided schools in all States and UTs including nearly 7 lakh standalone primary schools. Data on various school based parameters is presently collected through the tools of Unified District Information System for Education (UDISE), SHAGUN, Project Monitoring System (PMS) and Performance Grading Index (PGI) to assess the quality and infrastructure at school level. However, the same is not corroborated through field visits. Feedback received from Central Prabhari Officers of aspirational districts has shown that many schools are not visited at all or the frequency of visit is very less. Therefore, a need was felt to take up the exercise of school based census to cover each and every school to ascertain the adequacy of infrastructure facilities, teachers, students, school management and community participation.

The parameters for the school census are to be based on the indicators monitored through UDISE+, PGI and Shagun. Assessment of Learning Outcome will not be part of this evaluation as it will be conducted through the next round of NAS/School Based Assessments. The feedback will help in facilitating the system to be responsive to school specific needs and initiate appropriate policy interventions. The guidelines for the programme have been issued on 25<sup>th</sup> April, 2019.

#### iii) Integrated Teacher Training Programme (Elementary level)

In-service teacher and teacher educators training have been an integral part of erstwhile Schemes of Sarva Shiksha Abhiyan (SSA), Rashtriya Madhyamik Shiksha Abhiyan (RMSA) and Centrally Sponsored Scheme on Teacher Education (CSSTE). As per the framework of Samagra Shiksha, various kind of trainings such as training for Principals/HMs (Refresher and Residential), Teachers (Refresher and Induction), Teacher Educators (Residential, Training of Master Trainers and Programme and Activities), Training of Educational Administrators (Residential) and Training for School Management and Development Committee (SMDC) Members are provided in different components. This kind of segmentation has adversely affected the efficacy of training. Therefore, an integrated approach by subsuming abovementioned trainings

into a standardised comprehensive training package has been envisaged in order to ensure effectiveness of school eco-system and improvement in learning outcomes. This is first time when the Department through its academic bodies such as National Council of Educational Research and Training (NCERT) and National Institute of Educational Planning and Administration (NIEPA) is taking a lead role and will conduct face to face training for around 32000 Key Resource Persons (KRPs) across all the States and UTs.

Earlier in-service teacher trainings were conducted by the concerned States and UTs through State Councils of Educational Research and Training (SCERTs) or any other agency as selected by them. Even after providing teachers training for last so many years, the efficacy of the training and its impact on improvement of learning outcome remain a big question. Cascade method with multiple layers has resulted in high percentage of communication loss when it reached grass root level. Requests have been received from many States and UTs to provide support in this regard. Recently, NCERT conducted a pilot in Tripura and trained 31000 teachers directly through Key Resource Persons (KRPs) trained by NCERT. After successful implementation of integrated teacher training in Tripura, it has been decided to scale up this model at national level and implement in all States and UTs. NCERT and NIEPA have been identified to lead this training in a mission mode in defined time period.

- 'Integrated Teacher Training Programme' would address concerns such as learner-centred pedagogy, learning outcomes, creating safe and secure environment in schools, role of community in improving school education, school based assessment, etc., which are required to reach the grass root level (i.e., to the teacher). For this, an integrated teacher training programme will be conducted in the months of June November 2019 to directly train all 41 lakh teachers, school heads, BRCs and CRCs at the elementary level.
- This training will prepare teachers for School Based Assessment to be conducted in December, 2019 in all the schools.
- NCERT will formulate 8 National Resource Groups (NRGs) having 15 Resource Persons each, including experts from NIEPA. NRG from NCERT and NIEPA will include experts in different subject areas and generic issues.
- NRGs will conduct face to face training for the Key Resource Persons (KRPs) identified at the State and UT level, which shall include faculty members of DIETs, SCERTs, IASEs, CTEs, Senior Secondary Schools, BRCs, etc.
- Key Resource Persons will form a group called State Resource Group (SRGs), which will have 6 Resource Persons (5 KRPs + 1 School head trained under School leadership Programme of NIEPA). These SRGs will directly conduct training for teachers, Head Teachers/Head Masters, BRCCs and CRCCs at block level. One SRG will train about 125-150 participants at a time.
- A Learning Management System (LMS) Portal and a Mobile App will be developed by NCERT for registration of Resource Persons and Teachers, dissemination of resources, training gap analysis, monitoring, mentoring and measuring the progress online. Guidelines for the training of KRPs, SRPs and Teachers will be prepared along with the modules and shared with the States and UTs.

This training envisages to achieve both tangible and intangible benefits in terms of 100% coverage of elementary stage teachers, Head Masters/Head Teachers, Principals, faculty of SCERT and DIETs, Block Resource Centre Coordinator (BRCC), Cluster Resource Centre Coordinator (CRCC), who are trained through an integrated teacher training package. This will be helpful in making classrooms learner-friendly and improving children's competencies including critical thinking, problem solving, creativity, as well as social-personal qualities such as cooperation, team work etc.

#### iv) School Based Assessment (SBA)

Preparations for NAS 2020 (Pre NAS 2020) interventions have been initiated to reach out to all the districts of different States and UTs. In this context, a School Based Assessment (SBA) is proposed to be conducted throughout the country to assess the Learning Outcomes of all the children at the Elementary level. The purpose of the SBA is to empower the teachers to improve the learning levels of the students.

A framework to improve the quality of learning through SBA in the schools is being prepared which would focus on bringing in its ambit school leaders, teachers and the whole network of officials at blocks, DIETs, SCERT and the Directorates of Education in different States ad UTs. The key features of the School Based Assessment are:

- It is proposed to be a decentralised test where the preparation of the test papers will be done at District level for which training will be given by NCERT and administration of the test will be at the school level.
- Non standardized assessment would be used to link to individual learning styles of each child. Emphasis will be on portfolio, self and peer assessment used in conjunction with teacher assessment. Assessment of personal social qualities along with cognitive competencies will be encouraged. A strong and relevant feedback mechanism will be inbuilt allowing the teacher to give immediate and constructive feedback to students.
- SBA would have an online reporting system of both school and teacher level performance which can be monitored at the District, State and National level.
- Guidelines, handbook, videos, e-books and e-learning materials will be developed for conduct of SBA and shared with the States and UTs.
- SBA would involve in its framework 'a whole school approach' which involves the
  participation of the community in the learning process. Students' progress would be
  discussed with the parents and shared with the SMCs and suggestions would be
  sought.
- In implementing the SBA, emphasis will be on on-site mentoring by the Cluster Resource Center Coordinator (CRCC). The CRCCs would nurture and support the teachers on a regular basis. Teachers would be encouraged to participate in quality circles within the clusters.
- Sample checking by an external agency will be done to validate the data from the schools.

#### v) Strengthening of CRCs - Mobility support to CRCs

The Cluster Resource Centres are the most critical units for training and on-site support to schools and teachers. The CRCs need to undertake regular visits and organise monthly meetings to discuss academic issues and design strategies for better school performance. Periodic inspection and supervision of schools to observe the infrastructure and facilities and the administrative aspects is critical.

In addition, a proper system of academic and curricular support has to be developed to serve the purpose of continuous professional up gradation of teachers. In this context, each Cluster Resource Coordinator should visit the schools and provide onsite academic support under his/her jurisdiction at least once in 2 months and send reports on a common platform to be shared by MHRD.

# vi) School Management Committee (SMC) Training

Training of SMC members is required to be conducted by the Cluster Resource Coordinator (CRC). Four Quarterly meetings of SMC would be held in a year on dates to be notified by the state government for all the schools. Support for holding the meetings and uploading quarterly reports on a Mobile App on the meeting held as well as on the status/activities of the school will be provided.

# vii) Display of LOGO of Samagra Shiksha

A Logo is the symbol of the vision and sprit of the Scheme. A logo also helps in fostering the spirit and building a bond between the school, the student and the community at large. Earlier, SSA logo was painted on school walls which was very well received by the community and helped in identifying the schools.

Thus, it becomes important for all schools to display the logo prominently on the premises. All schools will be required to display the logo of 'Samagra Shiksha' along with facilities under the scheme such as free text books, free uniforms etc. at prominent place through wall paintings or display board. The design of the logo will be shared by MHRD.

# viii) Shagun Repository

This has been designed to change the narrative on school education by showcasing the multitude of innovative & successful models being implemented by all States and UTs in diverse circumstances. It enables the successful initiatives to be replicated & taken to scale. It encourages all States and UTs to positively compete with each other to carry out and upload best practices. This repository of good practices focuses on positive stories and developments that are driving performance improvements in school education. These innovative practices are documented in the form of case studies, videos, testimonials and images for which support is being provided under Samagra Shiksha.

## ix) Constitution of Youth Club and Eco Club

Youth clubs in schools are an instrument to develop life skills, build self-esteem, develop self-confidence and resilience and counter negative emotions of stress, shame and fear.

# Eco clubs will carry out activities related to water conservation, specially during the period of Jal Shakti Abiyan campaign starting from July, 2019.

Eco clubs in schools will empower students to participate and take up meaningful environmental activities and projects. It is a forum through which students can reach out to influence, engage their parents and neighbourhood communities to promote sound environmental behaviour. It will empower students to explore environmental concepts and actions beyond the confines of a syllabus or curriculum.

In view of the above, all schools will constitute Youth and Eco clubs for students where they can participate in activities such as debates, music, arts, sports, reading, physical activities after school hours and during vacation. These would help in utilising the ideal school infrastructure particularly playing fields, sports equipment and libraries which will help the students to develop hobbies, skills and interests they might not otherwise be able to explore.

# x) Issue of Identity card to teachers

In order to ensure quality of education, it is essential that duly appointed teachers are present in schools. Hence, the States and UTs is required to issue identity cards to all their regular and contractual teachers of elementary and secondary/higher secondary schools having the details such as photograph & name of the teacher along with name of the School with U-DISE Code, Full Address of the school with Block, Village, District, and Designation etc. PGI indicator 2.1.6 will be amended to replace teachers' photos with ID cards for teachers.

#### xi) Rangotsav

For the promotion of experiential learning and joyful learning, various activities are organized for both students and teachers. Some of the major activities under taken are Kala Utsav; Role Play Competition; Band Competition; Music Teacher Competition and Folk dance competition. While competitions will be organized at the secondary level, focus may be on joyful learning at elementary level.

#### xii) School Safety & Security

The issue of school safety has become more complex moving beyond corporal punishment to bullying, physical violence, sexual, psychological and emotional violence, even leading to death in extreme cases. In the recent past, there have been reports of violence and tragic incidents in schools including murder, assault and rape. This is a key cause of worry, demanding a school safety and security framework and plan of action.

The scheme of Samagra Shiksha endeavours to provide every child access to education in an environment that is safe, protective and conducive to growth & development. The teachers need to function as first step counsellor within the school. Also, every school is required to display a board on safety with helpline and emergency numbers and contact persons.

# xiii) Performance Grading Index

The Performance Grading Index (PGI) has been designed to cater to the transformational change in the field of school education, where the focus has now shifted to the quality of education. The index comprising of 70 indicators would propel States and UTs towards undertaking multipronged interventions that will bring about the much desired educational outcomes.

#### xiv) UDISE +

This is an improved and updated version of UDISE. The entire system will be online and gradually move towards collecting real time data. Some of the expected outcomes of UDISE+ are: Evidence based planning and decision making: data analytics to identify factors affecting school performance: time series data to study the trend over years and monitor improvement and growth: track key performance indicators and rationalization of schools and teachers based on evidence.

#### xv) Reporting by the Head Masters/Principals

In order to monitor the expenditure under Samagra Shiksha and ensure that all the services and facilities reach the schools, a detailed system of obtaining reports every two months from every Head Master & Principal in a government school will be put in place. The reporting will be done through a Mobile App, which will be compiled at a central server where the software will generate discrepancy reports, which will then be followed up for correction/necessary action.

# xvi) Reporting by the BRCs

The potential of BRCs as academic resource centers is yet to be realized and their role and functions are to be academically channelized. BRCs/URCs need to function as resource centres to study the problems and to design strategies to address the academic issues in schools.

The Block Resource persons will be adequately trained and utilized more effectively. Under the Integrated Teacher Training Programme all the target groups, namely, teachers, principals, block and cluster resource persons, etc., will be brought on the same platform and oriented on similar content focusing on their specific roles and responsibility. There will be regular visits by the BRPs to schools for continuous monitoring, follow-ups and to ensure that learnings from training are translated in classroom transactions. The reporting will be done through the Mobile App which will be compiled at a central server where the software will generate discrepancy reports which will then be followed up for necessary action.

#### 7. Total Estimated Budget (2019-20)

The estimates for the AWP&B for 2019-20 under Elementary, Teacher Education and Secondary are as under: -

(Rs. in lakh)

Head	Spill over	Non-Recurring (Fresh)	Recurring * (Fresh)	Total
Elementary	17773.60	2910.92	139510.81	160195.33
Secondary	46246.01	6359.39	30899.66	83505.06
<b>Teacher Education</b>	1218.90	0.00	2350.44	3569.34
Total	65238.51	9270.31	172760.91	247269.73

Includes Programme Management (MMER)

# 8. Actual Releases by GOI during 2019-20

Against the above estimates, **Central Government shall provide to the State Government**, Rs.1039.58 **crore as its share (Rs. 847.51 crore for elementary, Rs. 179.49 crore for secondary & senior secondary and Rs. 12.56 crore for Teacher Education)**. The State would contribute Rs. 693.05 crore as its State share matching the above Central share as per the existing fund sharing pattern of Samagra Shiksha. State will also be able to utilise their unspent balances as on 31st March, 2019 for the activities approved in 2019-20 including spill over.

The additional requirement of funds as proposed by the States in the meeting has been examined and based on the norms & the criteria of the Samagra Shiksha Scheme, the funds for the eligible activities has been considered and provided in the estimates.

There are likely to be savings at the end of the calendar year. Therefore, supplementary PAB meeting on the balance request of the States may be considered separately sometime in the month of October-November, 2019.

Chhattisgarh is advised to prioritise the following activities besides RTE entitlements which would help the States in improving the grades under PGI, and particularly learning outcomes (as brought out from the post NAS-2017 analysis).

Sl. No.	Priority activities
1	Composite School Grant
2	Integrated Teacher Training (EE) including Printing of Integrated Teacher
	Training package
3	CRC mentoring of Schools and Teachers
4	School Based Assessment (EE)
5	School Audit (Shagunotsav) (EE & SE)
6	Display Board on Safety Guidelines (EE & SE)
7	Library Grant
8	Sports & Physical Education
9	Constitution of Youth Club and Eco Club (for all classes)
10	Logo and Display Board -Samagra Shiksha (for all schools)

As per Section 7(5) of the RTE Act, 2009, the State Government shall after taking into consideration the sum provided by the Central Government above and the mandatory matching State share, provide the balance funds necessary to fulfil the estimate for the implementation of the Act. It is recommended that the State should meet the balance amount from its own resources including the additional funds devolved under the 14th Finance Commission.

The interventions under the Samagra Shiksha comprise of activities pertaining to Elementary, Secondary and Teacher Education respectively and there is a single Budget for Samagra Shiksha in the Demand for Grants (BE) 2019-20.

The release of funds would be from a single Budget Head only. However, for purposes of ascertaining the quantum of funds going to each component, the Sub-Heads for Elementary (including Teacher Education) and Secondary Education has been classified separately.

The State should invariably provide Single Budget Head during 2019-20 and the nomenclature should be Samagra Shiksha. Since Samagra Shiksha would be catering to various activities relating to RTE entitlements and all other Elementary interventions as well as Teacher Training and activities for BRC and CRCS which forms the portion of Teacher Education activities as well as for

Secondary Education, the States shall also provide a suitable Nomenclature with Sub-Heads to identify the disbursement of funds separately under all components of Samagra Shiksha.

#### 9. Release of Funds:

The release of funds under the scheme will be further guided by the following conditions:

- **a)** State should release/transfer the central share to State Implementing Society within 15 days of its receipt in the State Treasury.
- **b)** The State share should be released to the State Implementing Society within one month of the release of the central share.
- c) All releases by the Centre would be subject to fulfilment of provisions of GFR by the State. The procurement guidelines as prescribed in the FM&P Manual should be adhered to and all procurement activities by the States and UTs should be routed through GEM portal.
- **d)** All guidelines issued by MHRD regarding utilisation of funds under the scheme will be followed.
- **e)** The release of central share of funds to all the States and UTs is subject to fulfilling the submission of documents, reports, financial statements as prescribed in the Samagra Shiksha FMP Manual.
- f) The ad-hoc amount of instalment has been released to the eligible States during April-May, 2019.

As regards the balance of funds to be released towards  $1^{st}$  instalment and  $2^{nd}$  instalment, the conditions to be fulfilled are as under:

The 1<sup>st</sup> Instalment would be released only after proposal for release of first instalment is received from State Government along with:

- Approval of Annual Plans by PAB;
- Transfer of GOI share of previous year to SIS from State Treasury;

- Release of commensurate State share for previous year; and release of full GOI share of ad-hoc release of Central Government to SIS along with matching State share by State Government.
- Submission of provisional UC for previous year. The utilization certificate should be duly countersigned by the Administrative Secretary/ Finance Secretary
- Confirmation of state towards provisions of matching State share in the State Budget for the current financial year.
- Provisional Expenditure Statement of the current year
- Statement of Outstanding Advances Accrued, adjusted and pending till date.
- Physical Progress of Civil Works up to March 2019

# The 2<sup>nd</sup> instalment would be released only after:

- Request letter is received from State/UT for release of 2<sup>nd</sup> instalment.
- Latest expenditure statement (Capital Head and General Head separately) of the State Implementation Society for 2019-20 for EE, SE and TE components. Expenditure statement should indicate the release of GoI share from previous instalment to SIS from Treasury.
- Final Utilization Certification (Capital and General Head separately and on separate pages) for the year 2018-19 for EE, SE and TE components, along with consolidated Audited UCs separately for General Head and Capital Head, must contain General component, SC component and ST component-wise financial details. The audited UCs should be counter signed by Administrative Secretary of the Department/Finance Secretary.
- Statement showing cumulative status of state share since inception of SSA, RMSA and TE.
- Audit report of Samagra Shiksha for the year 2018-19
- Statement showing details on outstanding advances accrued, adjusted and pending till date for EE, SE and TE components.
- Action taken report on the Pending Audit observations for SSA and RMSA.
- Documents relating to creation of combined State Implementing Society (SIS) for implementation of Samagra Shiksha.
- Receipt of Central Share of balance of 1st instalment by SIS.
- Receipt of Central Share along with matching State share of 1st instalment by SIS.
- Physical progress report of Civil Works.
- Latest Annual Report.
- All procurement activities are to be carried out invariably through the GEM portal only.

These minutes have been designed as a working document to be implemented and monitored throughout the year. They include the focus areas and new approaches of MHRD which have been deliberated in detail in the PAB meetings. The objective of this is to have emphasis on quality of education and real time monitoring of activities under Samagra Shiksha through UDISE+, PGI, Mobile Apps, and Field Inspections. Many activities are shown separately for elementary and secondary due to different budget subheads. State specific projects are shown separately for clarity and monitoring purposes. **State will provide details of the Districts, Blocks and Schools, along with UDISE code where the activities have been conducted.** The minutes also include expected outcomes and monitoring mechanism for each activity which will help States and UTs in assessing their performance.

# 10. Activity wise details and estimates approved:

# 1) Access and Retention

**(a) Opening of New / Upgraded Schools:** An outlay of Rs.12.84 lakh was estimated for upgradation of 01 primary school to new upper primary school and Rs.677.88 lakh was estimated for 09 new secondary schools @Rs.75.32 Lakh for 2 section schools. A recurring cost of Rs.225.00 lakh for Subject Teachers for these schools was also estimated. List of new/upgraded upper primary/secondary schools is at *Annexure-II*.

(Rs. in lakh)

Activity Master	Physical	Unit Cost	Financial				
Opening of New Schools - NR (Elementary)	Opening of New Schools - NR (Elementary)						
Upgradation of PS to UPS (VI – VIII)	1	12.84	12.84				
Total of Opening of New Schools - NR (Elementary)			12.84				
Opening of New / Upgraded Schools - NR (Sec	ondary)						
2 Section School (Class IX - X)	9	75.32	677.88				
Total of Opening of New / Upgraded Schools - NR (Secondary)			677.88				
Opening of New / Upgraded Schools - Recurri	ng (Second	lary)					
Subject Teacher	9	25.00	225.00				
Total of Opening of New / Upgraded Schools - Recurring (Secondary)			225.00				
Total of Opening of New / Upgraded Schools			915.72				

**(b) Residential Schools/Hostels:** Samagra Shiksha supports the provision of residential facilities for boys and girls to serve children in sparsely populated areas of tribal, desert or hilly districts, where it may not be viable to set up a full-fledged school. Residential facilities are provided to serve children in sparsely populated areas include hilly and densely forest with difficult geographical terrains.

An outlay of Rs.488.30 lakh was estimated for 07 existing residential schools (capacity 100), out of which Rs.460.55 lakh is recurring grant and Rs. 27.75 lakh is the non-recurring grant (3 schools sanctioned in 2018-19).

Recurring cost of Rs.9964.20 lakh was estimated for existing 60 residential schools (capacity>500).

Recurring cost of Rs.401.76 lakh was estimated for existing 24 residential hostels (capacity upto 50).

An outlay of Rs.552.75 lakh was estimated for existing 13 residential hostels (capacity 100). Out of which Rs.524.25 lakh is recurring grant and Rs.28.50 lakh is the non-recurring grant (3 previous residential hostels).

			(110.111.101
Activity Master	Physical	<b>Unit Cost</b>	Financial
Residential Schools - NR (Previous Year) (Ca	pacity 100)		
Furniture / Equipment (including kitchen equipment)	300	0.03000	9
TLM and equipment including library books	300	0.03500	10.5

Activity Master	Physical	<b>Unit Cost</b>	Financial
(New)			
Bedding (New)	300	0.00750	2.25
Boring/ Handpump	3	2.00000	6
Total of Residential Schools - NR (Previous			27.75
Year) (Capacity 100)			27.73
Residential Schools - Recurring (Previous Yea	ar) (Capacit	ty 100)	
Maintenance per child per month	1100	0.18000	198
Stipend per child per month	1100	0.01200	13.2
Supplementary TLM, Stationery and other	1100	0.01000	11
educational material	1100	0.01000	11
1 Warden	7	4.20000	29.4
4 - 5 Fulltime teachers as per RTE Norms	7	12.00000	84
3 Part time teachers	7	2.52000	17.64
1 Full time Accountant	7	2.16000	15.12
2 Support staff - (Accountant/Assistant, Peon,	7	1.68000	11.76
Chowkidar)	/	1.00000	11.76
1 Head Cook	7	0.96000	6.72
2 Assistant Cook	7	1.68000	11.76
Specific Skill training	1100	0.01000	11
Electricity / water charges	1100	0.01000	11
Medical care/contingencies	1100	0.01250	13.75
Maintenance	1100	0.00750	8.25
Miscellaneous	1100	0.00750	8.25
Provision of Rent	9	1.00000	9
Physical / Self Defence Training	7	0.10000	0.7
Total of Residential Schools - Recurring			460 55
(Previous Year) (Capacity 100)			460.55
Residential Schools - Recurring (Previous Ye	ar)(Capacit	ty > 500)	
Maintenance per child per month	30000	0.18000	5400
Stipend per child per month	30000	0.01200	360
Supplementary TLM, Stationery and other educational material	30000	0.01000	300
	60	4 20000	252
1 Warden	60	4.20000	252
4 Fulltime teachers as per RTE Norms	60	12.00000	720
3 Part time teachers	60	12.60000	756
1 Full Time Accountant	60	2.16000	129.6
2 Support staff - (Accountant/Assistant, Peon, Chowkidar)	60	3.36000	201.6
1 Head Cook	60	0.96000	57.6
2 Assistant Cook	60	5.04000	302.4
Specific Skill training	30000	0.01000	300
Electricity / water charges	30000	0.01000	300
Medical care/contingencies	30000	0.01250	375
Maintenance	30000	0.00750	225
Miscellaneous	30000	0.00750	225
Physical / Self Defence Training	30000	0.00200	60
Total of Residential Schools - Recurring (Previous Year) (Capacity > 100)			9964.20
Residential Hostels - Recurring (Previous Yea	 ar) (Capacit	v 50)	<u> </u>
Maintenance per child per month	1200	0.18000	216
r warmenance der CIIIO Der MONIO	1 1200	1 0.10000	1 410

Activity Master	Physical	<b>Unit Cost</b>	Financial
Stipend per child per month	1200	0.01200	14.4
Supplementary TLM, Stationery and other	1200	0.01000	10
educational material	1200	0.01000	12
3 Part time teachers	24	2.52000	60.48
2 Support staff - (Accountant/Assistant, Peon,	0.4	0.04000	00.46
Chowkidar)	24	0.84000	20.16
2 Assistant Cook	24	1.68000	40.32
Electricity / water charges	1200	0.01000	12
Medical care/contingencies	1200	0.01250	15
Maintenance	1200	0.00750	9
Physical / Self Defence Training	24	0.10000	2.4
Total of Residential Hostels - Recurring			
(Previous Year) (Capacity 50)			401.76
Residential Hostels - NR (Previous Year) (Cap	acity 100)		
Furniture/ Equipment (including kitchen)	300	0.03000	9
TLM and equipment including library books	300	0.03500	10.5
Bedding (new)	300	0.03000	9
Total of Residential Hostels - NR (Previous			20.50
Year) (Capacity 100)			28.50
Residential Hostels - Recurring (Previous Yea	r) (Capacit	y 100)	
Food/lodging per child per month	1300	0.18000	234
Stipend per child per month	1300	0.01200	15.6
Supplementary TLM, Stationery and other	1300	0.01000	13
educational material	1300	0.01000	13
1 Warden	13	4.20000	54.6
3 Part time teachers	13	2.52000	32.76
1 Full Time Accountant	13	2.16000	28.08
2 Support staff - (Accountant/Assistant, Peon,	13	1.68000	21.84
Chowkidar)	13	1.00000	21.04
1 Head Cook	13	0.96000	12.48
2 Assistant Cook	13	1.68000	21.84
Specific Skill training	1300	0.01000	13
Electricity / water charges	1300	0.01000	13
Medical care/contingencies	1300	0.01250	16.25
Maintenance	1300	0.00750	9.75
Miscellaneous	1300	0.00750	9.75
Provision of Rent	3	9.00000	27
Physical / Self Defence Training	13	0.10000	1.3
Total of Residential Hostels - Recurring			524.25
(Previous Year) (Capacity 100)			344.43
Total of Residential School / Hostels			11407.01

**(c) Porta Cabin (Hostels):** Recurring cost of Rs.1353.18 lakh was estimated for 58 Porta Cabins (Hostels).

Activity Master	Physical	<b>Unit Cost</b>	Financial	
Porta Cabin (Hostels) - Recurring (Previous Year)				
Food/Lodging per child per month	5450	0.18000	981	
1 Warden	58	0.60000	34.8	
1 Chowkidar	58	0.84000	48.72	

Activity Master	Physical	<b>Unit Cost</b>	Financial
1 Head Cook	58	0.84000	48.72
2 Assistant Cook	116	0.84000	97.44
Electricity / Water Charges	58	0.60000	34.8
Medical care / Contingencies	5450	0.00750	40.875
Maintenance	58	0.40000	23.2
Miscellaneous	58	0.40000	23.2
News Papers / Magazine & Supports	58	0.10000	5.8
Toilet and Sanitation	1950	0.00750	14.625
Total of Porta Cabin (Hostels) - Recurring			1353.18
(Previous Year)			

**Outcome:** This activity would help in addressing issues access and improve transition rate and retention rate. This is covered under PGI 1.2.1to 1.2.8.

**(d) Transport & Escort Facilities:** Transport facility to children in classes I-VIII from sparsely populated areas and urban areas where schools is not available or Urban Deprived Children is provided up to an average cost @ Rs. 3000/ per child per annum based on actual cost to be incurred as per the distance, the terrain and the type of transport facility to be provided. State RTE Rules must notify the area/limits of neighbourhood in which transport/escort facility is to be provided to the specified categories of the children and categorize it **as an entitlement**. List attached at **Annexure-III.** 

An outlay of Rs **25.86** lakh was estimated for providing Transport and Escort facility for 862 children as per norms of Samagra Shiksha.

(Rs. in lakh)

Activity Master	Physical	Unit Cost	Financial
Transport / Escort Facility (Elementary)			
Children in remote habitation	862	0.03	25.86
Total of Transport / Escort Facility (Elementary)			25.86

#### 2. Infrastructure and Civil Works

**Strengthening of existing schools (Elementary)**: An outlay of Rs.8449.04 lakh was estimated for various infrastructure interventions for elementary level. List of schools attached at *Annexure IV A to Annexure IV-0*.

Activity Master	Physical	Unit Cost	Financial			
Strengthening of Schools - NR (up to Highest C	Strengthening of Schools - NR (up to Highest Class VIII)					
Boys Toilets	55	1.03	56.65			
Girls Toilets (Upto Class VIII)	119	1.03	122.57			
Drinking Water (Upto Class VIII)	1115	0.75	836.25			
Major Repair (Upto Class VIII)	62	11.761	729.182			
Dilapidated Building (Primary & Upper Primary)	60	11.548	692.88			
Total of Strengthening of Schools - NR (up to Highest Class VIII) 2437.532						
Strengthening of Existing Schools - NR (IX-X)						

Activity Master	Physical	Unit Cost	Financial	
Additional Classroom	223	8.64	1926.72	
Science Lab	95	9.13	867.35	
Lab Equipment (Sci Lab)	95	1	95	
Drinking Water	137	1	137	
Boys Toilet	429	1.03	441.87	
Girls Toilet	830	1.03	854.9	
Toilets for CWSN	324	1.03	333.72	
Removal of Architectural Barriers	509	0.25	127.25	
Computer Room	100	7.36	736	
<b>Total of Strengthening of Existing Schools - NR</b>	(IX - X)		5519.81	
Electrification in Schools (Elementary) - NR				
Solar Panel	100	3.30	330.00	
Total of Electrification in Schools (Elementary) - NR			330.00	
Electrification in Schools (Secondary and Sr. Secondary) - NR				
Solar Panel For Hostels	49	3.30	161.70	
Total of Electrification in Schools (Secondary and Sr. Secondary) - NR			161.70	
Total of Strengthening of Existing Schools			8449.04	

**Outcome:** This would enable to maintain the enrolment and retention at Primary and Elementary level and is covered under PGI Indicators 1.2.1, 1.2.3, 1.2.4 and 1.2.6.

**Monitoring**- Census based audit of all government and government aided schools in all States and UTs in September, 2019 whereby physical inspection would be undertaken to check the status of all schools on UDISE + and GIS Mapping. Different reports to be uploaded in the portal from various levels i.e., Principal, Headmaster, CRC coordinator and District level Officials, will be checked to validate the progress.

# 3. RTE Entitlements (Elementary)

a) Free Uniforms: An outlay of Rs. 13665.61 lakh was estimated for providing free uniforms to 2277601 children at elementary level @ Rs. 600 each, thereby covering all eligible children, as per norms of Samagra Shiksha. The details are as under:

(Rs. in lakh)

Activity Master	Physical (Children)	Unit Cost	Financial
All Girls	1039982	0.006	6239.892
ST Boys	590792	0.006	3544.752
SC Boys	234966	0.006	1409.796
BPL Boys	411861	0.006	2471.166
Total	2277601		13665.606

**Outcome:** 100% coverage of all eligible children within 3 months of start of academic year. This is covered under PGI Indicator 1.3.10.

**Monitoring:** Physical and Field Inspection to be conducted through Shagunotsav during September, 2019 and on the basis of other reports.

**b) Free Textbooks**: An outlay of Rs. 7594.42 lakh was estimated as per the unit costs mentioned below for free textbooks at elementary level as per norms of the scheme.

(Rs. in lakh)

Activity Master	Physical (Children)	Unit Cost	Financial
Text Books (Class I - II)	592868	0.0025	1482.17
Braille Books (Class I – II)	170	0.0025	0.425
Large Print Books (Class I – II)	1308	0.0025	3.27
Text Books (Class III - V)	885560	0.0025	2213.9
Braille Books (Class III - V)	274	0.0025	0.685
Large Print Books (Class III - V)	2142	0.0025	5.355
Text Books (Class VI - VIII)	969344	0.004	3877.376
Braille Books (Class VI – VIII)	321	0.004	1.284
Large Print Books (Class VI - VIII)	2488	0.004	9.952
Total			7594.417

**Outcome:** 100% coverage of all eligible children within 1 month of start of academic year. This is covered under the PGI Indicator 1.3.11.

**Monitoring:** Physical and Field Inspection through Shagunotsav to be conducted during September 2019 and on the basis of other reports.

c) Reimbursement towards expenditure incurred for 25% of Admission under 12 (1)(c) RTE Act: An amount of Rs.4949.60 lakh was estimated for 1.71 lakh children.

(Rs. in lakh)

Activity Master	Physical (Children)	Unit Cost	Financial
Reimbursement of Fee			
Reimbursement of Fee against 25% admission under Section 12(1)(c) of RTE Act 2009	171360	-	4949.60
Total			4949.60

**d) Special Training for age appropriate admission of out-of-school children (OoSC)**-An amount of Rs.1713.78 lakh was estimated for age appropriate admission of 15395 number of OOSC through residential and non-residential mode, as per norms of the scheme.

Activity Master	Physical (Children)	Unit Cost	Financial
Special Training for OoSC - Non-Residential (Fro			
6 Months (Non-Residential - Fresh)	797	0.03	23.91
9 Months (Non - Residential - Fresh)	4415	0.045	198.675
Total			222.585
Special Training for OoSC - Residential (Fresh)			
6 Months (Residential - Fresh)	242	0.1	24.2
9 Months (Residential - Fresh)	9458	0.15	1418.7
Total			1442.9
Intervention for Migrant Children/ Seasonal Hostel (Residential)			
6 Months (Residential - Migrant)	483	0.1	48.3
Total			48.30
Total of Special Training of Out of School Children (OoSC)			1713.785

**Outcome:** Mainstreaming of out of School Children and improving enrolment rate at elementary level. This is covered under PGI Indicator 1.2.1 and 1.2.8.

**Monitoring:** Physical and Field Inspection through Shagunotsav to be conducted during September 2019 and on the basis of other reports.

# 4. Media and Community Mobilization (Elementary)

- **a) Display of Logo of Samagra Shiksha (SS):** A logo of Samagra Shiksha along with facilities available under Samagra Shiksha such as free text books, free uniforms should be displayed at prominent place in each school through wall paintings or display board. The logo and this information will be shared with the States and UTs. An amount of Rs. 437.86 Lakh was estimated for the above purpose @ Rs. 1000/- per school.
- **b)** An amount of Rs. 218.93 lakh is meant for Community Mobilization activities @ Rs. 500 per school.

(Rs. in lakh)

Activity Master	Physical (Schools)	Unit Cost	Financial
Media & Community Mobilization (Elementar	y)		
Display of Logo of Samagra Shiksha	43786	0.01	437.86
Media & Community Mobilization	43786	0.005	218.93
Total			656.79

# 5. <u>Training and Meetings of SMC/SDMC (Elementary)</u>

An outlay of Rs. 1313.58 lakh @ Rs 3000 per school was estimated for training of 43786 numbers of SMCs. This includes provision for Conducting / convening of SMC meetings on a single notified date by the State once in every quarter, Incentivising nominated parents for attending the SMC meeting regularly, uploading of quarterly reports with respect to meetings held and status of the school as per the Mobile App which is being developed in MHRD.

(Rs. in lakh)

Activity Master	Physical (SMC/SMDC)	Unit Cost	Financial
Training of SMC/ SDMC	43786	0.03	1313.58

#### Outcome

The SMCs will hold quarterly meetings and upload reports on the portal to be set up for the purpose. Also help generate awareness about the scheme.

**Monitoring:** Through report to be uploaded on the common portal meant for the purpose and other reports.

#### 6. Media & Community Mobilisation (Secondary):

**a) Display of Logo of Samagra Shiksha (SS):** A logo of Samagra Shiksha along with facilities available under Samagra Shiksha should be displayed at prominent place in each school through wall paintings or display board. The logo and this information will be sent shared with the States and Uts. An amount of Rs. 45.52 Lakh was estimated for the above purpose @ Rs. 1000/- per school.

**b)** An amount of Rs. 22.76 lakh is meant for Community Mobilization activities @ Rs. 500 per school.

(Rs. in lakh)

Activity Master	Physical (Schools)	Unit Cost	Financial
Media & Community Mobilization (Secondary)			
Display of Logo of Samagra Shiksha	4552	0.01	45.52
Media & Community Mobilization	4552	0.005	22.76
Total			68.28

# 7. Training and Meetings of SMDCs (Secondary)

A total amount of Rs. 136.56 Lakh @ Rs. 3000 per school was estimated under SMDC training. This includes provisions for conducting / convening of SMDC meetings on a single notified date by the State once in every quarter, incentivising nominated parents for attending the SMDC meeting regularly and Uploading quarterly reports with respect to meetings held and status of the school as per the Mobile App which is being developed in MHRD.

(Rs. in lakh)

Activity Master	Physical (SMDC)	Unit Cost	Financial		
Media & Community Mobilization (Secondary)					
SMDC Training	4552	0.03	136.56		
Total			136.56		

#### **Outcome:**

The SMDCs will hold quarterly meeting and upload reports on the portal to be set up for the purpose. Also help generate awareness about the scheme.

**Monitoring:** Through report to be uploaded on the common portal meant for the purpose and other reports.

#### 8. **Quality Interventions:**

a) Learning Enhancement Programme/ Remedial teaching (Elementary): An amount of Rs. 4278.03 lakh as per the unit cost given below was estimated for LEP (Learning Enhancement Programme) at elementary level for Remedial material, teaching and other activities. The main objective of LEP is to identify the learning gaps and equip students with core learning prerequisites appropriate to the particular grade.

Activity Master	Physical (Children)	Unit Cost	Financial
LEP (Class I - II)			
Practice Materials in Local Language	104713	0.0005	52.3565
Reading writing Materials (Educational Kit)	45024	0.0005	22.512
Work book for Children- Math/Language	31881	0.0005	15.9405
Work book in English and Math Matics	704124	0.0005	352.062
Remedial Teaching	3264	0.0005	1.632
Text Books on Local Dialect (Class I & II)	604889	0.0005	302.4445
Activity Book Bank	26403	0.0005	13.2015
Total			760.149

Activity Master	Physical (Children)	Unit Cost	Financial
LEP (Class III - V)			
Cursive Writing book for 4-5 student	52562	0.0003	15.7686
Remedial Teaching Worksheet	10267	0.001	10.267
Special Coaching in Narayanpur Ashram	500	0.09	45
Energized Work book for English	1107289	0.0005	553.6445
/Mathematics			
Supplementary Material	30586	0.005	152.93
Remedial Teaching	266554	0.001	266.554
Maths Activity Book	22197	0.0003	6.6591
Interactive Learning material to support	650238	0.0003	195.0714
reading and writing habits			
Total			1245.89
LEP (Class VI - VIII)			
Cursive Writing book for 6-8 students	1234853	0.0003	370.4559
Remedial Teaching	308712	0.001	308.712
Special Coaching in Narayanpur Ashram	500	0.09	45
Work sheets for UPS students to improve	1234853	0.0012	1481.8236
Los for aspirational districts			
Maths Activity Book	13199	0.005	65.995
Total of LEP (Class VI - VIII)			2271.99
Total			4278.03

**b)** Learning Enhancement Programme/ Remedial teaching (Secondary): An amount of Rs 407.96 lakh @ Rs 500 per child was estimated for providing LEP/Remedial teaching for covering 81592 students at secondary level. The main objective of LEP is to identify the learning gaps and equip students with core learning prerequisites appropriate to the particular grade.

(Rs. in lakh)

Activity Master	Physical (Children)	Unit Cost	Financial
LEP (Class IX - XII)			
Remedial Teaching	81592	0.005	407.96
Total			407.96

**Outcome:** The interventions at (a) and (b) above will help in improving the learning outcomes of children and are covered under PGI Indicators 1.1.2 to 1.1.9, 1.3.4 and 1.3.6

**Monitoring:** On the basis of School Based Assessment (SBA) and other reports.

# c) School Based Assessment (Elementary):

- A School Based Assessment (SBA) will be held in all the schools in December 2019 to assess the Learning Outcomes of all the children at the Elementary level. Prior to this, workshop will be held with all States and UTs to finalize the parameters.
- Module and guidelines will be prepared for SBA and shared with the States and UTs.
- Sessions on SBA will be included in the Capacity Building programme for all the KRPs and teachers.
- An amount of Rs. 270.00 lakh @ Rs. 10 lakh per district was estimated for carrying out School Based Assessment and related activities including amongst others collecting, examining and utilizing the information regarding achievements of learning outcomes by students.

(Rs. in lakh)

Activity Master	Physical (Districts)	Unit Cost	Financial
School Based Assessment (Elementary)			
Assessment at State level	27	10	270.00
Total			270.00

**Outcome:** This would enable the State to formulate appropriate strategies for improving the performance of students and is covered under PGI indicators 1.1.1 to 1.1.9.

**Monitoring:** Third party evaluation for at least 1% of the total schools and other reports.

**d) Composite School Grant (Elementary):** An outlay of Rs. 12531.38 lakh as per unit costs given below for Composite School Grant, as per enrolment, was estimated for 42335 schools including 10% for Swachhta Action Plan. These funds should be utilized for the replacement of non-functional school equipment and for incurring other recurring costs, etc., as per the guidelines laid down for utilization of school grant.

(Rs. in lakh)

Activity Master	Physical (Schools)	Unit Cost	Financial
Annual Grant (up to Highest Class VIII)			
School Grant - (Enrol 1- 15)	2759	0.125	344.875
School Grant -(Enrol >15 - 100)	31032	0.25	7758
School Grant - (Enrol > 100 and <= 250)	7919	0.5	3959.5
School Grant - (Enrol > 250 and <= 1000)	624	0.75	468
School Grant - (Enrol > 1000)	1	1	1
Total	42335		12531.38

**e) Composite School Grant (Secondary):** An outlay of Rs. 2339.00 lakh as per unit costs given below for Composite School Grant, as per enrolment, was estimated for 4411 schools including 10% for Swachhta Action Plan. These funds should be utilized for the replacement of non-functional school equipment and for incurring other recurring costs, etc., as per the guidelines laid down for utilization of school grant.

(Rs. in lakh)

Activity Master	Physical (Schools)	Unit Cost	Financial
Annual Grant (up to Highest Class X or X	II)		
School Grant (Enrol 1- 15)	28	0.125	3.5
School Grant -(Enrol >15 - 100)	1208	0.25	302
School Grant - (Enrol > 100 and <= 250)	1407	0.5	703.5
School Grant - (Enrol > 250 and <= 1000)	1752	0.75	1314
School Grant - (Enrol > 1000)	16	1	16
Total	4411		2339.00

**Outcome:** This would facilitate in improving school environment and adopt the Swachhta Action Plan effectively and is covered under PGI indicators 1.3.9, 1.4.15 and 1.4.16.

**Monitoring:** Through UDISE + and PGI and Field Inspection as part of Shagunotsav to be conducted during September 2019 and on the basis of other reports.

**f) Library Grant (Elementary):** An amount of Rs. 2241.20 lakh as per unit cost given below was estimated for library grants in 43785 schools.

(Rs. in lakh)

Activity Master	Physical(Schools)	<b>Unit Cost</b>	Financial
Library (Upto Highest Class VIII)			
Composite Elementary Schools (I – VIII)	124	0.13	16.12
Upper Primary Schools (VI – VIII)	13075	0.1	1307.5
Primary School (I – V)	30586	0.03	917.58
Total	43785		2241.2

**g) Library Grant (Secondary):** An amount of Rs. 587.40 lakh as per unit cost given below was estimated for library grants in 4516 Secondary/Higher Secondary schools.

(Rs. in lakh)

Activity Master	Physical (Schools)	Unit Cost	Financial
Library (upto Highest Class XII)			
Composite Secondary Schools (Class I - X)	51	0.15	7.65
Schools with Class VI - XII	2	0.15	0.3
Secondary Schools (Classes IX & X)	1864	0.1	186.4
Composite Secondary Schools (Class IX - XII)	2514	0.15	377.1
Senior Secondary School Only (Class XI - XII)	8	0.1	0.8
Composite Senior Secondary Schools (Class I - XII)	72	0.2	14.4
Schools with Class VI - X	5	0.15	0.75
Total	4516		587.40

The funds for both (f) and (g) should be utilized in accordance with the detailed guidelines issued by MHRD. The following points also need to be kept in mind.

# (i) Printing and Procurement of books:

- All the procurement of books from library grant should be done at State and UT level. The funds meant for library grant should not be released by the States and UTs to Districts/schools.
- An age appropriate series of books is being published by NCERT especially for procurement from Library Grant under Samagra Shiksha. States and UTs may place direct orders to NCERT for procurement of these books from State Level. NCERT will make the delivery of the books at the Central Level. States may further deliver these books to schools. States and UTs may also obtain the copyright of these books from NCERT and get them translated in their regional language with the help of SCERTs and print in the States and UTs with the help of their Printing Corporations/Government Press. For this purpose, States and UTs may enter into MoU with NCERT.
- Age-appropriate books should be procured for use of children of different agegroups. Books for classes' up to Grade V may be called Bulbul series, for Grades VI to VIII as Mynah series and Grades IX to XII as Koel series.
- States and UTs may if they so desire, procure books, meant for children, beyond the NCERT list from other Government publishers including SCERTs, Central Institute of Indian Languages (CIIL) etc. States and UTs may also develop their own library books including comics and illustrated books through the SCERTs and printing and publish them for use as library books. States can have their own folk tale series of books to promote regional cultural heritage.

 All books procured for libraries must bear the year of purchase under Samagra Shiksha scheme and name of the school. No newspaper and magazines can be purchased from the library grant.

#### (ii) Reading:

- Schools may have provision of Reading Room/Reading Corner/Reading space and two periods in a week may be dedicated as reading periods in school time table.
- Children should have complete freedom of choosing books for themselves and reading from a range of attractively displayed books.
- The reading corner is the collective responsibility of teacher and children. Children should be given responsibility of maintaining the books in the reading corner and its usage.
- Engaging with children's literature should be an integral part of their classroom processes along with other day to day activities of reading and writing. As children develop interest and engage with literature they will be encouraged to visit the nearby library also.

#### (iii) Management:

- States and UTs may ensure delivery of library books to each school by using same channel as distribution of text books.
- States and UTs may make guidelines for use of libraries including number of periods, to be earmarked as library period in the govt. schools. The guidelines prepared by the States and UTs may also include provision for inspection of libraries by Implementing Officers so as to ensure that books procured are being issued on regular basis to students.
- One teacher in each school may be given the additional responsibility for safe keeping of library books, issuing them and receiving the books back from students. The library in-charge teacher may be given relaxation from teaching for two periods in a week. Further, there should not be any penalty on the library in-charge teacher for any wear and tear of books by the students.
- School grant may be used for repairing of damaged books procured from Library grant.
- District and Block Education Officers (& their inspectors), Block Resource Coordinators and Cluster Resource Coordinators should visit every school to see the availability of library books and their utilisation.

**Outcome:** The above intervention is meant for improving the reading habits of children as emphasized in Padhe Bharat Badhe Bharat and is covered under PGI indicators 1.3.4 and 1.3.6, 1.1.2 to 1.1.9).

**Monitoring:** Through regular reports and other reports to be uploaded on the portal at different levels and physical inspection at the time of Shagunotsav.

h) Rashtriya Avishkar Abhiyan (Elementary): An outlay of Rs. 1374.92 lakh as per unit cost given below was estimated for Rashtriya Aavishkar Abhiyan (RAA) for various activities, such as, Mentoring by Higher Institutions, Establishment of Science Clubs, Science corners, Teachers circles, Science Exhibition Science and Maths Olympiads for upper primary level. State is requested to provide UDISE code of selected schools within two months where these activities will be carried out. The state may also refer to detailed guidelines issued by MHRD for Rashtriya Avishkar Abhiyan.

Activity Master	Physical	Unit Cost	Financial
Rashtriya Avishkar Abhiyan (Element	ary)		
Demonstration in Selected District	5 (Districts)	0.25	1.25
Kabad se Jugad Workshops at different	27 (Districts)	0.5	13.5
levels			
Model Science/Math Corners in Schools	150 (Blocks)	0.01	1.5
Science Exhibition / Book Fair	177	0.1	17.7
Quiz Competition	177	0.1	17.7
Exposure visit outside State	354 (Students)	0.04	14.16
Science Kit	13199	0.07689	1014.87111
Excursion Trip for Students within	30000 (Students)	0.0025	75
State			
Maths Kit	13199 (Schools)	0.01661	219.23539
Total			1374.92

**Outcome**: This will help in improving overall performance in terms of PGI indicators 1.1.7 and 1.1.8.

**Monitoring:** Through regular reports and other reports to be uploaded on the portal at different levels and inspection by the BRPs, CRPs, DEOs etc.

i) Rashtriya Avishkar Abhiyan (Secondary): An amount of Rs. 667.94 lakh as per unit cost given below was estimated for Rashtriya Avishkar Abhiyan (RAA) for various activities, such as, Mentoring by higher education institutions, Setting-up of teacher circles, Setting-Up of Science & Math Clubs, Science & Math Kits, Science exhibitions; quiz Competitions/Book Fair, Exposure Visits within and outside State, Vedic Maths and Maths Melas, Science and Maths kits, etc. State is requested to provide UDISE code of selected schools within two months where these activities will be carried out. The state may also refer to detailed guidelines issued by MHRD for Rashtriya Avishkar Abhiyan.

(Rs. in lakh)

Activity Master	Physical	Unit Cost	Financial	
Rashtriya Aaviskaar Abhiyan (Secondary)				
Science Exhibition / Book Fair	27 (Districts)	0.50	13.50	
Quiz Competition	27 (Districts)	0.052	1.404	
Study Trip for Students to Higher	7400	0.0076	56.24	
Institutions (Within States)	(Students)			
Exposure visit outside State	292 (Students)	0.04	11.68	
Maths Kit	4552 (Schools)	0.01907	86.80664	
Science Kit	4552 (Schools)	0.10947	498.30744	
Total			667.94	

**Outcome**: This would strengthen student's ability to handle competitions. This is covered under PGI indicator No.1.2.5, 1.2.7, 1.3.2.

**Monitoring:** Through regular reports and other reports to be uploaded on the portal at different levels and inspection by the BRPs, CRPs, DEOs etc.

#### i) Shagunotsav (Elementary):

- This will be a Census based audit of all government and government aided schools in all States and UTs in September 2019.
- It will have a questionnaire having parameters based on indicators monitored through UDISE+, PGI and Shagun. Assessment of Learning Outcome will not be a part of this evaluation.
- This will give feedback to verify the UDISE+ data-base and certain indicators under PGI.
- It will lead to grading of schools for the purpose of understanding the gaps.
- Assessors will be visiting every school and uploading their reports on a Mobile App which will be centrally developed.

An amount of Rs. 274.36 lakh as per unit cost given below was estimated for 44539 schools for conducting Shagunotsav for assessing the physical, infrastructure and facilities as per guidelines issued by MHRD.

(Rs. in lakh)

Activity Master	Physical (Schools)	Unit Cost	Financial
Shagunotsav (Elementary)			
Shagunotsav	44539	0.00616	274.36
Total			274.36

**k) Shagunotsav (Secondary)**: An amount of Rs. 35.633 lakh as per unit cost given below for 4664 Secondary/Higher Secondary schools was estimated for conducting Shagunotsav for assessing the physical, infrastructure and facilities as per guidelines issued by MHRD.

(Rs. in lakh)

Activity Master	Physical (Schools)	Unit Cost	Financial
Shagunotsav (Secondary & Sr. Secondary)			
Shagunotsav	4664	0.00764	35.633
Total			35.633

The funds for the above mentioned activities as mentioned in para j) & k) has been considered for various activities which includes survey for urban & rural areas (for elementary & secondary), internet facility for surveyors and also training of district coordinators etc.

**Outcome:** This would enable identifying School Specific needs and bring overall improvement in functioning of Schools and covered under PGI indicators 2.1.19.

**Monitoring:** Although Shagunotsav is meant for assessing and knowing the facilities available at school level, however, the same will also be monitored through UDISE +, PGI and other reports.

**I) Sports and Physical Education (Elementary):** An outlay of Rs. 2849.30 lakh as per unit cost given below for 30588 primary schools and 13199 upper primary schools was estimated for Sports Grants.

Activity Master	Physical (Schools)	Unit Cost	Financial	
Sports & Physical Education (upto Highest Class VIII)				
Sports & Physical Education (Primary Schools)	30588	0.05	1529.40	

Activity Master	Physical (Schools)	Unit Cost	Financial
Sports & Physical Education (Upper Primary Schools )	13199	0.10	1319.90
Total			2849.30

**m) Sports and Physical Education (Secondary):** An amount of Rs. 1138.00 lakh @ Rs. 25000 was estimated for sports & physical education at 4552 Secondary Schools.

(Rs. in lakh)

Activity Master	Physical (Schools)	Unit Cost	Financial	
Sports & Physical Education (upto Highest Class XII)				
Sports & Physical Education (Secondary)	4552	0.25	1138.00	
Total			1138.00	

The utilization of the funds for sports and physical education at paras l) and m) above needs to be in accordance with the detailed guidelines issued by MHRD. The following points needs to be kept in mind:

- Age appropriate sports equipment for government schools may be procured as per the guidelines issued by this Department to the States & UTs. The States & UTs may if they so desire, procure items from beyond this list subject to its actual requirement being certified by the head of school.
- Age appropriate sports activities may be organized in the Government schools of States & UTs as per the guidelines to be issued by this Department.
- Schools may include traditional/regional games of the respective State/Region. For maintaining workable stock position of sports equipments, periodic record may be maintained including workable equipment, repairable equipment, write-off equipment and new items to be purchased to maintain the required stock position.
- One responsible person/PET/Teacher-in-charge may be given the responsibility to take care of the equipment and maintaining the stock position of sports equipment in the school.

**Outcome:** The above intervention is meant for improving the PGI indicators and contributes to overall improvement in mental and physical development of the student.

**Monitoring:** Through regular reports to be uploaded on the portal at different levels and physical inspection at the time of Shagunotsav.

**n) School Safety Programme** (**Elementary**): In order to encourage teachers to function as the first level counsellors an amount of Rs. 1000/- per teacher has been provided for every teacher. Further, an amount of Rs. 500/- has been earmarked for display of safety guidelines and redressal mechanism in every school.

An amount of Rs. 1706.175 lakh as per unit cost given below was estimated for teachers to carry out various activities such as i) Guidance & Counselling ii) Sensitization of parents iii) Awareness generation for Students and community, iv) provision for taking feedback of the students v) Suggestions/Complaint box in the schools. viii) Providing copies of safety guidelines to the students. Funds will be given to teachers for working as first level counsellors and schools for displaying safety guidelines and redressal mechanism, however, it should be ensured that there is single display board in composite schools and duplicity of funds should not take place.

(Rs. in lakh)

Activity Master	Physical	<b>Unit Cost</b>	Financial
<b>Quality Components</b>			
Display Board for safety guidelines	43785 (Schools)	0.005	218.925
Teachers as first level counsellors	148725 (Teachers)	0.01	1487.25
Total			1706.175

**Outcome:** The school report cards can be modified to provide for positive aspects of the personality/performance of the students. The format of Parents Teachers Meeting will also be modified providing for highlighting the positive aspects in the meetings. The state is advised to set up an SCPCR cell at state level wherever it does not exist.

**Monitoring:** By assessing the extent of adherence to the Safety Guidelines to be issued by the Department and other reports.

**o) School Safety Programme (Secondary)**: In order to encourage teachers to function as the first level counsellors an amount of Rs. 1000/- per teacher has been provided for every teacher. Further an amount of Rs. 500/- has been earmarked for display of safety guidelines and redressal mechanism in every school.

An amount of Rs 340.43 lakh as per unit cost given below was estimated for teachers to carry out various school activities such as i) Guidance & Counselling ii) Sensitization of parents iii) Awareness generation for Students and community, iv) provision for taking feedbacks of the students etc. v) Suggestions/Complaint box in the schools. viii) Providing copies of safety guidelines to the students. Funds will be given to teachers for working as first level counsellors and schools for safety guidelines and redressal mechanism, however, it should be ensured that there is single display board in composite schools and duplicity of funds should not take place.

(Rs. In lakh)

Activity Master	Physical	<b>Unit Cost</b>	Financial
<b>Quality Components</b>			
Display Board for safety guidelines	4552 (Schools)	0.005	22.76
Teachers as first level counsellors	31767 (Teachers)	0.01	317.67
Total			340.43

**Outcome:** The school reports card will be modified to provide for positive aspects of the personality/performance of the students. The format of Parents Teachers Meeting will also be modified providing for highlighting the positive aspects in the meetings.

**Monitoring:** By assessing the extent of adherence to the Safety Guidelines to be issued by the Department, field inspection through Shagunotsav and other reports.

p) Reporting by Head of Schools (Elementary): An amount of Rs. 86.095 Lakh @ Rs. 500 per school was estimated for this activity under which the Principal/Vice Principal/HM/Teacher-in-charge will submit status report once in every two months through the Mobile App to be shared by MHRD. Funds will be given to Head of the schools for this purpose.

Activity Master	Physical(Schools)	Unit Cost	Financial
Quality Components (Elementary)			
Reporting by Head of Schools	17219	0.005	86.095

Activity Master	Physical(Schools)	Unit Cost	Financial
Total			86.095

**Outcome:** This would be a progress report of the various activities and facilities being provided under Samagra Shiksha and assessing its impact in overall school development.

**Monitoring:** By analysis of the status report to be uploaded on a portal and other report and field inspections through Shagunotsav.

**q) Reporting by Head of Schools (Secondary)**: An amount of Rs. 22.76 lakh @ of Rs. 500 per school was estimated for this activity under which the Principal/Vice Principal/HM/ Teacher-in-charge will submit status report once in every two months through Mobile App to be shared by MHRD. Funds will be given to Head of the schools for this purpose.

(Rs. In lakh)

Activity Master	Physical(Schools)	Unit Cost	Financial
Quality Components (Secondary)			
Reporting by Head of Schools	4552	0.005	22.76
Total			22.76

**Outcome:** This would be a progress report of the various activities and facilities being provided under Samagra Shiksha and assessing its impact in overall school development.

**Monitoring:** By analysis of the status report to be uploaded on a portal and other report and field inspections through Shagunotsav.

**r) ICT and Digital Initiatives (Secondary):** The state has to make all ICT labs (approved till 2018-19) functional as committed during PAB.

The utilization of these funds needs to be in accordance of the detailed guidelines issued by MHRD.

MHRD will issue detailed Specifications and Guidelines on Operation Digital Board (ODB). All purchase from central fund should be made through GEM to ensure effective prices and standardized equipments.

The following points need to be kept in mind during procurement:

- Inventory of each item will be maintained by the school and the concerned school Principal will be the in-charge for ensuring that all hardware and software has been marked as inventory items. The record of ICT inventory, school wise, has to be maintained online and made available to MHRD as and when required.
- States and UTs have to ensure that Annual Maintenance Contract (AMC) for each hardware item procured under ICT scheme has been entered into.
- In order to ensure that computers installed in the schools are being used regularly, software which indicates when the computers are turned on or off, linked to the State server must be put in place.
- As per IT Act 2000, it has to be ensured that effective firewalls and appropriate control filters and monitoring software mechanism are installed in all computers in schools. Please consult local NIC for installing a govt. approved, free firewall.

**Outcome:** Number of schools having ICT coverage and functioning of number of Secondary/Higher Secondary schools. This will improve PGI indicator No. 1.3.3.

**Monitoring:** Field inspections through Shagunotsav and other report.

# s) Integrated Teacher Training Programme (Elementary level):

- As mentioned in Para 6 (iii) above, all elementary Govt. Teachers, Head Teachers/Head Masters, BRCs, CRCs and faculty of DIETs and SCERTs will be trained through a standardised comprehensive training module being prepared by NCERT in a time bound manner. This will help in preparing teachers for school based assessment to be held in December, 2019.
- Module and guidelines will be prepared by the NCERT and shared with the States and IITs
- Sessions will include, modules on inclusive education, improving social personal qualities of children, school based assessment, new initiatives in school education such as Performance Grading Index(PGI), UDISE +, learner-centred pedagogies of different subjects, School Leadership, Early Childhood Care and Education, Prevocational Education in Upper Primary Classes, etc.
- The focus of this training will be on competency based learning through experiential and joyful learning including singing, dancing, book review, debate, youth and eco club activities, This will be helpful in making classrooms learner-friendly and improving children' competencies including critical thinking, problem solving, creativity, as well as social –personal qualities such as cooperation, team work etc.

An outlay of Rs. 4305.21 lakh as per unit cost given below was estimated for teachers training. (Rs. 3718.12 lakh for in-service training of teachers and Rs. 587.09 lakh for training of resource persons, printing of modules and travel & accommodation).

(Rs. In lakh)

(NS. III laki			
Activity Master Physical		Unit Cost	Financial
In-Service Training (I – VIII)			
Class I & II	35957 (Teachers)	0.025	898.925
Class III to V	53954 (Teachers)	0.025	1348.35
Class VI to VIII	58834 (Teachers)	0.025	1470.85
Total of In-Service Training (I - VIII)			3718.125
Training of Key Resource Persons (Elementary)			
KRPs Training at State level ( Class I to VIII)	1000(KRPs)	0.06	60.00
SRPs Training by NIEPA at State Level (Class I to VIII)	200 (SRPs)	0.02	4.00
KRPs Travel/Accommodation	1200 (KRP & SRP)	0.25	300.00
Printing of Integrated Teacher Training Module 148725 0.0015			223.088
Total of Training of Resource Persons & Master Trainers (Elementary)			587.09
Grand Total			4305.21

**Outcome:** This activity would help in overall improvement in Teacher Performance and consequent improvement in Quality including Learning Outcomes and covered under PG1 2.1.18 and 2.1.20.

**Monitoring:** Through School based Assessment to be conducted in December 2019 and other reports.

t) Training for Teachers, Head Teachers, Educational Administrators (Secondary) (Inservice, Induction, leadership etc.): An amount of Rs. 763.73 lakh was estimated for different categories of training at secondary level. A comprehensive teacher training module for secondary teachers is being prepared by the CBSE with the help of KVS, NVS and other experts. States and UTs are requested to use this module for in-service training. State is requested to provide UDISE code of selected schools within two months where these activities will be carried out.

(Rs. In lakh)

(KS. III IdKII)				
Activity Master	Physical	Unit Cost	Financial	
In-Service Training (IX - XII )				
Class IX to X	12965 (Teachers)	0.03	388.95	
Class IX to XII	1656 (Teachers)	0.03	49.68	
Class XI to XII	7880 (Teachers)	0.03	236.40	
Total of In-Service Training (IX - XII )			675.03	
<b>Training of Resource Persons &amp; Master</b>	Trainers (Secondary)			
Master Trainers/Key Resource Persons (KRPs) Training for Class IX to X	1095 (MTs)	0.025	27.375	
Master Trainers/Key Resource Persons (KRPs) Training for Class XI & XII	11	0.025	0.275	
Total of Training of Resource Persons & Master Trainers (Secondary)			27.65	
School Leadership Training of Head Teachers/ Principals/RPs (Second				
School Leadership Training Program (SLDP) 1 month Certificate Course	200(Head Teachers)	0.12	24.00	
Training of HMs (SLDP)	1362 (Head Masters)	0.025	34.05	
Total of School Leadership Training of Head Teachers/ Principals/RPs (Secondary)			58.05	
Training of Educational Administrators (Secondary)				
Secondary Level (Classes IX to X)	200 (Administrators)	0.015	3.00	
Total of Training of Educational Administrators (Secondary)			3.00	
Total of Training for In-service Teacher and Head Teachers			763.73	

#### Outcome:

- 1) Impact assessment of the training to be carried out by SCERT/third party impact analysis reports should be shared.
- 2) The State should conduct pre- training needs assessment of the teachers and post-assessment to see the impact of training. This is covered under PGI indicator No. 2.1.18 and 2.1.20.

**Monitoring:** Through School based Assessment to be conducted in December 2019 and other reports.

u) Academic support through BRC/URC & CRC (Elementary): Strengthening of CRCs -Mobility support to CRCs. **Each Cluster Resource Coordinator** will visit the schools under his/her jurisdiction at least once in 2 months. It is expected that in remote and rural areas the CRC will have five schools while in urban areas this can go upto 10 schools.

- Cluster Resource Coordinator would visit the schools and provide onsite academic support.
- Assess school performance and design Strategies for improvement of various interventions at School Level.
- Will review the status of implementation at the cluster level so as to ensure better outcomes.
- Upload at least 5 reports for each school in a year on a Mobile App based platform which is being developed by the Department.

An additional support of Rs. 423.35 lakh @ Rs. 1000/- per school was estimated under this intervention for CRC coordinator to visit the schools frequently and provide onsite academic support, organise monthly meeting to discuss academic issues and design strategies for better school performance and act as a mentor. The report of the school visit is also to be uploaded on a Mobile App.

BRC will also do similar exercise and send report periodically likewise indicating the outcome of the various task performed at the BRC level.

An outlay of Rs. 9168.09 Lakh was estimated for Academic support through BRC/URC & CRC including Rs. 1715.64 lakh for BRC/URC and Rs. 7452.45 lakh for CRCs.

Activity Master	Physical	Unit Cost	Financial
Provision for BRCs/URCs			
Salary for 6 Resource Persons at BRC	46	3	138
Salary for 2 Resource Persons for CWSN	164	2.76	452.64
Salary for 1 MIS Coordinator in position	150(BRCs)	1.8	270
Salary for 1 Data Entry Operator in position	150(BRCs)	1.8	270
Salary for 1 Accountant-cum-support staff	150(BRCs)	2.3	345
Furniture Grant	150(BRCs)	1	150
Contingency Grant	150(BRCs)	0.3	45
Meeting, TA	150(BRCs)	0.1	15
Maintenance Grant	150(BRCs)	0.2	30
Total of Provision for BRCs/URCs			1715.64
Provisions for CRCs			
Furniture Grant	5540(CRCs)	8.0	4432
Contingency Grant	5540(CRCs)	0.2	1108
Meeting, TA	5540(CRCs)	0.1	554
TLM Grant	5540(CRCs)	0.12	664.8
Maintenance Grant	2703(CRCs)	0.1	270.3
Mobility Support for CRC(Strengthening of CRC)	42335 (Schools)	0.01	423.35
<b>Total of Provisions for CRCs</b>			7452.45
Total of Academic support through BRC/U	9168.09		

<sup>\*</sup>State will bear the salary of Cluster Resource Coordinators (CRCs).

**Outcome:** The strengthening of BRCs and CRCs would enable them to play a pivotal role in monitoring and improving the quality of education. This is covered under PGI indicator 2.1.15.

**Monitoring**: Through various reports to be uploaded in the specific portal including the report by CRC Coordinator and by way of Census based inspection through Shagunotsav in September, 2019.

# v) Youth and Eco Clubs (Elementary)

#### **Constitution of Youth Club and Eco Club:**

- Youth and Eco Clubs to be constituted in all schools.
- Youth Clubs to utilise idle school resources like
  - playgrounds and sports equipment
  - libraries, music and art rooms and
  - auditorium for co-scholastic and recreational activities like drama, debates, art, sports and games, music etc. for individual and inter personal growth.
- Utilize playing fields and libraries after normal school hours and during holidays etc.
- Eco Clubs to carry out activities to promote awareness and interest in environment, biodiversity, climate and local ecology, nutrition, health, sanitation and hygiene.
- They can utilise parents, retired govt. servants, retired teachers to coach children and spent time with them.
- The Principal / Vice Principal will be in-charge of the Youth & Eco Club. One teacher will be assigned as a nodal person on rotation basis, who would stay back after school hours to facilitate the youth club activities.

An amount of Rs. 3476.15 lakh @ Rs. 5000 for stand-alone primary schools and @Rs.15000 for elementary schools was estimated for 128695 number of elementary schools and 30916 standalone primary schools to constitute youth and eco clubs for the students for various activities such as-debates, music, arts, reading, physical activities etc.

(Rs. In lakh)

Activity Master	Physical	Unit Cost	Financial
Youth & Eco Club (stand alone primary only schools)	30916 (schools)	0.05	1545.80
Youth & Eco Club (Elementary)	12869 (Schools)	0.15	1930.35
Total			3476.15

**Youth & Eco-Clubs (Secondary):** An amount of Rs. 1138.00 lakh @ Rs. 25000 was estimated for 4552 number of Secondary/Higher Secondary schools to constitute youth and eco clubs for the students for various activities such as-debates, music, arts, reading, physical activities etc., as per guidelines at para (w) above.

Activity Master	Physical	Unit Cost	Financial
Youth & Eco Club	4552 (Schools)	0.25	1138.00
Total			1138.00

**Outcome: Youth Club** will help in utilizing the idle school infrastructure in particular, playing fields, sports equipment's and libraries after school hours for productive activities which will help students pursue their own interests and develop self-confidence as they explore their talents. This would also improve enrolment as well as retention. This is covered under PGI indicator No. 1.2.5 & 1.2.7.

**The eco-clubs** in the schools would create a platform for experiential learning enabling understanding concepts of science & technology, bio-medical knowledge. This is covered under PGI indicator No. 1.2.5 and 1.2.7.

**Monitoring:** Through various reports to be uploaded in the Portal and Field Inspection through Shagunotsav.

#### w) Documentation of Best Practices on Shagun Portal-Shagun Repository:

Shagun has been designed to change the narrative on school education by show casing the multitude of innovative & successful models being implemented by all States and UTs in diverse circumstances.

- Enables the successful initiatives to be replicated & taken to scale.
- Sustains the institutional memory of these institutions.
- State to document their best practices, innovative practices and success stories through good quality case studies, videos, photographs and testimonials.
- All States and UTs to upload high resolution videos, photos, testimonials and case studies.

An amount of Rs 25.00 lakh per state was estimated for uploading the best practices on the Shagun Portal and documentation of the Best practices.

- **x) Rangotsav:** Various Cultural activities will be introduced for both students and teachers for promoting experiential learning and making learning joyful and using arts in education. The objective is:
  - To celebrate the rich cultural heritage and diversity of the country.
  - To provide exposure to the children to a variety of cultures, geographies, languages, food and customs of the country.
  - Collective expression of joy and celebrations, where talent, creativity and innovation of every student and teacher is reflected.
  - Major Activities:
  - Kala Utsav
  - Role Play Competition
  - Band Competition
  - Music Teacher Competition
  - Folk dance competition

Focus at elementary level will be on joyful learning. For joyful learning, Rs. 5.00 lakh per State has been estimated for elementary classes. Competitions may be organized for Secondary/Higher Secondary classes, for which the following approvals were given:

- **(i) Band Competition:** An amount of Rs. 5.00 lakh was estimated for Band Competition and participation in national level competition.
- (ii) Kala Utsav: An amount of Rs. 11.47268 lakh was estimated for Kala Utsav at State level and participation in national level competition.

(Rs. In lakh)

Activity Master	Physical (State Level)	Unit Cost	Financial
Kala Utsav (Secondary)	1	11.47268	11.47268

y) Teachers Identity Card (Elementary): Elementary: An amount of Rs. 74.34 lakh @ Rs. 50 per teacher was estimated for issue of Identity Cards to 148680 of teachers with all details such as Name of the School with UDISE Code, Full Address of the school with Block, Village, District, Designation separately for contract teachers and regular teachers. These would need to be carried by all teachers in schools.

(Rs. In lakh)

Activity Master	Physical(Teachers)	Unit Cost	Financial
Teacher ID Cards	148680	0.0005	74.34

**z) Teachers Identity Card (Secondary):** An amount of Rs. 15.8835 lakh @ Rs.50 was estimated for issue of Identity Cards to 31767 No. of teachers with all details such as Name of the School with U-DISE Code, Full Address of the school with Block, Village, District, Designation separately for contract teachers and regular teachers. These would need to be carried by all teachers in schools.

(Rs. In lakh)

Activity Master	Physical (Teachers)	Unit Cost	Financial
Teacher ID Cards	31767	0.0005	15.8835

**Outcome**: This would help in ensuring the presence of actual teachers deployed in a school and identifying proxy teachers. This is covered under PGI Indicator 2.1.2 and 2.1.4.

**Monitoring:** Through various reports to be uploaded from various levels as well as during the Shagunotsav, the physical verification of the attendance of regular teachers posted in the respective Schools will be ascertained.

# 9. Quality Intervention- Other State Specific Activities:

a) Shaala Siddhi (Elementary): An amount of Rs. 262.71 lakh @ of Rs.600/- per school was estimated for 43785 primary schools for Shaala Siddhi. State is requested to provide UDISE code of selected schools within two months where these activities will be carried out.

(Rs. in lakh)

Activity Master	Physical(Schools)	Unit Cost	Financial		
Quality Components (Elementary)					
Shaala Siddhi	43785	0.006	262.71		
Total			262.71		

b) Shaala Siddhi (Secondary): An amount of Rs. 27.312 lakh @ of Rs.600/- per school was estimated for 4552 secondary schools for Shaala Siddhi. State is requested to provide UDISE code of selected schools within two months where these activities will be carried out.

(Rs. in lakh)

Activity Master	Physical(Schools)	Unit Cost	Financial
Quality Components (Secondary)			
Shaala Siddhi	4552	0.006	27.312
Total			27.312

**Outcome:** It would help to conduct self evaluation of schools and adopt interventions to improve the quality of education.

c) **Student learning Assessment (Elementary):** State has designed SLA to give students helpful feedback as they work towards greater understanding based on objectivity vs subjectivity, formative assessments, checklists and rubrics.

An outlay of Rs.4800.00 lakh was estimated for establishment of State Assessment Cell within SCERT, for workshops, question paper setting, survey summative assessment and report etc. State is requested to provide details of workshops organised and details of survey conducted.

(Rs. In lakh)

Activity Master	Physical (Schools)	Unit Cost	Financial
Student learning Assessment	1	4800.00	4800.00
Total			4800.00

d) **Quality Improvement Special Program:** Each block will be given funds to implement certain specific quality improvement program at Elementary Level. These programs will be designed at the block level by active group of teachers and they take ownership to implement such programs and show the results within stipulated time and the focus of their program will be improved students learning. Successful model will be shared and replicated next year.

An outlay of Rs. 22.50 lakh @Rs.15000/- per School was estimated for 150 Schools. **State** is requested to provide UDISE code of selected schools within two months where these activities will be carried out.

(Rs. In lakh)

Activity Master	Physical (Schools)	Unit Cost	Financial
Quality Improvement Special Program	150	0.15	22.50
Total			22.50

e) **Support to English Medium Schools:** An outlay of Rs. 900.00 lakh @Rs.3.00 lakh was estimated for support to 300 English Medium schools including Procurement of Books, Study Material and Honorarium for Expert, Training of Teacher etc at Elementary Level. **State is requested to provide UDISE code of selected schools within two months where these activities will be carried out.** 

Activity Master	Physical (Schools)	Unit Cost	Financial
Support to English Medium Schools	300	3.00	900.00
Total			900.00

f) **Teacher Motivation Strategies:** An outlay of Rs. 3.54 lakh @Rs.2000/- per teacher was estimated for 177 teachers (3 from each block and 1 from district) for encouraging teachers to collaborate through formal structure of Professional Learning Communities at Elementary Level. One PLC from each block will be rewarded based on their active collaboration and support in providing quality education.

(Rs. In lakh)

Activity Master	Physical (Teachers)	Unit Cost	Financial
Teacher Motivation Strategies	177	0.02	3.54
Total			3.54

g) **Teaching Learning Material Kit:** An outlay of Rs. 1351.50 lakh @Rs.25000/- per school was estimated for Teaching Learning Material Kit for 5406 Schools. One Primary and one Upper Primary Schools will be identified in each cluster and they will be given funds to equip themselves with Teaching-Learning Material kit. **State is requested to provide UDISE code of selected schools within two months where these activities will be carried out.** 

(Rs. In lakh)

Activity Master	Physical (Schools)	Unit Cost	Financial
Teaching Learning Material Kit	5406	0.25	1351.50
Total			1351.50

h) **ShaalaKosh:** An outlay of Rs. 2279.359 lakh was estimated for e-learning Tablets @Rs.4700/- per school for 48497 schools. **State is requested to provide UDISE code of selected schools within two months where these activities will be carried out.** 

(Rs. In lakh)

Activity Master	Physical	Unit Cost	Financial
ShaalaKosh	48497	0.047	2279.359
Total			2279.359

i) **UNNATI:** An outlay of Rs. 1223.877 lakh was estimated for Unnati including pre and post test, work book, student app for all students of class IX. This Programme is aimed at Enhancement of Competencies in Functional English of students of tribal Districts secondary schools in Chhattisgarh.

(Rs. In lakh)

Activity Master	Physical	Unit Cost	Financial
UNNATI	407959	0.003	1223.877
Total			1223.877

j) **Twinning/Partnership and Teacher Exchange Programme (Elementary):** An amount of Rs. 15.00 lakh @ Rs. 15000/- per teacher was estimated to cover exchange of ideas, sharing of best practices, etc., and other activities among students/Teachers of different schools.

Activity Master	Physical	Unit Cost	Financial
Teacher Exchange Programme	100	0.15	15.00
Total			15.00

k) **Yoga Project:** An outlay of Rs. 20.58 lakh @Rs.1500/- per trainer was estimated for 03 days residential training of 1372 trainers including master trainer honorarium.

(Rs. in lakh)

Activity Master	Physical	Unit Cost	Financial
Yoga Project	1372	0.015	20.58
Total			20.58

l) **Special Transport Allowance:** An outlay of Rs. 48.00 lakh @Rs.6000/- per student was estimated for 800 upper primary children in remote area days residential training of 1372 trainers including master trainer honorarium. List attached at *Annexure – V.* 

Rs. in lakh)

Activity Master	Physical	<b>Unit Cost</b>	Financial
Special Transport Allowance	800	0.06	48.00
Total			48.00

- m) **Innovative Activities (Secondary):** An amount of Rs. 1133.6182 lakh was estimated for the innovative activities (project based) under this component including:
  - (i) CCTV Camera: For 100 senior secondary girls' schools. (State is requested to provide UDISE code of selected schools within two months where these activities will be carried out).
  - (ii) Fire Extinguisher: For installation of FIRE Extinguisher in 4552 Schools. (State is requested to provide UDISE code of selected schools within two months where these activities will be carried out).
  - **(iii) Interactive Multimedia Tools for Visual Impaired Children:** Interactive multimedia tools for 100 visual impaired children.
  - (iv) Transcending pedagogy through blended learning: The objective of integrated blended learning is transcending pedagogies through simulation, mobile /apps and digitally blended lesson plans. This would enable self directed and peer learning, It includes blended pedagogical methods with the use of appropriate kind of tools and technological supports in the form of digitalized teaching learning materials and various resources available in the state and other websites, use of apps, classroom computer labs etc. (State is requested to provide the list of selected schools and also share the document with MHRD)
  - **(v) Career Guidance / Counselling:** For aptitude and career awareness testing for 1113394 students.

Activity Master	Physical	<b>Unit Cost</b>	Financial
Project - Innovative Activities (Secondary & Sr. Secondary)			
CCTV Camera	100 (Schools)	0.22	22.00
Fire Extinguisher	4552 (Schools)	0.05	227.60
Interactive Multimedia Tools for Visual Impaired Children	100 (Children)	0.50	50.00
Transcending pedagogy through blended learning	1000	0.5	500.00
Career Guidance / Counselling	1113394 (Students)	0.0003	334.0182
Total			1133.6182

**Outcome**: Improve quality of education at Secondary/Higher Secondary level. This is covered under PGI indicator NO. 1.2.5 & 1.2.7.

## 10. Gender & Equity:

- a) Kasturba Gandhi Balika Vidyalaya (KGBV): KGBVs have been established to provide access and quality education to girls belonging to disadvantaged groups by setting up residential schools/hostels from upper primary to senior secondary level and to ensure smooth transition of girls from elementary to secondary and up to Class XII wherever possible.
  - (i) Kasturba Gandhi Balika Vidyalaya (KGBV) Type-I (Class VI to VIII): An outlay of Rs. 4851.58 lakh (Recurring +Non-Recurring Grant) as per unit costs given below is estimated for maintenance and recurring costs, under Elementary component for Type-I KGBVs. The State may also refer to the detailed guidelines issued by MHRD for KGBV under Samagra Shiksha.

Activity Master	Physical	Unit Cost	Financial
KGBV - Type - I (NR) (Previous Year) (	Classes VI –	VIII)	
Furniture/ Equipment (including	1	0.3	0.3
kitchen)			
TLM and equipment including library	1	3.5	3.5
books			
Bedding	100	0.0075	0.75
Replacement of bedding (once in 3	9300	0.0075	69.75
years)			
Total of KGBV - Type - I (NR)			74.30
(Previous Year) (Classes VI -VIII)			74.50
KGBV - Type - I (Recurring) (Previous Y			
Fooding / Lodging per girl per month	9400	0.18	1692
Stipend per girl per month	9400	0.012	112.8
Supplementary TLM, Stationery and	9400	0.01	94
other educational material			
1 Warden	94	4.2	394.8
4 - 5 Full Time Teachers	470	2.4	1128
3 Part Time Teachers	282	0.84	236.88
1 Full Time Accountant	94	2.16	203.04
2 Support Staff – (Accountant/ Assistant,	188	0.84	157.92
Peon, Chowkidar)			
1 Head Cook	94	0.96	90.24
2 Assistant Cook	188	0.84	157.92
Specific skill training per girl	9400	0.01	94
Electricity / Water Charges	9400	0.01	94
Medical care / Contingencies	9400	0.0125	117.5
Maintenance	9400	0.0075	70.5
Miscellaneous	9400	0.0075	70.5
Preparatory Camps	94	0.07	6.58
P.T.A.	9400	0.003	28.2
Provision of Rent	1	9.6	9.6
Capacity Building	94	0.1	9.4

Activity Master	Physical	<b>Unit Cost</b>	Financial
Physical / Self Defence	94	0.1	9.4
Total of KGBV - Type - I (Recurring) (Previous Year) (Classes VI -VIII)			4777.28
Total of KGBV - Type - I			4851.58

List of KGBVs for Furniture/ Equipment (including kitchen), TLM & equipment including library books, bedding and replacement of bedding is attached at **Annexure-VI**.

**Outcome**: This activity would help in addressing issues of drop out of girls and improve transition rate and retention rate. This is covered under PGI 1.2.3-1.2.8, 1.4.9a, and 1.4.10.

ii) KGBV Type-IV (Existing standalone Girls Hostel for classes IX to XII): An amount of Rs. 1850.00 lakh was estimated as per the item-wise detail activities given below under Secondary component:

(Rs. In lakh)

Activity Master	Physical	Unit Cost	Financial					
KGBV - Type - IV (Recurring) (Previous Year) (Classes IX - XII)								
Food/Lodging per child per month	7400	0.18	1332					
1 Warden	74	0.6	44.4					
1 Chowkidar	74	0.84	62.16					
1 Head Cook	74	0.96	71.04					
2 Assistant Cook	148	0.84	124.32					
Electricity / Water Charges	74	0.6	44.4					
Medical care / Contingencies	7400	0.0075	55.5					
Maintenance	74	0.35	25.9					
Miscellaneous	74	0.35	25.9					
News Papers / Magazine & Supports	74	0.02	1.48					
Toiletaries & Sanitation	7400	0.0085	62.9					
Total of KGBV - Type - IV			1850.00					

**Outcome**: Increase of girls' enrolment in Educationally Backward Blocks (EBBs), reduce gender gap and improve girls' retention rate in secondary/higher secondary schools. This is covered under PGI indicator No. 1.4.10 & 1.4.11.

**b) Self-Defence**: Gender-based violence is a serious problem threatening the growth, development, education and health of adolescent girls in the country. Self-defence training techniques instil self confidence amongst girls and helps to promote girls' education particularly their transition to secondary and higher secondary level and to reduce the drop-out rate in schools. Through self-defence techniques, the girls are taught to increase their core strength. In dire situations, one is not required to have martial art training or a particular dress to defend and save oneself instead a strategic nudge, a sharp flick, a kick or a punch are enough to deter the attacker.

The girls are trained to use every day articles such as, Key chain, dupatta, Stole, mufflers, bags, pen/pencil, notebook etc. as weapons of opportunity/improvised self-defence weapons to their advantage. The States and UTs may also look for convergence for availing funding for self-defence training under the Nirbhaya Fund under Ministry of Women and Child Development, Government of India, Police Department, Home Guards, NCC or with other State government schemes. Self-defence training is provided to limited number of schools; therefore, **State is requested to provide UDISE No of these schools within two months where these activities will be carried out.** 

**Elementary:** An outlay of Rs. 814.59 lakh @ Rs. 3000/- per school per month was estimated for 3 Months training in self-defence for girls in 9051 number of schools.

(Rs. In lakh)

Activity Master	Physical (Schools)	Unit Cost	Financial			
Self Defence Training (up to Highest Class VIII)						
Self Defence Training (Upto Class VIII)	9051	0.09	814.59			
Total			814.59			

**Secondary**: An amount of Rs. 96.66 lakh @ Rs. 3000/- per school per month was estimated for Self-Defence training in 1074 secondary/higher schools.

(Rs. In lakh)

Activity Master	Physical (Schools)	Unit Cost	Financial
Project- Girls Empowerment (Secondary)			
Training in Martial Arts to all girls / Self Defence	1074	0.09	96.66
Total			96.66

**Outcome:** This would strengthen girl's enrolment & retention and is covered under PGI indicator 1.4.10.

c) Empowering Adolescents with life skills education in Schools (Secondary): An amount of Rs. 207.85 lakh @ Rs.5000/- per school was estimated for Empowering Adolescents with life skills education in 4157 Schools including orientation training and counselling etc at Secondary Level. State is requested to provide UDISE code of selected schools within two months where these activities will be carried out.

(Rs. In lakh)

Activity Master	Physical (Schools)	Unit Cost	Financial
Empowering Adolescents with life skills education in Schools	4157	0.05	207.85

**Outcome:** This would help in raising awareness about future career prospects; improve enrolment and retention in Secondary/Higher Secondary schools. This is covered under PGI indicator No. 1.2.5, 1.2.7, 1.3.5.

## 11. Inclusive Education:

a) Elementary: An amount of Rs. 2030.31 lakh as per unit cost given below was estimated for various activities (Students Oriented) at elementary level for Children with Special Needs such as identification and assessment camps, distribution of aids & appliances, Braille books & large print books and provision of escort allowances, etc.

(Rs. In lakh)

Activity Master	Physical	Unit Cost	Financial
Inclusive Education (up to Highest Class VIII)			
Equipments for Resource Room	150	3.5	525
LD based Training for 4 days	4629	0.008	37.032
Renovation of District Resource Centre	16	5	80
Skill Development Prog for MR Children 5 days	1784	0.04	71.36
Sports Events	26	1	26
Exposure Visit	166	0.14	23.24
Purchase/Development of instructional	46901	0.002	93.802
materials			
Helper/Ayas/Attendant	136	0.72	97.92
Braille Stationary Material (Inc. Embossed	317	0.2	63.4
Charts, globes etc)			
Providing Aids & Appliances	15259	0.01	152.59
Identification and Assessment (Medical	139	0.5	69.5
Assessment Camps)			
Assistive Devices, Equipments and TLM	1974	0.08	157.92
Transportation allowance	2796	0.03	83.88
Stipend for Girls	17662	0.02	353.24
In-service Training of Special Educators	248	0.025	6.2
Environment Building programme	6394	0.008	51.152
Orientation of Principals, Educational	602	0.005	3.01
administrators, parents / guardians etc.			
Development of Training Material	106	0.025	2.65
Escort Allowance	4010	0.03	120.3
Home Base Education	2423	0.005	12.115
Total			2030.311

b) Secondary: An amount of Rs. 210.98 lakh as per unit cost given below was estimated for various activities (Students Oriented) at secondary/higher secondary level for Children with Special Needs such as identification and assessment camps, distribution of aids & appliances, Braille books & large print books and provision of escort allowances, etc. In addition Rs. 15.95 lakh was estimated for Environment Building programme & Orientation of Principals, Educational administrators, parents / guardians etc.

Activity Master	Physical	<b>Unit Cost</b>	Financial		
Inclusive Education (Student Oriented Components) (up to Highest Class X or					
Braille Stationary Material (Inc. Embossed Charts,	171	0.02	3.42		
globes etc)					
Providing Aids & Appliances	4234	0.01	42.34		
Identification and Assessment (Medical	4234	0.002	8.468		
Assessment Camps))					
Reader Allowance	171	0.02	3.42		

Activity Master	Physical	<b>Unit Cost</b>	Financial
Uniform	4234	0.006	25.404
Assistive Devices, Equipments and TLM	4234	0.01	42.34
Escort Allowance	171	0.02	3.42
Sports & Exposure Visit	4234	0.01	42.34
Stipend for Girls	1906	0.02	38.12
Transportation allowance	171	0.01	1.71
Total			210.982
Inclusive Education (Recurring) (Upto Highest 0	Class - XII)		
Environment Building programme	146	0.1	14.6
Orientation of Principals, Educational	135	0.01	1.35
administrators, parents / guardians etc.			
Total			15.95
Total of Inclusive Education (Secondary)		·	226.932

The State was asked to share database of all CWSN children on PMS portal of Samagra Shiksha.

**Outcome:** The activities under this intervention would provide Access and increase retention of CWSN children by providing them a conducive learning environment. This is covered under PGI indicator 1.4.12 to 1.4.15.

### 12. Vocational Education (Secondary):

The aim of introducing vocational education in schools is to prepare educated and employable youth. Under vocationalisation of school education, vocational courses are introduced along with academic subjects from classes 9 to 12. There is also a provision for providing exposure to vocational education to students of Classes VI to VIII. Under this component, there is greater involvement of industry in design, delivery and assessment of vocational skills.

An amount of Rs. 8122.60 lakh as per unit cost given below was estimated for support for Vocational Education towards recurring cost for 546 existing Schools. The State may also refer to the detailed guidelines issued by MHRD for vocational education under Samagra Shiksha.

Activity Master	Physical	<b>Unit Cost</b>	Financial
Recurring Support VE - Existing			
Internship for Higher secondary students	10000	0.015	150
Job Mela	28	0.5	14
Financial Support for Vocational Teacher/ Trainer	1092	2.4	2620.8
(Existing)			
Financial Support for Resource Persons (Existing)	546	2.011	1098.006
Raw material grant for new school per course	546	3.62	1976.52
(Existing)			
Cost of providing Hands Training Students	546	1.93	1053.78
(Existing)			
Assessment and Certification Cost (Existing)	50614	0.006	303.684
Office Expenses / Contingencies for School	546	1.609	878.514
(Existing)			
In-service Training of VE - Teachers (5 - Days) -	1092	0.025	27.3
(Existing)			
Total			8122.604

**Outcome:** The activities under this intervention would enhance the employability of youth and bridge the divide between the academic & applied learning. This is covered under PGI indicator 1.3.5.

**Monitoring:** The state will report the number of students provided apprenticeship and the number of students placed through the Quarterly Progress Reports and various reports on the PMS portal.

# 13. Support for Salary of Teachers

# a) Elementary:

Catagomy	S	Sanctioned			Working			Vacancy	r
Category	State	SS	Total	State	SS	Total	State	SS	Total
PS Teachers	75682	24737	100419	75129	8684	83813	553	16053	16606
UPS Teachers	35100	28209	63309	35100	6223	41323	0	21986	21986
Grand Total (PS+UPS)	110782	52946	163728	110229	14907	125136	553	38039	38592

An amount Rs. 29574.60 lakh was estimated as support for teacher salary as per norms of the Scheme. State was advised to relook at the requirement of teacher/headmaster posts and rationalize deployment of teachers as all teachers are the responsibility of the State. There is no dual cadre of teachers – only financial support for additional teacher salary would be provided under the Samagra Shiksha. Any additionally as per terms and conditions for recruitment of teachers in the state is to be borne by the state.

(Rs. In lakh)

Activity Master	Physical (Teachers)	Unit Cost	Financial
Teacher Salary - (Elementary)			
Primary Teachers- Existing, in position (Regular)	8133	1.80	14639.40
Total of Teacher Salary - (Elementary)			14639.40
Upper Primary Teachers (Regular) - (Elementa	ry)		
Upper Primary Teachers	6223	2.40	14935.20
Total of Upper Primary Teachers (Regular) – (Elementary)			14935.20

**Outcome:** Teacher's role is central and their deployment & rationalization would help in maintaining appropriate teacher –pupil ratio and is covered under PGI 2.1.7, 2.1.8, 2.1.9, 2.1.11a, 2.1.21, 2.1.22 and 2.1.23.

#### b) Secondary:

Status of Teachers in Secondary Schools-2019-20

Catagomy	Sanctioned Working		anctioned		Working		Vacancy		
Category	State	SS	Total	State	SS	Total	State	SS	Total
Secondary	3279	7963	11242	3279	3514	6793	0	4449	4449
Teachers	34/9	7903	11242	3479	3314	0/93	U	4447	4447

There are 1449 upgraded secondary school in the state. PAB has approved 1449 headmasters and 7963 subject teachers in these schools;

An amount Rs. 8646.00 lakh was estimated as support for 2882 subject teachers' salary as per norms of the Scheme.

(Rs. in lakh)

Activity Master	Physical (Teachers)	Unit Cost	Financial
Staff for Previous Year Schools (Secondary)			
Subject Teacher	2882	3	8646.00
Total of Staff for Previous Year Schools (Seconda	8646.00		

#### 14. Teacher Education

**a) Programme & Activities and Faculty Development:** An amount of Rs. 799.99 lakh as per unit given below was estimated for Programme & Activities for SCERT and DIETs for a range of activities such as exposure visits, short term professional courses, etc.

(Rs. In lakh)

Activity Master	Physical ( No. of TEI)	Unit Cost	Financial
<b>Program &amp; Activities including Faculty Development of Teacher E</b>			ucators
Program & Activities (DIET)	19	30.00	570.00
Specific projects for Research activities (DIET)	19	9.21	174.99
Program & Activities (SCERT)	1	40.00	40.00
Specific programme for Research activities (SCERT)	1	15.00	15.00
Total			799.99

#### **Outcome:**

- Dissemination of the findings and impact of the research studies would be shared by the States and UTs.
- The SCERT/SIE would conduct an impact assessment study of the inservice/induction training programmes.
- **b) Support for Teachers Educator Salary:** An amount of Rs. 1089.85 lakh as per unit cost given below was estimated for Salary of academic posts in SCERT and DIETs. Total amount of salary for teacher educators is worked out as per the scheme, @ 60% of total salary estimate.

(Rs. In lakh)

Activity Master	Physical (Teachers)	Unit Cost	Financial		
Teachers Educators Salary in TEIs (Academic Posts)					
DIETs	198	5.5043	1089.8514		
Total			1089.85		

**Outcome:** State to ensure 100% of academic positions are filled in the SCERT/SIE and DIETs at the beginning of the given academic year 2019-20. This is covered under PGI Indicator 2.1.12.

c) Technology Support to Teacher Education Institutions (TEIs): An amount of Rs. 45.60 lakh @ Rs. 2.40 lakhs per TEI was estimated for recurring grant for all the functional 19 DIETs for activities such as, e-content and digital resources, internet connectivity and maintenance, etc.

(Rs. In lakh)

Activity Master	Physical (No.of TEI)	Unit Cost	Financial		
Technology Support to TEIs: Recurring Support					
Recurring Support on Technology (TEIs)	19	2.40	45.60		
Total			45.60		

**Outcome:** Introduction of innovative methods and good quality e-content developed would help in improving the quality of teacher training.

**d) Annual Grants to TEIs:** An amount of Rs. 415.00 lakh as per unit cost given below for SCERT and DIETs was estimated under Annual Grant for TEIs for meeting day-to-day expenses, hiring of Resource persons/Experts for Teacher Training, purchase of library books, stationary periodicals, small office and library equipment's, office expenses, etc.

(Rs. In lakh)

Activity Master	Physical	Unit Cost	Financial
Annual Grant for TEIs			
SCERT	1	35.00	35.00
DIETs	19	20.00	380.00
Total of Annual Grant for TEIs			415.00

**Outcome:** State to ensure that SCERT/SIE and DIETs utilise the annual grants optimally and are registered under PFMS. This is covered under PGI indicator 2.1.26.

#### **15. MIS**

An outlay of Rs. 115.63 lakh @ Rs. 2 per student was estimated for MIS/UDISE+activities.

(Rs. In lakh)

Activity Master	Physical (Students)	Unit Cost	Financial
Monitoring of the Scheme			
Management Information System (UDISE +)	5781276	0.00002	115.62552
Total			115.63

#### 16. Programme Management

An outlay of Rs. 8668.15 lakh @ 5% against total outlay was estimated for Programme Management (MMER).

(Rs. In lakh)

Activity Master	Physical	Unit Cost	Financial
Program Management (MMER) (I - XII)			
Program Management (MMER) (I - XII)	1	8668.15	8668.15
Total			8668.15

## **17. Spill Over**

An amount of Rs. 65238.51 lakh as Spill over under various activities falling under Elementary Education, Secondary Education and Teacher Education was estimated with

the condition that all pending activities should be completed during this year 2019-20. The State should ensure completion of spill-over activities from Non-recurring grants released this year before taking up new civil works. The detail is enclosed at **Annexure-VII**.

# 18. Costing Sheet

The details of State consolidated item-wise estimate for 2019-20 is at **Annexure-VIII.** 

The meeting ended with a vote of thanks to the Chair.

\*\*\*\*

# List of Participants PAB Meeting of Chhattisgarh on 14th June, 2019

- 1. Ms. Rina Ray, Secretary (SE&L), MHRD
- 2. Ms. L.S. Changsan, Joint Secretary (SE&L), MHRD
- 3. Mr. Maneesh Garg, Joint Secretary (SE& L), MHRD
- 4. Mr. Gaurav Dwiwedi, Secretary, Government of Chhattisgarh
- 5. Ms. Rashi Sharma, Director, MHRD
- 6. Mr. S. Prakash, SPD, SSA & RMSA
- 7. Mr. S. Bhattacharya, (SE&L), MHRD
- 8. Mr. P. K. Bali, Deputy Secretary (SE&L), MHRD
- 9. Mr. Saba Akhtar, NIC (SE&L), MHRD
- 10. Mr. Anil Kakria, Director (Fin) (SE&L), MHRD
- 11. Smt. Sunita Jain, Additional Director, SCERT
- 12. Mr. K. Kumar, Joint Director, SS, Chhattisgarh
- 13. Mr. S. K. Tamobli, Lecturer, SCERT
- 14. Ms. Ranjana Arora, Professor, NCERT
- 15. Dr. N.C. Ojha, Asst Professor, RIE, NCERT, Bhopal
- 16. Dr. Tulika Dey, Asst Professor, NERIE, NCERT, Shillong
- 17. Dr. Kalpana Maski, Asst Professor, RIE, NCERT, Bhopal
- 18. Mr. Nitin Kumar Talokar, SCERT, Raipur, Chhattisgarh
- 19. Mr. Dilip Kumar Pethe, APC, SS, Chhattisgarh
- 20. Mr. Deepa Dass, Asst Director, SS, Chhattisgarh
- 21. Mr. Sudhish, Asst Director, SS, Chhattisgarh, SS, Chhattisgarh
- 22. Mr. Shailendra Singh Verma, State MIS In-Charge, SS, Chhattisgarh
- 23. Mr. Jagdamba Pandey, Programmer, SS, Chhattisgarh
- 24. Mr. Mukesh Kumar Mishra, Programmer, SS, Chhattisgarh
- 25. Mr. Ashutosh Pandey, Programmer, SS, Chhattisgarh
- 26. Mr. Rajat Kumar Tripathi, Programmer, SS, Chhattisgarh
- 27. Mr. Vijay Kumar, Programmer, SS, Chhattisgarh
- 28. Mr. Sunil Agarwal, Programmer, SS, Chhattisgarh
- 29. Mr. Aanand Sahu, Programmer, SS, Chhattisgarh
- 30. Mr. Mohammad Tayyab, Assistant Director, Stat. Division (SE&L), MHRD
- 31. Mr. Ashok Giri, Under Secretary, (SE&L), MHRD
- 32. Mr. Awadhesh PD Yadav, ASO (SE&L), MHRD
- 33. Ms. Kiran Dogra, Senior Consultant, TSG-Samagra Shiksha.
- 34. Mr. R. C., Chief Consultant, TSG-Samagra Shiksha.
- 35. Ms. Alka Mishra, Chief Consultant, TSG-Samagra Shiksha.
- 36. Ms. Tara Naorem, Chief Consultant, TSG-Samagra Shiksha
- 37. Mr. P. K. Rangarajan, Senior Consultant, TSG-Samagra Shiksha
- 38. Ms. Swati Chawla, Consultant, TSG-Samagra Shiksha
- 39. Mr. K Girija Shankar, Senior Consultant, TSG-Samagra Shiksha.
- 40. Ms. Purabi Pattanayak, Senior Consultant, TSG-Samagra Shiksha.
- 41. Mr. Kalicharan, Consultant, TSG-Samagra Shiksha.
- 42. Mr. Nisheedh Verma, Chief Consultant, TSG-Samagra Shiksha
- 43. Ms. Bharti Sharma, Senior Consultant, TSG-Samagra Shiksha
- 44. Ms. Aseela. M. Senior Consultant, TSG-Samagra Shiksha
- 45. Mr. Manish Sharma, Consultant, TSG-Samagra Shiksha.

List of schools approved for upgrading into primary school into Upper Primary level

S. No.	Name of school	School Name	DISE Code
1	Balrampur	PS Babhani	22261109901

List of schools approved for upgrading into Upper Primary level to secondary level

Sl. No	District	Name of the UPS (with full address) proposed for upgradation into secondary school	Existing UDISE Code	Remarks (Sections)
1	KONDAGAON	GOVT. MS PANDEATHGAON	22172508702	2
2	KONDAGAON	GOVT.SSA UPS DONGRIGUDA	22172630308	2
3	BALRAMPUR	GOVT. M.S. NILKANTHPUR	22261310902	2
4	BALRAMPUR	GOVT. M.S. LURGIKHURD	22261003004	2
5	BALODABAZAR	GOVT.MIDIL SCHOOL MIRCHID	22241008102	2
6	DHAMTARI	GOVT. MIDDLE SCHOOL, ADHARI NAVAGAON	22133008202	2
7	DHAMTARI	GOVT. N.M.V. PARSATTI	22132707902	2
8	NARAYANPUR	GOVT.UPPER PRIMARY SCHOOL SULENGA	22183705411	2
9	JASHPUR	GOVT. MS. LUKHI (TWD)	22031203902	2

Annexure III

# Transport/ Escort Facility – 862 Children from remote and school less habitation of District Narayanpur for upper primary schools

	Name of	Category of	No. of children	Distance of the destination
District	habitation to	category or children	to be covered	school from habitation
	be covered	cillaren	(1	Upper Primary)
	Brehbeda	1, 3	78	5 KM
	Pusagaon	1, 3	82	4 KM
	Sakribeda	1, 3	58	3 KM
	Telsi	1, 3	69	9 KM
	Guriya	1, 3	62	10 KM
Namarramanu	Karlakha	1, 3	78	12 KM
Narayanpur	Bijli	1, 3	85	20 KM
	Mahka	1, 3	80	7 KM
	Palki	1, 3	82	8 KM
	Garhbengal	1, 3	58	4 KM
	Bakulwahi	1, 3	58	7 KM
	Narayanpur	1, 3	72	6 KM
Total			862	

# Annexure IV - A to Annexure IV - 0

Annexure IV - A

List of Schools approved for Boys Toilet (Elementary Level)

List of Schools approved for Boys Toilet (Elementary Level)  Recommend						
Sl. No.	District	Block id	School Name	School Code	Physical	Financial in lakh
1	Korba	220510	Govt Middle School Sada Kanya Korba	22051015020	1	1.03
2	Bilaspur	220703	Govt. Ms Koni	22070300205	1	1.03
3	Bilaspur	220703	Govt. Ps Boys Paunsara	22070303501	1	1.03
4	Bilaspur	220703	Govt. Ms Deorikhurd	22070304005	2	2.06
5	Bilaspur	220703	Govt. Ps Khamtarai	22070304301	1	1.03
6	Bilaspur	220703	Govt. Ms Sarvani	22070305702	1	1.03
7	Bilaspur	220703	Jan. Ps Tifra	22070307303	1	1.03
8	Bilaspur	220703	Govt. M.S., Tifra	22070307314	4	4.12
9	Bilaspur	220703	Govt. Ps. Kani. Ram Nagar	22070309801	2	2.06
10	Bilaspur	220703	Govt. Ps Chingraj Para	22070319344	1	1.03
11	Bilaspur	220703	Govt. Ms Chingrajpara	22070323103	1	1.03
12	Bilaspur	220715	Govt. P.S. Kevat Para (Malhar)	22071503801	1	1.03
13	Bilaspur	220715	Govt. Ms Boys Gatoura	22071509505	1	1.03
14	Bilaspur	220715	Govt. Ms Bhatchoura	22071514405	2	2.06
15	Bilaspur	220725	Govt. Ps. Sakri(Edu)	22072514505	3	3.09
16	Durg	221007	Govt Upper Primary School Jeora Sirsa	22100709001	1	1.03
17	Durg	221007	Govt. Ps No. 01, Sec 11, Khursipar Bhilai	22100719701	2	2.06
18	Durg	221007	Govt. Ms Sec 11, Jone - 2, Khursipar	22100719702	1	1.03
19	Raipur	221104	Govt. Middle School Pt.Girjashankar Mishra Raipura	22110402107	1	1.03
20	Raipur	221104	Govt Boys Missle School Bhanpuri	22110406122	4	4.12
21	Raipur	221104	Govt Middle School Advani Orlinkan Birgaon	22110407305	2	2.06
22	Raipur	221104	Govt Boys Middle School Mandhar	22110408614	1	1.03
23	Raipur	221104	Govt Middle School Amlidih	22110409605	1	1.03
24	Raipur	221104	Govt Primary School Kunra	22110410703	2	2.06
25	Raipur	221104	Govt Middle And Higher Secondary Kunra	22110410710	2	2.06
26	Raipur	221104	Govt Primary School Kachna	22110414601	1	1.03
27	Raipur	221104	Govt Primary School Saddu	22110415101	2	2.06
28	Raipur	221104	Govt Middle School Bhathagaon	22110417903	1	1.03
29	Raipur	221104	Govt Middle School Sant Kanwar Ram Katoratalab	22110428423	1	1.03
30	Raipur	221104	Govt Primary School	22110434801	1	1.03

Sl.		Block			Recomm	endation
No.	District	id	School Name	School Code	Physical	Financial in lakh
			Rawabhantha			
31	Raipur	221104	Govt Middle School Rawabhanta(Ssa)	22110434804	1	1.03
32	Narayanpur	221837	Govt. Porta Cabin Devgaon	22183703205	2	2.06
33	Balodabazar	222402	Govt M.S. Tarenga	22240206302	2	2.06
34	Balodabazar	222402	Govt M.S. Karahibazar	22240207802	1	1.03
35	Balodabazar	222418	Govt Middle School Boys Rohansi	22241806903	1	1.03
36	Balodabazar	222418	Govt Middle School Boys Palari	22241808806	1	1.03
37	Balodabazar	222420	Govt. Primary School Dharashiv	22242004301	1	1.03
	Total				55	56.65

Annexure IV - B List of Schools approved for Girls Toilets (Elementary Level)

CI			approved for diris ronces (E.			endation
Sl. No.	District	Block	School Name	School Code	Physical	Financial in lakh
1	Koriya	220123	Govt Girls Middle School Manendragarh	22012300344	1	1.03
2	Korba	220510	Govt Middle School Sada Kanya Korba	22051015020	2	2.06
3	Bilaspur	220703	Govt. Ms Koni	22070300205	2	2.06
4	Bilaspur	220703	Govt. Ms Deorikhurd	22070304005	1	1.03
5	Bilaspur	220703	Govt. Ps Khamtarai	22070304301	2	2.06
6	Bilaspur	220703	Govt. Ms Sarvani	22070305702	2	2.06
7	Bilaspur	220703	Govt. Ms Mopka	22070306304	1	1.03
8	Bilaspur	220703	Jan. Ps Tifra	22070307303	2	2.06
9	Bilaspur	220703	Govt. M.S., Tifra	22070307314	3	3.09
10	Bilaspur	220703	Govt. Ms (G),Hiranagar	22070307917	1	1.03
11	Bilaspur	220703	Govt. Ps. Kani. Ram Nagar	22070309801	2	2.06
12	Bilaspur	220703	Govt. Ms Lingiyadih	22070309803	2	2.06
13	Bilaspur	220703	Govt. Ms Girls Bilha	22070313012	1	1.03
14	Bilaspur	220703	Govt. Ps Chingraj Para	22070319344	2	2.06
15	Bilaspur	220703	Govt. Ms Girls Sarkanda Bsp	22070322606	3	3.09
16	Bilaspur	220703	Govt. Ms Chingrajpara	22070323103	1	1.03
17	Bilaspur	220703	Twd. Ashram Girls Deorikhurd	22070324406	1	1.03
18	Bilaspur	220715	Govt. P.S. Kevat Para (Malhar)	22071503801	2	2.06
19	Bilaspur	220715	Govt. Ms Boys Gatoura	22071509505	2	2.06
20	Bilaspur	220715	Govt. Ms Bhatchoura	22071514405	2	2.06
21	Bilaspur	220725	Govt. Ps. Sakri(Edu)	22072514505	2	2.06
22	Bilaspur	220725	Govt. Upms Girls Takhatpur	22072516621	1	1.03
23	Rajnandgaon	220908	Govt. Middle School Adarsh Girls Khairagarh	22090812616	2	2.06
24	Rajnandgaon	220911	Govt. Primary Girls School No. 4 Lakholi Gram	22091100111	1	1.03
25	Durg	221006	Govt Girls Upper Primary School Kumhari (Ssa)	22100608111	1	1.03

Sl.			Rec				
No.	District	Block	School Name	School Code	Physical	Financial in lakh	
26	Durg	221007	Govt Upper Primary School Jeora Sirsa	22100709001	2	2.06	
27	Durg	221007	Govt. Girls Ms Tilak Durg	22100711404	1	1.03	
28	Durg	221007	Govt. Ps Camp- 02 Bhilai	22100715901	1	1.03	
29	Durg	221007	Govt. Ps No. 01, Sec 11, Khursipar Bhilai	22100719701	2	2.06	
30	Durg	221007	Govt. Ms Sec 11, Jone - 2, Khursipar	22100719702	1	1.03	
31	Raipur	221104	Govt. Middle School Pt.Girjashankar Mishra Raipura	22110402107	2	2.06	
32	Raipur	221104	Govt Girls Middle School Bhanpuri (Ssa)	22110406113	2	2.06	
33	Raipur	221104	Govt Boys Missle School Bhanpuri	22110406122	2	2.06	
34	Raipur	221104	Govt Middle School Advani Orlinkan Birgaon	22110407305	3	3.09	
35	Raipur	221104	Govt Primary School Gogaon	22110407401	2	2.06	
36	Raipur	221104	Govt Boys Middle School Mandhar	22110408614	2	2.06	
37	Raipur	221104	Govt Primary School Amlidih	22110409601	1	1.03	
38	Raipur	221104	Govt Middle School Amlidih	22110409605	2	2.06	
39	Raipur	221104	Govt Primary School Kunra	22110410703	1	1.03	
40	Raipur	221104	Govt Primary School Siltara	22110412901	1	1.03	
41	Raipur	221104	Govt Primary School Kachna	22110414601	1	1.03	
42	Raipur	221104	Govt Primary School Saddu	22110415101	3	3.09	
43	Raipur	221104	Govt Primary School Sankara	22110416601	1	1.03	
44	Raipur	221104	Govt Middle School Mowa	22110417302	1	1.03	
45	Raipur	221104	Govt Primary School Bhathagaon	22110417902	2	2.06	
46	Raipur	221104	Govt Middle School Bhathagaon	22110417903	2	2.06	
47	Raipur	221104	Govt Jr Dani Middle School Budhapara	22110421802	1	1.03	
48	Raipur	221104	Govt Middle School Gogaon	22110423201	3	3.09	
49	Raipur	221104	Govt Middile School Choubey Colony	22110432903	1	1.03	
50	Raipur	221104	Govt Primary School Rawabhantha	22110434801	2	2.06	
51	Raipur	221104	Govt Middle School Rawabhanta(Ssa)	22110434804	2	2.06	
52	Raipur	221106	Govt. Girls Middle School Nawapara	22110613105	2	2.06	
53	Raipur	221122	Govt. Girls Middle School Arang	22112200714	1	1.03	
54	Raipur	221122	Govt. Girls Middle School Mandir Hasoud	22112201009	1	1.03	
55	Mahasamund	221211	Govt Girls Ms Pithora	22121103208	2	2.06	
56	Mahasamund	221225	Govt Ms Girls Toshgaon	22122514807	1	1.03	

Sl.					Recomm	endation
No.	District	Block	School Name	School Code	Physical	Financial in lakh
			(Ssa)			
57	Kanker	221432	Govt. S T. Girl Ashram Singarbhat	22143212201	2	2.06
58	Mungeli	221912	Ms Girls Govt, Lormi	22191221003	1	1.03
59	Mungeli	221916	Govt Girls Ms Mungeli	22191604957	3	3.09
60	Mungeli	221921	Govt.Ms.Girls, Patharia	22192100218	1	1.03
61	Mungeli	221921	Govt.Ms. Girls School, Sargaon	22192109004	1	1.03
62	Bijapur	222036	Residential School(Adarsh Gurukul Pegdapalli) (Ssa)	22203605303	2	2.06
63	Bemetara	222302	Govt Girls Ms Bemetara	22230204206	1	1.03
64	Bemetara	222302	Govt Girls Ms Dadhi	22230205001	1	1.03
65	Balodabazar	222402	Govt.Pancham Deewan Govt. Kanya Sch	22240204224	1	1.03
66	Balodabazar	222402	Govt M.S. Tarenga	22240206302	2	2.06
67	Balodabazar	222402	Govt M.S. Karahibazar	22240207802	2	2.06
68	Balodabazar	222416	Govt Girls M.S.Simga	22241606006	2	2.06
69	Balodabazar	222418	Govt Middle School Boys Rohansi	22241806903	2	2.06
70	Balodabazar	222420	Govt. Primary School Dharashiv	22242004301	2	2.06
71	Gariaband	222523	Govt. Ms Girls Rajim	22252305607	1	1.03
72	Surajpur	222714	Govt. M.S.G.Shivnandanpur	22271407004	2	2.06
	Total				119	122.57

# Annexure IV - C

List of Schools approved for Drinking Water (Elementary Level)

Sl.			approved for Drinking water (			nendation
No.	Distr	Block	School Name	UDISE Code	Physical	Financial in lakh
1	Balod	222205	Govt Primary School Matri	22220508301	1	0.75
2	Balod	222205	Govt Midel School Manki	22220521002	1	0.75
3	Balod	222205	Govt Midel School Kudaridalli	22220517001	1	0.75
4	Balod	222208	Govt Ps Dongitari	22220811302	1	0.75
5	Balod	222204	Govt Ms Dhobedand	22220413703	1	0.75
6	Balod	222204	Govt Ps Mangaltari	22220406301	1	0.75
7	Balod	222205	Govt Primary School Pidiyal	22220501801	1	0.75
8	Balod	222205	Govt Midel School Khaira	22220504302	1	0.75
9	Balod	222205	Govt Primary School Hadgahan	22220512201	1	0.75
10	Balod	222205	Govt Primary School Ranakhujji	22220508702	1	0.75
11	Balod	222205	Govt Midel School Bhurkabhat(Ssa)	22220512002	1	0.75
12	Balod	222205	Govt Primary School Chilhatikala	22220513202	1	0.75
13	Balod	222204	Govt New Girls Ms Chikhlakasa	22220413903	1	0.75
14	Balod	222209	Govt Ps Dupchera	22220911601	1	0.75
15	Balod	222205	Govt Primary School Kevat Navagaov	22220511901	1	0.75
16	Balod	222205	Govt Midel School Sorli	22220501101	1	0.75
17	Balod	222201	Govt Ms Karhibhadar	22220110603	1	0.75
18	Balod	222205	Govt Midel School Mangchuwa	22220516901	1	0.75

Sl.					Recomm	endation
No.	Distr	Block	School Name	UDISE Code	Physical	Financial
					-	in lakh
19	Balodabazar	222416	Govt.Ps. Chucharungpur Simga	22241606023	1	0.75
20	Balodabazar	222416	Govt. Primary School.Devardih	22241613201	1	0.75
21	Balodabazar	222410	Govt.Primary School Kerachaka	22241011602	1	0.75
22	Balodabazar	222418	Govt Primary School Sandi	22241811601	1	0.75
23	Balodabazar	222412	Govt Ms Daldali (Matiya) (Ssa)	22241227401	1	0.75
24	Balodabazar	222412	Govt Ps Kanya Kasdol	22241212401	1	0.75
25	Balodabazar	222412	Govt Ps Biladi	22241204801	1	0.75
26	Balodabazar	222412	Govt Ms Bhadra (Ssa)	22241207002	1	0.75
27	Balodabazar	222410	Govt. Primary School Chaperi	22241000801	1	0.75
28	Balodabazar	222418	Govt Middle School Sitapar	22241806602	1	0.75
29	Balodabazar	222418	Govt Primary School Boys Jarwe	22241801801	1	0.75
30	Balodabazar	222418	Govt Primary School Boys Sasaha	22241812401	1	0.75
31	Balodabazar	222418	Govt Primary School Sadakpara Salauni	22241805703	1	0.75
32	Balodabazar	222410	Govt. P/S Durug	22241025501	1	0.75
33	Balodabazar	222402	Govt. P/S Lamti	22240211101	1	0.75
34	Balodabazar	222420	Govt. Boys Middle School Risda	22242005604	1	0.75
35	Balodabazar	222402	Govt. P/S Rampur	22240207301	1	0.75
36	Balodabazar	222402	Govt P.S.Pt.Ddu Nagar Byt (Ssa)	22240204234	1	0.75
37	Balodabazar	222416	Govt M.SNewari	22241606702	1	0.75
38	Balodabazar	222402	Govt.Naveen P/S Panchsheel	22240204248	1	0.75
39	Balodabazar	222420	Govt. Middle School Khainda (L)	22242002303	1	0.75
40	Balodabazar	222420	Govt. Naveen Praimary School Juda (Ssa)	22242008107	1	0.75
41	Balodabazar	222420	Govt. Praimary School Kasiyara	22242007801	1	0.75
42	Balodabazar	222412	Govt Ms Baya	22241217902	1	0.75
43	Balodabazar	222420	Govt. P.S. Lawan	22242009201	1	0.75
44	Balodabazar	222418	Govt Primary School Boys Palari	22241808803	1	0.75
45	Balodabazar	222402	Govt M.S. Ramsagar Para	22240204218	1	0.75
46	Balodabazar	222420	Govt. Middel School Lahod	22242008104	1	0.75
47	Balodabazar	222416	Govt.P.S.Tulsi	22241609901	1	0.75
48	Balrampur	222610	P.S. Maheshpur	22261000901	1	0.75
49	Balrampur	222612	Ssa P.S.Damhatoli	22261209102	1	0.75
50	Balrampur	222613	P.S. Supdaka	22261308801	1	0.75
51	Balrampur	222613	P.S. Dengupani	22261308805	1	0.75
52	Balrampur	222609	P.S. Dhanwar	22260904203	1	0.75
53	Balrampur	222610	P.S. Purankhajuri	22261004506	1	0.75
54	Balrampur	222613	N.P.S.Damchuan	22261303103	1	0.75
55	Balrampur	222610	P S Shishuwapara	22261000402	1	0.75
56	Balrampur	222613	N.P.S.Pathaltoli	22261303202	1	0.75
57	Balrampur	222612	P.S. Balampokhar	22261204501	1	0.75
58	Balrampur	222613	N.P.S.Amadara	22261301002	1	0.75
59	Balrampur	222612	P.S. Bansdih	22261203801	1	0.75
60	Balrampur	222613	P.S. Sahidara	22261308806	1	0.75
61	Balrampur	222610	P.S. Gawarleta	22261010004	1	0.75
62	Balrampur	222612	P.S.Jamhati	22261209401	1	0.75
63	Balrampur	222613	P.S. Sonpur	22261301601	1	0.75
64	Balrampur	222613	N.P.S.Bejapat	22261305206	1	0.75
65	Balrampur	222608	P.S. Pendari	22260803501	1	0.75
66	Balrampur	222611	Ssa P.S. Pashchimpara	22261100603	1	0.75
67	Balrampur	222612	P.S. Semartala	22261201801	1	0.75

Sl.					Recomm	endation
No.	Distr	Block	School Name	UDISE Code	Physical	Financial
					-	in lakh
68	Balrampur	222613	N.P.S. Bairdih	22261309002	1	0.75
69	Balrampur	222613	P.S. Kadamtoli	22261310905	1	0.75
70	Balrampur	222611	Ssa P.S. Ghutrapara	22261109002	1	0.75
71	Balrampur	222610	P.S. Patelpara	22261003503	1	0.75
72	Balrampur	222612	Ssa P.S. Kavartoli	22261209901	1	0.75
73	Balrampur	222608	P.S. Darripara Sidhama	22260807711	1	0.75
74	Balrampur	222612	Ssa M.S. Patasi ( Bhuneshwarpur0	22261201803	1	0.75
75	Balrampur	222612	P.S. Lalitpur	22261203901	1	0.75
76	Balrampur	222613	M.S. Bhavanipur	22261305702	1	0.75
77	Balrampur	222612	Ssa P.S.Dhasani	22261202102	1	0.75
78	Balrampur	222610	P.S. Talaiyapara	22261003304	1	0.75
79	Balrampur	222612	Ssa M.S. Patna	22261207203	1	0.75
80	Balrampur	222610	M.S. Piparsot	22261008103	1	0.75
81	Balrampur	222613	P.S.Uperkedli	22261311205	1	0.75
82	Balrampur	222608	Ps Alakhnara Para	22260803002	1	0.75
83	Balrampur	222610	P.S. Judaniyapara	22261006613	1	0.75
84	Balrampur	222611	P.S. Beto	22261109601	1	0.75
85	Balrampur	222613	P.S. Mahuyatoli	22261305402	1	0.75
86	Balrampur	222613	M.S. Laxmanpur	22261301202	1	0.75
87	Balrampur	222609	P.S. Kodakupara	22260908103	1	0.75
88	Balrampur	222610	P.S. Bhawardiha	22261001104	1	0.75
89	Balrampur	222613	R.G.P.S. Dhavaitola	22261301801	1	0.75
90	Balrampur	222613	P.S. Magaji	22261310801	1	0.75
91	Balrampur	222611	Ssa P.S. Mokhatola	22261105103	1	0.75
92	Balrampur	222613	M.S. Gadami	22261309003	1	0.75
93	Balrampur	222613	P.S.Amearatoli	22261303602	1	0.75
94	Balrampur	222611	Ssa P.S. Kamalpur,Pandopara	22261113502	1	0.75
95	Balrampur	222610	P S Kotwaritand	22261001903	1	0.75
96	Balrampur	222613	N.P.S. Baheratoli	22261304606	1	0.75
97	Balrampur	222613	M.S. Datram	22261301402	1	0.75
98	Balrampur	222613	M.S.Bazarpara	22261300214	1	0.75
99	Balrampur	222609	P.S. Chera	22260900401	1	0.75
100	Balrampur	222610	M.S. Bhitarsaoni	22261004505	1	0.75
101	Balrampur	222610	Ssa P.S. Dongidah	22261006205	1	0.75
102	Balrampur	222611	Ssa M.S.Bagainar	22261110702	1	0.75
103	Balrampur	222611	Ssa P.S.Kokarapara	22261110804	1	0.75
104	Balrampur	222612	Ssa M.S.Belkona	22261202603	1	0.75
105	Balrampur	222611	Ssa P.S.Harijanpara	22261108304	1	0.75
106	Balrampur	222611	Ssa M.S. Koniyapara	22261100605	1	0.75
107	Balrampur	222613	N.P.S. Bazarpara	22261300211	1	0.75
108	Balrampur	222613	N.P.S.Bhurshapara	22261300212	1	0.75
109	Balrampur	222613	P.S. Larima	22261311001	1	0.75
110	Balrampur	222613	M.S. Magaji	22261310802	1	0.75
111	Balrampur	222613	M.S. Sarnatoli	22261311208	1	0.75
112	Balrampur	222612	P.S. Lodhi	22261206901	1	0.75
113	Balrampur	222613	N.P.S.Gungurupat	22261305205	1	0.75
114	Balrampur	222611	P.S.B. Balangi	22261111602	1	0.75
115	Balrampur	222611	Ssa P.S. Dolpakhna	22261105301	1	0.75
116	Balrampur	222612	P.S. Patasi	22261201802	1	0.75
117	Balrampur	222613	N.P.S.Bhathupara	22261305208	1	0.75
118	Balrampur	222613	N.P.S.Kadamtoli	22261310904	1	0.75

Sl.					Recomm	endation
No.	Distr	Block	School Name	UDISE Code	Physical	Financial in lakh
119	Balrampur	222613	P.S. Nahalu	22261303605	1	0.75
120	Balrampur	222611	P.S. Kadiya	22261106301	1	0.75
121	Balrampur	222613	M.S. Bhandardipa	22261301102	1	0.75
122	Balrampur	222613	G.P.S.Bhandardepa	22261304605	1	0.75
123	Balrampur	222613	N.P.S.Maraywadih	22261309202	1	0.75
124	Balrampur	222609	N.P.S.Khutahanpara	22260901202	1	0.75
125	Balrampur	222611	Ssa P.S.Sanandand	22261110803	1	0.75
126	Balrampur	222613	P.S. Devdand	22261303502	1	0.75
127	Balrampur	222608	P.S. Alakhdiha	22260806401	1	0.75
128	Balrampur	222611	Ssa P.S.Harijanpara Balangi	22261111608	1	0.75
129	Balrampur	222608	M.S. Madneshwarpur	22260807304	1	0.75
130	Balrampur	222608	P.S. Chilmakala	22260810001	1	0.75
131	Balrampur	222613	P.S. Amtahi	22261310501	1	0.75
132	Balrampur	222613	P.S. Jaljali	22261309201	1	0.75
133	Balrampur	222609	M.S.Machwadamar	22260910505	1	0.75
134	Balrampur	222613	P.S. Birhorpat	22261309708	1	0.75
135	Balrampur	222613	N.M.S. Kumharpara	22261300216	1	0.75
136	Balrampur	222612	P.S. Krishnanagar	22261208501	1	0.75
137	Balrampur	222611	Ssa M.S. G. Basantpur	22261102109	1	0.75
138	Balrampur	222611	P.S. Shardapur (E)	22261100501	1	0.75
139	Balrampur	222613	M.S.Bhulasikhurd	22261301502	1	0.75
140	Balrampur	222609	P.S. Aurajhariya	22260912201	1	0.75
141	Balrampur	222611	Ssa M.S. Mahuaripara	22261102110	1	0.75
142	Balrampur	222613	N.M.S. Katima	22261311903	1	0.75
143	Balrampur	222613	M.S.B.Kusmi	22261300206	1	0.75
144	Balrampur	222611	Ssa P.S. Sidhadand	22261112002	1	0.75
145	Balrampur	222611	P.S. Gudru	22261110501	1	0.75
146	Balrampur	222612	M.S.Kamari	22261208103	1	0.75
			Govt.Ps. Aitupara			
147	Baster	221524	Badegumiyapal	22152405813	1	0.75
148	Baster	221529	Govt. Kanist Primary School Pathrlipara	22152913501	1	0.75
149	Baster	221529	Govt. Ps Magarguda	22152917701	1	0.75
150	Baster	221517	Govt Ps Chiurguda	22151708002	1	0.75
151	Baster	221524	Govt.Ps. Tangarupara Badegumiyapal	22152405815	1	0.75
152	Baster	221517	Govt Ups Tikanpal	22151701508	1	0.75
153	Baster	221524	Govt. Ps. Padarpara	22152407402	1	0.75
154	Baster	221524	Govt. Ps. Patelpara Anjar	22152410601	1	0.75
155	Baster	221524	Govt.P.S. Todnar	22152404511	1	0.75
156	Baster	221524	Govt. Ps. Gumtumdi	22152411003	1	0.75
157	Baster	221530	Govt.Ps.Rautpara Korangali	22153005903	1	0.75
158	Baster	221504	Govt. Ms Dhurwapara Chandragiri	22150407024	1	0.75
159	Baster	221530	Govt.Ps. Chhote Bodenar	22153006803	1	0.75
160	Baster	221524	Govt. P.S. Karlakonta Mardum	22152404515	1	0.75
161	Baster	221529	Govt Ps Talpara Mailbeda	22152913321	1	0.75
162	Baster	221529	Govt. Ps Matiguda	22152913303	1	0.75
163	Baster	221529	Govt. Ps Durkathonga Sonpur	22152913304	1	0.75
164	Baster	221524	Govt. P.S. Bandhampara Parapur	22152411701	1	0.75
165	Baster	221529	Govt. Primari School Guchaguda	22152921201	1	0.75
166	Baster	221529	Govt Ps Kutiariguda Mokhagaon	22152913328	1	0.75

Sl.					Recomm	endation
No.	Distr	Block	School Name	UDISE Code	Physical	Financial
					-	in lakh
167	Baster	221517	Govt Ps Rawatpara	22151706301	1	0.75
168	Baster	221524	Govt. Ps. Mariguda	22152402803	1	0.75
169	Baster	221524	Govt. P.S. Maripara Marikoder	22152413602	1	0.75
170	Baster	221530	Govt. Primary School Roddapara	22153001801	1	0.75
171	Baster	221504	Govt. Ps Patelpara Bodenar	22150400503	1	0.75
172	Baster	221517	Govt Ps Kolebeda	22151700501	1	0.75
173	Baster	221523	Govt Ps Bhatagudda	22152309501	1	0.75
174	Baster	221529	Govt. Primary School Bhaluguda	22152906901	1	0.75
175	Baster	221530	Govt Ps Jangal Titari	22153003809	1	0.75
176	Baster	221517	Govt Ps Sindguda Chamiya	22151709201	1	0.75
177	Baster	221524	Govt Ps Chichodhi Para Parapur	22152406005	1	0.75
170	Dantan	221520	Govt Ups Railway Colony	22152007404	1	0.75
178	Baster	221530	Kodenar	22153006404	1	0.75
179	Baster	221523	Govt Ps Atarguda Potanar	22152309601	1	0.75
100	Dagton	221517	Govt Ps Balak Ashram	22151708205	1	0.75
180	Baster	221517	Choteamabal	22151/08205	1	0.75
181	Baster	221523	Goivt Ups Gudrapara Raikot	22152300303	1	0.75
182	Baster	221524	Govt. Ups. Patelpara Anjar	22152405001	1	0.75
183	Baster	221524	Govt Ps Uparmuda Parapur	22152409303	1	0.75
184	Baster	221504	Govt. Ps Ragapara	22150407901	1	0.75
185	Baster	221517	Govt Ps Badebadrenga Ratenga	22151708501	1	0.75
186	Baster	221524	Govt.Ps Koliyapara Turemorka	22152405807	1	0.75
187	Baster	221529	Govt. Ups Belguda	22152900102	1	0.75
188	Baster	221517	Govt Ps Mawliguda	22151703803	1	0.75
189	Baster	221517	Govt Ps Banjarapara Sonarpal	22151707103	1	0.75
190	Baster	221523	Govt Ps Bangapara	22152303902	1	0.75
191	Baster	221517	Govt Ups Banjarapara	22151702106	1	0.75
192	Baster	221504	Govt. Ps Dongriguda	22150407004	1	0.75
193	Baster	221524	Govt .Ps. Salepal	22152409401	1	0.75
194	Baster	221517	Govt Ps Kanya Ashram	22151711310	1	0.75
			Retawand			
195	Baster	221530	Govt Ps Jangalpara Kawdipadar	22153003808	1	0.75
196	Baster	221517	Govt Ps Baktapara	22151702205	1	0.75
197	Baster	221523	Govt Ps Tahakapal	22152304601	1	0.75
198	Baster	221529	Govt. Primari School Bodaguda Mongrapal	22152921801	1	0.75
199	Baster	221533	Govt Ps Bangloor	22153303605	1	0.75
200	Baster	221504	Govt. Ps Chikhalkonta	22150408101	1	0.75
201	Baster	221529	Govt. Primary School Girola	22152910701	1	0.75
202	Baster	221529	Govt Naveen Parimary School Farsigaon Thothapara	22152911202	1	0.75
203	Baster	221533	Govt Ps Lohrapara	22153316603	1	0.75
204	Baster	221517	Govt Ps Pujaripara Balenga	22151707807	1	0.75
205	Baster	221517	Govt.P S Korangali	22153707607	1	0.75
205		221530	Govt Ps Pankapara	22152304705	1	0.75
206	Baster		•	22152304705	1	
207	Baster	221530	Govt.Ps.Patelpara Bastanar	44133001901	1	0.75
208	Baster	221517	Govt Ps Subhasnagar Bhainsgaon	22151704404	1	0.75
209	Baster	221523	Govt Ups Bhataguda Rajoor	22152307201	1	0.75
210	Baster	221533	Govt Ps Badekawali	22153300301	1	0.75
211	Baster	221530	Govt.Ps Kuchepal	22153008101	1	0.75
212	Baster	221529	Govt. Ups School Choknar	22152914201	1	0.75

Sl.					Recomm	endation
No.	Distr	Block	School Name	UDISE Code	Physical	Financial
	-	204 500		224 52222222		in lakh
213	Baster	221533	Govt Ups Jatam	22153320002	1	0.75
214	Baster	221517	Govt Ps Baliguda	22151707405	1	0.75
215	Baster	221524	Govt. Ps Kahachenar	22152400702	1	0.75
216	Baster	221524	Govt. Ps. Manjhipara Badeparoda	22152405503	1	0.75
217	Baster	221524	Govt. U.P.S. Bandapara Parapur	22152406006	1	0.75
218	Baster	221533	Govt Ups Dongam	22153311202	1	0.75
219	Baster	221504	Govt. Ps Jondharaguda	22150404601	1	0.75
220	Baster	221504	Govt. Ps Bhataguda	22150405308	1	0.75
221	Baster	221529	Govt. Ups Gotiguda	22152910406	1	0.75
222	Baster	221517	Govt Ups Naharni	22151710402	1	0.75
223	Baster	221523	Govt Ps Para Rajoor	22152305201	1	0.75
224	Baster	221504	Govt. Ps Mangnar	22150405302	1	0.75
225	Baster	221523	Govt Ups Matkot	22152303201	1	0.75
226	Baster	221533	Govt Ps Jamguda	22153302404	1	0.75
227	Baster	221517	Govt Ups Ichchapur-02	22151705406	1	0.75
228	Baster	221517	Govt Ups Balak Ashram Bhanpuri	22151722712	1	0.75
229	Baster	221523	Govt Ups Gumiyapal	22152306003	1	0.75
230	Baster	221523	Govt Ps Tokapal	22152300104	1	0.75
231	Baster	221523	Govt Ups Sakargaon	22152304203	1	0.75
232	Baster	221517	Govt Ps Pathri	22151708502	1	0.75
233	Baster	221523	Govt Ups Badeparakot	22152302304	1	0.75
234	Baster	221524	Govt. Ups. Bandham Para Parapur	22152406007	1	0.75
235	Baster	221523	Govt Ups Tokapal	22152310302	1	0.75
236	Baster	221529	Govt. Primary School Mongrapal	22152902401	1	0.75
237	Baster	221529	Govt. Primary School Tuhti	22152907401	1	0.75
220	Dagtan	221517	Devda	22151704605	1	0.75
238	Baster	221517	Govt Ps Manjhipara Tikralohnga	22151704605	1	0.75
239	Baster	221517	Govt Ps Pharasaguda	22151709402	1	0.75
240	Baster	221533	Govt Ps Chhotekawali	22153300302	1	0.75
241	Baster	221529	Govt. Ms Mohlai And High School Mohlai	22152902103	1	0.75
242	Baster	221504	Govt. Ps Pujaripara Dilmili	22150400110	1	0.75
243	Baster	221517	Govt Ps Dubbaguda	22151704502	1	0.75
244	Baster	221533	Govt Ups Badekavali	22153300303	1	0.75
245	Baster	221517	Govt Ps Salemeta	22151702202	1	0.75
246	Baster	221529	Govt.Ms Borigaon	22152911804	1	0.75
247	Baster	221533	Govt Ps Kandulguda	22153312904	1	0.75
248	Baster	221517	Govt Ps Ogaayguda Balenga	22151707604	1	0.75
249	Baster	221529	Govt. Primary School Chhinari	22152911401	1	0.75
250	Baster	221517	Govt Ps Pujaripara Sonarpal	22151702009	1	0.75
251	Baster	221523	Govt Ps Badeparakot	22152309503	1	0.75
252	Baster	221529	Govt. Primary School Beda Umar Gaon	22152904601	1	0.75
253	Baster	221517	Govt Ps Balak Ashram Bhanpuri	22151722711	1	0.75
254	Baster	221504	Govt. Ps Denga Amapara	22150400109	1	0.75
255	Baster	221530	Govt.Balak Ashram Sala Sadrabodenar	22153005802	1	0.75
256	Baster	221529	Govt. Primary School Talpara Bade Devda	22152907902	1	0.75

CI					Recomm	endation
Sl. No.	Distr	Block	School Name	UDISE Code	Physical	Financial in lakh
257	Baster	221517	Govt Ups Pathri	22151708306	1	0.75
258	Baster	221529	Govt. Balak Ashram Karpawand	22152909903	1	0.75
259	Baster	221529	Govt. Ups Jaibel	22152914703	1	0.75
260	Baster	221529	Govt. Ups Naveen Sonpur	22152910921	1	0.75
261	Baster	221504	Govt. Ps Fulpadar	22150400202	1	0.75
262	Baster	221517	Govt Ps Ichchapur	22151705402	1	0.75
263	Baster	221517	Govt Ups Kumhali	22151710305	1	0.75
264	Baster	221529	Govt. Naveen Ps Pujari Para Sargipal	22152912804	1	0.75
265	Baster	221517	Govt Ps Bodra	22151704601	1	0.75
266	Baster	221524	Govt. P.S. Badrenga	22152403801	1	0.75
267	Baster	221524	Govt. P.S. Hathidraha	22152404505	1	0.75
268	Baster	221517	Govt Ps Devda	22151701702	1	0.75
269	Baster	221517	Govt Ups Kawadgaon	22151703904	1	0.75
270	Baster	221533	Govt Ups Jamawada	22153301106	1	0.75
271	Baster	221529	Govt. Primary School Masgaon	22152916901	1	0.75
272	Baster	221517	Govt Ps Besoli	22151709701	1	0.75
273	Baster	221533	Govt Ps Ghatpadmur	22153319903	1	0.75
274	Baster	221517	Govt Ups Kanya Parisar Bhanpuri	22151722714	1	0.75
275	Baster	221517	Govt Ps Kuchiguda	22151710101	1	0.75
276	Baster	221517	Govt Ups Pharsapara	22151711107	1	0.75
277	Baster	221529	Govt Primary School Pahurbel	22152910901	1	0.75
278	Baster	221517	Govt Ps Khorkhosa No-01	22151707401	1	0.75
279	Baster	221517	Govt Ps Badeamabal Twd	22151709802	1	0.75
280	Baster	221517	Govt Ups Bhainsgaon	22151704402	1	0.75
281	Baster	221533	Govt Ps Dhanpunji	22153303301	1	0.75
282	Baster	221517	Govt Ps Kesharpal	22151710601	1	0.75
283	Bemetara	222312	Govt Ms Bharampuri (Ssa)	22231215902	1	0.75
284	Bemetara	222312	Govt Ms Chuhka (Ssa)	22231214802	1	0.75
285	Bemetara	222303	Govt Ps Khamhariya Dih (Ssa)	22230305102	1	0.75
286	Bemetara	222312	Govt Ps Kechhwai	22231202201	1	0.75
287	Bemetara	222302	Govt Ps Bagaud	22230206501	1	0.75
288	Bemetara	222312	Govt Ps Motesara	22231202101	1	0.75
289	Bemetara	222310	Govt Ms Junwanikala	22231015302	1	0.75
290	Bemetara	222303	Govt Ms Kumhi (Silghat) (Ssa)	22230300402	1	0.75
291	Bemetara	222303	Govt Ms Bawanlakh (Ssa)	22230308902	1	0.75
292	Bemetara	222312	Govt Ps Rampura	22231206501	1	0.75
293	Bemetara	222310	Govt Ms Kirta	22231004402	1	0.75
294	Bemetara	222310	Govtnavin Ms Beltukri	22231011502	1	0.75
295	Bemetara	222303	Govt Ps Nayapara Parpoda (Ssa)	22230302404	1	0.75
296	Bemetara	222312	Govt Ms Rampura	22231217402	1	0.75
297	Bemetara	222310	Govt Ps Kapa Marro	22231010901	1	0.75
298	Bemetara	222310	Govt Ms Motimpur	22231005403	1	0.75
299	Bemetara	222310	Govt Ms Jhulna	22231009602	1	0.75
300	Bemetara	222310	Govt Ms Ghoghara	22231005104	1	0.75
301	Bemetara	222310	Govt Ps Jevra S	22231003101	1	0.75
302	Bemetara	222312	Govt Navin Ms Tenduwa	22231201902	1	0.75
303	Bemetara	222302	Govt Ps Chhirha	22230204302	1	0.75
304	Bemetara	222312	Govt Ps Rampura	22231217401	1	0.75
305	Bemetara	222310	Govt Ps Jhulna	22231009601	1	0.75
306	Bemetara	222310	Govt Ps Aramshahi	22231008401	1	0.75

Sl.					Recomm	endation
No.	Distr	Block	School Name	UDISE Code	Physical	Financial in lakh
307	Bemetara	222312	Govt Ms Sahaspur	22231213203	1	0.75
308	Bemetara	222302	Govt Girls Ms Dadhi	22230205001	1	0.75
309	Bijapur	222014	Govt. Primary School Dharmaram	22201408107	1	0.75
310	Bijapur	222031	Govt. Primary School Markapal	22203102010	1	0.75
311	Bijapur	222031	Govt. Primary School Tadkel (Twd)	22203115901	1	0.75
312	Bijapur	222006	Govt. Primary School Bealwpara	22200614402	1	0.75
313	Bijapur	222014	Govt. Primary School Metapara	22201402504	1	0.75
314	Bijapur	222014	Govt. Primary School Gadiguda	22201406901	1	0.75
315	Bijapur	222014	Govt. Primary School Chitampara Sankanpalli	22201411204	1	0.75
316	Bijapur	222031	Govt. Middle School Koshalnar (Twd)	22203107003	1	0.75
317	Bijapur	222014	Govt. Primary School Botetong	22201412601	1	0.75
318	Bijapur	222006	Govt. Primary School Mosla	22200614301	1	0.75
319	Bijapur	222014	Govt. Middel School Dharmaram	22201408106	1	0.75
320	Bijapur	222014	Govt. Middel School Pusgudi	22201410904	1	0.75
321	Bijapur	222031	Govt. Primary School Chhindbhata	22203100406	1	0.75
322	Bijapur	222031	Govt. Middle School Tuswal (Ssa)	22203108908	1	0.75
323	Bijapur	222031	Govt. Primary School Katoli (Twd)	22203109101	1	0.75
324	Bijapur	222006	Govt. Primary School Dongaripara Musalur	22200611802	1	0.75
325	Bijapur	222014	Govt. Primary School Udtamalla	22201408109	1	0.75
326	Bijapur	222031	Govt. Primary School Gomter (Twd)	22203108902	1	0.75
327	Bijapur	222014	Govt. Primary School Pangud	22201410903	1	0.75
328	Bijapur	222031	Govt. Primary School Karrepara (Twd)	22203106003	1	0.75
329	Bijapur	222006	Govt. Primary School Durdha	22200614801	1	0.75
330	Bijapur	222014	Govt. Primary School Polampalli	22201411001	1	0.75
331	Bijapur	222014	Govt. Primary School Kichiayapar	22201401004	1	0.75
332	Bijapur	222014	Govt. Primary School Ilmidi	22201404201	1	0.75
333	Bijapur	222031	Govt. Sanyukt Ashram Kompalli (Twd)	22203115102	1	0.75
334	Bilaspur	220714	Govt. Ps Korkottola (Ssa)	22071409202	1	0.75
335	Bilaspur	220711	Govt. Ps Bagbud (Ssa)	22071121501	1	0.75
336	Bilaspur	220711	Govt. Ps Chhaprapara (Ssa)	22071121401	1	0.75
337	Bilaspur	220711	Govt. Ps Uraopara (Ssa)	22071118302	1	0.75
338	Bilaspur	220711	Govt. Ps Manikpur	22071108101	1	0.75
339	Bilaspur	220714	Govt. Ps Kharratola	22071404002	1	0.75
340	Bilaspur	220714	Govt. Ps Jhulandongari (Ssa)	22071403406	1	0.75
341	Bilaspur	220722	Govt. Egs To Ps, Amalidand (Ssa)	22072200305	1	0.75
342	Bilaspur	220706	Govt Ps Daihanpara (Ssa)	22070606704	1	0.75
343	Bilaspur	220714	Govt. Ps Bhirhinar (Ssa)	22071405106	1	0.75
344	Bilaspur	220711	Govt. Ps Bhasko	22071113601	1	0.75
345	Bilaspur	220714	Govt. Ps, Kanhartola (Ssa)	22071408503	1	0.75
346	Bilaspur	220711	Govt. Ps Khairjhiti	22071100502	1	0.75

Sl.					Recomm	endation
No.	Distr	Block	School Name	<b>UDISE Code</b>	Physical	Financial
					-	in lakh
	Bilaspur	220714	Govt. Ps Kerhatola (Ssa)	22071404003	1	0.75
	Bilaspur	220706	Govt Ps Bhaina Munda (Ssa)	22070600803	1	0.75
	Bilaspur	220711	Govt. Ps Bagichapara	22071110205	1	0.75
	Bilaspur	220714	Govt. Ps Chhatapatpar (Ssa)	22071408810	1	0.75
	Bilaspur	220714	Govt. Ps Bagharra	22071404501	1	0.75
	Bilaspur	220715	Govt. Ps Vishrampur (Ssa)	22071500606	1	0.75
353	Bilaspur	220703	Govt. Ps Navapara (Limha)	22070313102	1	0.75
354	Bilaspur	220711	Govt. Ps, Purana Khongsara (Ssa)	22071113106	1	0.75
355	Bilaspur	220711	Govt. Ps Sajadahara (Ssa)	22071113302	1	0.75
356	Bilaspur	220714	Govt. Ps Nayatola Usad	22071408814	1	0.75
357	Bilaspur	220714	Govt. Ps Grils Karhaniya	22071403004	1	0.75
358	Bilaspur	220715	Govt. Ps. Pakariya	22071513801	1	0.75
359	Bilaspur	220714	Govt. Ps Bagrar	22071402901	1	0.75
360	Bilaspur	220714	Govt. Ps Balam Dongari	22071403001	1	0.75
361	Bilaspur	220711	Govt. Ps Navadih (Ssa)	22071100504	1	0.75
362	Bilaspur	220725	Govt. P.S Chorma(Edu)	22072504201	1	0.75
	Bilaspur	220711	Govt. Ps Dindol	22071103101	1	0.75
364	Bilaspur	220711	Govt. Ps Khairkhanikhola (Ssa)	22071112903	1	0.75
365	Bilaspur	220725	Govt. Ps. Navin Chhirhapara(Edu)	22072512103	1	0.75
366	Bilaspur	220711	Govt. Ps Nava Para	22071113010	1	0.75
	Bilaspur	220714	Govt. Ps Khervatola (Ssa)	22071407002	1	0.75
	Bilaspur	220711	Govt. Ps Sargujihapara Karhikachhar (Ssa)	22071106503	1	0.75
369	Bilaspur	220706	Govt Ps Lamna (Twd)	22070607401	1	0.75
	Bilaspur	220725	Govt. Ps Barchhapara(Ssa)	22072511107	1	0.75
	Bilaspur	220725	Govt. Ps. Belsara (Edu)	22072501501	1	0.75
	Bilaspur	220711	Govt. Ps Pudu	22071116002	1	0.75
	Bilaspur	220711	Govt. Ps Junapara (Pondi)	22071104902	1	0.75
	Bilaspur	220711	Govt. Ps.New Ghandhi Nagr	22071122808	1	0.75
375	Bilaspur	220711	Govt. Ps Litiya	22071100701	1	0.75
	Bilaspur	220725	Govt. Ps Girls, Khamharia(Edu)	22072507402	1	0.75
	Bilaspur	220703	Govt. Kani. Ps Satnami Para Sendri	22070300403	1	0.75
378	Bilaspur	220711	Govt. Ps Kantipara Jali	22071115303	1	0.75
	Bilaspur	220703	Govt. Ps Parsahi	22070309902	1	0.75
	Bilaspur	220725	Govt Ps Boys Pendari(Edu)	22072513104	1	0.75
	Bilaspur	220725	Govt Nps Daihanpara Chorbhattikhurd(Edu)	22072504102	1	0.75
382	Bilaspur	220715	Govt. Ps Shivsagar Mohalla Dhangava (Ssa)	22071505103	1	0.75
383	Bilaspur	220711	Govt. Ps Barpali	22071108201	1	0.75
	Bilaspur	220703	Govt. Ps Bania-Dih (Paunsara)	22070303601	1	0.75
	Bilaspur	220725	Govt. Ps Nigarband (Edu)	22072512001	1	0.75
386	Bilaspur	220725	Govt.Ps. Jarondha Nava Para(Edu)	22072514201	1	0.75
387	Bilaspur	220703	Govt. Ps Ramnagar	22070319319	1	0.75
	Bilaspur	220715	Govt. P.S. Kutela	22071507101	1	0.75
	Bilaspur	220725	Govt Ms Sagar(Ssa)	22072514303	1	0.75
	Bilaspur	220703	Govt. Boys Kirti Nagar	22070307908	1	0.75
	Bilaspur	220725	Govt. Ms Girls Ganiyari(Edu)	22072505507	1	0.75

Sl.					Recomm	endation
No.	Distr	Block	School Name	UDISE Code	Physical	Financial in lakh
392	Bilaspur	220715	Govt. Ps Lorharsi Son(Sone)	22071502202	1	0.75
393	Bilaspur	220703	Govt. Ps Mannadol	22070329001	1	0.75
394	Dantewada	221615	Govt.P.S. Chikpal Jangalpara (Ssa)	22161501304	1	0.75
395	Dantewada	221608	Twd P.S. Udenar	22160805301	1	0.75
396	Dantewada	221615	Govt. Primary School Imlipara Nayanar	22161502505	1	0.75
397	Dantewada	221615	N P S.Pangondi Badalakhapal	22161508501	1	0.75
398	Dantewada	221615	Govt.N.P.S.Nadenar Khalepara (Ssa)	22161507710	1	0.75
399	Dantewada	221615	Govt.P.S. Gudse Ittapara (Ssa)	22161502312	1	0.75
400	Dantewada	221615	Govt.N.P.S. Nayanar Jogapara (Ssa)	22161502504	1	0.75
401	Dantewada	221615	Govt. P.S. Badegadam	22161504705	1	0.75
402	Dantewada	221619	Govt.Nps- Andodipara (Ssa)	22161909104	1	0.75
403	Dantewada	221615	Govt.P.S. Tumakpal Arjelpara (Ssa)	22161501503	1	0.75
404	Dantewada	221615	Nps Limbudipara	22161503102	1	0.75
405	Dantewada	221608	Twd P.M.S. Gumda	22160807602	1	0.75
406	Dantewada	221615	Govt.N.P.S. Gudse Michgondipara (Ssa)	22161502310	1	0.75
407	Dantewada	221622	Govt. Primary School Basanpur	22162201301	1	0.75
408	Dantewada	221608	Twd Gyan Jyoti Gardapara Bhatpal	22160804607	1	0.75
409	Dantewada	221622	GovtPrimary.School Dhannupara Molsanar	22162220301	1	0.75
410	Dantewada	221615	Govt.P.S. Lakharas Khalepara (Ssa)	22161501602	1	0.75
411	Dantewada	221615	Govt.P.S. Munga (Twd)	22161502101	1	0.75
412	Dantewada	221615	Govt.P.S. Badegadam Patelpara (Ssa)	22161501903	1	0.75
413	Dantewada	221608	Twd P.S. Mundatikrapara Barsoor	22160808009	1	0.75
414	Dantewada	221615	Govt.N.P.S Umalpara Surnar	22161508208	1	0.75
415	Dantewada	221619	Govt. P.S. Kalarpara Mailawada	22161903202	1	0.75
416	Dantewada	221615	Govt.P.S. Pratapgiri (Twd)	22161503101	1	0.75
417	Dantewada	221615	Govt.P.S. Gudse Uskopara (Ssa)	22161502306	1	0.75
418	Dantewada	221622	Govt. Primry.School Dugeli. Dhurwapara	22162244201	1	0.75
419	Dhamtari	221313	Govt Ssa.P.S.Daihanpara	22131303508	1	0.75
420	Dhamtari	221313	Govt P.S. Sayfanpara	22131333201	1	0.75
421	Dhamtari	221313	Govt Upper Primary School Jhuranadi Kaspur	22131300702	1	0.75
422	Dhamtari	221313	Govt P.S. Chargaon	22131325301	1	0.75
423	Dhamtari	221330	Govt Unnyan Ms Madwapathra(Ssa)	22133012702	1	0.75
424	Dhamtari	221313	Govt. M.S. Gedara	22131314102	1	0.75
425	Dhamtari	221313	Govt. P.S. Mohlai	22131313601	1	0.75
426	Dhamtari	221303	Govt. Ms. Kotgaon	22130309302	1	0.75
427	Durg	221006	Govt Girls Upper Primary School Ahiwara (Ssa)	22100609207	1	0.75
428	Gariaband	222526	Govt. Gyan Jyoti School Matal	22252629001	1	0.75
429	Gariaband	222519	Govt P S Nagrar (Ssa)	22251905201	1	0.75

Cl					Recomm	endation
Sl. No.	Distr	Block	School Name	UDISE Code	Physical	Financial in lakh
430	Gariaband	222526	Govt.Primary School Sihar	22252602901	1	0.75
431	Gariaband	222526	Govt.Primary School Ladhwapara	22252603503	1	0.75
432	Gariaband	222519	Govt M S Amamora (Ssa)	22251903403	1	0.75
433	Gariaband	222514	Govt. Primary School Daralipara	22251401401	1	0.75
434	Gariaband	222523	Govt. Ps Tarighat	22252308901	1	0.75
435	Gariaband	222514	Govt.M.S. Bhatrabahli	22251409902	1	0.75
436	Gariaband	222526	Govt.Middle School Gurjibhata (T)	22252612303	1	0.75
437	Gariaband	222505	Govt.M.S. Navadihi (Ssa)	22250509313	1	0.75
438	Gariaband	222514	Govt Primary School Dumarpita	22251408901	1	0.75
439	Gariaband	222514	Govt. Primary School Ghoghar	22251400401	1	0.75
440	Janjgir - Champa	220624	Govt.Nps Amagorra Sakrelikhurd(Ssa)	22062402303	1	0.75
441	Janjgir - Champa	220605	Govt. Navin Ps. Khondhar (Edu)	22060510602	1	0.75
442	Janjgir - Champa	220624	Govt.Primary School Mudabhatha(Edu)	22062411801	1	0.75
443	Janjgir - Champa	220604	Govt.Nps Sabariyadera Govinda (Ssa)	22060402502	1	0.75
444	Janjgir - Champa	220613	Govt. Ms To Hs Kharri	22061307002	1	0.75
445	Janjgir - Champa	220613	Jan. Ps Banjari	22061302001	1	0.75
446	Janjgir - Champa	220602	Govt N Nakapara Beltukri[Ssa]	22060201603	1	0.75
447	Janjgir - Champa	220605	Govt.Nps Awaspara Dabhara (Edu)	22060504217	1	0.75
448	Janjgir - Champa	220617	Govt. Ms To Hs Uday Bhatha	22061708502	1	0.75
449	Janjgir - Champa	220624	Govt.Nps.Bhatapara Kirari(Ssa)	22062400606	1	0.75
450	Janjgir - Champa	220613	Up Ps Dhobi Moh.Adbhar	22061300111	1	0.75
451	Janjgir - Champa	220613	M.S. Boda Sagar	22061302902	1	0.75
452	Janjgir - Champa	220624	Govt. Primary School Joba (Edu)	22062407101	1	0.75
453	Janjgir - Champa	220613	Jan. Ps Karigaon	22061308402	1	0.75
454	Janjgir - Champa	220605	Govt.U.P. Ups Amlipali(Ssa)	22060506106	1	0.75
455	Janjgir - Champa	220617	Govt P S Kaputal Tusma	22061710705	1	0.75
456	Janjgir - Champa	220607	Govt.P.S. Gudaru Kala (Edu)	22060704101	1	0.75
457	Janjgir - Champa	220613	Govt. Ps. Bodasagar	22061302901	1	0.75
458	Janjgir - Champa	220604	Govt.Ps Charan Nager Champa (Ssa)	22060400242	1	0.75
459	Janjgir - Champa	220613	Govt. Ps. Mohandi Kalapara	22061303502	1	0.75
460	Janjgir - Champa	220613	Kani. Ps Bandhva Bhatha Bandora	22061301802	1	0.75
461	Janjgir - Champa	220617	Govt P S Manjhipara Bhathali	22061709803	1	0.75
462	Janjgir - Champa	220624	Govt.Middle School Jongra(Ssa)	22062406302	1	0.75
463	Janjgir - Champa	220604	Govt.Girls M.S. Pondishanker (Ssa)	22060402704	1	0.75
464	Janjgir - Champa	220607	St.Girls Ashram Ps Akalsara	22060701805	1	0.75
465	Janjgir - Champa	220624	Govt.P.S.H.M.Masaniyakala(Ssa)	22062406203	1	0.75
466	Janjgir - Champa	220613	Up Ps Urawpara Adbhar	22061300110	1	0.75
467	Janjgir - Champa	220601	Govt Ps Labour Colony Akaltara(Ssa)	22060100326	1	0.75
468	Janjgir - Champa	220607	Govt.P.S. Sirli (Edu)	22060707201	1	0.75
469	Janjgir - Champa	220605	Govt.Nps Chote Bilaspur Kusmul	22060503505	1	0.75
470	Janjgir - Champa	220617	Govt.N.P.S.Milpara Dhurkot	22061705404	1	0.75
471	Janjgir - Champa	220607	Govt.M.S.Sirli (Ssa)	22060707204	1	0.75

Sl.					Recomm	endation
No.	Distr	Block	School Name	UDISE Code	Physical	Financial in lakh
472	Janjgir - Champa	220624	Govt.Pri.Sch.Navaparakala(Edu)	22062401701	1	0.75
			Govt. Primary School		_	
473	Janjgir - Champa	220624	Barpalikala	22062407301	1	0.75
474	Janjgir - Champa	220624	Govt.Middle School Gahrinmuda(Ssa)	22062408602	1	0.75
475	Janjgir - Champa	220604	Govt. P.S. Jagdala Champa (Edu)	22060400206	1	0.75
476	Janjgir - Champa	220617	Govt P S Charpara Kera	22061707106	1	0.75
477	Janjgir - Champa	220617	Govt P S Singhul	22061710803	1	0.75
478	Janjgir - Champa	220613	Upups Karigaon	22061308403	1	0.75
479	Janjgir - Champa	220617	Govt N.P.M.S.Bongapar	22061701427	1	0.75
480	Janjgir - Champa	220607	Govt.M.S.Barra (Ssa)	22060707002	1	0.75
481	Janjgir - Champa	220624	Govt.Pri.Girls Sch. Temar(Edu)	22062401302	1	0.75
482	Janjgir - Champa	220619	Govt.P.S. Satnami Para Kosa(Edu)	22061900602	1	0.75
483	Janjgir - Champa	220619	Govt. Ps. Meu Bhatha (Edu)	22061903302	1	0.75
			Govt.Up Ps Sahupara Sendari			
484	Janjgir - Champa	220607	Ssa)	22060703502	1	0.75
485	Janjgir - Champa	220613	Jan. Ps Bandora	22061301801	1	0.75
486	Janjgir - Champa	220624	Govt.P.S.Harijan W.N.1 Sakti(Edu)	22062400101	1	0.75
487	Janjgir - Champa	220624	Govt.Pri.Sch.Kaserpara Sakti(Edu)	22062400106	1	0.75
488	Janjgir - Champa	220601	Govt Ms Arasmeta (Ssa)	22060105502	1	0.75
489	Janjgir - Champa	220602	Govt. M.S. Javalpur[Edu]	22060200804	1	0.75
490	Janjgir - Champa	220624	Govt.Mid.Sch.Masaniyakala(Edu)	22062406202	1	0.75
491	Janjgir - Champa	220601	Govt Sanjay Nagar Akaltara(Edu)	22060100320	1	0.75
492	Janjgir - Champa	220617	Govt Navin Ms Dahida	22061702802	1	0.75
493	Janjgir - Champa	220604	Govt.P.S. Lakhali (Edu)	22060403101	1	0.75
494	Janjgir - Champa	220613	Govt.Ms Bandora	22061301803	1	0.75
495	Janjgir - Champa	220601	Govt Ps. Bargava (Edu)	22060101101	1	0.75
496	Janjgir - Champa	220617	Govt. Ms To Hs Goud	22061709404	1	0.75
497	Janjgir - Champa	220601	Govt Ps Guru Ghashi Das Akaltara	22060109404	1	0.75
498	Janjgir - Champa	220617	Govt. Ms To Hss Banari	22061700905	1	0.75
499	Janjgir - Champa	220601	Govt Ps. Arasmeta (Edu)	22060105501	1	0.75
500	Janjgir - Champa	220601	Up Ps Kotmisonar (Ssa)	22060101710	1	0.75
501	Jashpur	220307	Govt. Ps. Bodo (Ssa)	22030701307	1	0.75
502	Jashpur	220307	Govt. Ps. Telitoli (Ssa)	22030704927	1	0.75
503	Jashpur	220307	Govt. Ps. Girang (Twd)	22030708601	1	0.75
504	Jashpur	220312	Govt. Ms. Andhla (Ssa)	22031200206	1	0.75
505	Jashpur	220307	Govt. Ps. Barpani (Twd)	22030707401	1	0.75
506	Jashpur	220312	Govt. Ps. Kalaru (Twd)	22031209201	1	0.75
507	Jashpur	220301	Govt. Ps. Kadrujobla (Ssa)	22030105002	1	0.75
508	Jashpur	220313	Govt. Ps. Turuwaama (Twd)	22031304701	1	0.75
509	Jashpur	220312	Govt. Ms. Mahrangpath (Ssa)	22031201509	1	0.75
510	Jashpur	220312	Govt. Ps. Devrakona (Ssa)	22031207702	1	0.75
511	Jashpur	220301	Govt. Ps. Karamghat (Twd)	22030102603	1	0.75
512	Jashpur	220310	Govt. Ps. Karanjtoli (Ssa)	22031007102	1	0.75
513	Jashpur	220312	Govt. Ps. Litim (Twd)	22031202501	1	0.75
514	Jashpur	220312	Govt. Ps. Tiltanger `A` (Ssa)	22031204711	1	0.75
515	Jashpur	220312	Govt. Ps. Aarakona (B) (Ssa)	22031210302	1	0.75

CI					Recomm	endation
Sl. No.	Distr	Block	School Name	UDISE Code	Physical	Financial in lakh
516	Jashpur	220312	Govt. Ps. Khoura (Twd)	22031209801	1	0.75
517	Jashpur	220305	Govt. Ps. Dumerjor (Ssa)	22030504405	1	0.75
518	Jashpur	220307	Govt. Ps. Turilodam (Edu)	22030701601	1	0.75
519	Jashpur	220307	Govt. Ps. Jamtoli(Ichkela) (Ssa)	22030708716	1	0.75
520	Jashpur	220312	Govt. Ps. Birla (Twd)	22031202301	1	0.75
521	Jashpur	220301	Govt. Ps. Gasewan (Twd) (Twd)	22030100102	1	0.75
522	Jashpur	220301	Govt. Ps. Garanj (Ssa)	22030100105	1	0.75
523	Jashpur	220301	Govt. Ps. Poskat (Ssa)	22030115001	1	0.75
524	Jashpur	220307	Govt. Ps. Khutitoli (Jamtoli) (Ssa)	22030701305	1	0.75
525	Jashpur	220301	Govt. Ps. Charmaiya (Edu)	22030115801	1	0.75
526	Jashpur	220307	Govt. Ps. Birlakona (Ssa)	22030707102	1	0.75
527	Jashpur	220312	Govt. Ps. Nagarkona (Bai.) (Ssa)	22031203903	1	0.75
528	Jashpur	220304	Govt. Ms. Jamtoli (Twd)	22030402103	1	0.75
529	Jashpur	220312	Govt. Ps. Dhadhukona (Ssa)	22031203302	1	0.75
530	Jashpur	220301	Govt. Ps. Raskutka (Ssa)	22030109303	1	0.75
531	Jashpur	220301	Govt. Ps. Gangjharia (Ssa)	22030107304	1	0.75
532	Jashpur	220301	Govt. Ps. Pandrutoli (Ssa)	22030104702	1	0.75
533	Jashpur	220305	Govt. Ps. Pradhantoli (Ssa)	22030506005	1	0.75
534	Jashpur	220307	Govt. Ps. Dipatoli(Jashpur) (Ssa)	22030714101	1	0.75
535	Jashpur	220310	Govt. Ps. Sukbasupara (Bilaspur) (Ssa)	22031001603	1	0.75
536	Jashpur	220312	Govt. Ps. Jarhapath (Ssa)	22031202109	1	0.75
537	Jashpur	220301	Govt. Ps. Chingatoli (Ssa)	22030115701	1	0.75
538	Jashpur	220312	Govt. P.S. Baherakona	22031200103	1	0.75
539	Jashpur	220301	Govt. Ps. Ledrapath (Ssa)	22030103818	1	0.75
540	Jashpur	220312	Govt. Ps. Nagarkona (Chota) (Ssa)	22031208604	1	0.75
541	Jashpur	220307	Govt. Ms. Bhalmanda (Ssa)	22030701306	1	0.75
542	Jashpur	220301	Govt. Ps. Jamunjobla (Ssa)	22030106003	1	0.75
543	Jashpur	220307	Govt. Ps. Chirwari Basti (Ssa)	22030710202	1	0.75
544	Jashpur	220307	Govt. Ps. Bankitoli (Ssa)	22030711201	1	0.75
545	Jashpur	220312	Govt. Ps. Korwatoli(Baherna) (Twd)	22031211101	1	0.75
546	Jashpur	220310	Govt. Ms. Dhodhibahar (Ssa)	22031008213	1	0.75
547	Jashpur	220312	Govt. Ps. Lafuakona (Twd)	22031200101	1	0.75
548	Jashpur	220312	Govt. Ps. Dhasma (Twd)	22031204601	1	0.75
549	Jashpur	220307	Govt. Ps. Jabla (Twd)	22030706201	1	0.75
550	Jashpur	220301	Govt. Ps. Upergurguri (Ssa)	22030101005	1	0.75
551	Jashpur	220301	Govt. Ms. Maini (Ssa)	22030105904	1	0.75
552	Jashpur	220301	Govt. Ps. Dumarpanipath (Twd)	22030105506	1	0.75
553	Jashpur	220313	Govt. Ps. Balampara (Ssa)	22031301003	1	0.75
554	Jashpur	220307	Govt. Ms. Kating (Ssa)	22030700502	1	0.75
555	Jashpur	220304	Govt. Ms. Bangurkela (Ssa)	22030402604	1	0.75
556	Jashpur	220307	Govt. Ps. Pakartoli(Kinkel) (Ssa)	22030705509	1	0.75
557	Jashpur	220313	Govt. Ps. Dangudih (Ssa)	22031305304	1	0.75
558	Jashpur	220307	Govt. Ps. Raikona (Edu)	22030706501	1	0.75
559	Jashpur	220307	Govt. Ps. Dholdand (Ssa)	22030709512	1	0.75
560	Jashpur	220305	Govt. Ms. Bhagora (Ssa)	22030503405	1	0.75
561	Jashpur	220312	Govt. Ms. Gajma (Twd)	22031202102	1	0.75
562	Jashpur	220312	Govt. Ms. Andharjhar (Twd)	22031210402	1	0.75
563	Jashpur	220312	Govt. Ms. Alori (Twd)	22031205402	1	0.75

Sl.					Recomm	endation
No.	Distr	Block	School Name	UDISE Code	Physical	Financial in lakh
564	Jashpur	220307	Govt. Ps. Jurgum (Edu)	22030705101	1	0.75
565	Jashpur	220312	Govt. Ps. Andharjhar (Twd)	22031210401	1	0.75
566	Jashpur	220307	Govt. Ps. Badabanai(Pilkhi) (Twd)	22030703501	1	0.75
567	Jashpur	220313	Govt. Ps. Katangtarai (Twd)	22031304403	1	0.75
568	Jashpur	220301	Govt. Ms. Sardhapath (Twd)	22030104306	1	0.75
569	Jashpur	220310	Govt. Ms. Darakharika (Ssa)	22031000703	1	0.75
570	Jashpur	220301	Govt. Ps. Lamdarha (Twd)	22030105504	1	0.75
571	Jashpur	220301	Govt. Ps. Khairapath (Twd)	22030105503	1	0.75
572	Jashpur	220307	Govt. Ps. Bhalmanda (Ssa)	22030701303	1	0.75
573	Jashpur	220305	Govt. Ms. Konpara (Edu)	22030508502	1	0.75
574	Kanker	221401	Govt. Primary School Santola	22140154301	1	0.75
575	Kanker	221407	Govt.Primary School Dihipara (Siharinala)	22140718101	1	0.75
576	Kanker	221403	Govt. Primary School Bhurkapara	22140316401	1	0.75
577	Kanker	221432	Govt. Primary School Shivnagar, Udaynagar Kanke	22143213605	1	0.75
578	Kanker	221403	Govt. Primary School Kotkodo	22140318001	1	0.75
579	Kanker	221403	Govt. Primary School Darrokhalari	22140315315	1	0.75
580	Kanker	221401	Govt. Primary School Patelpara Gudabeda	22140135701	1	0.75
581	Kanker	221403	Govt. Primary School Madam	22140310903	1	0.75
582	Kanker	221403	Govt. Upper Primary School Sode	22140302403	1	0.75
583	Kanker	221407	Govt. Primary School Kuralpara, Kuralthemli	22140703801	1	0.75
584	Kanker	221421	Govt. Upper Primary School Chemal	22142103803	1	0.75
585	Kanker	221401	Govt. Primary School Sodvapara	22140159801	1	0.75
586	Kanker	221418	Govt. Primary School Gotapara Dabkatta	22141806603	1	0.75
587	Kanker	221401	Govt. Upper Primary School P.V. 113	22140135302	1	0.75
588	Kanker	221403	Govt. Primary School Aanchlapara Badetewda	22140324901	1	0.75
589	Kanker	221427	Govt. Primary School Awaspara Haradula	22142706803	1	0.75
590	Kanker	221403	Govt. Primary School Rai	22140325301	1	0.75
591	Kanker	221403	Govt. Primary School Baihasalebhat	22140304401	1	0.75
592	Kanker	221407	Govt. Primary School Dudhawa	22140708901	1	0.75
593	Kanker	221421	Govt. Primary School Palvi	22142104301	1	0.75
594	Kanker	221403	Govt. Upper Primary School Gawadi	22140303103	1	0.75
595	Kanker	221403	Govt. Primary School Tamorra	22140306101	1	0.75
596	Kanker	221427	Govt. Upper Primary School Palewa	22142711206	1	0.75
597	Kanker	221401	Govt. Primary School Berkot	22140141802	1	0.75
598	Kanker	221401	Govt. Primary School Belgaal	22140125401	1	0.75
599	Kanker	221403	Govt. Upper Primary School Hurtarai	22140304002	1	0.75

Sl.					Recomm	endation
No.	Distr	Block	School Name	UDISE Code	Physical	Financial in lakh
600	Kanker	221403	Govt. Primary School Saragipal	22140327201	1	0.75
601	Kanker	221421	Govt.New Upper Primary School Kotpara	22142112302	1	0.75
602	Kanker	221427	Govt. Primary School Stoerpara Markatola	22142702604	1	0.75
603	Kanker	221421	Govt. Upper Primary School Pujaripara	22142102903	1	0.75
604	Kanker	221401	Govt. Primary School P.V. 03	22140121601	1	0.75
605	Kanker	221401	Govt. Primary School Burka	22140144101	1	0.75
606	Kanker	221421	Govt. Upper Primary School Anhur	22142110702	1	0.75
607	Kanker	221432	Govt. Primary School Nayapara Bewarti	22143209603	1	0.75
608	Kanker	221418	Govt. Primary School Upartonka	22141818701	1	0.75
609	Kanker	221421	Govt. Upper Primary School Higanjhar	22142106102	1	0.75
610	Kanker	221432	Govt. Primary School Maalgaon	22143206001	1	0.75
611	Kanker	221401	Govt. Primary School Udumgaon	22140144801	1	0.75
612	Kanker	221401	Govt. Primary School P.V. 113	22140135301	1	0.75
613	Kanker	221401	Govt. Primary School Patelpara Marda	22140113702	1	0.75
614	Kanker	221421	Govt. Primary School Bhurke	22142114601	1	0.75
615	Kanker	221421	Govt. Primary School Bidepara Karkapal	22142107002	1	0.75
616	Kanker	221403	Govt. Primary School Mechanar	22140311401	1	0.75
617	Kanker	221421	Govt.Upper Primary School Sradhughmare	22142102302	1	0.75
618	Kanker	221427	Govt. Primary School Sahupara Parsoda	22142709401	1	0.75
619	Kanker	221403	Govt. Primary School Hurtarai	22140304001	1	0.75
620	Kanker	221421	Govt. Girls Asharam Lohattar	22142101604	1	0.75
621	Kanker	221403	Govt. Primary School Gawadi	22140303101	1	0.75
622	Kanker	221403	Govt. Boys Ashram Baihasalebhat	22140304403	1	0.75
623	Kanker	221403	Govt. Upper Primary School Tuskal	22140310402	1	0.75
624	Kanker	221401	Govt. Primary School Junagawdegaon	22140156101	1	0.75
625	Kanker	221421	Govt. New Upper Primary School Halba Para Michesukhai	22142100303	1	0.75
626	Kanker	221401	Govt. Girls Ashram Rengawahi	22140102305	1	0.75
627	Kanker	221403	Govt. Upper Primari School Baihasalebhat	22140304402	1	0.75
628	Kanker	221401	Govt. Upper Primary School Partapur	22140113506	1	0.75
629	Kawardha	220813	P.S. Dengurjam	22081321101	1	0.75
630	Kawardha	220813	P.S.Sajan Khar Polmi	22081317904	1	0.75
631	Kawardha	220801	P.S. Tarma	22080148601	1	0.75
632	Kawardha	220813	Govt. P.S. Chirpani Mohla	22081320601	1	0.75
633	Kawardha	220813	M.S.Pandripani	22081321603	1	0.75
634	Kawardha	220813	P.S. Tingadda	22081335301	1	0.75
635	Kawardha	220813	P.S. Jhomar	22081331901	1	0.75
636	Kawardha	220813	P.S. Adhchra	22081317801	1	0.75

No.	ancial
637         Kawardha         220801         P.S. Dhanvahi         22080132001         1           638         Kawardha         220813         P.S. Vicharpur         22081313201         1         0           639         Kawardha         220813         P.S. Kundapani         22081321401         1         0           640         Kawardha         220801         P.S. Basatola         22081321401         1         0           640         Kawardha         220801         P.S. Basatola         22081321001         1         0           641         Kawardha         220801         P.S. Badnachuwa         22081321001         1         0           642         Kawardha         220801         P.S. Badnachuwa         22081319001         1         0           643         Kawardha         220801         P.S. Piparkhutha         220801141201         1         0           6445         Kawardha         220801         M.S. Boirkachhara         220801141201         1         0           6464         Kawardha         220801         M.S. Boirkachhara         22080130303         1         0           647         Kawardha         220813         P.S. Bhurbhuspani         22081322801         1	
638         Kawardha         220813         P.S. Vicharpur         22081313201         1         0           639         Kawardha         220813         P.S. Kundapani         22081321401         1         0           640         Kawardha         220813         P.S. Basatola         22081321001         1         0           641         Kawardha         220801         P.S. Basatola         22080141401         1         0           642         Kawardha         220801         P.S. Basatola         22080141401         1         0           642         Kawardha         220801         P.S. Basatola         22080141201         1         0           642         Kawardha         220801         P.S. Piparkhutha         22080141201         1         0           644         Kawardha         220813         M.S. Bhelki         22081317402         1         0           645         Kawardha         220813         M.S. Bhelki         220813217402         1         0           646         Kawardha         220813         M.S. Beirkachhara         220813321902         1         0           647         Kawardha         220813         M.S. Sendurkhar         220813321901         1<	lakh
639         Kawardha         220813         P.S. Kundapani         22081321401         1         0           640         Kawardha         220813         P.S. Basatola         22081321001         1         0           641         Kawardha         220801         P.S.Parsha         220801414101         1         0           642         Kawardha         220801         P.S. Badnachuwa         22080141201         1         0           643         Kawardha         220801         P.S. Piparkhutha         22080141201         1         0           644         Kawardha         220801         P.S. Piparkhutha         2208014301         1         0           645         Kawardha         220801         M.S. Boirkachhara         2208013303         1         0           646         Kawardha         220813         M.S. Boirkachhara         22081321902         1         0           647         Kawardha         220813         M.S. Boirkachhara         22081321902         1         0           648         Kawardha         220813         P.S. Dhursi         22081322902         1         0           649         Kawardha         220813         P.S. Barendipani         22081319901	).75
640         Kawardha         220813         P.S. Basatola         22081321001         1         0           641         Kawardha         220801         P.S.Parsha         22080141401         1         0           642         Kawardha         220801         P.S. Badnachuwa         22080141401         1         0           643         Kawardha         220801         P.S. Piparkhutha         22080141201         1         0           644         Kawardha         220801         P.S. Piparkhutha         22080114301         1         0           645         Kawardha         220813         M.S. Boirkachhara         22080130303         1         0           646         Kawardha         220813         M.S. Boirkachhara         22081321902         1         0           647         Kawardha         220813         M.S. Boirkachhara         22081321902         1         0           648         Kawardha         220813         P.S. Dhursi         22081329001         1         0           649         Kawardha         220813         P.S. Bhurbhuspani         22081329001         1         0           650         Kawardha         220801         P.S. Barendipani         22080105702	).75
641         Kawardha         220801         P.S.Parsha         22080141401         1         0           642         Kawardha         220813         P.S. Badnachuwa         22081319001         1         0           643         Kawardha         220801         P.S. Piparkhutha         22080114301         1         0           644         Kawardha         220813         M.S.Bhelki         220801337402         1         0           645         Kawardha         220801         M.S. Boirkachhara         22080130303         1         0           646         Kawardha         220813         M.S. Boirkachhara         22081321902         1         0           647         Kawardha         220813         P.S. Dhursi         22081321902         1         0           648         Kawardha         220813         P.S. Dhursi         2208132902         1         0           648         Kawardha         220813         P.S. Bhurbhuspani         2208132901         1         0           648         Kawardha         220801         P.S. Bhurbhuspani         22081319001         1         0           650         Kawardha         220801         P.S. Barendipani         22080135901 <td< td=""><td>.75</td></td<>	.75
642         Kawardha         220813         P.S. Badnachuwa         22081319001         1         0           643         Kawardha         220801         P.S. Fljarkhutha         22080141201         1         0           644         Kawardha         220801         P.S. Piparkhutha         220801314401         1         0           645         Kawardha         220813         M.S. Belki         22081314402         1         0           646         Kawardha         220813         M.S. Boirkachhara         22080130303         1         0           647         Kawardha         220813         P.S. Dhursi         22081321902         1         0           648         Kawardha         220813         P.S. Dhursi         22081320801         1         0           649         Kawardha         220813         P.S. Bhurbhuspani         2208132901         1         0           650         Kawardha         220801         P.S. Barendipani         22080135901         1         0           651         Kawardha         220801         P.S. Barendipani         22080105702         1         0           652         Kawardha         220801         P.S. Budurkhar         2208105702         <	).75
643         Kawardha         220801         P.S.Tilaibhat         22080141201         1         0           644         Kawardha         220801         P.S. Piparkhutha         22080114301         1         0           645         Kawardha         220801         M.S. Bhelki         22080130303         1         0           646         Kawardha         220801         M.S. Boirkachhara         2208030303         1         0           647         Kawardha         220813         M.S. Benkik         22081320901         1         0           648         Kawardha         220813         P.S. Dhursi         22081320801         1         0           649         Kawardha         220813         P.S. Dhursi         22081329901         1         0           650         Kawardha         220801         P.S. Bhurbhuspani         22081319901         1         0           651         Kawardha         220801         P.S. Burendipani         22080135901         1         0           652         Kawardha         220801         P.S. Duldula         22080105702         1         0           653         Kawardha         220813         P.S. Sendurkhar         2208132901         1	).75
644         Kawardha         220801         P.S. Piparkhutha         22080114301         1         0           645         Kawardha         220813         M.S.Bhelki         22081317402         1         0           646         Kawardha         220801         M.S. Boirkachhara         22080130303         1         0           647         Kawardha         220813         M.S. Sendurkhar         22081321902         1         0           648         Kawardha         220813         P.S. Dhursi         22081320801         1         0           649         Kawardha         220813         P.S. Bhurbbuspani         22081319901         1         0           650         Kawardha         220801         P.S. Barendipani         22080135901         1         0           651         Kawardha         220801         P.S. Barendipani         22080135901         1         0           652         Kawardha         220801         P.S. Duldula         22080105702         1         0           652         Kawardha         220801         P.S. Duldula         220801321901         1         0           653         Kawardha         220813         P.S. Sendurkhar         2208132902 <t< td=""><td>).75</td></t<>	).75
645         Kawardha         220813         M.S.Bhelki         22081317402         1         0           646         Kawardha         220801         M.S. Boirkachhara         22080130303         1         0           647         Kawardha         220813         M.S.Sendurkhar         22081321902         1         0           648         Kawardha         220813         P.S. Dhursi         22081320801         1         0           649         Kawardha         220813         P.S. Dhursi         22081319901         1         0           650         Kawardha         220801         P.S. Barendipani         22080135901         1         0           651         Kawardha         220801         P.S. Barendipani         22080135901         1         0           652         Kawardha         220801         P.S. Duldula         22080105702         1         0           652         Kawardha         220801         P.S. Duldula         22080103201         1         0           653         Kawardha         220813         P.S. Sendurkhar         22081321901         1         0           654         Kawardha         220801         M.S. Sarodhadadar         22081320950         1 <td>.75</td>	.75
646         Kawardha         220801         M.S. Boirkachhara         22080130303         1         0           647         Kawardha         220813         M.S. Sendurkhar         22081321902         1         0           648         Kawardha         220813         P.S. Dhursi         22081320801         1         0           649         Kawardha         220813         P.S. Bhurbhuspani         22081319901         1         0           650         Kawardha         220801         P.S. Barendipani         22080135901         1         0           651         Kawardha         220801         P.S. Barendipani         22080105702         1         0           652         Kawardha         220801         P.S. Barendipani         22080103201         1         0           652         Kawardha         220801         P.S. Buldula         22080103201         1         0           653         Kawardha         220813         P.S. Sendurkhar         2208132901         1         0           654         Kawardha         220813         P.S. Sendurkhar         2208132900         1         0           655         Kawardha         220813         M.S. Sarodhaddar         2208132900	.75
647         Kawardha         220813         M.S.Sendurkhar         22081321902         1         0           648         Kawardha         220813         P.S. Dhursi         22081320801         1         0           649         Kawardha         220813         P.S. Bhurbhuspani         22081319901         1         0           650         Kawardha         220801         P.S. Barendipani         22080135901         1         0           651         Kawardha         220801         M.S. Koylari         22080105702         1         0           652         Kawardha         220801         P.S. Duldula         22080103201         1         0           652         Kawardha         220813         P.S. Sendurkhar         22081321901         1         0           653         Kawardha         220813         P.S. Sendurkhar         22081321901         1         0           654         Kawardha         220813         M.S. Karhi         22081209502         1         0           655         Kawardha         220814         M.S. Sarodhaddar         22080131002         1         0           656         Kawardha         220801         P.S. Kundpani         220813213901         1 </td <td>.75</td>	.75
648         Kawardha         220813         P.S. Dhursi         22081320801         1         0           649         Kawardha         220813         P.S. Bhurbhuspani         22081319901         1         0           650         Kawardha         220801         P.S. Barendipani         22080135901         1         0           651         Kawardha         220801         M.S. Koylari         22080105702         1         0           652         Kawardha         220801         P.S. Duldula         22080103201         1         0           653         Kawardha         220813         P.S. Sendurkhar         22081321901         1         0           654         Kawardha         220812         M.S. Karhi         22081209502         1         0           655         Kawardha         220812         P.S. Manpur         22081209502         1         0           655         Kawardha         220812         P.S. Manpur         22081213901         1         0           656         Kawardha         220801         P.S. Manpur         22081213901         1         0           657         Kawardha         220813         M.S. Saihamalgi         22081325502         1	.75
649         Kawardha         220813         P.S. Bhurbhuspani         220801319901         1         0           650         Kawardha         220801         P.S. Barendipani         22080135901         1         0           651         Kawardha         220801         M.S. Koylari         22080105702         1         0           652         Kawardha         220801         P.S. Duldula         22080103201         1         0           653         Kawardha         220813         P.S. Sendurkhar         22081321901         1         0           654         Kawardha         220812         M.S. Karhi         22081209502         1         0           655         Kawardha         220801         M.S. Sarodhadadar         22080131002         1         0           656         Kawardha         220812         P.S. Manpur         22081213901         1         0           657         Kawardha         220801         P.S. Kundpani         22080100801         1         0           658         Kawardha         220801         M.S. Saihamalgi         22081325502         1         0           659         Kawardha         220801         P.S. Bhimbhori         22080142101         1<	.75
650         Kawardha         220801         P.S. Barendipani         22080135901         1         0           651         Kawardha         220801         M.S. Koylari         22080105702         1         0           652         Kawardha         220801         P.S. Duldula         22080103201         1         0           653         Kawardha         220813         P.S. Sendurkhar         22081321901         1         0           654         Kawardha         220812         M.S. Karhi         22081209502         1         0           655         Kawardha         220801         M.S. Karhi         22080131002         1         0           656         Kawardha         220812         P.S. Manpur         22081213901         1         0           657         Kawardha         220801         P.S. Kundpani         22080100801         1         0           658         Kawardha         220801         P.S. Kundpani         22080100801         1         0           659         Kawardha         220813         M.S. Ghoghara Kala         22081325502         1         0           660         Kawardha         220801         P.S. Siyanikala         22080142101         1	.75
651         Kawardha         220801         M.S. Koylari         22080105702         1         0           652         Kawardha         220801         P.S. Duldula         22080103201         1         0           653         Kawardha         220813         P.S. Sendurkhar         22081321901         1         0           654         Kawardha         220812         M.S. Karhi         22081209502         1         0           655         Kawardha         220801         M.S. Sarodhaddar         22080131002         1         0           656         Kawardha         220812         P.S. Manpur         22081213901         1         0           657         Kawardha         220801         P.S. Kundpani         22080100801         1         0           658         Kawardha         220813         M.S. Saihamalgi         22081325502         1         0           659         Kawardha         220813         M.S. Ghoghara Kala         22081309702         1         0           660         Kawardha         220801         P.S. Bhimbhori         22080142101         1         0           661         Kawardha         220801         P.S. Saiha Malgi         22081325501         1 </td <td>.75</td>	.75
652         Kawardha         220801         P.S. Duldula         22080103201         1         0           653         Kawardha         220813         P.S. Sendurkhar         22081321901         1         0           654         Kawardha         220812         M.S. Karhi         22081209502         1         0           655         Kawardha         220801         M.S. Sarodhadadar         22080131002         1         0           656         Kawardha         220812         P.S. Manpur         22081213901         1         0           657         Kawardha         220801         P.S. Kundpani         22080100801         1         0           658         Kawardha         220813         M.S. Saihamalgi         22081325502         1         0           659         Kawardha         220813         M.S. Ghoghara Kala         22081309702         1         0           660         Kawardha         220801         P.S. Bhimbhori         22080142101         1         0           661         Kawardha         220801         P.S. Saiha Malgi         22081325501         1         0           662         Kawardha         220801         M.S. Lalpurkhurd         22080105202 <t< td=""><td>.75</td></t<>	.75
653         Kawardha         220813         P.S. Sendurkhar         22081321901         1         0           654         Kawardha         220812         M.S. Karhi         22081209502         1         0           655         Kawardha         220801         M.S. Sarodhadadar         22080131002         1         0           656         Kawardha         220812         P.S. Manpur         22081213901         1         0           657         Kawardha         220801         P.S. Kundpani         22080100801         1         0           658         Kawardha         220813         M.S. Saihamalgi         22081325502         1         0           659         Kawardha         220813         M.S. Ghoghara Kala         22081309702         1         0           660         Kawardha         220801         P.S.Bhimbhori         22080142101         1         0           661         Kawardha         220801         P.S. Sivanikala         22080112201         1         0           662         Kawardha         220813         P.S. Saiha Malgi         22081325501         1         0           663         Kawardha         220801         M.S. Jalmala         22080105202	).75
654         Kawardha         220812         M.S. Karhi         22081209502         1         0           655         Kawardha         220801         M.S. Sarodhadadar         22080131002         1         0           656         Kawardha         220812         P.S. Manpur         22081213901         1         0           657         Kawardha         220801         P.S. Kundpani         22080100801         1         0           658         Kawardha         220813         M.S. Saihamalgi         22081325502         1         0           659         Kawardha         220813         M.S. Ghoghara Kala         22081309702         1         0           660         Kawardha         220801         P.S.Bhimbhori         22080142101         1         0           661         Kawardha         220801         P.S. Sivanikala         22080112201         1         0           662         Kawardha         220813         P.S. Saiha Malgi         22081325501         1         0           663         Kawardha         220801         M.S. Lalpurkhurd         22080105202         1         0           664         Kawardha         220801         M.S. Malgala         22172804704 <td< td=""><td>).75</td></td<>	).75
655         Kawardha         220801         M.S. Sarodhadadar         22080131002         1         0           656         Kawardha         220812         P.S. Manpur         22081213901         1         0           657         Kawardha         220801         P.S. Kundpani         22080100801         1         0           658         Kawardha         220813         M.S. Saihamalgi         22081325502         1         0           659         Kawardha         220813         M.S. Ghoghara Kala         22081309702         1         0           660         Kawardha         220801         P.S.Bhimbhori         22080142101         1         0           661         Kawardha         220801         P.S. Sivanikala         22080112201         1         0           662         Kawardha         220813         P.S. Saiha Malgi         22081325501         1         0           663         Kawardha         220801         M.S. Lalpurkhurd         22080105202         1         0           664         Kawardha         220801         M.S. Jhalmala         22080110104         1         0           665         Kawardha         220813         P.S. Manjholi         22172804704	.75
656         Kawardha         220812         P.S. Manpur         22081213901         1         0           657         Kawardha         220801         P.S. Kundpani         22080100801         1         0           658         Kawardha         220813         M.S. Saihamalgi         22081325502         1         0           659         Kawardha         220813         M.S. Ghoghara Kala         22081309702         1         0           660         Kawardha         220801         P.S. Bhimbhori         22080142101         1         0           661         Kawardha         220801         P.S. Sivanikala         22080112201         1         0           662         Kawardha         220813         P.S. Saiha Malgi         22081325501         1         0           663         Kawardha         220801         M.S. Lalpurkhurd         22080105202         1         0           664         Kawardha         220801         M.S. Jhalmala         22080110104         1         0           665         Kawardha         220813         P.S. Manjholi         22081308401         1         0           666         Kondagaon         221728         Govt. Twd Ps Balondiyapara         22172804704 </td <td>.75</td>	.75
657         Kawardha         220801         P.S. Kundpani         22080100801         1         0           658         Kawardha         220813         M.S Saihamalgi         22081325502         1         0           659         Kawardha         220813         M.S. Ghoghara Kala         22081309702         1         0           660         Kawardha         220801         P.S. Bhimbhori         22080142101         1         0           661         Kawardha         220801         P.S. Sivanikala         22080112201         1         0           662         Kawardha         220813         P.S. Saiha Malgi         22081325501         1         0           663         Kawardha         220801         M.S. Lalpurkhurd         22080105202         1         0           664         Kawardha         220801         M.S. Jhalmala         22080110104         1         0           665         Kawardha         220813         P.S. Manjholi         22081308401         1         0           666         Kondagaon         221728         Govt. Twd Ps Balondiyapara         22172804704         1         0           667         Kondagaon         221726         Govt. Twd Pri.Sch.Paroda	).75
657         Kawardha         220801         P.S. Kundpani         22080100801         1         0           658         Kawardha         220813         M.S Saihamalgi         22081325502         1         0           659         Kawardha         220813         M.S. Ghoghara Kala         22081309702         1         0           660         Kawardha         220801         P.S. Bhimbhori         22080142101         1         0           661         Kawardha         220801         P.S. Sivanikala         22080112201         1         0           662         Kawardha         220813         P.S. Saiha Malgi         22081325501         1         0           663         Kawardha         220801         M.S. Lalpurkhurd         22080105202         1         0           664         Kawardha         220801         M.S. Jhalmala         22080110104         1         0           665         Kawardha         220813         P.S. Manjholi         22081308401         1         0           666         Kondagaon         221728         Govt. Twd Ps Balondiyapara         22172804704         1         0           667         Kondagaon         221726         Govt. Twd Pri.Sch.Paroda	.75
658         Kawardha         220813         M.S. Saihamalgi         22081325502         1         0           659         Kawardha         220813         M.S. Ghoghara Kala         22081309702         1         0           660         Kawardha         220801         P.S. Bhimbhori         22080142101         1         0           661         Kawardha         220801         P.S. Sivanikala         22080112201         1         0           662         Kawardha         220813         P.S. Saiha Malgi         22081325501         1         0           663         Kawardha         220801         M.S. Lalpurkhurd         22080105202         1         0           664         Kawardha         220801         M.S. Jhalmala         22080110104         1         0           665         Kawardha         220813         P.S. Manjholi         22081308401         1         0           666         Kondagaon         221728         Govt. Twd Ps Balondiyapara "Barkai         22172804704         1         0           667         Kondagaon         221726         Govt. Ssa Ms Padde         22172613329         1         0           669         Kondagaon         221725         Govt. Ssa Ms Uparpara	).75
659         Kawardha         220813         M.S. Ghoghara Kala         22081309702         1         0           660         Kawardha         220801         P.S.Bhimbhori         22080142101         1         0           661         Kawardha         220801         P.S. Sivanikala         22080112201         1         0           662         Kawardha         220813         P.S. Saiha Malgi         22081325501         1         0           663         Kawardha         220801         M.S. Lalpurkhurd         22080105202         1         0           664         Kawardha         220801         M.S. Jhalmala         22080110104         1         0           665         Kawardha         220813         P.S. Manjholi         22081308401         1         0           666         Kondagaon         221728         Govt. Twd Ps Balondiyapara "Barkai         22172804704         1         0           667         Kondagaon         221712         Govt. Ssa Ms Padde         22171203802         1         0           668         Kondagaon         221725         Govt. Ssa Ms Uparpara         22172502204         1         0	).75
660         Kawardha         220801         P.S.Bhimbhori         22080142101         1         0           661         Kawardha         220801         P.S. Sivanikala         22080112201         1         0           662         Kawardha         220813         P.S. Saiha Malgi         22081325501         1         0           663         Kawardha         220801         M.S. Lalpurkhurd         22080105202         1         0           664         Kawardha         220801         M.S. Jhalmala         22080110104         1         0           665         Kawardha         220813         P.S. Manjholi         22081308401         1         0           666         Kondagaon         221728         Govt. Twd Ps Balondiyapara Jarkai         22172804704         1         0           667         Kondagaon         221712         Govt. Ssa Ms Padde         22171203802         1         0           669         Kondagaon         221725         Govt. Twd Pri.Sch.Paroda         22172613329         1         0           669         Kondagaon         221725         Govt. Ssa Ms Uparpara         22172502204         1         0	).75
661         Kawardha         220801         P.S. Sivanikala         22080112201         1         0           662         Kawardha         220813         P.S. Saiha Malgi         22081325501         1         0           663         Kawardha         220801         M.S. Lalpurkhurd         22080105202         1         0           664         Kawardha         220801         M.S. Jhalmala         22080110104         1         0           665         Kawardha         220813         P.S. Manjholi         22081308401         1         0           666         Kondagaon         221728         Govt. Twd Ps Balondiyapara Balondiyapara Barkai         22172804704         1         0           667         Kondagaon         221712         Govt. Ssa Ms Padde         22171203802         1         0           668         Kondagaon         221726         Govt. Twd Pri.Sch.Paroda         22172613329         1         0           669         Kondagaon         221725         Govt. Ssa Ms Uparpara         22172502204         1         0	.75
662         Kawardha         220813         P.S. Saiha Malgi         22081325501         1         0           663         Kawardha         220801         M.S. Lalpurkhurd         22080105202         1         0           664         Kawardha         220801         M.S. Jhalmala         22080110104         1         0           665         Kawardha         220813         P.S. Manjholi         22081308401         1         0           666         Kondagaon         221728         Govt. Twd Ps Balondiyapara Barkai         22172804704         1         0           667         Kondagaon         221712         Govt. Ssa Ms Padde         22171203802         1         0           668         Kondagaon         221726         Govt. Twd Pri.Sch.Paroda         22172613329         1         0           669         Kondagaon         221725         Govt. Ssa Ms Uparpara         22172502204         1         0	.75
663         Kawardha         220801         M.S. Lalpurkhurd         22080105202         1         0           664         Kawardha         220801         M.S. Jhalmala         22080110104         1         0           665         Kawardha         220813         P.S. Manjholi         22081308401         1         0           666         Kondagaon         221728         Govt. Twd Ps Balondiyapara Barkai         22172804704         1         0           667         Kondagaon         221712         Govt. Ssa Ms Padde         22171203802         1         0           668         Kondagaon         221726         Govt. Twd Pri.Sch.Paroda         22172613329         1         0           669         Kondagaon         221725         Govt. Ssa Ms Uparpara         22172502204         1         0	).75
664         Kawardha         220801         M.S. Jhalmala         22080110104         1         0           665         Kawardha         220813         P.S. Manjholi         22081308401         1         0           666         Kondagaon         221728         Govt. Twd Ps Balondiyapara , Barkai         22172804704         1         0           667         Kondagaon         221712         Govt. Ssa Ms Padde         22171203802         1         0           668         Kondagaon         221726         Govt. Twd Pri. Sch. Paroda         22172613329         1         0           669         Kondagaon         221725         Govt. Ssa Ms Uparpara         22172502204         1         0	0.75
665         Kawardha         220813         P.S. Manjholi         22081308401         1         0           666         Kondagaon         221728         Govt. Twd Ps Balondiyapara ,Barkai         22172804704         1         0           667         Kondagaon         221712         Govt. Ssa Ms Padde         22171203802         1         0           668         Kondagaon         221726         Govt. Twd Pri.Sch.Paroda         22172613329         1         0           669         Kondagaon         221725         Govt. Ssa Ms Uparpara         22172502204         1         0	).75
666         Kondagaon         221728         Govt. Twd Ps Balondiyapara ,Barkai         22172804704         1         0           667         Kondagaon         221712         Govt. Ssa Ms Padde         22171203802         1         0           668         Kondagaon         221726         Govt. Twd Pri. Sch. Paroda         22172613329         1         0           669         Kondagaon         221725         Govt. Ssa Ms Uparpara         22172502204         1         0	).75
668         Kondagaon         221726         Govt.Twd Pri.Sch.Paroda         22172613329         1         0           669         Kondagaon         221725         Govt. Ssa Ms Uparpara         22172502204         1         0	).75
668         Kondagaon         221726         Govt.Twd Pri.Sch.Paroda         22172613329         1         0           669         Kondagaon         221725         Govt. Ssa Ms Uparpara         22172502204         1         0	).75
669 Kondagaon 221725 Govt. Ssa Ms Uparpara 22172502204 1 0	).75
	).75
	).75
Š	).75
	).75
	).75
	0.75
Coyt (Twd) Primary School	).75
Goyt Twd P.S. Pujarinara	).75
	).75
	0.75
Coxt Sea Une Schoolnara	).75
	).75
Covt Sea Une	).75
	).75

Sl.					Recomm	endation
No.	Distr	Block	School Name	UDISE Code	Physical	Financial in lakh
			Tumdiwal			
683	Kondagaon	221712	Govt.Twd Ps Murnar	22171206601	1	0.75
684	Kondagaon	221725	Govt. Ssa Ps Uparpara Urandabeda	22172502203	1	0.75
685	Kondagaon	221710	Govt Middle School Jirrapara	22171004602	1	0.75
686	Kondagaon	221726	Govt (Ssa) Ups Patelpara Bhiragaon "B"	22172639805	1	0.75
687	Kondagaon	221710	Govt Ps Dhavrabhata	22171004603	1	0.75
688	Kondagaon	221728	Govt. Twd Ms Dindapara,Sonabeda	22172804802	1	0.75
689	Kondagaon	221710	Ms Boys Vishrampuri	22171006308	1	0.75
690	Kondagaon	221725	Govt. M.S. Bhongapal (Upgrated- Hs-Rmsa)	22172503802	1	0.75
691	Kondagaon	221726	Govt.(Twd) Ps Balak Ashram Makdi	22172615805	1	0.75
692	Kondagaon	221712	Govt.Twd Ms Balak Ashram Keshkal	22171217901	1	0.75
693	Kondagaon	221726	Govt.Twd Ps Dipopara Kodagaon	22172630001	1	0.75
694	Kondagaon	221726	Govt.Twd Govt.Middile School Ghodagaon	22172605403	1	0.75
695	Kondagaon	221710	Govt.Ps Kopra	22171001515	1	0.75
696	Korba	220523	Govt Primary School Paldhurena	22052307401	1	0.75
697	Korba	220523	Govt Primary School Bhulesariya	22052317908	1	0.75
698	Korba	220523	Govt Primary School Botopal	22052309404	1	0.75
699	Korba	220523	Govt Primary School Bhadarapara	22052302702	1	0.75
700	Korba	220523	Govt Middle School Dhajak	22052309405	1	0.75
701	Korba	220509	Govt Primary School Jailpara	22050910812	1	0.75
702	Korba	220510	Govt Primary School Kachandi	22051006503	1	0.75
703	Korba	220523	Govt Primary School Panchipara	22052318602	1	0.75
704	Korba	220523	Govt Primary School Sadakpara	22052318902	1	0.75
705	Korba	220510	Govt Primary School Devduwari	22051027901	1	0.75
706	Korba	220523	Govt Primary School Siktapra	22052320401	1	0.75
707	Korba	220523	Govt Middle School Banpipar	22052321404	1	0.75
708	Korba	220523	Govt Middle School Manohra	22052305706	1	0.75
709	Korba	220518	Govt Primary School Suva Modi	22051812701	1	0.75
710	Korba	220518	Govt Primar8y School Makhanpur	22051804502	1	0.75
711	Korba	220523	Govt Primary School Gauraladand	22052310406	1	0.75
712	Korba	220523	Govt Primary School Pachbhaiyapara	22052304802	1	0.75
713	Korba	220510	Govt Primary School Balsendha	22051009201	1	0.75
714	Korba	220509	Govt Primary School Ghat Muda	22050911301	1	0.75
715	Korba	220523	Govt Middle School Sirki	22052314502	1	0.75
716	Korba	220523	Govt Primary School Khurrupara	22052319205	1	0.75
717	Korba	220523	Govt Primary School Thadhpakhana	22052308805	1	0.75
718	Korba	220509	Govt Primary School Bhilai	22050905402	1	0.75

Sl.					Recomm	endation
No.	Distr	Block	School Name	UDISE Code	Physical	Financial in lakh
			Bazar			
719	Korba	220523	Govt Primary School Kudri	22052319401	1	0.75
720	Korba	220510	Govt Middle School Padimar	22051020301	1	0.75
721	Korba	220523	Govt Middle School Sakho	22052306006	1	0.75
722	Korba	220523	Govt Primary School Lahanga	22052303001	1	0.75
			Bahra			
723	Korba	220518	Govt Primary School Bai Semar	22051802301	1	0.75
724	Korba	220523	Govt Primary School Teliyamar	22052301402	1	0.75
725	Korba	220523	Govt Primary School Markhipara	22052314207	1	0.75
726	Korba	220509	Govt. Primary School Gangpur	22050901101	1	0.75
727	Korba	220523	Govt Middle School Ranigadhi	22052318603	1	0.75
728	Korba	220510	Govt Primary School Ghuidand	22051008201	1	0.75
729	Korba	220523	Govt Middle School Karimati	22052318605	1	0.75
730	Korba	220509	Govt Primary School Chhirhut	22050902201	1	0.75
731	Korba	220510	Govt Primary School Naya Risdi Gyan Jyoti	22051015603	1	0.75
732	Korba	220518	N.P.S. Jamnipara Tivarta	22051803204	1	0.75
733	Korba	220509	Govt Primary School Ghanakachhar	22050907302	1	0.75
734	Korba	220523	Govt Primary School Bannkheta	22052302701	1	0.75
735	Korba	220523	(Pasan) Govt Primary School Khairwarpara	22052312906	1	0.75
736	Korba	220508	Govt Primary School Thitholi	22050812104	1	0.75
737	Korba	220518	Gov Primary School Dahiduggu	22051806405	1	0.75
738	Korba	220523	Govt Primary School Jatadand	22052317001	1	0.75
739	Korba	220509	Govt Primary School Darri Khar	22050910301	1	0.75
740	Korba	220523	Govt Primary School Bazarpara	22052315508	1	0.75
741	Korba	220523	Govt Middle School Bango	22052322705	1	0.75
742	Korba	220523	Govt Primary School Amlibhawna	22052308101	1	0.75
743	Korba	220518	Govt Primary School Bhelva Dongri	22051801701	1	0.75
744	Korba	220518	Govt Primary School Katelipara	22051809404	1	0.75
745	Korba	220518	Govt Primary School Kumhi Pani	22051807101	1	0.75
746	Korba	220518	Govt Primary School Bhadra Para	22051812306	1	0.75
747	Korba	220523	Govt Primary School Thakurdihapara	22052319211	1	0.75
748	Korba	220523	Govt Primary School Maingarhi	22052302902	1	0.75
749	Korba	220523	Govt Primary School Talmalidand	22052319303	1	0.75
750	Korba	220518	Govt Prrimary School Bhadbhad	22051802108	1	0.75
751	Korba	220523	Govt Middle School Putuva	22052321202	1	0.75
752	Korba	220523	Govt Primary School Semarahapara	22052306603	1	0.75
753	Korba	220518	Govtmiddle School Dadar	22051809002	1	0.75
754	Korba	220510	Govt Primary School Samarkana	22051009002	1	0.75
755	Korba	220510	Govt Primary School Harra Dih	22051807506	1	0.75
			Govt Primary School			
756	Korba	220523	Chhuwansani	22052303318	1	0.75

Sl.					Recomm	endation
No.	Distr	Block	School Name	UDISE Code	Physical	Financial in lakh
757	Korba	220510	Govt Primary School Rapakharra	22051015109	1	0.75
758	Korba	220518	Govt Middle School Sajabahari	22051806706	1	0.75
759	Korba	220523	Govt Primary School Kauwatal	22052317906	1	0.75
760	Korba	220510	Govt Middle School Kachhar	22051001302	1	0.75
761	Korba	220518	Govt Primary School Bijra Bhavna	22051811501	1	0.75
762	Korba	220509	Govt Primary School Dhanuharpara	22050923901	1	0.75
763	Korba	220523	Govt Primary School Chhevdhara	Govt Primary School		0.75
764	Korba	220523	Govt Primary School Manohara	22052306901	1	0.75
765	Korba	220510	Govt Primary School Amadand	22051007405	1	0.75
766	Korba	220523	Govt Primary School Patelpara Kasaniya	22052321302	1	0.75
767	Korba	220508	Govt Primary School Rogda	22050805401	1	0.75
768	Korba	220523	Govt Primary School Suwarghutra	22052312701	1	0.75
769	Korba	220523	Govt Middle School Pangawa	22052311802	1	0.75
770	Korba	220509	Govt Primary School Katghora	22050900106	1	0.75
771	Korba	220523	Govt Middle School Dhavalpur	22052319210	1	0.75
772	Korba	220518	Govt Primary School Awas Para Sirli	Govt Primary School Awas Para 22051814104		0.75
773	Korba	220523	Govt Primary School Barbaspur	22052303401	1	0.75
774	Korba	220509	Govt Middle School Bankisite	22050917205	1	0.75
775	Korba	220523	Govt Primary School Kansa Mar	22052302801	1	0.75
776	Korba	220523	Govt Primary School Seepatpara	22052312904	1	0.75
777	Korba	220510	Govt Primary School Jogiyadera	22051003060	1	0.75
778	Korba	220510	Govt Primary School Girls Korkoma	22051006520	1	0.75
779	Korba	220523	Govt Primary School Lepra	22052304701	1	0.75
780	Korba	220523	Govt Middle School Chotiya	22052306411	1	0.75
781	Korba	220523	Govt Primary School Bartarai	22052316601	1	0.75
782	Korba	220523	Govt Primary School Bijadand	22052315401	1	0.75
783	Korba	220510	Govt Primary School Gyanjyoti Khalpara	22051008211	1	0.75
784	Korba	220523	Govt Primary School Kuteshar Nagoi	22052316501	1	0.75
785	Korba	220518	Govt Primary School Gopalpur	22051807301	1	0.75
786	Korba	220523	Govt Girls Middle School Pasan	22052303319	1	0.75
787	Korba	220518	Govt Primary School Navapara	22051802807	1	0.75
788	Korba	220508	Govt Middle School Riwanpar	22050814202	1	0.75
789	Korba	220510	Govt Primary School Girari	22051004711	1	0.75
790	Korba	220518	Govt Primary School Supet Para	22051811002	1	0.75
791	Korba	220510	Coyt Roys Primary School		1	0.75
792	Korba	220523	Govt Primary School Mukuva 22052318301		1	0.75
793	Korba	220523	Govt Primary School Jatga	22052314601	1	0.75
794	Korba	220523	Govt Middle School Rode	22052301702	1	0.75
795	Korba	220510	Govt Primary School Belgiri	22051003098	1	0.75
796	Korba	220518	Boys Ashram Chaitma	22051806603	1	0.75
797	Korba	220518	Govt Primary School Bud-Bud	22051805401	1	0.75
798	Korba	220509	Girls Govt Middle School Dipika	22050907905	1	0.75

Sl.					Recomm	endation
No.	Distr	Block	School Name	UDISE Code	Physical	Financial in lakh
799	Korba	220510	Govt Primary School Ratakhar	22051003066	1	0.75
800	Korba	220518	Govt Middle School Mudapar (Edu)	22051804305	1	0.75
801	Korba	220510	Govt Primary School Korba(Ncdc)	22051028502	1	0.75
802	Korba	220518	Girl Middlle School Chaitma	22051806605	1	0.75
803	Korba	220510	Govt Middle School Korba(Ncdc)	22051028503	1	0.75
804	Korba	220523	Govt Middle School Tuman	22052303502	1	0.75
805	Koriya	220122	Govt. Primary School Dhanraspara	22012214201	1	0.75
806	Koriya	220123	Govt Girls Primary School Khongapani 22012300406		1	0.75
807	Koriya	220123	Govt Primary School Jampara	22012304503	1	0.75
808	Koriya	220124	Govt. Primary School Raunk	22012403601	1	0.75
809	Koriya	220122	Govt Primary School Ganjaipara	22012208503	1	0.75
810	Koriya	220123	Govt Primary School Maoharpara	22012302101	1	0.75
811	Koriya	220123	Govt Primary School Parasgadi	22012302901	1	0.75
812	Koriya	220123	Govt Primary School Kathaotiya	22012309701	1	0.75
813	Koriya	220122	Govt. Boys Middle School Khadgava	22012201404	1	0.75
814	Mahasamund	221221	Govt Ps Kamardera(Kolpadar)	22122106002	1	0.75
815	Mahasamund	221225	Govt Ps Dipapara Dewalbhata (Ssa) 22122523001		1	0.75
816	Mahasamund	221225	Govt Ps Sapvadipa (Bijatipali)	22122519303	1	0.75
817	Mahasamund	221211	Govt Ps Pirda Tukada	22121105008	1	0.75
818	Mahasamund	221221	Govt Ps Gongal	22122115201	1	0.75
819	Mahasamund	221211	Govt Ps Rampur Bhikhapali	22121112002	1	0.75
820	Mahasamund	221225	Govt Ps Pandapara	22122507401	1	0.75
821	Mahasamund	221211	Govt Ps Shantinagar (Ssa)	22121109803	1	0.75
822	Mahasamund	221225	Govt Ps Dipapara Charbhnta (Ssa)	22122506504	1	0.75
823	Mahasamund	221211	Govt Ps Kesharpur	22121103401	1	0.75
824	Mahasamund	221209	Govt Ps Dhaounrabhata	22120907001	1	0.75
825	Mahasamund	221225	Govt Ps Paraskol	22122505701	1	0.75
826	Mahasamund	221225	Govt Ps Sastrinagar Saraipali (Ssa)	22122513604	1	0.75
827	Mahasamund	221228	Govt Ps Loharpali	22122816401	1	0.75
828	Mahasamund	221225	Govt Ps Manpali	22122521901	1	0.75
829	Mahasamund	221221	Govt Ps Amori	22122115601	1	0.75
830	Mahasamund	221228	Govt Ms Bhanwarchuwa (Ssa)	22122815302	1	0.75
831	Mahasamund	221225	Govt Ps Limgaon	22122513801	1	0.75
832	Mahasamund	221209	Govt Ps Hadaband	22120901001	1	0.75
833	Mahasamund	221225	Govt Ps Mudha	22122515602	1	0.75
834	Mahasamund	221225	Govt Ps Rajadih	22122504501	1	0.75
835	Mahasamund	221211	Govt Ps Jhungabari (Chikhali)	22121103005	1	0.75
836	Mahasamund	221209	Govt Ms Hadaband	22120901002	1	0.75
837	Mahasamund	221211	Govt Ms Dongripali (Ssa)	22121101502	1	0.75
838	Mahasamund	221211	Govt Ps Rajadera	22121120401	1	0.75
839	Mahasamund	221221	Govt Ps Jamli	22122113101	1	0.75
840	Mahasamund	221221	Govt Ps Bhathapara(Kanpa)	22122114205	1	0.75
841	Mahasamund	221211	Govt Ms Khairkhuta (Ssa)	22121113202	1	0.75

Sl.					Recomm	endation
No.	Distr	Block	School Name	UDISE Code	Physical	Financial
						in lakh
842	Mahasamund	221209	Govt Ms Patparpali (Ssa)	22120919602	1	0.75
843	Mahasamund	221211	Govt Ms Lamidih (Ssa)	22121106902	1	0.75
844	Mahasamund	221228	Govt Ps Bhanwarchuwa	22122815301	1	0.75
845	Mahasamund	221209	Govt Ps Khusrupali (Sukharidabari)	22120902502	1	0.75
846	Mahasamund	221211	Govt Ps Barekel Khurd	22121119402	1	0.75
847	Mungeli	221916	Egs To Ps, Barbaspur	22191623301	1	0.75
848	Mungeli	221912	Ps To Ms Patharikapa	22191217603	1	0.75
849	Mungeli	221921	Govt. Primery School, Madwani	22192113301	1	0.75
850	Mungeli	221916	P.S. Chirounj Pur	22191610401	1	0.75
851	Mungeli	221912	Ps To Ms Indalpur	22191216102	1	0.75
852	Mungeli	221912	Egs To Ps, Sadakpara	22191208702	1	0.75
853	Mungeli	221912	Navin Ps Mahuwamacha	22191206105	1	0.75
854	Mungeli	221912	Ps To Ms Anchidongari	22191216802	1	0.75
855	Mungeli	221921	Govt. Primery School, Khaira	22192113201	1	0.75
856	Mungeli	221916	Govt. P.S. Kaval Pur	22191602501	1	0.75
857	Mungeli	221912	Ps To Ms Ghathapani	22191207303	1	0.75
858	Mungeli	221912	Govt. Ps Khektara	22191207101	1	0.75
859	Mungeli	221921	Govt. Primery School,Chandkhuri	22192113001	1	0.75
860	Mungeli	221912	Ps To Ms,Govt,Dhourabhath	22191211602	1	0.75
861	Mungeli	221912	Up Ms, Daukapa	22191225701	1	0.75
862	Mungeli	221912	Govt. Ps Manki	22191205201	1	0.75
863	Mungeli	221916	Up Ms Palcuva	22191610904	1	0.75
864	Mungeli	221912	Jan. Ps Semarsal	22191217501	1	0.75
865	Mungeli	221921	Govt.Primry School, Chinbhog	22192102301	1	0.75
866	Narayanpur	221820	Govt.P.S. Karangul	22182014103	1	0.75
867	Narayanpur	221820	Govt. P.S. Bhatbeda	22182012001	1	0.75
868	Narayanpur	221820	Govt. P.S. Padamkot	22182000306	1	0.75
869	Narayanpur	221820	Govt. P.S. Gumiyabeda	22182013501	1	0.75
870	Narayanpur	221820	Govt. P.S. Kurushnar	22182007003	1	0.75
871	Narayanpur	221820	Govt. P.S. Acheli	22182011802	1	0.75
872	Narayanpur	221837	U.P.S Khairabhat	22183708502	1	0.75
873	Narayanpur	221820	Govt. P.S. Kodliyer	22182000304	1	0.75
874	Narayanpur	221820	Govt. P.S. Dondimarka	22182013701	1	0.75
875	Narayanpur	221837	Primary School Rangabeda	22183701207	1	0.75
876	Narayanpur	221837	Govt. Primary School Bedmakote	22183703503	1	0.75
877	Narayanpur	221837	Primary School Khairabhat	22183708501	1	0.75
878	Narayanpur	221837	Govt. Primary School Hitulwad	22183710602	1	0.75
879	Narayanpur	221820	Govt. P.S. Pusalama	22182016601	1	0.75
880	Narayanpur	221820	Govt. P.S. Hitampara	22182011101	1	0.75
881	Narayanpur	221820	Govt. P.S. Kunjekal	22182004902	1	0.75
882	Narayanpur	221837	Govt. P.S. Pusagaon	22183709801	1	0.75
883	Narayanpur	221820	Govt. P.S. Kangali	22182023301	1	0.75
884	Narayanpur	221837	Govt. Primary School Nayapara	22183715901	1	0.75
885	Narayanpur	221820	Govt. Balak Ashram Gomagal	22182001806	1	0.75
886	Narayanpur	221837	Govt.P.S. Gardapal	22183705001	1	0.75
887	Narayanpur	221820	Govt. Balak Ashram Tahakawada	22182013803	1	0.75
888	Narayanpur	221820	Govt. Ashram Shala .P.S. Gurbeda	22182005701	1	0.75

Sl.					Recomme	
No.	Distr	Block	School Name	UDISE Code	Physical	Financial in lakh
889	Narayanpur	221820	Govt. Kanya Ashram Orchhameta	22182008402	1	0.75
890	Narayanpur	221820	Govt.Balak Ashram Murumwada	22182013101	1	0.75
891	Raigarh	220411	Eps Ratanpur(Ssa)	22041106803	1	0.75
892	Raigarh	220416	Egs Naragikhol(Ssa)	22041625701	1	0.75
893	Raigarh	220403	Eps Chhuhipahad(Ssa)	22040305202	1	0.75
894	Raigarh	220411	Eps Darripara(Ssa)	22041101006	1	0.75
895	Raigarh	220411	Eps Urounpara(Jharaama)(Ssa)	22041102005	1	0.75
896	Raigarh	220411	Eps Chargoda(Ssa)	22041104519	1	0.75
897	Raigarh	220402	Egs Bhakurra(Ssa)	22040203403	1	0.75
898	Raigarh	220414	Ums Nawapara "B"(Ssa)	22041412002	1	0.75
899	Raigarh	220411	Eps Laripara(Ssa)	22041105606	1	0.75
900	Raigarh	220411	Eps Chailitongari(Ssa)	22041105702	1	0.75
901	Raigarh	220416	Govt. Girls Ps. Sarangarh	22041629702	1	0.75
902	Raigarh	220402	Twd. Ps. Baradawan	22040207801	1	0.75
903	Raigarh	220416	Eps Rampur(Ssa)	22041603101	1	0.75
904	Raigarh	220416	Eps Visalpur(Ssa)	22041618501	1	0.75
905	Raigarh	220417	Twd.Jr.Ps Lalpur	22041700402	1	0.75
906	Raigarh	220409	Ums Agasmar(Ssa)	22040902702	1	0.75
907	Raigarh	220416	Ums Dadaidih(Ssa)	22041603202	1	0.75
908	Raigarh	220406	Eps Bamhanpali(Ssa)	22040607701	1	0.75
909	Raigarh	220411	Twd. Ps. Bhaisburhi	22041101004	1	0.75
910	Raigarh	220411	Govt. Ps. Bhawanipur	22041106101	1	0.75
911	Raigarh	220403	Govt. Ps. Piparmar	22040319205	1	0.75
912	Raigarh	220411	Ums Ramnathpur(Ssa)	22041100509	1	0.75
913	Raigarh	220415	Eps Deobahal(Ssa)	22041502301	1	0.75
914	Raigarh	220416	Rgpsm Ps Ranisagar	22041628504	1	0.75
915	Raigarh	220414	Govt. Ps. Bijna	22041402501	1	0.75
916	Raigarh	220411	Ums Gerupani(Ssa)	22041107904	1	0.75
917	Raigarh	220417	Twd. Ps. Chhirwani	22041701101	1	0.75
918	Raigarh	220411	Twd. Ps. Rudukela	22041101501	1	0.75
919	Raigarh	220416	Eps Khairha(Ssa)	22041617901	1	0.75
920	Raigarh	220403	Twd. Jur. Ps. Dhaurabhantha	22040311501	1	0.75
921	Raigarh	220402	Govt.Ps.Adbhar(Ssa)	22040204703	1	0.75
922	Raigarh	220402	Govt. Ps. Hattapali	22040214201	1	0.75
923	Raigarh	220411	Twd. Ps. Tetkaama	22041100301	1	0.75
924	Raigarh	220402	Ums Mekra(Ssa)	22040211706	1	0.75
925	Raigarh	220417	Twd. Ps. Tapranga	22041708301	1	0.75
926	Raigarh	220409	Govt.Ps.Turribhantha	22040913604	1	0.75
927	Raigarh	220416	Ums Suwarguda(Ssa)	22041620902	1	0.75
928	Raigarh	220411	Govt. Ps. Jhagarpur Bastipara	22041109902	1	0.75
929	Raigarh	220417	Twd. Ps. Amlidhorha	22041709201	1	0.75
930	Raigarh	220417	Ums Kesarchuwan(Ssa)	22041709402	1	0.75
931	Raigarh	220411	Nps Ftitingpara(Sinhardhar)(Ssa)	22041105704	1	0.75
932	Raigarh	220417	Ums Barkaspali(Ssa)	22041704002	1	0.75
933	Raigarh	220406	Eps Puranibasti(Ssa)	22040606102	1	0.75
934	Raigarh	220406	Govt.Ps.Kharrmuda	22040604501	1	0.75
935	Raigarh	220417	Ums Janjgir (Ssa)	22041708403	1	0.75
936	Raigarh	220416	Govt. Ps. Kouwatal	22041605501	1	0.75
937	Raigarh	220417	Twd. Ps. Mudagaon	22041702701	1	0.75
938	Raigarh	220403	Govt. Ps. Kadamdhorhi	22040311701	1	0.75

Distr   Block   School Name   UDISE Code   Physical in lakin   Inlant   I	Sl.					Recomm	endation
Raigarh   220403   Govt. Ps. Kapu   22040315901   1 0.75		Distr	Block	School Name	UDISE Code	Physical	Financial
940         Raigarh         220403         Govt.Ps.Bastipali         22040603002         1         0.75           941         Raigarh         220403         Govt.Ps.Barragi         22040315201         1         0.75           942         Raigarh         220415         Ms.Kusmura         2204151303         1         0.75           943         Raigarh         220409         Ms.Raigarh         220409         Ms.Raigarh         220409         Ms.Raigarh         220415         Govt.Ps.Nawagaon (E)         22041500901         1         0.75           944         Raigarh         220415         Govt.Ps.Raidana         22041500901         1         0.75           945         Raigarh         220415         Govt.Ps.Raidana         22041500901         1         0.75           947         Raigarh         220416         Govt.Ps.Balulmar         22041508915         1         0.75           948         Raigarh         220416         Govt.Ps.Balulmar         22041604701         1         0.75           948         Raigarh         220416         Govt.Ps.Balulmar         22041624901         1         0.75           951         Raigarh         220403         Tov.Ps.Balumar         22041624901         1 <th></th> <th></th> <th></th> <th></th> <th></th> <th></th> <th></th>							
941         Raigarh         220415         M.S.Kusmura         22041511303         1         0.75           943         Raigarh         220416         M.S.Kusmura         22041511303         1         0.75           944         Raigarh         220416         Govt. Jur.Ps.Butipara         22041629601         1         0.75           945         Raigarh         220415         Govt.Ps.Nawagaon (E)         22041509031         1         0.75           946         Raigarh         220415         Govt.Girls PS. Basant Mala         220415090915         1         0.75           947         Raigarh         220417         Ums Deogaon(Ssa)         22041708803         1         0.75           948         Raigarh         220416         Govt.Ps.Bhalumar         22040604701         1         0.75           949         Raigarh         220416         Govt.Ps.Bhalumar         22041664901         1         0.75           951         Raigarh         220416         Uwd.Ash.Ms Jawaharnagar         22041624901         1         0.75           951         Raigarh         220416         Umd.Ash.Ms.Jawaharnagar         22041624901         1         0.75           952         Raigarh         220416 <td< td=""><td></td><td></td><td></td><td></td><td></td><td></td><td></td></td<>							
942         Raigarh         220415         Ms. Kusmura         22041629601         1         0.75           943         Raigarh         220419         Govt. Jur. Ps. Butipara         22041629601         1         0.75           944         Raigarh         220419         Govt. Ps. Nawagaon (E)         22041509901         1         0.75           946         Raigarh         220415         Govt. Girls Ps. Basant Mala         22041508915         1         0.75           947         Raigarh         220417         Ums Deogaon(Ssa)         22041708803         1         0.75           948         Raigarh         220416         Govt. Ps. Balumar         220416060701         1         0.75           948         Raigarh         220416         Govt. Ps. Rapartunga         22041624901         1         0.75           950         Raigarh         220413         Govt. Ps. Bangarsuta         22041624901         1         0.75           951         Raigarh         220413         Govt. Ps. Bangarsuta         22041624901         1         0.75           952         Raigarh         220413         Govt. Ps. Bangarsuta         220416290041         1         0.75           953         Raigarh         220401 <td></td> <td>•</td> <td></td> <td>-</td> <td></td> <td></td> <td></td>		•		-			
943         Raigarh         220416         Govt. Jur. Ps. Butipara         22041629601         1         0.75           944         Raigarh         22049         M.S. Barbhouna         22040903802         1         0.75           945         Raigarh         220415         Govt. Fs. Nawagaon (E)         22041500901         1         0.75           946         Raigarh         220415         Govt. Girls Ps. Basant Mala         22041508915         1         0.75           947         Raigarh         220417         Ums Deogaon(Ssa)         22041708803         1         0.75           948         Raigarh         220416         Govt. Ps. Bahalumar         22040604701         1         0.75           950         Raigarh         220416         Twd. Ash. Ms. Jawaharnagar         22041624901         1         0.75           951         Raigarh         220416         Twd. Ash. Ms. Jawaharnagar         22041627902         1         0.75           951         Raigarh         220416         Ms. Bangarsutua         22040160401         1         0.75           952         Raigarh         220401         Ms. Girk Ash. Kaya         22040600102         1         0.75           953         Raigarh         22		•					
944         Raigarh         220499         M.S.Barbhouna         220409093802         1         0.75           946         Raigarh         220415         Govt. Girls P.S. Basant Mala         22041508091         1         0.75           947         Raigarh         220417         M. Deogan(Ssa)         22041508915         1         0.75           948         Raigarh         220416         Govt. P.S. Basant Mala         220416040701         1         0.75           948         Raigarh         220416         Govt. P.S. Kapartunga         22041604701         1         0.75           950         Raigarh         220416         Govt. P.S. Bapatrunga         22041624901         1         0.75           951         Raigarh         220416         Urd Ash. Ms Jawaharnagar         22041627802         1         0.75           951         Raigarh         220416         Urm Kuds. Ms. Statula (Ssa)         22041614903         1         0.75           952         Raigarh         220416         Urm Kutela (Ssa)         22041609303         1         0.75           953         Raigarh         220416         Ms. S. Bhedwan         22041609303         1         0.75           955         Raigarh         22040							
945         Raigarh         220415         Govt.Girls P.S. Basant Mala (Incidual Nagar)         22041508915         1         0.75           946         Raigarh         220417         Govt.Girls P.S. Basant Mala (Incidual Nagar)         22041608915         1         0.75           947         Raigarh         220417         Ums Deogaon(Ssa)         2204160803         1         0.75           948         Raigarh         220416         Govt.Ps. Banath         22041624901         1         0.75           949         Raigarh         220416         Govt.Ps. Bangare         22041627802         1         0.75           950         Raigarh         220416         Twd.Ash.Ms Jawaharangar         22041627802         1         0.75           951         Raigarh         220416         Ums Kutela (Ssa)         22041614903         1         0.75           952         Raigarh         220401         Ums Kutela (Ssa)         22041614903         1         0.75           953         Raigarh         220401         Ums Kutela (Ssa)         22041603403         1         0.75           954         Raigarh         220411         Govt P. Bangarpur         22041109901         1         0.75           955         Raigarh <td></td> <td>•</td> <td></td> <td></td> <td></td> <td></td> <td></td>		•					
946         Raigarh         220415         Govt. Girls P.S. Basant Mala Kirodimal Nagar         22041508915         1         0.75           947         Raigarh         220410         Iums Deogaon(Ssa)         22041708803         1         0.75           948         Raigarh         220416         Govt. Ps. Kapartunga         220416624901         1         0.75           950         Raigarh         220416         Govt. Ps. Kapartunga         22041627802         1         0.75           951         Raigarh         220403         Govt. Ps. Bangarsuta         22040300401         1         0.75           951         Raigarh         220406         Iums Kutela (Ssa)         220416141903         1         0.75           952         Raigarh         220416         Ums Kutela (Ssa)         22041601403         1         0.75           953         Raigarh         220416         M.S. Bhedwan         22041603403         1         0.75           954         Raigarh         220416         M.S. Bhedwan         22041603403         1         0.75           955         Raigarh         220416         Ums Kutel(Ssa)         220411019001         1         0.75           957         Raigarh         220416							
946         Raigarh         220415         Kirodimal Nagar         22041508915         1         0.75           947         Raigarh         220417         Umb Deogaon(Ssa)         22041608003         1         0.75           948         Raigarh         220416         Govt.Ps.Bhalumar         22040604701         1         0.75           950         Raigarh         220416         Govt.Ps. Bangarsuta         22041624901         1         0.75           951         Raigarh         220403         Govt.Ps. Bangarsuta         22040300401         1         0.75           952         Raigarh         220416         Ums Kutlela (Ssa)         22041614903         1         0.75           952         Raigarh         220416         Ums Kutlela (Ssa)         2204160400102         1         0.75           953         Raigarh         220416         Ms. Bhagarpur         22041603403         1         0.75           955         Raigarh         220411         Govt.Ps. Bhagarpur         22041603403         1         0.75           955         Raigarh         220411         Govt.Primary Lavelary (Stabury)         22041603403         1         0.75           957         Raigarh         220410	945	Raigarh	220415		22041500901	1	0.75
948         Raigarh         220406         Govt.Ps.Bhalumar         2204064701         1         0.75           949         Raigarh         220416         Govt.Ps. Kapartunga         22041627802         1         0.75           950         Raigarh         220403         Govt. Ps. Bangarsuta         22040300401         1         0.75           951         Raigarh         220403         Govt. Ps. Bangarsuta         22040300401         1         0.75           952         Raigarh         2204016         Ums Kutela (Ssa)         220416614903         1         0.75           953         Raigarh         220416         M.S. Bhedwan         22041603403         1         0.75           954         Raigarh         220416         M.S. Bhedwan         22041603403         1         0.75           955         Raigarh         220411         Govt.Ps. Jhagarpur         220416199901         1         0.75           955         Raigarh         220411         Ums Kudhari (Ssa)         22041614402         1         0.75           957         Raigarh         220416         Ums Kudhari (Ssa)         22041614402         1         0.75           958         Raigarh         220416         Ums Kudhari (S	946	Raigarh	220415		22041508915	1	0.75
949         Raigarh         220416         Govt. Ps. Kapartunga         22041624901         1         0.75           950         Raigarh         220416         Twd Ash.Ms Jawaharnagar         22041627802         1         0.75           951         Raigarh         220401         Ums Kutela (Ssa)         22041614903         1         0.75           952         Raigarh         220416         Ums Kutela (Ssa)         22041603403         1         0.75           953         Raigarh         220406         Twd.Rs.Ash.Kaya         220441609303         1         0.75           954         Raigarh         220411         Govt. Ps. Jhagarpur         22041109901         1         0.75           955         Raigarh         220413         Govt. Ps. Jhagarpur         22041109901         1         0.75           956         Raigarh         220403         Twd.Ps.Chatakpur(Vijaynagar)         220441318502         1         0.75           957         Raigarh         220413         Ums Kateli(Ssa)         22041614402         1         0.75           958         Raigarh         220416         Ums Kateli(Ssa)         22041614402         1         0.75           958         Raigarh         220417	947	Raigarh	220417	Ums Deogaon(Ssa)	22041708803	1	0.75
950         Raigarh         220416         Twd Ash.Ms Jawaharnagar         22041627802         1         0.75           951         Raigarh         220403         Govt. Ps. Bangarsuta         220440104903         1         0.75           952         Raigarh         220406         Ums Kutela (Ssa)         22041604903         1         0.75           953         Raigarh         220416         M.S. Bhedwan         22041603403         1         0.75           954         Raigarh         220411         Govt. Ps. Ihagarpur         22041109901         1         0.75           955         Raigarh         220403         Twd.Ps.Chatakpur(Vijaynagar)         2204104102         1         0.75           956         Raigarh         220416         Ums Kudhari (Ssa)         2204161402         1         0.75           957         Raigarh         220416         Ums Kuteli (Ssa)         2204161402         1         0.75           958         Raigarh         220416         Ums Kuteli (Ssa)         2204161402         1         0.75           958         Raigarh         220416         Ums Kuteli (Ssa)         22041617602         1         0.75           958         Raigarh         220413         Ms.	948	Raigarh	220406	Govt.Ps.Bhalumar	22040604701	1	0.75
951         Raigarh         220403         Govt. Ps. Bangarsuta         22040300401         1         0.75           952         Raigarh         220416         Ums Kutela (Ssa)         22041614903         1         0.75           953         Raigarh         220416         M.S. Bhedwan         22044603403         1         0.75           954         Raigarh         220411         Govt. Ps. [hagarpur         22041603403         1         0.75           955         Raigarh         220413         Govt. Ps. [hagarpur         22041109901         1         0.75           957         Raigarh         220416         Ums Kudhari (Ssa)         22041616402         1         0.75           958         Raigarh         220416         Ums Kateli(Ssa)         22041617602         1         0.75           959         Raigarh         220417         M.S. Dhaurabhantha Mcs         22041708203         1         0.75           960         Raigarh         220417         M.S. Dhaurabhantha Mcs         22041708203         1         0.75           961         Raipur         221104         Govt Middle School Tor(Ssa)         22110414802         1         0.75           962         Raipur         221104	949	Raigarh	220416	Govt. Ps. Kapartunga	22041624901	1	0.75
951         Raigarh         220403         Govt. Ps. Bangarsuta         22040300401         1         0.75           952         Raigarh         220416         Ums Kutela (Ssa)         22041614903         1         0.75           953         Raigarh         220416         Mrs. Bhedwan         22041603403         1         0.75           954         Raigarh         220411         Govt. Ps. Jhagarpur         22041603403         1         0.75           955         Raigarh         220413         Govt. Ps. Jhagarpur         22041109901         1         0.75           957         Raigarh         220416         Ums Kudhari (Ssa)         22041616402         1         0.75           958         Raigarh         220416         Ums Kateli(Ssa)         22041617602         1         0.75           959         Raigarh         220417         Ms. Dhaurabhantha Mcs         22041708203         1         0.75           960         Raigarh         220417         Ms. Dhaurabhantha Mcs         22041708203         1         0.75           961         Raipur         221104         Govt Middle School Tor(Ssa)         22110414802         1         0.75           962         Raipur         221104 <t< td=""><td>950</td><td>Raigarh</td><td>220416</td><td></td><td>22041627802</td><td>1</td><td>0.75</td></t<>	950	Raigarh	220416		22041627802	1	0.75
953         Raigarh         220406         Twd.Girls Ash.Kaya         22040600102         1         0.75           954         Raigarh         220416         M.S. Bhedwan         22041603403         1         0.75           955         Raigarh         220413         Govt. Ps. Jhagarpur         22041109901         1         0.75           956         Raigarh         220413         Twd.Ps.Chatakpur(Vijaynagar)         22041619901         1         0.75           957         Raigarh         220416         Ums Kudeli(Ssa)         220416114402         1         0.75           958         Raigarh         220417         M.S. Dhaurabhantha Mcs         22041617602         1         0.75           959         Raigarh         220401         M.S. Dhaurabhantha Mcs         22041617602         1         0.75           960         Raigarh         220403         M.S. Vijaynagar Mcs         22040318503         1         0.75           961         Raipur         221104         Govt Primary School Railway         22110414802         1         0.75           962         Raipur         221104         Govt Primary School Tor         22110414801         1         0.75           963         Rajnandgaon <td< td=""><td>951</td><td></td><td></td><td>Govt. Ps. Bangarsuta</td><td>22040300401</td><td>1</td><td>0.75</td></td<>	951			Govt. Ps. Bangarsuta	22040300401	1	0.75
953         Raigarh         220406         Twd.Girls Ash.Kaya         22040600102         1         0.75           954         Raigarh         220411         M.S. Bhedwan         22041603403         1         0.75           955         Raigarh         220411         Govt. Ps. Jhagarpur         220410199901         1         0.75           956         Raigarh         220403         Twd.Ps.Chatakpur(Vijaynagar)         22040318502         1         0.75           957         Raigarh         220416         Ums Kudeli(Ssa)         22041617602         1         0.75           958         Raigarh         220417         M.S. Dhaurabhantha Mcs         22041617602         1         0.75           959         Raigarh         220403         M.S. Vijaynagar Mcs         22040318503         1         0.75           960         Raigarh         220403         M.S. Vijaynagar Mcs         22040318503         1         0.75           961         Raipur         221104         Govt Primary School Railway         22110440807         1         0.75           962         Raipur         221104         Govt Primary School Tor         22110414801         1         0.75           963         Raipur         221104<	952		220416	Ums Kutela (Ssa)	22041614903	1	0.75
954         Raigarh         220416         M.S. Bhedwan         22041603403         1         0.75           955         Raigarh         220411         Govt. Ps. Jhagarpur         220410109901         1         0.75           956         Raigarh         220403         Twd.Ps.Chatakpur(Vijaynagar)         22040318502         1         0.75           957         Raigarh         220416         Ums Kudhari (Ssa)         22041614402         1         0.75           958         Raigarh         220416         Ums Kateli(Ssa)         22041617602         1         0.75           958         Raigarh         220401         M.S. Dhaurabhantha Mcs         22040708203         1         0.75           960         Raigarh         220403         M.S. Vijaynagar Mcs         22040318503         1         0.75           961         Raipur         221104         Govt Middle School Tor(Ssa)         22110414802         1         0.75           962         Raipur         221104         Govt Primary School Tor         22110414801         1         0.75           963         Rajnandgaon         220910         Govt.Primary School ISsa)         2209105003         1         0.75           965         Rajnandgaon	953		220406		22040600102	1	0.75
955         Raigarh         220411         Govt. Ps. Jhagarpur         22041109901         1         0.75           956         Raigarh         220403         Twd.Ps.Chatakpur(Vijaynagar)         22040318502         1         0.75           957         Raigarh         220416         Ums Kudhari (Ssa)         22041614402         1         0.75           958         Raigarh         220416         Ums Kudhari (Ssa)         22041617602         1         0.75           959         Raigarh         220417         M.S. Dhaurabhantha Mcs         22041708203         1         0.75           960         Raigarh         220403         M.S. Vijaynagar Mcs         22040318503         1         0.75           961         Raigur         221104         Govt Middle School Tor(Ssa)         2211041802         1         0.75           962         Raipur         221104         Govt Primary School Railway Station Mandhar         22110408607         1         0.75           963         Raipur         221104         Govt Primary School Biladi         2211041801         1         0.75           964         Raipur         221104         Govt Primary School Biladi         22110414801         1         0.75           965							
956         Raigarh         220403         Twd.Ps.Chatakpur(Vijaynagar)         22040318502         1         0.75           957         Raigarh         220416         Ums Kudhari (Ssa)         22041614402         1         0.75           958         Raigarh         220416         Ums Kateli(Ssa)         22041617602         1         0.75           959         Raigarh         220417         M.S. Dhaurabhantha Mcs         22041708203         1         0.75           960         Raigarh         220403         M.S. Vijaynagar Mcs         22040318503         1         0.75           961         Raipur         221104         Govt Middle School Tor(Ssa)         22110414802         1         0.75           962         Raipur         221104         Govt Primary School Railway         22110408607         1         0.75           963         Raipur         221104         Govt Primary School Tor         22110414801         1         0.75           964         Raipur         221108         Govt. Primary School Isa         2211040804701         1         0.75           965         Rajnandgaon         220910         Govt. Primary School (Ssa)         22091005003         1         0.75           967         Ra				Govt. Ps. Ihagarpur		1	
957         Raigarh         220416         Ums Kudhari (Ssa)         22041614402         1         0.75           958         Raigarh         220416         Ums Kateli (Ssa)         22041617602         1         0.75           959         Raigarh         220403         M.S. Dhaurabhantha Mcs         22041708203         1         0.75           960         Raigarh         220403         M.S. Vijaynagar Mcs         22040318503         1         0.75           961         Raipur         221104         Govt Middle School Tor (Ssa)         22110414802         1         0.75           962         Raipur         221104         Govt Primary School Railway         22110408607         1         0.75           963         Raipur         221104         Govt Primary School Tor         22110414801         1         0.75           964         Raipur         221108         Govt Primary School (Ssa)         22091005003         1         0.75           965         Rajnandgaon         220910         Govt. Primary School (Ssa)         22091016301         1         0.75           967         Rajnandgaon         220910         Govt. Primary School (Ssa)         220901019801         1         0.75           969 <t< td=""><td></td><td><u> </u></td><td></td><td></td><td></td><td></td><td></td></t<>		<u> </u>					
958         Raigarh         220416         Ums Kateli(Ssa)         22041617602         1         0.75           959         Raigarh         220417         M.S. Dhaurabhantha Mcs         22041708203         1         0.75           960         Raigarh         220403         M.S. Vijaynagar Mcs         22040318503         1         0.75           961         Raipur         221104         Govt Middle School Tor(Ssa)         22110414802         1         0.75           962         Raipur         221104         Govt Primary School Railway Station Mandhar         221104048607         1         0.75           963         Raipur         221104         Govt Primary School Tor         22110414801         1         0.75           964         Raipur         221108         Govt Primary School Biladi         22110804701         1         0.75           965         Rajnandgaon         220910         Govt. Primary School (Ssa)         22091005003         1         0.75           966         Rajnandgaon         220910         Govt. Primary School (Ssa)         22091016301         1         0.75           967         Rajnandgaon         220910         Govt. Primary School (Ssa)         22091019801         1         0.75		•					
959         Raigarh         220417         M.S. Dhaurabhantha Mcs         22041708203         1         0.75           960         Raigarh         220403         M.S. Vijaynagar Mcs         22040318503         1         0.75           961         Raipur         221104         Govt Middle School Tor(Ssa)         221104144802         1         0.75           962         Raipur         221104         Govt Primary School Railway Station Mandhar         221104408607         1         0.75           963         Raipur         221108         Govt Primary School Tor         22110414801         1         0.75           964         Raipur         221108         Govt.Primary School ISsa)         22091005003         1         0.75           965         Rajnandgaon         220910         Govt. Primary School (Ssa)         22091016301         1         0.75           966         Rajnandgaon         220912         Govt. Primary School (Ssa)         22090216301         1         0.75           967         Rajnandgaon         220910         Govt. Primary School (Ssa)         22091019801         1         0.75           968         Rajnandgaon         220909         Govt. Primary School (Ssa)         22091019801         1         0.75 <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td>							
960         Raigarh         220403         M.S. Vijaynagar Mcs         22040318503         1         0.75           961         Raipur         221104         Govt Middle School Tor(Ssa)         22110414802         1         0.75           962         Raipur         221104         Govt Primary School Railway Station Mandhar         22110408607         1         0.75           963         Raipur         221104         Govt Primary School Tor         22110414801         1         0.75           964         Raipur         221108         Govt-Primary School Biladi         22110804701         1         0.75           965         Rajnandgaon         220910         Govt. Primary School (Ssa) Chotepara Kodemara         22091005003         1         0.75           966         Rajnandgaon         220910         Govt. Primary School (Ssa) School (Ssa) Govt. Primary School (Ssa)	<u> </u>	_					
961         Raipur         221104         Govt Middle School Tor(Ssa)         22110414802         1         0.75           962         Raipur         221104         Govt Primary School Railway Station Mandhar         22110408607         1         0.75           963         Raipur         221104         Govt Primary School Tor         22110414801         1         0.75           964         Raipur         221108         Govt Primary School Biladi         22110804701         1         0.75           965         Rajnandgaon         220910         Govt Primary School (Ssa) Chotepara Kodemara         22091005003         1         0.75           966         Rajnandgaon         220910         Govt Primary School (Ssa) Chotepara Kodemara         22091016301         1         0.75           967         Rajnandgaon         220910         Govt Primary School (Ssa) Salampara (Mohbhattha)         22090216301         1         0.75           968         Rajnandgaon         220910         Govt Primary School (Ssa) Salampara (Mohbhattha)         22091019801         1         0.75           970         Rajnandgaon         220910         Govt Primary School (Ssa) Salampara (Mohbhattha)         22090926101         1         0.75           971         Rajnandgaon         220910	<u> </u>						
962         Raipur         221104         Govt Primary School Railway Station Mandhar         22110408607         1         0.75           963         Raipur         221104         Govt Primary School Tor         22110414801         1         0.75           964         Raipur         221108         Govt.Primary School Biladi         22110804701         1         0.75           965         Rajnandgaon         220910         Govt. Primary School (Ssa) Chotepara Kodemara         22091005003         1         0.75           966         Rajnandgaon         220910         Govt. Primary School (Ssa) Khairi (Tatekasa)         22090216301         1         0.75           968         Rajnandgaon         220910         Govt. Primary School (Ssa) Salampara (Mohbhattha)         22091019801         1         0.75           969         Rajnandgaon         220910         Govt. Primary School (Ssa) Rattipara         22091005201         1         0.75           970         Rajnandgaon         220910         Govt. Primary School (Ssa) Rattipara         22091005201         1         0.75           971         Rajnandgaon         220908         Govt. Middle School (Ssa) Rattipara         22090815602         1         0.75           972         Sukma         222102         Govt	-						
962         Raipur         221104         Station Mandhar         22110408607         1         0.75           963         Raipur         221104         Govt Primary School Tor         22110804701         1         0.75           964         Raipur         221108         Govt. Primary School Biladi         22110804701         1         0.75           965         Rajnandgaon         220910         Govt. Primary School (Ssa) Chotepara Kodemara         22091016301         1         0.75           967         Rajnandgaon         220902         Govt. Primary School (Ssa) Khairi (Tatekasa)         22090216301         1         0.75           968         Rajnandgaon         220910         Govt. Primary School (Ssa) Salampara (Mohbhattha)         22091019801         1         0.75           969         Rajnandgaon         220910         Govt. Primary School (Ssa) Rattipara         220910926101         1         0.75           970         Rajnandgaon         220910         Govt. Primary School (Ssa) Rattipara         22091005201         1         0.75           971         Rajnandgaon         220908         Govt. Middle School (Ssa) Panduka         22090815602         1         0.75           972         Sukma         222134         Govt. P.	701	Kaipui	221107		22110414002	1	0.73
963         Raipur         221104         Govt Primary School Tor         22110414801         1         0.75           964         Raipur         221108         Govt.Primary School Biladi         22110804701         1         0.75           965         Rajnandgaon         220910         Govt. Primary School (Ssa) Chotepara Kodemara         2209105003         1         0.75           966         Rajnandgaon         220910         Govt. Primary School (Ssa) Khairi (Tatekasa)         22090216301         1         0.75           967         Rajnandgaon         220910         Govt. Primary School (Ssa) Salampara (Mohbhattha)         22091019801         1         0.75           969         Rajnandgaon         220910         Govt. Primary School (Ssa) Salampara (Mohbhattha)         22090926101         1         0.75           970         Rajnandgaon         220910         Govt. Primary School Raisingh Salhe         22091005201         1         0.75           971         Rajnandgaon         220908         Govt. Middle School (Ssa) Panduka         22090815602         1         0.75           972         Sukma         222102         Govt.N.P.S.Kamlapadar Ssa         22210228201         1         0.75           973         Sukma         222134         Govt P.S. Gach	962	Raipur	221104		22110408607	1	0.75
964         Raipur         221108         Govt.Primary School Biladi         22110804701         1         0.75           965         Rajnandgaon         220910         Govt. Primary School (Ssa) Chotepara Kodemara         22091005003         1         0.75           966         Rajnandgaon         220910         Govt. Primary School Rajadera         22091016301         1         0.75           967         Rajnandgaon         220902         Govt. Primary School (Ssa) Khairi (Tatekasa)         22090216301         1         0.75           968         Rajnandgaon         220910         Govt. Primary School (Ssa) Salampara (Mohbhattha)         22091019801         1         0.75           969         Rajnandgaon         220910         Govt. Primary School (Ssa) Rattipara         22090926101         1         0.75           970         Rajnandgaon         220910         Govt. Primary School Raisingh Salhe         22091005201         1         0.75           971         Rajnandgaon         220908         Govt. Middle School (Ssa) Panduka         22090815602         1         0.75           972         Sukma         222134         Govt P.S. Kamlapadar Ssa         22210228201         1         0.75           973         Sukma         222134         Govt P.S. Bandar	963	Rainur	221104		22110414801	1	0.75
965         Rajnandgaon         220910         Govt. Primary School (Ssa) Chotepara Kodemara         22091005003         1         0.75           966         Rajnandgaon         220910         Govt. Primary School Rajadera         22091016301         1         0.75           967         Rajnandgaon         220902         Govt. Primary School (Ssa) Khairi (Tatekasa)         22090216301         1         0.75           968         Rajnandgaon         220910         Govt. Primary School (Ssa) Salampara (Mohbhattha)         22091019801         1         0.75           969         Rajnandgaon         220909         Govt. Primary School (Ssa) Rattipara         22090926101         1         0.75           970         Rajnandgaon         220910         Govt. Primary School Raisingh Salhe         22091005201         1         0.75           971         Rajnandgaon         220908         Govt. Middle School (Ssa) Panduka         22090815602         1         0.75           972         Sukma         222102         Govt.N.P.S.Kamlapadar Ssa         22210228201         1         0.75           973         Sukma         222134         Govt P.S. Bhandarchalka         22213415101         1         0.75           974         Sukma         222135         Govt P.S. Michwar (	-	•					
965         Rajnandgaon         220910         Chotepara Kodemara         22091005003         1         0.75           966         Rajnandgaon         220910         Govt. Primary School Rajadera         22091016301         1         0.75           967         Rajnandgaon         220902         Govt. Primary School (Ssa)	704	•	221100		22110004701	1	0.73
967         Rajnandgaon         220902         Govt. Primary School (Ssa) Khairi (Tatekasa)         22090216301         1         0.75           968         Rajnandgaon         220910         Govt. Primary School (Ssa) Salampara (Mohbhattha)         22091019801         1         0.75           969         Rajnandgaon         220909         Govt. Primary School (Ssa) Rattipara         22090926101         1         0.75           970         Rajnandgaon         220910         Govt. Primary School Raisingh Salhe         22091005201         1         0.75           971         Rajnandgaon         220908         Govt. Middle School (Ssa) Panduka         22090815602         1         0.75           972         Sukma         222102         Govt.N.P.S. Kamlapadar Ssa         22210228201         1         0.75           973         Sukma         222134         Govt P.S. Gachanpalli         22213415101         1         0.75           974         Sukma         222134         Govt P.S. Bhandarchalka         22213427001         1         0.75           975         Sukma         222135         Govt P.S. Pittepara Dabba (Ssa)         22213500111         1         0.75           976         Sukma         222135         Govt P.S. Masapara Rokel (Twd)         2221		, 3		Chotepara Kodemara			
967         Rajnandgaon         220902         Khairi (Tatekasa)         22090216301         1         0.75           968         Rajnandgaon         220910         Govt. Primary School (Ssa) Salampara (Mohbhattha)         22091019801         1         0.75           969         Rajnandgaon         220909         Govt. Primary School (Ssa) Rattipara         22090926101         1         0.75           970         Rajnandgaon         220910         Govt. Primary School Raisingh Salhe         22091005201         1         0.75           971         Rajnandgaon         220908         Govt. Middle School (Ssa) Panduka         22090815602         1         0.75           972         Sukma         222102         Govt.N.P.S. Kamlapadar Ssa         22210228201         1         0.75           973         Sukma         222134         Govt P.S. Gachanpalli         22213415101         1         0.75           974         Sukma         222134         Govt P.S. Michwar (Govt)         22213427001         1         0.75           975         Sukma         222135         Govt P.S. Pittepara Dabba (Ssa)         22213500111         1         0.75           976         Sukma         222135         Govt P.S. Masapara Rokel (Twd)         22213508001         1	966	Rajnandgaon	220910		22091016301	1	0.75
968         Rajnandgaon         220910         Salampara (Mohbhattha)         22091019801         1         0.75           969         Rajnandgaon         220909         Govt. Primary School (Ssa) Rattipara         22090926101         1         0.75           970         Rajnandgaon         220910         Govt. Primary School Raisingh Salhe         22091005201         1         0.75           971         Rajnandgaon         220908         Govt. Middle School (Ssa) Panduka         22090815602         1         0.75           972         Sukma         222102         Govt.N.P.S. Kamlapadar Ssa         22210228201         1         0.75           973         Sukma         222134         Govt P.S. Gachanpalli         22213415101         1         0.75           974         Sukma         222134         Govt.P.S. Bhandarchalka         22213427001         1         0.75           975         Sukma         222135         Govt P.S. Michwar (Govt)         22213500111         1         0.75           976         Sukma         222135         Govt P.S. Masapara Rokel (Twd)         22213508001         1         0.75           978         Sukma         222135         Govt P.S. Govindpal (Ssa)         22213508205         1         0.75     <	967	Rajnandgaon	220902	Khairi (Tatekasa)	22090216301	1	0.75
969         Rajnandgaon         220909         Govt. Primary School (Ssa) Rattipara         22090926101         1         0.75           970         Rajnandgaon         220910         Govt. Primary School Raisingh Salhe         22091005201         1         0.75           971         Rajnandgaon         220908         Govt. Middle School (Ssa) Panduka         22090815602         1         0.75           972         Sukma         222102         Govt.N.P.S.Kamlapadar Ssa         22210228201         1         0.75           973         Sukma         222134         Govt P.S. Gachanpalli         22213415101         1         0.75           974         Sukma         222134         Govt.P.S. Bhandarchalka         22213427001         1         0.75           975         Sukma         222135         Govt P.S. Michwar (Govt)         22213500111         1         0.75           976         Sukma         222135         Govt P.S. Pittepara Dabba (Ssa)         22213508001         1         0.75           978         Sukma         222135         Govt P.S. Govindpal (Ssa)         22213508205         1         0.75           979         Sukma         222134         Govt P.S. Nulkatong         22213411901         1         0.75	968	Rajnandgaon	220910		22091019801	1	0.75
970         Rajnandgaon         220910         Salhe         22091005201         1         0.75           971         Rajnandgaon         220908         Govt. Middle School (Ssa) Panduka         22090815602         1         0.75           972         Sukma         222102         Govt.N.P.S.Kamlapadar Ssa         22210228201         1         0.75           973         Sukma         222134         Govt P.S. Gachanpalli         22213415101         1         0.75           974         Sukma         222134         Govt.P.S. Bhandarchalka         22213427001         1         0.75           975         Sukma         222135         Govt P.S. Michwar (Govt)         22213500111         1         0.75           976         Sukma         222135         Govt P.S. Pittepara Dabba (Ssa)         22213502505         1         0.75           977         Sukma         222135         Govt P.S. Masapara Rokel (Twd)         22213508205         1         0.75           978         Sukma         222135         Govt P.S. Nulkatong         22213411901         1         0.75           979         Sukma         222134         Govt P.S. Dokapara         22210207105         1         0.75	969	Rajnandgaon	220909	Govt. Primary School (Ssa)	22090926101	1	0.75
971         Rajnandgaon         220908         Panduka         22090815602         1         0.75           972         Sukma         222102         Govt.N.P.S.Kamlapadar Ssa         22210228201         1         0.75           973         Sukma         222134         Govt P.S. Gachanpalli         22213415101         1         0.75           974         Sukma         222134         Govt.P.S. Bhandarchalka         22213427001         1         0.75           975         Sukma         222135         Govt P.S. Michwar (Govt)         22213500111         1         0.75           976         Sukma         222135         Govt P.S. Pittepara Dabba (Ssa)         22213502505         1         0.75           978         Sukma         222135         Govt P.S. Masapara Rokel (Twd)         22213508001         1         0.75           979         Sukma         222135         Govt P.S. Nulkatong         22213411901         1         0.75           980         Sukma         222102         N.P.S. Dokapara         22210207105         1         0.75	970	Rajnandgaon	220910	•	22091005201	1	0.75
973         Sukma         222134         Govt P.S. Gachanpalli         22213415101         1         0.75           974         Sukma         222134         Govt.P.S. Bhandarchalka         22213427001         1         0.75           975         Sukma         222135         Govt P.S. Michwar (Govt)         22213500111         1         0.75           976         Sukma         222135         Govt P.S. Pittepara Dabba (Ssa)         22213502505         1         0.75           977         Sukma         222135         Govt P.S. Masapara Rokel (Twd)         22213508001         1         0.75           978         Sukma         222135         Govt P.S. Govindpal (Ssa)         22213508205         1         0.75           979         Sukma         222134         Govt P.S. Nulkatong         22213411901         1         0.75           980         Sukma         222102         N.P.S. Dokapara         22210207105         1         0.75	971	Rajnandgaon	220908		22090815602	1	0.75
974         Sukma         222134         Govt.P.S. Bhandarchalka         22213427001         1         0.75           975         Sukma         222135         Govt P.S. Michwar (Govt)         22213500111         1         0.75           976         Sukma         222135         Govt P.S. Pittepara Dabba (Ssa)         22213502505         1         0.75           977         Sukma         222135         Govt P.S. Masapara Rokel (Twd)         22213508001         1         0.75           978         Sukma         222135         Govt P.S. Govindpal (Ssa)         22213508205         1         0.75           979         Sukma         222134         Govt P.S. Nulkatong         22213411901         1         0.75           980         Sukma         222102         N.P.S. Dokapara         22210207105         1         0.75	972	Sukma	222102	Govt.N.P.S.Kamlapadar Ssa	22210228201	1	0.75
974         Sukma         222134         Govt.P.S. Bhandarchalka         22213427001         1         0.75           975         Sukma         222135         Govt P.S. Michwar (Govt)         22213500111         1         0.75           976         Sukma         222135         Govt P.S. Pittepara Dabba (Ssa)         22213502505         1         0.75           977         Sukma         222135         Govt P.S. Masapara Rokel (Twd)         22213508001         1         0.75           978         Sukma         222135         Govt P.S. Govindpal (Ssa)         22213508205         1         0.75           979         Sukma         222134         Govt P.S. Nulkatong         22213411901         1         0.75           980         Sukma         222102         N.P.S. Dokapara         22210207105         1         0.75	973	Sukma	222134	Govt P.S. Gachanpalli	22213415101	1	0.75
975         Sukma         222135         Govt P.S. Michwar (Govt)         22213500111         1         0.75           976         Sukma         222135         Govt P.S. Pittepara Dabba (Ssa)         22213502505         1         0.75           977         Sukma         222135         Govt P.S. Masapara Rokel (Twd)         22213508001         1         0.75           978         Sukma         222135         Govt P.S. Govindpal (Ssa)         22213508205         1         0.75           979         Sukma         222134         Govt P.S. Nulkatong         22213411901         1         0.75           980         Sukma         222102         N.P.S. Dokapara         22210207105         1         0.75	974	Sukma	222134		22213427001	1	0.75
976         Sukma         222135         Govt P.S. Pittepara Dabba (Ssa)         22213502505         1         0.75           977         Sukma         222135         Govt P.S. Masapara Rokel (Twd)         22213508001         1         0.75           978         Sukma         222135         Govt P.S. Govindpal (Ssa)         22213508205         1         0.75           979         Sukma         222134         Govt P.S. Nulkatong         22213411901         1         0.75           980         Sukma         222102         N.P.S. Dokapara         22210207105         1         0.75	975	Sukma	222135		22213500111	1	0.75
977         Sukma         222135         Govt P.S. Masapara Rokel (Twd)         22213508001         1         0.75           978         Sukma         222135         Govt P.S. Govindpal (Ssa)         22213508205         1         0.75           979         Sukma         222134         Govt P.S. Nulkatong         22213411901         1         0.75           980         Sukma         222102         N.P.S. Dokapara         22210207105         1         0.75	976					1	
978         Sukma         222135         Govt P.S. Govindpal (Ssa)         22213508205         1         0.75           979         Sukma         222134         Govt P.S. Nulkatong         22213411901         1         0.75           980         Sukma         222102         N.P.S. Dokapara         22210207105         1         0.75	-						
979         Sukma         222134         Govt P.S. Nulkatong         22213411901         1         0.75           980         Sukma         222102         N.P.S. Dokapara         22210207105         1         0.75	-						
980         Sukma         222102         N.P.S. Dokapara         22210207105         1         0.75							
	-						
1 - 1 - 0.0							
982 Sukma 222134 Govt.P.S. Gorkha 22213409302 1 0.75	<u> </u>						

CI					Recomm	endation
Sl. No.	Distr	Block	School Name	UDISE Code	Physical	Financial in lakh
983	Sukma	222135	Govt. Ps Guphapal	22213530004	1	0.75
984	Sukma	222134	Govt P.S. Kangaltong	22213408701	1	0.75
985	Sukma	222102	Govt.M.S.Korra	22210210707	1	0.75
986	Sukma	222134	Govt. P.S Permapara Dubbatota	22213411703	1	0.75
987	Sukma	222134	Govt P.S. Pantha Bheji	22213428901	1	0.75
988	Sukma	222134	Govt P.S. Tadguda	22213429101	1	0.75
989	Sukma	222135	Govt Kanya M.S. Chhindgarh (Ssa)	22213510313	1	0.75
990	Sukma	222135	Govt Kanya P.S. Chhindgarh (Twd)	22213512402	1	0.75
991	Sukma	222135	Govt. Ms Kodripal	22213529605	1	0.75
992	Sukma	222134	Govt. M.S. Banda	22213401906	1	0.75
993	Sukma	222134	Govt P.S. Pidmel	22213418102	1	0.75
994	Sukma	222135	Govt P.S. Patelpara Mundwal (Ssa)	22213509103	1	0.75
995	Sukma	222135	Govt P.S.Paikarampuram (Ssa)	22213523601	1	0.75
996	Sukma	222134	Govt P.S. Gogunda (Twd)	22213409701	1	0.75
997	Sukma	222134	Kanist P.S.Badekedwal	22213413302	1	0.75
998	Sukma	222135	Govt P.S. Puriras (Twd)	22213505902	1	0.75
999	Sukma	222135	Govt P.S. Kalarpara (Ssa)	22213508308	1	0.75
1000	Sukma	222134	Govt P.S. Eladmadgu	22213409101	1	0.75
1001	Sukma	222134	Govt P.S. Sakler	22213416801	1	0.75
1002	Sukma	222135	Govt. Ps Elengnar	22213528303	1	0.75
1003	Sukma	222134	Govt P.S. Veerabhatti	22213409002	1	0.75
1004	Sukma	222134	Govt P.S. Amapenta	22213430301	1	0.75
1005	Sukma	222102	Govt Primary School Supnar	22210204101	1	0.75
1006	Sukma	222134	Govt P.S. Bhandarpadar	22213409601	1	0.75
1007	Sukma	222102	Govt Primary School Pusamipara	22210204601	1	0.75
1008	Sukma	222134	Govt. Primary School Ramaram	22213401002	1	0.75
1009	Sukma	222134	Govt.P.S. Odeselpara Mailasur	22213414902	1	0.75
1010	Sukma	222134	Govt.P.S. Chintagufa	22213431101	1	0.75
1011	Sukma	222135	Govt P.S. Gumtapara (Twd)	22213513201	1	0.75
1012	Surajpur	222716	Govt. Nps Baheratola	22271606303	1	0.75
1013	Surajpur	222715	Govt. M.S. Govindgarh	22271503703	1	0.75
1014	Surajpur	222716	Govt. P.S. Kolsopara	22271600104	1	0.75
1015	Surajpur	222717	Govt. P.S. Khorma	22271703001	1	0.75
1016	Surajpur	222716	Govt. P.S. Jhadudih	22271606703	1	0.75
1017	Surajpur	222716	Govt. P.S.Bhagmaipara	22271601511	1	0.75
1018	Surajpur	222717	Govt. M.S. Sondiha	22271709803	1	0.75
1019	Surajpur	222716	Govt. P.S.Kharharijor	22271606202	1	0.75
1020	Surajpur	222719	Govt. P.S. Ghutarapara	22271902703	1	0.75
1021	Surajpur	222718	Govt. M.S. Akchaypur	22271808303	1	0.75
1022	Surajpur	222716	Govt. P.S. Bhunda	22271602502	1	0.75
1023	Surajpur	222716	Govt. P.S.Juna Chendra	22271607707	1	0.75
1024	Surajpur	222719	Govt. P.S. Peepardand	22271902205	1	0.75
1025	Surajpur	222719	Govt. M.S. Kanakpur	22271902704	1	0.75
1026	Surajpur	222717	Govt. P.S. Nilkanthpur	22271711501	1	0.75
1027	Surajpur	222716	Govt. Nps Harrapani	22271607304	1	0.75
1028	Surajpur	222718	Govt. P.S. Aamajhariya	22271805704	1	0.75
1029	Surajpur	222714	Govt. P.S. Sattiparai	22271407207	1	0.75
1030	Surajpur	222717	Govt. P.S.Dhondha	22271706901	1	0.75

Sl.					Recomm	endation
No.	Distr	Block	School Name	UDISE Code	Physical	Financial in lakh
1031	Surajpur	222719	Govt. P.S. Darripara	22271905702	1	0.75
1032	Surajpur	222717	Govt. P.S. Barpara Davnkara	22271703702	1	0.75
1033	Surajpur	222714	Govt. M.S. Gopalpur	22271403702	1	0.75
1034	Surajpur	222716	Govt. P.S.Nadipara	22271608602	1	0.75
1035	Surajpur	222716	Govt. Ps Telaipath	22271610201	1	0.75
1036	Surajpur	222716	Govt. P.S. Gangotri	22271608201	1	0.75
1037	Surajpur	222717	Govt. M.S. Asanapara	22271710706	1	0.75
1038	Surajpur	222715	Govt. P.S.Uparpara	22271710700	1	0.75
1039	Surajpur	222716	Govt. P.S. Bilaspur	22271604101	1	0.75
1040	Surajpur	222718	Govt. P.S. Khalpara	22271801603	1	0.75
1040	Surajpur	222716	Govt. P.S.Jargapara	22271601603	1	0.75
1042	Surajpur	222718	Govt. P.S. Khuthanpara	22271808403	1	0.75
1042	Surajpur	222717	Govt. N.P.S.Ubakapara	2227171000403	1	0.75
1043	Surajpur	222716	Govt. P.S.Pandaridand	22271603702	1	0.75
1044	Surajpur	222716	Govt. P.S.Sukhnaiyapara	22271603702	1	0.75
1045	Surajpur	222717	Govt. P.S. Bhaisadhara	22271700803	1	0.75
1047	Surajpur	222718	Govt. M.S. Parsapara	22271801202	1	0.75
1047	Surajpur	222716	Govt. M.S. Farsapara Govt. P.S.Hathichuya	22271611001	1	0.75
1040	Surajpur	222718	Govt. M.S. Chhatapara Surta	22271811001	1	0.75
1049	Surajpur	222716	Govt. P.S. Kalipara	22271604702	1	0.75
1050	Surajpur	222716	Govt. M.S. Rasaonki	22271601303	1	0.75
1051	Surajpur	222716	Govt. P.S. Putki	22271601902	1	0.75
1052		222717	Govt. P.S. Shantinager	22271702711	1	0.75
1053	Surajpur		Govt. P.S. Soahar		1	
	Surajpur	222716		22271608301	1	0.75
1055	Surajpur	222717	Govt. P.S. Rachharpara	22271711405		0.75
1056	Surajpur	222718	Govt. P.S. Dugupara	22271810201	1 1	0.75
1057	Surajpur	222718	Arjunpur	22271803406		0.75
1058	Surajpur	222717	Govt. P.S. Sarhari	22271703502	1	0.75
1059	Surajpur	222716 222717	Govt. P.S. Mandar	22271603701	1 1	0.75
1060	Surajpur		Govt. P.S. Gumidand	22271702202		0.75
1061	Surajpur	222717	Govt. P.S. Dulmela	22271712603	1	0.75
1062	Surajpur	222715	Govt. P.S.Jhammanpara	22271503005	1	0.75
1063	Surajpur	222716	Govt. P.S. Odgi	22271603401	1	0.75
1064	Surajpur	222717	Govt. P.S. Navadhakki	22271708701	1	0.75
1065	Surajpur	222715	Govt. P.S.Pandopara	22271505502	1	0.75
1066	Surajpur	222718	Govt. M.S. Pandri	22271807503	1	0.75
1067	Surajpur	222719	Govt. P.S. Karmipara	22271902209	1	0.75
1068	Surajpur	222715	Govt. Ps Bandhpara,Chungari	22271504913	1	0.75
1069	Surajpur	222715	Govt. P.S. Gaderiyadih	22271506901	1	0.75
1070	Surajpur	222717	Govt. P.S. Kudaripara	22271706305	1	0.75
1071	Surajpur	222716	Govt. P.S. Boys A. Chhatrang	22271606005	1	0.75
1072	Surajpur	222716	Govt. P.S. Baijanpat	22271602401	1	0.75
1073	Surajpur	222715	Govt. P.S. Chainpur (Sivaripara)	22271506601	1	0.75
1074	Surajpur	222716	Govt. P.S.Baigapara	22271601302	1	0.75
1075	Surajpur	222718	Govt. P.S. Kaerhiyapara	22271805307	1	0.75
1076	Surajpur	222717	Govt. P.S. Dhumadand Vanshipur	22271703804	1	0.75
1077	Surajpur	222715	Govt. P.S. Darripara	22271503001	1	0.75
1078	Surajpur	222717	Govt. P.S. Dhumadand	22271705901	1	0.75
1079	Surajpur	222717	Govt. M.S. Chingradand	22271705602	1	0.75
1080	Surajpur	222715	Govt. P.S.Dalabahara	22271501503	1	0.75
1081	Surajpur	222717	Govt. M.S. Banshipur	22271703805	1	0.75
1082	Surajpur	222715	Govt. P.S. Anrokha	22271504901	1	0.75

Sl.					Recomm	endation
No.	Distr	Block	School Name	UDISE Code	Physical	Financial in lakh
1083	Surajpur	222718	Govt. M.S. Pandripani Tiwragudi	22271809012	1	0.75
1084	Surajpur	222718	Govt. P.S. Beyorapara	22271808502	1	0.75
1085	Surajpur	222716	Govt. P.S. Kolhua	22271602101	1	0.75
1086	Surajpur	222717	Govt. P.S. Bharda	22271704801	1	0.75
1087	Surajpur	222718	Govt. M.S.Aamgaon	22271802902	1	0.75
1088	Surajpur	222718	Govt. M.S.G.Ramanujnagar	22271809606	1	0.75
1089	Surajpur	222714	Govt. P.S. Chandrapur	22271410101	1	0.75
1090	Surajpur	222717	Govt. M.S. Dhummadand	22271705906	1	0.75
1091	Surguja	220205	P.S.Katoripani	22020501603	1	0.75
1092	Surguja	220202	P.S.Semriha	22020204504	1	0.75
1093	Surguja	220202	P.S.Parsadab	22020201703	1	0.75
1094	Surguja	220203	P.S.Rajaata	22020304403	1	0.75
1095	Surguja	220207	P.S.Khairanagar	22020708402	1	0.75
1096	Surguja	220207	P.S. Diggipara	22020710301	1	0.75
1097	Surguja	220204	Govt Ps Narkat	22020401503	1	0.75
1098	Surguja	220204	Govt Ps Ghatgaon	22020405604	1	0.75
1099	Surguja	220207	P.S.Raichua	22020704204	1	0.75
1100	Surguja	220202	M.S. Chavarpani	22020202302	1	0.75
1101	Surguja	220205	Mahtopara	22020504902	1	0.75
1102	Surguja	220204	Govt Ps Sugapani	22020405001	1	0.75
1103	Surguja	220204	Govt Ms Jamjhariya	22020403006	1	0.75
1104	Surguja	220202	P.S. Nayabandh	22020203101	1	0.75
1105	Surguja	220204	Govt Ms Bijlahwa	22020400605	1	0.75
1106	Surguja	220201	Govt.P.S. Bhalukachhar	22020103002	1	0.75
1107	Surguja	220204	Govt Ms Pidiya	22020403005	1	0.75
1108	Surguja	220204	Govt Ms Chainpur	22020402902	1	0.75
1109	Surguja	220205	P.S. Uraopara	22020500701	1	0.75
1110	Surguja	220205	P.S. Changori	22020504801	1	0.75
1111	Surguja	220205	M.S.Changori	22020504802	1	0.75
1112	Surguja	220201	Govt.M.S. Deogarh	22020108108	1	0.75
1113	Surguja	220204	Govt Ps Junapara	22020400606	1	0.75
1114	Surguja	220205	P.S. Sasaolipara	22020502601	1	0.75
1115	Surguja	220204	Govt Ps Lotabhawna	22020401005	1	0.75
	Total				1115	836.25

## Annexure IV - D

List of Schools approved for Major Repair (Elementary Level)

Sl.	District					Year of Comple	Enroll	Reco	mmendat ion
No		Block	Village	School Name	UDISE Code	tion of Constru ction	ment	Phy	Fin in lakh
KGE	BVs								
1	Dantewada	Dantewad a	Dantewada	Govt KGBV Avarabhata Dantewada	22162244501	2008	100	1	10.00
2	Dantewada	Geedam	Geedam	Geedam (Jawanga)	22160805717	2008	100	1	7.24
3	Balodabazar	Bhatapara	Hathnipara	Govt. KGBV Bhatapara	22240204103	2007	100	1	14.67
4	Balodabazar	Kasdol	Kasdol	Govt Ms Kgbv Kasdol (Ssa)	22241202905	2007	100	1	15.92
5	Balodabazar	Baloda-	Baloda-	Govt. B. Bazar	22242002918	2007	100	1	12.43

7 8 9 10 11 12 13 14 15	Balodabazar Kondagaon Kondagaon Kondagaon Kondagaon Kondagaon Surguja Surguja Surguja Surguja Surguja	Block  Bazar Bhilaigarh Baderajpu r Keshkal Pharasgao n Kondagao n Makadi Ambikapu r Bataoli Sitapur Mainpat	Bazar Bhilaigarh Khargaon Keshkal Borgaon Bajarpara No.5 Maakdi Sargava Bhatko Sontarai	(Ssa) KGBV Bilaigarh Govt. KGBV Vishrampuri Govt.Ssa KGBV Ms Keshkal Govt. Ssa KGBV Borgaon KGBV Kondagaon Govt. Ssa KGBV Makdi Ambikapur	22241020807 22171006323 22171201315 22172500605 22172604325 22172807016	tion of Construction  2005 2007 2007 2007 2007	100 100 100 100 100	Phy 1 1 1 1 1	Fin in lakh  15.48  10.67  10.45  9.06  10.02
7 8 9 10 11 12 13 14 15	Kondagaon Kondagaon Kondagaon Kondagaon Kondagaon Surguja Surguja Surguja Surguja Surguja Surguja	Bhilaigarh Baderajpu r Keshkal Pharasgao n Kondagao n Makadi Ambikapu r Bataoli Sitapur	Bhilaigarh Khargaon Keshkal Borgaon Bajarpara No.5 Maakdi Sargava Bhatko	KGBV Bilaigarh Govt. KGBV Vishrampuri Govt.Ssa KGBV Ms Keshkal Govt. Ssa KGBV Borgaon KGBV Kondagaon Govt. Ssa KGBV Makdi Ambikapur	22171006323 22171201315 22172500605 22172604325 22172807016	2007 2007 2007 2007	100 100 100 100	1 1 1	10.67 10.45 9.06
7 8 9 10 11 12 13 14 15	Kondagaon Kondagaon Kondagaon Kondagaon Kondagaon Surguja Surguja Surguja Surguja Surguja Surguja	Raderajpu r Keshkal Pharasgao n Kondagao n Makadi Ambikapu r Bataoli Sitapur	Khargaon Keshkal Borgaon Bajarpara No.5 Maakdi Sargava Bhatko	Govt. KGBV Vishrampuri Govt.Ssa KGBV Ms Keshkal Govt. Ssa KGBV Borgaon KGBV Kondagaon Govt. Ssa KGBV Makdi Ambikapur	22171006323 22171201315 22172500605 22172604325 22172807016	2007 2007 2007 2007	100 100 100 100	1 1 1	10.67 10.45 9.06
8 9 10 11 12 13 14 15	Kondagaon Kondagaon Kondagaon Kondagaon Surguja Surguja Surguja Surguja Surguja Surguja	r Keshkal Pharasgao n Kondagao n Makadi Ambikapu r Bataoli Sitapur	Keshkal Borgaon Bajarpara No.5 Maakdi Sargava Bhatko	Vishrampuri Govt.Ssa KGBV Ms Keshkal Govt. Ssa KGBV Borgaon KGBV Kondagaon Govt. Ssa KGBV Makdi Ambikapur	22171201315 22172500605 22172604325 22172807016	2007 2007 2007	100 100 100	1 1	10.45 9.06
9 10 11 12 13 14 15	Kondagaon  Kondagaon  Kondagaon  Surguja  Surguja  Surguja  Surguja  Surguja  Surguja	Pharasgao n Kondagao n Makadi Ambikapu r Bataoli Sitapur	Borgaon Bajarpara No.5 Maakdi Sargava Bhatko	Keshkal Govt. Ssa KGBV Borgaon KGBV Kondagaon Govt. Ssa KGBV Makdi Ambikapur	22172500605 22172604325 22172807016	2007	100	1	9.06
10 11 12 13 14 15	Kondagaon  Kondagaon  Surguja  Surguja  Surguja  Surguja  Surguja	n Kondagao n Makadi Ambikapu r Bataoli Sitapur	Bajarpara No.5 Maakdi Sargava Bhatko	Borgaon  KGBV Kondagaon  Govt. Ssa KGBV  Makdi  Ambikapur	22172604325 22172807016	2007	100		
11 12 13 14 15	Kondagaon Surguja Surguja Surguja Surguja Surguja	n Makadi Ambikapu r Bataoli Sitapur	No.5 Maakdi Sargava Bhatko	Govt. Ssa KGBV Makdi Ambikapur	22172807016			1	10.02
12 13 14 15	Surguja Surguja Surguja Surguja Surguja	Ambikapu r Bataoli Sitapur	Sargava Bhatko	Makdi Ambikapur		2007	100		
13 14 15	Surguja Surguja Surguja Surguja	r Bataoli Sitapur	Bhatko		0000010===			1	16.56
14 15	Surguja Surguja Surguja	Sitapur			22020102707	2007	100	1	5.75
15	Surguja Surguja		Sontarai	Batauli	22020200409	2007	100	1	4.91
	Surguja	Mainpat		Sitapur	22020304505	2007	100	1	5.07
16			Narmadapur	Govt Ms KGBV Narmadapur	22020405608	2005	100	1	5.45
10	C	Lundra	Lundra	KGBV Lundra	22020508409	2007	100	1	4.55
	Surguja	Lakhanpu r	Rajpurikala	Lakhanpur	22020606605	2007	100	1	6.39
	Surguja	Udaipur	Udaipur	Udaipur	22020700113	2007	100	1	4.90
	Bilaspur Bilaspur	Bilha Gourela	Bartori Semra	KGBV Ups, Bartori Govt Ms Semra (KGBV)	22070316207 22070601004	2005 2007	100	1	10.61 8.14
21	Bilaspur	Kota	Chapora	Govt. KGBV, Chapora	22071109404	2005	100	1	9.54
22	Bilaspur	Marwahi	Marwahi	KGBV Ms Marwahi	22071400120	2005	100	1	7.50
23	Bilaspur	Masturi	Pachpedi	KGBV Girls Resid. School	22071513908	2005	100	1	5.44
24	Bilaspur	Pendra	Kodgar	Govt. KGBV, Ms, Kodgar (Ssa)	22072200604	2005	100	1	6.31
25	Bilaspur	Takhatpur	Jareli	Govt.KGBV, Ups, Jareli	22072506902	2005	100	1	14.21
26	Balrampur	Rajpur	Rajpur	M.S. KGBV Rajpur	22260804718	2005	100	1	3.71
27	Balrampur	Wadrafna gar	Wadrafnagar	Wadrafnagaer	22261101916	2007	100	1	3.68
28	Balrampur	Kusmi	Semra	Kusmi	22261309507	2007	100	1	3.68
29	Balrampur	Ramchand rapur	Ramanujganj	Ramanujganj	22260901018	2007	100	1	3.76
30	Mungeli	Lormi	Sardha	KGBV, Ups, Sardha	22191200306	2005	100	1	16.71
31	Mungeli	Mungeli	Chatar Khar	KGBV, Ups, Chatarkhar	22191617202	2007	100	1	18.40
32	Mungeli	Patharia	Sargaon	KGBV, Ups, Sargaon	22192109010	2005	100	1	18.25
33	Dhamtari	Nagari	Nirrabera	KGBV Nirrabera Nagari	22131320202	2007	100	1	6.05
Porta	a Cabins	Total						33	305.51
1016				Residential					
1	Bijapur	Bhopalpat nam	Pegdapalli	School(Adarsh Gurukul Pegdapalli) (Ssa)	22203605303	2009	500	1	8.89
2	l.	Bijapur	Bijapur	Residential	22200600426	2009	500	1	

Sl.						Year of Comple	Enroll	Reco	mmendat ion
No	District	Block	Village	School Name	UDISE Code	tion of Constru ction	ment	Phy	Fin in lakh
				School Pota Cabin Biajpur					
3	Bijapur	Bijapur	Naimed	Pota Cabin Naimed (Ssa)	22200614907	2009	500	1	16.78
4	Bijapur	Bhopalpat nam	Sangampalli	Residential School (Pota Kabin Sangampalli )( Ssa)	22203613203	2009	500	1	17.02
5	Bijapur	Bhairamg arh	Matwada	Residential School(Govt. Gurukul Ashram Matwada) (Ssa)	22203109705	2009	500	1	16.93
6	Bijapur	Bhairamg arh	Pusnar	Residential School(Govt. Pota Cabin Ashram Pusnar) (Ssa)	22203100103	2009	500	1	8.21
7	Bijapur	Bhairamg arh	Nelasnar	Residential School(Govt. Pota Cabin Ashram Nelasnar) (Ssa)	22203106911	2009	500	1	11.89
8	Bijapur	Bhairamg arh	Kutru	Residential School(Govt. Pota Cabin Asharam Kutru)	22203100711	2009	500	1	2.78
9	Bijapur	Bhairamg arh	Jangla	Residential School(Govt Pota Kabin Ashram Jangla)	22203101607	2009	500	1	8.86
10	Bijapur	Bhairamg arh	Somnpalli	Residential School(Govt. Pota Cabin Ashram Somanpalli) (Ssa),Portacabin Dugaiguda And Portacabin Chhinakodepal	22203110205	2009	500	1	31.47
11	Bijapur			Porta Cabin Dugaiguda				1	
12	Bijapur			Porta Cabin Chhinakodepal				1	
13	Dantewada	Geedam	Bangapal	Govt Pota Kebin High School Bangapal	22160800706	2010	500	1	13.99
14	Dantewada	Geedam	Kasoli	Govt. Pota Kebin Kasoli	22160804514	2009	500	1	12.89
15	Dantewada	Geedam	Hitameta	Govt. Pota Kebin Hitameta	22160804609	2009	500	1	11.79
16	Dantewada	Geedam	Karli	Govt Pota Kebin Karli	22160802022	2009	500	1	14.95
17	Dantewada	Kuakonda	Kuakonda	Govt Pota Kebin High School Kuakonda	22161917504	2009	500	1	13.39
18	Dantewada	Katekalya n	Gatam	Govt. Pota Cabin Gatam	22161502810	2009	500	1	12.10
19	Dantewada	Geedam	Gumda	Govt Pota Cabin High School	22160807612	2009	500	1	22.62

Sl.						Year of Comple	Enroll	Reco	mmendat ion			
No	District	Block	Village	School Name	UDISE Code	tion of Constru ction	ment	Phy	Fin in lakh			
				Gumda								
20	Narayanpur	Narayanp ur	Devgaon	Govt. Porta Cabin Devgaon	22183703205	2011	500	1	13.50			
21	Sukma	Sukma		Govt. Pota Kebin Burdi	22210201811	2009	500	1	18.00			
22	Sukma	Sukma		Govt. Pota Cabin Gadiras	22210208006	2009	500	1	19.00			
23	Sukma	Sukma		Govt. Potakebin Sukma Kumharras	22210204041	2009	500	1	20.00			
24	Sukma	Sukma		Govt Pota Kebin Asram Korra	22210210708	2009	500	1	21.00			
25	Sukma	Konta		Govt Pota Cabin Maraiguda	22213406006	2009	500	1	18.00			
26	Sukma	Konta		Govt Pota Cabin Chintalnar	22213404204	2009	500	1	25.00			
27	Sukma	Konta		Govt. Pota Cabi Polampalli	22213402904	2009	500	1	18.00			
28	Sukma	Chhindgar h		Govt Pota Kebin Tongpal (Ssa)	22213513404	2009	500	1	20.00			
29	Sukma	Chhindgar h		Govt Pota Cabin Chhindgarh Pitepara	22213510314	2009	500	1 <b>29</b>	18.00 <b>423.67</b>			
	Total											
			Grand Total									

## Annexure IV - E

List of Schools approved for Dilapited Building (Elementary Level)

S N	District Name	Block Name		UDISE	School	Catego	Enrol	Esta blish	Damage	Reopen School	Reco ndat	omme ion
3 N	Name	Name	Cluster	Code	Name	ry	lmen t	men t Year	By Naxali	in the Year	Ph y	Fin in lakh
1	Sukma	Konta	Polamp alli	2221341 4303	Govt M.S. Jagavara m	Upper Primar y Only	55	1982	2005-06	2018- 19	1	12.84
2	Sukma	Konta	Kistara m	2221340 6905	Govt M.S. Kishtara m	Upper Primar y Only	10	1992	2005-06	2018- 19	1	12.84
3	Sukma	Konta	Banjepa lli	2221340 1301	Govt P.S. Achkat	Primar y	16	1989	2005-06	2018- 19	1	11.48
4	Sukma	Konta	Banjepa lli	2221340 5701	Govt P.S. Alampall i	Primar y	68	1982	2005-06	2018- 19	1	11.48
5	Sukma	Konta	Kistara m	2221343 0301	Govt P.S. Amapent a	Primar y	31	1998	2005-06	2018- 19	1	11.48
6	Sukma	Konta	Banjepa lli	2221341 5501	Govt P.S. Banjepal li	Primar y	74	1982	2005-06	2018- 19	1	11.48
7	Sukma	Konta	Bhejji	2221340 9601	Govt P.S. Bhandar	Primar y	38	1989	2005-06	2018- 19	1	11.48

a.v.	District	Block		UDISE	School	Catego	Enrol	Esta blish	Damage	Reopen School	Reco ndat	omme tion
SN	Name	Name	Cluster	Code	Name	ry	lmen t	men t Year	By Naxali	in the Year	Ph y	Fin in lakh
					padar							
8	Sukma	Konta	Chintag ufa	2221342 4402	Govt P.S. Bhatpad	Primar y	41	2004	2005-06	2018- 19	1	11.48
9	Sukma	Konta	Golapall i	2221341 3901	Govt P.S. Bhattigu da	Primar y	20	1998	2005-06	2018- 19	1	11.48
10	Sukma	Konta	Dabbak onta	2221341 3401	Govt P.S. Bodrajp ad	Primar y	33	2004	2006-07	2018- 19	1	11.48
11	Sukma	Konta	Chintaln ar	2221340 5301	Govt P.S. Chinnab odkel	Primar y	45	1995	2005-06	2018- 19	1	11.48
12	Sukma	Konta	Chintag ufa	2221340 4104	Govt P.S. Chintagu fa Tekalpar a	Primar y	25	1998	2005-06	2018- 19	1	11.48
13	Sukma	Konta	Dabbak onta	2221341 3502	Govt P.S. Dantesh puram	Primar y	44	1992	2005-06	2018- 19	1	11.48
14	Sukma	Konta	Bhejji	2221340 9101	Govt P.S. Eladmad gu	Primar y	30	1985	2005-06	2018- 19	1	11.48
15	Sukma	Konta	Dabbak onta	2221341 5002	Govt P.S. Etrajpad	Primar y	43	2004	2005-06	2018- 19	1	11.48
16	Sukma	Konta	Nagara m	2221340 7201	Govt P.S. Gangula va	Primar y	47	2004	2005-06	2018- 19	1	11.48
17	Sukma	Konta	Nagara m	2221341 9001	Govt P.S. Gattapal	Primar y	30	1998	2005-06	2018- 19	1	11.48
18	Sukma	Konta	Banda	2221341 1801	Govt P.S. Gompad	Primar y	25	2004	2006-07	2018- 19	1	11.48
19	Sukma	Konta	Chintaln ar	2221341 7101	Govt P.S. Jabbagat ta	Primar y	50	2004	2006-07	2018- 19	1	11.48
20	Sukma	Konta	Bhejji	2221342 9001	Govt P.S. Jinnaton g	Primar y	15	1997	2005-06	2018- 19	1	11.48
21	Sukma	Konta	Banjepa lli	2221340 5601	Govt P.S. Kamara m	Primar y	75	1989	2005-06	2018- 19	1	11.48
22	Sukma	Konta	Kistara m	2221340 8701	Govt P.S. Kangalto ng	Primar y	21	1997	2005-06	2018- 19	1	11.48
23	Sukma	Konta	Nagara m	2221340 7101	Govt P.S. Kerlape nda	Primar y	75	1989	2005-06	2018- 19	1	11.48
24	Sukma	Konta	Kistara m	2221341 2901	Govt P.S. Kosamp ad	Primar y	46	1992	2005-06	2018- 19	1	11.48
25	Sukma	Konta	Chintaln ar	2221340 2001	Govt P.S. Kottagu da	Primar y	64	1998	2005-06	2018- 19	1	11.48
26	Sukma	Konta	Nagara m	2221340 7301	Govt P.S. Kottapal li	Primar y	45	1998	2005-06	2018- 19	1	11.48

	District	Block		UDISE	School	Catego	Enrol	Esta blish	Damage	Reopen School	Reco ndat	omme
SN	Name	Name	Cluster	Code	Name	ry	lmen t	men t Year	By Naxali	in the Year	Ph y	Fin in lakh
27	Sukma	Konta	Chintaln ar	2221340 2501	Govt P.S. Lakhapa l	Primar y	70	1993	2006-07	2018- 19	1	11.48
28	Sukma	Konta	Nagara m	2221340 5001	Govt P.S. Michigu da	Primar y	25	1989	2006-07	2018- 19	1	11.48
29	Sukma	Konta	Misigud a	2221341 0501	Govt P.S. Misigud a	Primar y	30	1993	2006-07	2018- 19	1	11.48
30	Sukma	Konta	Chintaln ar	2221340 4301	Govt P.S. Morpalli	Primar y	78	1989	2006-07	2018- 19	1	11.48
31	Sukma	Konta	Nagara m	2221340 5202	Govt P.S. Nagara m	Primar y	54	1989	2006-07	2018- 19	1	11.48
32	Sukma	Konta	Chintaln ar	2221340 2201	Govt P.S. Narsapu ram	Primar y	48	1989	2006-07	2018- 19	1	11.48
33	Sukma	Konta	Kistara m	2221342 1601	Govt P.S. Palodi	Primar y	30	1998	2006-07	2018- 19	1	11.48
34	Sukma	Konta	Chintaln ar	2221341 6201	Govt P.S. Peddabo dkel	Primar y	25	1993	2006-07	2018- 19	1	11.48
35	Sukma	Konta	Banda	2221342 0501	Govt P.S. Pushgud a	Primar y	9	1999	2005-06	2018- 19	1	11.48
36	Sukma	Konta	Chintag ufa	2221341 6801	Govt P.S. Sakler	Primar y	36	1989	2006-07	2018- 19	1	11.48
37	Sukma	Konta	Nagara m	2221340 7302	Govt P.S. Sarpanc hpara Kottapal li	Primar y	30	1998	2006-07	2018- 19	1	11.48
38	Sukma	Konta	Chintag ufa	2221340 8201	Govt P.S. Shalaton g	Primar y	0	1998	2006-07	2018- 19	1	11.48
39	Sukma	Konta	Banda	2221341 6401	Govt P.S. Singara m	Primar y	54	1989	2006-07	2018- 19	1	11.48
40	Sukma	Konta	Bhejji	2221342 9101	Govt P.S. Tadguda	Primar y	31	2002	2005-06	2018- 19	1	11.48
41	Sukma	Konta	Chintaln ar	2221341 6102	Govt P.S. Tadmetl a	Primar y	86	1989	2005-06	2018- 19	1	11.48
42	Sukma	Konta	Kistara m	2221340 6701	Govt P.S. Tetemad gu	Primar y	81	1981	2005-06	2018- 19	1	11.48
43	Sukma	Konta	Misigud a	2221340 4802	Govt P.S. Timmap uram 02	Primar y	78	2004	2005-06	2018- 19	1	11.48
44	Sukma	Konta	Nagara m	2221340 5101	Govt P.S. Tokanpa lli	Primar y	54	1989	2005-06	2018- 19	1	11.48
45	Sukma	Konta	Chintaln ar	2221340 2101	Govt P.S. Tongpall i	Primar y	75	1995	2006-07	2018- 19	1	11.48
46	Sukma	Konta	Dabbak	2221341	Govt P.S.	Primar	30	2004	2006-07	2018-	1	11.48

CN	District	Block		UDISE	School	Catego	Enrol	Esta blish	Damage	Reopen School	Reco	omme
SN	Name	Name	Cluster	Code	Name	ry	lmen t	men t Year	By Naxali	in the Year	Ph y	Fin in lakh
			onta	3601	Tumalpa d	у				19		
47	Sukma	Konta	Banda	2221342 6001	Govt P.S. Vanjalva hi	Primar y	31	1997	2006-07	2018- 19	1	11.48
48	Sukma	Konta	Bhejji	2221340 9002	Govt P.S. Veerabh atti	Primar y	21	1982	2006-07	2018- 19	1	11.48
49	Sukma	Konta	Jagargu nda	2221340 1401	Govt P.S. Vikramp alli	Primar y	40	1989	2006-07	2018- 19	1	11.48
50	Sukma	Konta	Dubbato ta	2221340 4503	Govt. M.S. Punpalli	Upper Primar y Only	11	1965	2006-07	2018- 19	1	12.84
51	Sukma	Konta	Golapall i	2221342 7102	Govt. P.S. Mamirgu da	Primar y	20	1993	2006-07	2018- 19	1	11.48
52	Sukma	Konta	Kistara m	2221342 2001	Govt. P.S. Puttepad	Primar y	41	1998	2005-06	2018- 19	1	11.48
53	Sukma	Konta	Dabbak onta	2221340 1002	Govt. Primary School Ramara m	Primar y	37	1998	2005-06	2018- 19	1	11.48
54	Sukma	Konta	Golapall i	2221342 7001	Govt.P.S. Bhandar chalka	Primar y	15	1998	2005-06	2018- 19	1	11.48
55	Sukma	Konta	Bhejji	2221343 1101	Govt.P.S. Chintagu fa	Primar y	54	1992	2005-06	2018- 19	1	11.48
56	Sukma	Konta	Kistara m	2221342 3002	Govt.P.S. Kannato ng(Dhar mapenta	Primar y	31	1998	2005-06	2018- 19	1	11.48
57	Sukma	Konta	Dabbak onta	2221341 4902	Govt.P.S. Odeselp ara Mailasur	Primar y	47	1998	2006-07	2018- 19	1	11.48
58	Sukma	Konta	Golapall i	2221341 9701	Govt.P.S. Tarlagud a(Twd)	Primar y	32	1975	2006-07	2018- 19	1	11.48
59	Sukma	Konta	Banjepa lli	2221342 5101	Govt.P.S. Singara m(Ssa)	Primar y	34	1998	2006-07	2018- 19	1	11.48
60	Sukma	Konta	Kistara m	2221342 2401	Navin P.S. Mangalg uda	Primar y	32	1997	2006-07	2018- 19	1	11.48
	Total										60	692. 88

## Annexure IV - F

List of Schools approved for ACR (Secondary Level)

SI	District	Block	Village	School Name	School Code	Recommendation
31.	District	DIUCK	village	School Name	School Code	Recommendation

No.						Phy	Financial in lakh
1	Baster	Bakawand	Jaibel	Govt. Higher Secondary School Jaibel	22152914710	1	8.64
2	Bilaspur	Bilha	Dagania	Govt. H S S Dagania	22070302005	1	8.64
3	Dhamtari	Dhamtari	Chhati	Government Higher Secondary School Chhati	22133011208	1	8.64
4	Raipur	Abhanpur	Sundarkera	Govt High School Sunderkera (Rmsa)	22110610005	1	8.64
5	Bemetara	Nawagarh	Gadamore	Govt High School Gadamore	22231005307	2	17.28
6	Rajnandgaon	Churia	Godal Vahi	Govt. H.S.S. Godalvahi	22090416603	2	17.28
7	Raipur	Arang	Bhilai	Govt. Higher Secondary School Bhilai	22112208604	1	8.64
8	Raipur	Dharshiwa	Aminpara	N.N.Naveen Sarswati Girls Hss Purani Basti	22110426310	1	8.64
9	Gariaband	Chhura	Rasela	Govt. Higher Secondary School Rasela	22250500211	1	8.64
10	Raipur	Dharshiwa	Devri	Govt. Higher Secondary School Deori	22110419504	2	17.28
11	Baster	Bastar	Ghotiya	Govt Higher Secondary School Ghotiya	22151704307	2	17.28
12	Bemetara	Bemetara	Lolesara	Govt High School Lolesara	22230202104	2	17.28
13	Dhamtari	Magarlod	Mohdi	Government Higher Secondary School Mohdi	22132700307	2	17.28
14	Bilaspur (Chhattisgarh)	Bilha	Bhadi	Govt. H S S Bhadi	22070303105	1	8.64
15	Dhamtari	Dhamtari	Amadi	Government Higher Secondary School Amdi	22133004118	2	17.28
16	Baster	Jagdalpur	Pushpal	Govt.Higher Secondary School Pushpal	22153304104	2	17.28
17	Baster	Bakawand	Bakawand	Govt. Kanya Higher Secondary School Bakawand	22152900111	2	17.28
18	Balod	Gurur	Basin	Govt Higher Secondary School Basin	22220906705	1	8.64
19	Baster	Bakawand	Bakawand	Govt. Higher Secondary School Bakawand	22152900112	2	17.28
20	Balodabazar	Baloda Bazar	Risda	Govt Higher Secondary School	22242005606	2	17.28

Sl.		Rlock	Village			Recon	nmendation
No.	District	Block	Village	School Name	School Code	Phy	Financial in lakh
				Risda			
21	Raigarh (Chhattisgarh)	Lailunga	Rajpur	Govt. H.S.S. Rajpur	22041105813	2	17.28
22	Raipur	Arang	Samoda	Govt.Higher Secondary School Samoda	22112200309	2	17.28
23	Raipur	Dharshiwa	Mohdi	Govt Higher Secondary School Mohadi	22110409405	1	8.64
24	Balod	Daundi	Daundi	Govt. Girls Higher Secondary School Daundi	22220409315	1	8.64
25	Janjgir - Champa	Bamhnindih	Birra	Govt. Dds .Higher Secondary School Birra	22060400511	2	17.28
26	Dhamtari	Nagri	Saloni	Government Higher Secondary School Saloni	22131310611	1	8.64
27	Raipur	Abhanpur	Parsada	Govt. Higher Secondary School Parsada	22110601209	2	17.28
28	Raigarh (Chhattisgarh)	Kharsia	Sondka	Govt. H.S.S. Sondka	22040913008	1	8.64
29	Mahasamund	Pithora	Saldih	Govt. Higher Secondary School Saldih	22121105608	2	17.28
30	Bilaspur (Chhattisgarh)	Masturi	Dhaniya	Govt High School Dhaniya	22071500611	2	17.28
31	Raigarh (Chhattisgarh)	Kharsia	Madanpur	Govt. H.S.S. Madanpur	22040906605	2	17.28
32	Balrampur	Wadrafnagar	Basantpur	Govt. Higher Secondary School Basantpur	22261102112	1	8.64
33	Bilaspur (Chhattisgarh)	Gourela	Khodri	Govt Hss Khodri (Twd)	22070605906	1	8.64
34	Raigarh (Chhattisgarh)	Lailunga	Lailunga	Govt Girls Hss Lailunga	22041104526	1	8.64
35	Raigarh (Chhattisgarh)	Tamnar	Tamnar	Govt Hss Tamnar	22041707117	2	17.28
36	Raipur	Tilda	Tohda	Govt. Higher Secondary School Tohdha	22110807903	1	8.64
37	Sukma	Sukma	Sukma	Govt Girls Higer Secondry School Sukma	22210204044	1	8.64
38	Raigarh (Chhattisgarh)	Sarangarh	Kedar	Govt. H.S. Kedar	22041604804	2	17.28
39	Balrampur	Wadrafnagar	Raghunathnagar	Govt. Higher Secondary School Raghunathnagar	22261109711	1	8.64
40	Raigarh (Chhattisgarh)	Lailunga	Jhagarpur	Govt Hss Jhagarpur	22041109907	2	17.28
41	Raipur	Abhanpur	Torla	Govt. High School	22110614407	2	17.28

Sl.	District	Rlock	Village			Recon	nmendation
No.	District	Block	Village	School Name	School Code	Phy	Financial in lakh
				Torla			
42	Gariaband	Fingeshwar	Basin	Govt. Higher Secondary School Basin	22252303810	1	8.64
43	Mungeli	Lormi	Kotri	H S S Govt, Kotri	22191212604	2	17.28
44	Raigarh (Chhattisgarh)	Kharsia	Naharpali	Govt. H.S.S. Naharpali	22040910103	2	17.28
45	Raigarh (Chhattisgarh)	Lailunga	Mukdega	Govt Hss Mukdega	22041103107	1	8.64
46	Balodabazar	Palari	Sasaha	Govt Higher Secondray School Sasha	22241812408	2	17.28
47	Dhamtari	Dhamtari	Dahi	Government Higher Secondary School Dahi	22133011304	2	17.28
48	Dhamtari	Magarlod	Borsi	Government Higher Secondary School Borsi	22132702607	2	17.28
49	Bemetara	Nawagarh	Kurra	Govt Hgher Secondary School Kunra	22231001705	2	17.28
50	Gariaband	Mainpur	Gohrapadar	Govt. Higher Secondary School Goharpadar	22252606207	2	17.28
51	Balrampur	Balrampur	Bardar	Govt. Higher Secondary School Bardar	22261005810	2	17.28
52	Raigarh (Chhattisgarh)	Raigarh	Mahapalli	Govt. H.S.S. Mahapalli	22041505504	1	8.64
53	Balodabazar	Bilaigarh	Nagarda	Govt Higher Secondary School Nagarda	22241008219	1	8.64
54	Janjgir - Champa	Baloda	Pantora	Govt.H.S.S.Pantora	22060204512	1	8.64
55	Mahasamund	Pithora	Bundeli	Govt. Higher Secondary School Bundeli	22121104312	1	8.64
56	Raipur	Tilda	Tandwa	Govt. Higher Secondary School Tandwa	22110803705	2	17.28
57	Durg	Dhamdha	Chicha	Govt Higher Secondary School Chicha	22100602804	1	8.64
58	Bilaspur (Chhattisgarh)	Takhatpur	Belpan	Govt.H S Belpan(Edu)	22072501104	2	17.28
59	Surguja	Lakhanpur	Lahpatra	Govt. Higher Secondary School Lahpatra	22020602606	2	17.28
60	Gariaband	Fingeshwar	Dhuma	Govt. Higher Secondary School Dhuma	22252306504	2	17.28
61	Balrampur	Kusmi	Samri	Govt. Higher Secondary School	22261304610	2	17.28

Sl.	5	Dlask	Village			Recommendation		
No.	District	Block	Village	School Name	School Code	Phy	Financial in lakh	
				Samari				
62	Surguja	Sitapur	Bhusu	Govt. Higher Secondary School Bhusu	22020300709	1	8.64	
63	Mahasamund	Mahasamund	Sirpur	Govt.Higher Secondary School Sirpur	22122123611	2	17.28	
64	Raipur	Arang	Mandir Hasoud	Govt. Hs School Matrisadan Mandirhasoud	22112201017	2	17.28	
65	Raipur	Dharshiwa	Katoratalab	Govt Girls Higher Secondary School Sant Kaver Ram Katoratalab Raipur	22110428434	2	17.28	
66	Raipur	Dharshiwa	Mana Camp	Govt. Higher Secondary School Manacamp	22110403115	2	17.28	
67	Raipur	Tilda	Tarpongi	Govt. Higher Secondary Tarpongi	22110811607	2	17.28	
68	Koriya	Bharatpur	Devgarh	Govt Higher Secondary School Devgarh	22012410705	1	8.64	
69	Mungeli	Mungeli	Panar Bhatha	Hss Govt Pandarbhatta	22191610505	2	17.28	
70	Raipur	Dharshiwa	Saragao	Govt. Higher Secondary School Saragaon	22110422408	2	17.28	
71	Raipur	Tilda	Sarora	Govt. Higher Secondary Sarora	22110805104	2	17.28	
72	Gariaband	Chhura	Panduka	Govt. Higher Secondary School Panduka	22250506506	2	17.28	
73	Balodabazar	Palari	Datan (P)	Govt Higher Secondary School Datan(P)	22241803010	2	17.28	
74	Kawardha	Kawardha	Indori	Govt. Higher Secondary School Indori	22080712608	1	8.64	
75	Raipur	Arang	Amsena	Govt. Higher Secondary School Amsena	22112207106	2	17.28	
76	Balodabazar	Bilaigarh	Dhobni	Govt Higher Secondary School Dhobni	22241005108	2	17.28	
77	Raigarh (Chhattisgarh)	Kharsia	Kharsia	Municipal Girls H.S.S. Kharsia	22040913637	2	17.28	
78	Raipur	Abhanpur	Uparwara	Govt. Higher Secondary School Uparwara	22110604509	2	17.28	
79	Surguja	Ambikapur	Sargava	Govt. Higher Secondary School	22020102711	2	17.28	

Sl.	<b>D.</b>	Block	Village			Recon	nmendation
No.	District	Block	Village	School Name	School Code	Phy	Financial in lakh
				Sargawan			
80	Bijapur	Bijapur	Bijapur	Govt. Girls H.S.S. Bijapur	22200600431	2	17.28
81	Dhamtari	Nagri	Nagri "B"	Government Shringi Rishi Higher Secondary School Nagri	22131309544	2	17.28
82	Mahasamund	Bagbahara	Ganjar	Govt.Higher Secondary School Ganjar	22120907908	2	17.28
83	Balodabazar	Bilaigarh	Purgaon	Govt Higher Secondary School Purgaon	22241003007	2	17.28
84	Mungeli	Mungeli	Kanteli	H S S Govt, Kanteli	22191603705	2	17.28
85	Raipur	Abhanpur	Khorpa	Govt. Higher Secondary School Khorpa	22110607410	2	17.28
86	Kawardha	Bodla	Rengakhar Kala	Govt. Higher Secondary School Rengakhar Kala	22080110506	2	17.28
87	Dhamtari	Magarlod	Mudabhata (Bheandri)	Government Amar Shahid Balram Dhruw Higher Secondary School Bhendri	22132711203	2	17.28
88	Raigarh (Chhattisgarh)	Gharghoda	Gharghoda	Govt Girls Hss Ghargoda	22040608116	2	17.28
89	Rajnandgaon	Rajnandgaon	Surgi	Govt. H.S.S. Surgi	22091109106	1	8.64
90	Raipur	Tilda	Ward 16 Tilda	Govt. Girls Higher Secondary School Nevra	22110800812	2	17.28
91	Balrampur	Shankargarh	Shankargarh	Govt. Higher Secondary School Girls Shankargarh	22261205309	1	8.64
92	Mungeli	Mungeli	Dasharang Pur	Govt H S S Dashrangpur	22191614804	2	17.28
93	Raipur	Abhanpur	Seoni	Govt. Higher Secondary School Seoni	22110612205	2	17.28
94	Bemetara	Berla	Sondh	Govt Higher Secondary School Sondh	22230312705	2	17.28
95	Raipur	Dharshiwa	Raipur	Govt. Higher Secondary School Dr. Shyma Pasad Mukharji Wrs Raipur	22110411929	2	17.28
96	Surajpur	Surajpur	Kalyanpur	Govt.Higher Secondary School Kalyanpur	22271403107	1	8.64
97	Mungeli	Mungeli	Dharam Pura	H S Govt, Dharampura	22191613705	2	17.28
98	Raipur	Dharshiwa	Mathpurena	Govt Higher	22110406210	2	17.28

Sl.		Dlagle	Village			Recon	nmendation
No.	District	Block	Village	School Name	School Code	Phy	Financial in lakh
				Secondary School Mathpurena			
99	Mahasamund	Mahasamund	Khatti	Govt.Higher Secondary School Khatti	22122119604	2	17.28
100	Gariaband	Fingeshwar	Koundkera	Govt. Higher Secondary School Kaundkera	22252306111	1	8.64
101	Raipur	Arang	Parsada (Umariya)	Govt Higher Secondary School Parsada	22112206907	2	17.28
102	Rajnandgaon	Dongargarh	Dongargarh	Govt. H.S.S. Girls Dongargarh	22090616444	2	17.28
103	Mahasamund	Basna	Garhfuljhar	Govt. Higher Secondary School Garhphuljhar	22122808505	1	8.64
104	Bilaspur (Chhattisgarh)	Bilha	Beltara	Govt. H S S Beltara	22070313910	2	17.28
105	Raipur	Abhanpur	Gobra Nawapara	Govt. Harihar Higher Secondary School Nawapara Rajim	22110613407	2	17.28
106	Rajnandgaon	Dongargarh	Musra Kala	Govt. H.S.S. Musra	22090611207	2	17.28
107	Mahasamund	Mahasamund	Sher	Govt. Higher Secondary School Sher	22122124507	2	17.28
108	Raipur	Arang	Arang	Govt Girls Higher Secondary School Arang	22112200736	2	17.28
109	Mungeli	Lormi	Dongaria	H S Govt, Dongaria	22191203705	2	17.28
110	Raigarh (Chhattisgarh)	Sarangarh	Hardi	Govt Higher Secondary Hardi	22041610303	2	17.28
111	Balodabazar	Bhatapara	Singarpur	Govt Higher Secondary School Singarpur	22240205207	2	17.28
112	Raigarh (Chhattisgarh)	Dharamjaigarh	Dharamjaigarh	Govt. Girls. H.S.S. Dharamjaigarh	22040319241	2	17.28
113	Bilaspur (Chhattisgarh)	Takhatpur	Sakari	Govt.Girls Hs Sakri	22072514515	2	17.28
114	Janjgir - Champa	Malkharoda	Chhapora	Govt. Higher Secondary School Chhapora	22061305108	2	17.28
115	Mahasamund	Basna	Badesajapali	Govt. Higher Sec. School Badesajapali	22122824902	2	17.28
116	Mahasamund	Saraypali	Baloda	Govt.Higher Secondary School Baloda	22122517908	2	17.28
117	Dhamtari	Dhamtari	Soram	Government Higher Secondry School Soram	22133014407	2	17.28
118	Kawardha	Pandariya	Kunda	Govt. Higher	22081322411	2	17.28

Sl.			Villago			Recon	nmendation
No.	District	Block	Village	School Name	School Code	Phy	Financial in lakh
				Secondary School Kunda			
119	Raipur	Dharshiwa	P.Madhav Raw Sapre Ward 68	Govt Higher Secondary School Pt. Girja Shankar Mishra	22110439602	2	17.28
120	Raipur	Dharshiwa	Silyari	Govt. Hss Khub Chand Baghel Silyari	22110424411	2	17.28
121	Rajnandgaon	Rajnandgaon	Rajnandgaon2	H.S.S. (Local) S.D.N.P.N. Rajnandgaon	22091118213	2	17.28
122	Rajnandgaon	Dongargarh	Mohara	Govt. H.S.S. Mohara	22090614906	2	17.28
123	Raipur	Dharshiwa	Amlidih	Govt Higher Secondary School Amlidih	22110409607	2	17.28
124	Bilaspur (Chhattisgarh)	Takhatpur	Ghutku	Govt. H S S Ghutku	22072506020	1	8.64
125	Rajnandgaon	Khairagarh	Atariya	Govt. H.S.S. Atariya Bazar	22090815107	2	17.28
126	Korba	Pali	Tivarta	Govt Higher Secondary School Tiwarta	22051802817	2	17.28
127	Bilaspur (Chhattisgarh)	Takhatpur	Takhatpur	Govt.H S S Girls, Takhatpur	22072516627	2	17.28
128	Balodabazar	Baloda Bazar	Baloda Bazar	Govt.Pt Laxmiprasad Tiwari Higher Secondary School Baloda Bazar	22242014513	2	17.28
129	Durg	Durg	Sector-11, Khursipar	Govt Higher Secondary School Sector 11, Khursipar Bhilai	22100718302	2	17.28
	Total					223	1926.72

## Annexure IV - G List of Schools approved for Science Lab (Secondary Level)

Sl. No.	District	Block	School Code	School Name
1	Balod	Balod	22220106007	Govt Higher Secondary School Barhi
2	Balod	Daundi	22220400109	Govt. Higher Secondary School Ghotiya
3	Balod	Daundi	22220409315	Govt. Girls Higher Secondary School Daundi
4	Balod	Daundi Lohara	22220506604	Govt. Higher Sec. School Rivagahan

Sl. No.	District	Block	School Code	School Name
5	Baster	Bakawand	22152913333	Govt. Higer Secoundry School Kolawal
6	Baster	Jagdalpur	22153304404	Govt. Higher Secondary School Asna
7	Bilaspur	Bilha	22070301608	Govt. H S S Karma
8	Bilaspur	Bilha	22070304007	Govt. H S Deori Khurd
9	Bilaspur	Bilha	22070313015	Govt. H S S Surajmal Bilha
10	Bilaspur	Bilha	22070325705	Govt. H S S Girls Maharani Laxmi Bai, Dayalband, Bilaspur
11	Bilaspur	Gourela	22070603008	Govt Hs Korja (Twd)
12	Bilaspur	Gourela	22070604006	Govt Hss Nevsa (Twd)
13	Bilaspur	Kota	22071101105	Govt. High School Amali (Edu)
14	Bilaspur	Kota	22071104906	Govt. Hr. Sec. School Pondi
15	Bilaspur	Kota	22071107907	Govt. Hr. Sec. School Kenda
16	Bilaspur	Marwahi	22071402307	Govt. H S Barour
17	Bilaspur	Masturi	22071500327	Govt. Boys H S S , Masturi
18	Bilaspur	Masturi	22071500328	Govt. Girls H S S , Masturi
19	Bilaspur	Masturi	22071503507	Govt Hss Eramsahi
20	Bilaspur	Masturi	22071509511	Govt. Hss Gatoura
21	Bilaspur	Masturi	22071513204	Govt Hs Hirri
22	Bilaspur	Pendra	22072202307	Govt. H S , Murmur (Twd)
23	Bilaspur	Pendra	22072202631	Govt. H S S Girls, Pendra (Twd)
24	Bilaspur	Pendra	22072205107	Govt. H. S. S. Kotamikala(Twd)
25	Bilaspur	Takhatpur	22072508804	Govt.H S Kodapuri
26	Bilaspur	Takhatpur	22072509905	Govt. H S Lakhasar
27	Bilaspur	Takhatpur	22072514514	Govt. H S S Sakri
28	Bilaspur	Takhatpur	22072516625	Govt.H S S Boys, Takhatpur
29	Dantewada	Dantewada	22162200703	Govt Kanya Shiksha Parisar Patarras
30	Dhamtari	Dhamtari	22133000606	Govt Natthuji Jagtap Nagar Palika Nigam Higher Sec. School
31	Dhamtari	Dhamtari	22133005607	Government Higher Secondary School Demar
32	Dhamtari	Dhamtari	22133012603	Government Higher Secondary School Akladongari
33	Dhamtari	Kurud	22130310706	Government Higher Secondary School Thuha
34	Dhamtari	Kurud	22130314909	Government Higher Secondary School Mandroud
35	Dhamtari	Kurud	22130315407	Government Higher Secondary School Katalbod
36	Dhamtari	Magarlod	22132700307	Government Higher Secondary School Mohdi
37	Dhamtari	Magarlod	22132702607	Government Higher Secondary School Borsi
38	Dhamtari	Nagri	22131317102	Government High School Tumdibahar
39	Durg	Dhamdha	22100608117	Govt Higher Secondary School Kumhari
40	Durg	Durg	22100702205	Govt Higher Secondary School Purai
41	Durg	Durg	22100711639	Govt Mahatma Gandhi Higher
41	Durg	Durg	22100/11039	Secondary School Durg (Local Govt.)
42	Durg	Durg	22100711640	Govt Chandra Shekher Azad Higher Secondary School Panchseel Nagar Durg

Sl. No.	District	Block	School Code	School Name
43	Durg	Durg	22100713903	Govt J R D Multipurpose Higher Secondary Durg
44	Durg	Patan	22101100326	Govt Janta Higher Secondary School Bhilai-3
45	Durg	Patan	22101102713	Govt. Higher Secondary School Selud
46	Janjgir - Champa	Jaijaipur	22060703806	Govt High School Ghivra
47	Jashpur	Jashpur	22030704951	Govt. Boys Higher Secondary School Jashpur
48	Kanker	Kanker	22143213103	Govt. Higher Secondary School Sidesar
49	Kondagaon	Makadi	22172806909	Govt.Higher Secondary School Katagaon
50	Korba	Pali	22110431411	Govt. High School Chodha
51	Koriya	Baikunthpur	22012005608	Govt. Higher Secondary School Koriya Collery
52	Koriya	Baikunthpur	22012015307	Govt. Higher Secondary School Chiitajhorpondi
53	Mahasamund	Bagbahara	22120928603	Govt. Higher Secondary School Khamariya
54	Mahasamund	Bagbahara	22120930702	Govt. Higher Sec. School Pacheda
55	Mahasamund	Basna	22122803906	Govt. Higher Secondary School Baroli
56	Mahasamund	Basna	22122808007	Govt. Higher Sec. School Bhanwarpur
57	Mahasamund	Basna	22122824902	Govt. Higher Sec. School Badesajapali
58	Mahasamund	Mahasamund	22122123611	Govt.Higher Secondary School Sirpur
59	Mahasamund	Mahasamund	22122124205	Govt.Higher Secondary School Patewa
60	Mahasamund	Mahasamund	22122125202	Govt. High School Turenga
61	Mahasamund	Pithora	22121111105	Govt. Higher Secondary School Bhurkoni
62	Mahasamund	Pithora	22121113708	Govt. Higher Secondary School Kolda
63	Mahasamund	Saraypali	22122504745	Govt. Adarsh Higher Secondary School Saraipali
64	Mahasamund	Saraypali	22122517908	Govt.Higher Secondary School Baloda
65	Mungeli	Lormi	22191214103	H S Govt, Devarhat
66	Mungeli	Mungeli	22191604950	H S S Govt Girls Mungeli
67	Mungeli	Patharia	22192112906	H S S Govt, Baitalpur
68	Raigarh	Dharamjaigarh	22040319241	Govt. Girls. H.S.S. Dharamjaigarh
69	Raigarh	Gharghoda	22040603308	Govt Hss Nawapara(Tenda)
70	Raigarh	Gharghoda	22040608116	Govt Girls Hss Ghargoda
71	Raigarh	Kharsia	22040905805	Govt. H.S. Tiur
72	Raigarh	Kharsia	22040913637	Municipal Girls H.S.S. Kharsia
73	Raigarh	Tamnar	22041709007	Govt Higher Secondary Mahloi
74	Raipur	Abhanpur	22110604509	Govt. Higher Secondary School Uparwara
75	Raipur	Arang	22112200309	Govt.Higher Secondary School Samoda
76	Raipur	Arang	22112202009	Govt. Higher Secondary School Kosrangi
77	Raipur	Arang	22112206907	Govt Higher Secondary School Parsada
78	Raipur	Arang	22112207705	Govt Higher Sendary School Korasi
79	Raipur	Arang	22112208604	Govt. Higher Secondary School Bhilai

Sl. No.	District	Block	School Code	School Name
80	Raipur	Arang	22112221305	Govt Higher Secondary School Semariya(Parsada)
81	Raipur	Dharshiwa	22110406133	Govt Kashi Ram Sharma Hss Bhanpuri
82	Raipur	Dharshiwa	22110410403	Govt Higher Secondary School Tulsi(Baradera)
83	Raipur	Dharshiwa	22110411929	Govt. Higher Secondary School Dr. Shyma Pasad Mukharji Wrs Raipur
84	Raipur	Dharshiwa	22110413907	Govt. Higher Secondary School Dondekala
85	Raipur	Dharshiwa	22110420308	Govt. Girls Hss. Pg.Umathe Shanti Nagar
86	Raipur	Dharshiwa	22110422903	Govt. Higher Secondary School Guma
87	Raipur	Dharshiwa	22110439602	Govt Higher Secondary School Pt. Girja Shankar Mishra
88	Rajnandgaon	Churia	22090416603	Govt. H.S.S. Godalvahi
89	Rajnandgaon	Dongargaon	22090500903	Govt. H.S.S. Bijebhatha
90	Rajnandgaon	Dongargarh	22090602006	Govt. H.S.S. Ramatola
91	Rajnandgaon	Dongargarh	22090614906	Govt. H.S.S. Mohara
92	Rajnandgaon	Dongargarh	22090616444	Govt. H.S.S. Girls Dongargarh
93	Rajnandgaon	Rajnandgaon	22091117204	Govt. H.S.S. Hardi
94	Rajnandgaon	Rajnandgaon	22091118207	Govt. H.S.S. (State School) Rajnandgaon
95	Rajnandgaon	Rajnandgaon	22091118211	Govt. H.S.S. (Baldev Pd. Mishra) Basantpur Rajnandgaon

Annexure IV - H List of Schools approved for Drinking Water (Secondary Level)

Sl.			Village			Recomm	endation
No.	District	Block		School Name	UDISE Code	Phy	Fin in lakh
1	Jashpur	Farsabahar	Menderbahar	Govt Higher Secondary School Mendarbahar	22030503205	1	1.00
2	Jashpur	Farsabahar	Telain	Govt. High School Kumharbahar	22030508305	1	1.00
3	Jashpur	Kansabel	Jumaikela	Govt. Higher Secondary School Jumaikela	22030800506	1	1.00
4	Jashpur	Kansabel	Bagiya	Govt. High	22030802507	1	1.00

Sl.						Recomm	nendation
No.	District	Block	Village	School Name	UDISE Code	Phy	Fin in lakh
				School Bagiya			
5	Jashpur	Kansabel	Dewri	Govt. Higher Secondary School Deori	22030805710	1	1.00
6	Jashpur	Kunkuri	Narayanpur	Govt. Girls High School Narayanpur	22031000513	1	1.00
7	Jashpur	Kunkuri	Kaliba	Govt. Higher Secondary School Kaliba	22031004512	1	1.00
8	Jashpur	Manora	Sogda	Govt High School Sogda	22031206607	1	1.00
9	Jashpur	Pathalgaon	Kumekela	Govt. High School Kumekela	22031304508	1	1.00
10	Jashpur	Pathalgaon	Farsatoli	Govt. Higher Secondary School Parsatoli	22031310407	1	1.00
11	Raigarh	Baramkela	Pakidipa	Govt. H.S. Padkidipa	22040211603	1	1.00
12	Raigarh	Baramkela	Dulopali	Govt. H.S. Dulopali	22040215103	1	1.00
13	Raigarh	Dharamjaigarh	Ratanpur	Govt. H.S. Ratanpur	22040314903	1	1.00
14	Raigarh	Dharamjaigarh	Lipti	Govt. H.S. Lipti	22040318003	1	1.00
15	Raigarh	Gharghoda	Chotegumda	Govt. H.S. Chhotegumda	22040602704	1	1.00
16	Raigarh	Kharsia	Barbhauna	Govt. H.S. Barbhauna	22040903803	1	1.00
17	Raigarh	Kharsia	Chotemudpar	Govt.Secondary School Chhote Mudpar	22040910305	1	1.00
18	Raigarh	Pussore	Tetla	Govt Hss Tetla	22041404205	1	1.00
19	Raigarh	Raigarh	Barliya	Govt. Hss Barliya	22041501303	1	1.00
20	Raigarh	Tamnar	Milupara	Govt. Higher Secondary Milupara	22041701206	1	1.00
21	Korba	Kartala	Faraswani	Govt Higher Secondary School Faraswani	22050812907	1	1.00
22	Korba	Katghora	Balgi Khar	Govt Secondary School Balgikhar	22050903607	1	1.00
23	Korba	Katghora	Jawali	Govt Higher Secondary School Jawali	22050909109	1	1.00
24	Korba	Katghora	Dongari	Govt Higher Secondary School Dongari	22050909204	1	1.00

Sl.			*****			Recommendation		
No.	District	Block	Village	School Name	UDISE Code	Phy	Fin in lakh	
25	Korba	Pali	Nonbirra	Govt Higher Secondary School Nonbirra	22051800307	1	1.00	
26	Korba	Pali	Makhanpur	Govt Higher Secondary School Makhanpur	22051804507	1	1.00	
27	Korba	Pali	Boida	Govt Secondary School.Boida	22051814215	1	1.00	
28	Korba	Pondi-Uproda	Madai	Govt Secondary School Madai	22052306706	1	1.00	
29	Janjgir - Champa	Dabhara	Sukha Pali	Govt. High School Sukhapali	22060500404	1	1.00	
30	Janjgir - Champa	Jaijaipur	Jamadi	Govt High School Jamadi	22060704405	1	1.00	
31	Janjgir - Champa	Sakti	Deragarh	Govt. High School Deragarh	22062405409	1	1.00	
32	Bilaspur	Gourela	Lalpur	Govt Hss Lalpur (Twd)	22070600508	1	1.00	
33	Bilaspur	Takhatpur	Daija	Govt.H.S. Daija	22072504403	1	1.00	
34	Bilaspur	Takhatpur	Gokulpur	Govt High School Gokulpur	22072506104	1	1.00	
35	Bilaspur	Takhatpur	Limha	Govt. Hs Limha	22072510207	1	1.00	
36	Bilaspur	Takhatpur	Sakari	Govt Girls Hr Sec School Sakari	22072514515	1	1.00	
37	Rajnandgaon	Chowki	Butakasa	Govt. High School Butakasa	22090201604	1	1.00	
38	Rajnandgaon	Chowki	Karamtara	Govt. High School Karamtara	22090211505	1	1.00	
39	Rajnandgaon	Chuikhadan	Jhuranadi	Govt. H.S.S. Jhuranadi	22090308404	1	1.00	
40	Rajnandgaon	Chuikhadan	Ghir Gholi	Govt. H.S. Ghirgholi	22090309304	1	1.00	
41	Rajnandgaon	Chuikhadan	Sarai Patera	Govt. H.S. Saraipatera	22090310803	1	1.00	
42	Rajnandgaon	Churia	Belargondi	Govt. H.S.S. Belargondi	22090400304	1	1.00	
43	Rajnandgaon	Churia	Rampur	Govt. H.S. Rampur	22090402403	1	1.00	
44	Rajnandgaon	Churia	Bendadi	Govt. H.S. Bendadi	22090403603	1	1.00	
45	Rajnandgaon	Churia	Ramtarai	Govt. H.S. Ramtarai	22090404804	1	1.00	
46	Rajnandgaon	Churia	Atargaon	Govt. H.S. Atargaon	22090420703	1	1.00	
47	Rajnandgaon	Dongargaon	Junter	Govt. H.S. Jantar	22090500603	1	1.00	

Sl.						Recomm	endation
No.	District	Block	Village	School Name	UDISE Code	Phy	Fin in lakh
48	Rajnandgaon	Dongargaon	Jarvahi	Govt. H.S. Jarvahi	22090501403	1	1.00
49	Rajnandgaon	Dongargaon	Dhourabhatha	Govt. H.S.S. Sant Kabir Dhourabhatha	22090506903	1	1.00
50	Rajnandgaon	Dongargaon	Buddhu Bharda	Govt. H.S. Budhubharda	22090507603	1	1.00
51	Rajnandgaon	Dongargaon	Badgaon Charbhatha	Govt. H.S.S. Badgaon Charbhatha	22090513502	1	1.00
52	Rajnandgaon	Dongargarh	Sendri	Govt. H.S. Sendri	22090602403	1	1.00
53	Rajnandgaon	Manpur	Iragaon	Govt. High School Iragaon	22090901203	1	1.00
54	Rajnandgaon	Manpur	Dighvadi	Govt. High School Dighvadi	22090908803	1	1.00
55	Rajnandgaon	Mohla	Bhojtola	Govt. High School Bhojtola	22091000804	1	1.00
56	Rajnandgaon	Mohla	Dumartola	Govt. H.S.S. Dumartola	22091001306	1	1.00
57	Rajnandgaon	Mohla	Kandadi	Govt. H.S. Kandari	22091007504	1	1.00
58	Rajnandgaon	Mohla	Motipur	Govt. H.S. Motipur	22091007705	1	1.00
59	Rajnandgaon	Mohla	Ranatola	Govt High School Ranatola	22091010703	1	1.00
60	Durg	Dhamdha	Birjhapur	Govt. High School Birjhapur	22100610603	1	1.00
61	Raipur	Arang	Paragaon	Govt. High School Paragaon	22112206606	1	1.00
62	Mahasamund	Mahasamund	Dumrpali	Govt High School Dumarpali	22122116204	1	1.00
63	Dhamtari	Kurud	Koliyari	Government High School Koliyari	22130301905	1	1.00
64	Dhamtari	Kurud	Chatoud	Govt. High School Chataud	22130302105	1	1.00
65	Dhamtari	Nagri	Chuhi	Govt. High School, Chhuhi	22131310204	1	1.00
66	Kanker	Durgukondal	Kodde	Govt. Higher Secondary School Konde	22142107803	1	1.00
67	Baster	Bastar	Kesarpal	Govt High School Nandpura	22151710609	1	1.00
68	Baster	Bastar	Rajpur	Govt High School Rajpur	22151718301	1	1.00
69	Baster	Bakawand	Satosha	Govt.High School Satosha	22152912410	1	1.00

Sl.						Recomm	endation
No.	District	Block	Village	School Name	UDISE Code	Phy	Fin in lakh
70	Kondagaon	Baderajpur	Korgaon	Govt Higher Secondary School Tenwsa	22171000407	1	1.00
71	Kondagaon	Baderajpur	Pendrawand	Govt. High School Pendravan	22171003903	1	1.00
72	Kondagaon	Keshkal	Sargipal	Govt.Higher Secondary School Singhanpur	22171203206	1	1.00
73	Kondagaon	Pharasgaon	Bhanpuri	Govt. High School Bhanpuri	22172505310	1	1.00
74	Kondagaon	Pharasgaon	Kotpad	Govt. High School Kotpad	22172509505	1	1.00
75	Kondagaon	Kondagaon	Ghodagaon	Govt. High School Ghodagaon	22172605408	1	1.00
76	Kondagaon	Kondagaon	Chalka	Govt. High School Chalka	22172609003	1	1.00
77	Kondagaon	Kondagaon	Hasalnar	Govt. Higher Secondary School Matwal	22172613346	1	1.00
78	Kondagaon	Makadi	Hirlabhat	Govt.Higher Secondary School Kshamtapur	22172803310	1	1.00
79	Kondagaon	Makadi	Bawai	Govt.High School Bawai	22172806106	1	1.00
80	Narayanpur	Narayanpur	Khadibahar	Govt. High School Khadhibahar	22183714403	1	1.00
81	Mungeli	Lormi	Pathari Kapa	Govt H School Patharikapa	22191217604	1	1.00
82	Mungeli	Mungeli	Baiha Kapa	H S Baihakapa	22191604304	1	1.00
83	Sukma	Konta	Dubbatota	Govt High School Dubbatota	22213411707	1	1.00
84	Balodabazar	Bhatapara	Bhatapara	Govt. High School Borsi (Dh)	22240204256	1	1.00
85	Balodabazar	Bilaigarh	Raykona	Govt Higher Secondary School Raikona	22241001105	1	1.00
86	Balodabazar	Bilaigarh	Kaitha	Govt High School Kaitha	22241005704	1	1.00
87	Balodabazar	Bilaigarh	Gatadih	Govt Higher Secondary School Gatadih	22241019707	1	1.00
88	Balodabazar	Simga	Newari	Govt H.S.S. School Newari	22241606703	1	1.00
89	Balrampur	Rajpur	Rajpur	Govt Higher Secondary	22260804730	1	1.00

Sl.						Recommendation		
No.	District	Block	Village	School Name	UDISE Code	Phy	Fin in lakh	
				School Rajpur				
90	Balrampur	Balrampur	Davra	Govt. Higher Secondary School Davra	22261003406	1	1.00	
91	Balrampur	Wadrafnagar	Bartikala	High School Girls Bartikala	22261103405	1	1.00	
92	Balrampur	Wadrafnagar	Janakpur	Govt. Higher Secondary School Janakpur	22261110211	1	1.00	
93	Balrampur	Kusmi	Korndha	Govt. Higher Secondry School Korandha	22261305210	1	1.00	
94	Surajpur	Odgi	Biharpur	Govt. Higher Secondary School Biharpur	22271600112	1	1.00	
95	Surajpur	Odgi	Biharpur	Govt. Higher Secondary Girls School Biharpur	22271600113	1	1.00	
96	Surajpur	Pratappur	Hariharpur	Govt. Higher Secondary School Hariharpur	22271705006	1	1.00	
97	Surajpur	Ramanujnagar	Madanpur	Govt. Higher Secondary School Madanpur	22271805904	1	1.00	
98	Koriya	Khadgava	Podi Bachra	Govt Higher Secondary School Pondi Bachra	22012201507	1	1.00	
99	Surguja	Bataoli	Bataikela	Govt. Higher Secondary School Bataikela	22020203507	1	1.00	
100	Surguja	Lundra	Lundra	Govt. Higher Secondary School Boys Lundra	22020508411	1	1.00	
101	Jashpur	Bagicha	Kamarima	Govt High School Kamarima	22030105515	1	1.00	
102	Jashpur	Manora	Manora	Govt. High School Rajalapath	22031204717	1	1.00	
103	Jashpur	Pathalgaon	Kotba	Govt Girls High School Kotba	22031309622	1	1.00	
104	Raigarh	Dharamjaigarh	Thakurpodi	Govt. Hs Thakurpodi	22040317704	1	1.00	
105	Raigarh	Lailunga	Bhakurra	Govt Hs	22041111004	1	1.00	

Sl.						Recommendation	
No.	District	Block	Village	School Name	UDISE Code	Phy	Fin in lakh
				Bhakurra			
106	Raigarh	Lailunga	Lamdand	Govt Hss Lamdand	22041111207	1	1.00
107	Korba	Pondi-Uproda	Lamna	Govt Secondary School Lamna	22052306413	1	1.00
108	Bilaspur	Marwahi	Pandari	Govt.H.S.Pandri	22071400609	1	1.00
109	Kawardha	Bodla	Khara	Govt. Higher Secondary School Khara	22080107704	1	1.00
110	Rajnandgaon	Chuikhadan	Salhekala	Govt. H.S.S. Salhekala	22090314603	1	1.00
111	Durg	Patan	Nipani	Govt High School Nipani	22101109204	1	1.00
112	Durg	Patan	Batang	Govt High School Batang	22101112903	1	1.00
113	Raipur	Dharshiwa	Tulsi(Baradra)	Govt Higher Secondary School Tulsi(Baradera)	22110410403	1	1.00
114	Mahasamund	Mahasamund	Lohardih	Govt High School Lohardih	22122120604	1	1.00
115	Mahasamund	Saraypali	Singoda	Govt High School Singhoda	22122502302	1	1.00
116	Dhamtari	Dhamtari	Amlidih	Government High School Amlidih	22133003604	1	1.00
117	Kanker	Koyalibeda	Baarda	Govt. High School Barda	22140109306	1	1.00
118	Kanker	Durgukondal	Chikhali	Govt. High School Chikhli	22142100103	1	1.00
119	Kanker	Charama	Puri	Govt. Higher Secondary School Puri	22142700804	1	1.00
120	Kanker	Kanker	Dhaneli Kanhar	Govt. Higher Secondary School Dhanelikanhar	22143207904	1	1.00
121	Baster	Darbha	Kokawada	Govt. Higher Secondary School Chitapur	22150406905	1	1.00
122	Baster	Bastar	Sudhapal	Govt Higher Secondary School Sudhapal	22151705306	1	1.00
123	Baster	Bastar	Baniyagaon	Govt High School Baniyagaon	22151710006	1	1.00
124	Kondagaon	Pharasgaon	Kongud	Govt. Higher Secondary School Kongud	22172500510	1	1.00
125	Kondagaon	Kondagaon	Malakot	Govt Higher	22172605307	1	1.00

Sl.						Recommendation	
No.	District	Block	Village	School Name	UDISE Code	Phy	Fin in lakh
				Secondary School Malakot			
126	Kondagaon	Makadi	Shyampur	Govt.Higher Secondary School Shampur	22172806410	1	1.00
127	Mungeli	Mungeli	Chamari (Chi)	Govt H School Chamari (Chi)	22191607304	1	1.00
128	Mungeli	Mungeli	Panar Bhatha	Hss Govt Pandarbhatta	22191610505	1	1.00
129	Sukma	Sukma	Burdi	Govt. Pota Kebin Burdi	22210201811	1	1.00
130	Bemetara	Saja	Padumsra	Govt Higher Secondary School Padumsara	22231203103	1	1.00
131	Gariaband	Deobhog	Khoksara	Govt. Higher Secondry School Khoksara	22251406603	1	1.00
132	Balrampur	Ramchandrapur	Bhavarmal	Govt. Higher Secondary School Bhawarmal	22260905810	1	1.00
133	Balrampur	Kusmi	Sabag	Govt.High School Sabag	22261309106	1	1.00
134	Surajpur	Odgi	Raisara	Govt.High School Raisara	22271607206	1	1.00
135	Surajpur	Pratappur	Pratappur	Govt. Higher Secondary School Girls Pratappur	22271702722	1	1.00
136	Surajpur	Pratappur	Durti	Govt. Higher Secondary School Durti	22271703710	1	1.00
137	Surajpur	Ramanujnagar	Podi	Govt. High School Pondi	22271807207	1	1.00
	Total					137	137.00

Annexure IV - I List of Schools approved for Boys Toilet (Secondary Level)

Fin Sl. Phy **School Code Block** Village **School Name** District in No. lakh **Govt Higher** 1 Balod Balod Kannewada Secondary School Kannewada 22220111102 4 4.12 Govt. Higher 2 Balod Jhalmala Secondary School Balod 3 3.09 Jhalmala 22220110410 Govt. Higher 3 Balod Daundi Lohara Dudhali Secondary School 22220504007 3 3.09

Sl. No.	District	Block	Village	School Name	School Code	Phy	Fin in lakh
				Dudhali			
4	Balodabazar	Baloda Bazar	Lawan	Govt Higher Secondary School Lawan	22242009218	7	7.21
5	Balodabazar	Bilaigarh	Jora	Govt Higher Secondary School Jora	22241009005	5	5.15
6	Balodabazar	Simga	Hathbandh	Govt. Higher Secondary School Hathbandh	22241602009	4	4.12
7	Balodabazar	Bhatapara	Karhi Bazar	Govt Higher Secondary School Karhibazar	22240207803	4	4.12
8	Balodabazar	Palari	Palari	Govt Higher Secondary School Palari	22241808815	4	4.12
9	Balodabazar	Kasdol	Tundra	Govt Higher Secondary School Tundra	22241206314	4	4.12
10	Balodabazar	Palari	Rohasi	Govt Higher Secondary School Rohansi	22241806910	4	4.12
11	Balodabazar	Bilaigarh	Pendrawan	Govt Higher Secondary School Pendrawan	22241015106	3	3.09
12	Balodabazar	Bhatapara	Singarpur	Govt Higher Secondary School Singarpur	22240205207	2	2.06
13	Balodabazar	Bilaigarh	Beltikari	Govt.Hss. Beltikari	22241001904	3	3.09
14	Balodabazar	Simga	Damakheda	Govt. Higher Se. Sch. Damakheda	22241607905	2	2.06
15	Balodabazar	Kasdol	Borsi	Govt.Higher Secondary School Borsi	22241212803	2	2.06
16	Balrampur	Ramchandrapur	Jamwantpur	Govt. Higher Secondary School Jamwantpur	22260910605	4	4.12
17	Balrampur	Wadrafnagar	Pandri	Hss Pandari	22261105012	4	4.12
18	Balrampur	Ramchandrapur	Ramchandrapur	Govt. Higher Secondary School Ramchandrapur	22260904122	4	4.12
19	Balrampur	Ramchandrapur	Dindo	Govt. Higher Secondary School Dindo	22260906107	3	3.09
20	Balrampur	Wadrafnagar	Sulsuli	Govt Higher Secondary Sulsuli	22261103809	3	3.09
21	Baster	Bastar	Ghatlohanga	Govt Higher Secondary School Ghatlohanga	22151712107	4	4.12
22	Baster	Jagdalpur	Jagdalpur	Govt.Higher Secondary School Dharampura Jagdalpur	22153308667	4	4.12

Sl. No.	District	Block	Village	School Name	School Code	Phy	Fin in lakh
23	Bemetara	Berla	Deorbija	Govt Higher Secondary School Deorbija	22230304810	4	4.12
24	Bemetara	Nawagarh	Andhiyakhor	Govt Higher Secondary School Andhiyarkhor	22231003507	4	4.12
25	Bemetara	Bemetara	Bawamohtara	Govt Higher Secondary School Bawamohtara	22230207003	3	3.09
26	Bilaspur (Chhattisgarh)	Takhatpur	Sakari	Govt. H S S Sakri	22072514514	6	6.18
27	Bilaspur (Chhattisgarh)	Masturi	Jayram Nagar	Govt. Hss Jayram Nagar	22071509206	4	4.12
28	Bilaspur (Chhattisgarh)	Takhatpur	Ghutku	Govt. H S S Ghutku	22072506020	5	5.15
29	Bilaspur (Chhattisgarh)	Bilha	Hardi Kala	Govt. H S S Hardikala (Tona)	22070305808	3	3.09
30	Bilaspur (Chhattisgarh)	Bilha	Sirgitti	Govt. H S S Sirgitti	22070307930	4	4.12
31	Bilaspur (Chhattisgarh)	Takhatpur	Ganiyari	Govt. H S S Ganiyari	22072505509	4	4.12
32	Bilaspur (Chhattisgarh)	Takhatpur	Sakarra	Govt.H S S Sakarra	22072514608	3	3.09
33	Bilaspur (Chhattisgarh)	Bilha	Tifra	Govt. Hss Tifra	22070307339	4	4.12
34	Bilaspur (Chhattisgarh)	Masturi	Darri Ghat	Govt. H S S Darrighat	22071502508	4	4.12
35	Bilaspur (Chhattisgarh)	Bilha	Sarvani	Govt. H S S Sarvani	22070305703	4	4.12
36	Bilaspur (Chhattisgarh)	Bilha	Sendri	Govt. H S S Sendari	22070300406	3	3.09
37	Bilaspur (Chhattisgarh)	Masturi	Tikari	Govt H S , Tikari	22071503307	2	2.06
38	Bilaspur (Chhattisgarh)	Kota	Kargi Kala	Govt. Hr. Sec. School Kargikala	22071102709	3	3.09
39	Dhamtari	Nagri	Nagri "B"	Government Shringi Rishi Higher Secondary School Nagri	22131309544	6	6.18
40	Dhamtari	Nagri	Sihawa	Government Higher Secondary School Sihawa	22131315712	3	3.09
41	Dhamtari	Nagri	Sankra	Government Higher Secondary School Sankra	22131308116	2	2.06
42	Dhamtari	Dhamtari	Risai Para Paschim Ward	Govt Natthuji Jagtap Nagar Palika Nigam Higher Sec. School	22133000606	4	4.12
43	Dhamtari	Dhamtari	Soram	Government Higher Secondry School Soram	22133014407	1	1.03
44	Durg	Durg	Sector-11,	Govt Higher	22100718302	5	5.15

Sl. No.	District	Block	Village	School Name	School Code	Phy	Fin in lakh
			Khursipar	Secondary School Sector 11,			
				Khursipar Bhilai			
45	Durg	Dham dha	Dowi	Govt Higher			
45		Dhamdha	Bori	Secondary School Bori	22100600105	4	4.12
				Govt Higher	22100000103	4	4.12
46	Durg	Durg	Anda	Secondary School			
40		Duig	Allua	Anda	22100703715	4	4.12
				Govt Higher	22100703713	Т.	7.12
47	Durg	Dhamdha	Pendrawan	Secondary School			
17	Duig	Dilamuna	Tellurawan	Pendrawan	22100603403	4	4.12
				Govt Higher	22100003103	1	1.12
48	Durg	Durg	Jamul	Secondary School			
10	Duig	Duig	Janiui	Jamul Bhilai	22100720706	4	4.12
				Govt Higher	22100720700	1	1.12
49	Durg	Dhamdha	Kumhari	Secondary School			
17	Duig	Difamula	Kumman	Kumhari	22100608117	2	2.06
				Govt. Higher	22100000117		2.00
50	Durg	Patan	Jamgaon R.	Secondary School			
30				Jamgaon (Aar)	22101100208	1	1.03
				Govt. Higher	22101100200	1	1.03
51	Gariaband	Mainpur	Gohrapadar	Secondary School			
				Goharpadar	22252606207	5	5.15
				Govt. Higher	22232000207		5.15
52	Gariaband	Mainpur	Mainpur	Secondary School			
52				Mainpur	22252611613	4	4.12
				Govt. Higher	22232311313	-	2
53	Gariaband	Fingeshwar	Koundkera	Secondary School			
				Kaundkera	22252306111	2	2.06
	Janjgir - Champa	Jaijaipur	Hasoud	Govt.Higher	22202000111		2.00
54				Secondry School			
				Hasoud	22060707914	4	4.12
				Govt. Higher		_	
55	Janjgir - Champa	Malkharoda	Malkharoda	Secondary School			
				Malkharoda	22061300413	5	5.15
				Govt. Higher			0.1_0
56	Janjgir - Champa	Dabhara	Dabhara	Secondary School			
				Dabhara	22060504219	2	2.06
	Janjgir -	D 1 1 10	71	Govt.Hr.Secondary			
57	Champa	Bamhnindih	Jharna	School Jharna	22060407208	4	4.12
	_			Govt. Higher	13010.200	-	- = <b>-</b>
58	Janjgir - Champa	Malkharoda	Chhapora	Secondary School			
				Chhapora	22061305108	1	1.03
	Janjgir -	Baloda		Govt. Higher	13233330		1.50
59			Seoni(Cha)	Secoundary			
	Champa			School Sivni(Cha)	22060209612	3	3.09
	Jashpur	Farsabahar	Tapkara	Govt. Higher		-	
60				Secondary School			
				Tapkara	22030505817	2	2.06
			D.I.I.	Govt. Higher			
61	Kanker	nker Koyalibeda	Pakhanjur	Secondary School			
			Camp	Pakhanjoore	22140134603	1	1.03

Sl. No.	District	Block	Village	School Name	School Code	Phy	Fin in lakh
62	Kanker	Durgukondal	Durgukondal	Govt. Higher Secondary School Durgukondal	22142112108	3	3.09
63	Kanker	Koyalibeda	Kapsi	Govt. Girls Higher Secondary School Kapsi	22140110612	3	3.09
64	Kawardha	Sahaspur Lohara	Sahaspur Lohara	Govt Higher Secondary School Sahaspur Lohara	22081207016	4	4.12
65	Kawardha	Bodla	Pondi	Govt. Higher Secondary School Pondi	22080109612	5	5.15
66	Kawardha	Pandariya	Kunda	Govt. Higher Secondary School Kunda	22081322411	5	5.15
67	Kawardha	Bodla	Rajnavagaon	Govt. Higher Secondary School Rajanavagaon	22080106907	3	3.09
68	Kawardha	Pandariya	Kodvagodan	Govt. Higher Secondary School Kodvagodan	22081312407	4	4.12
69	Kawardha	Pandariya	Damapur	Govt. Higher Secondary School Damapur	22081301807	4	4.12
70	Kawardha	Sahaspur Lohara	Udiya Khurd	Govt.High School Udiya Khurd	22081201803	2	2.06
71	Kawardha	Bodla	Bodla	Govt. Higher Secondary School Bodla	22080100316	1	1.03
72	Kondagaon	Keshkal	Dhanora	Govt.Higher Secondary School Dhanora	22171204715	5	5.15
73	Kondagaon	Makadi	Maakdi	Govt.Higher Secondary School Makadi	22172807024	4	4.12
74	Kondagaon	Pharasgaon	Badedongar	Govt. Higher Secondary School Badedongar	22172509926	2	2.06
75	Kondagaon	Pharasgaon	Borgaon	Govt. Higher Secondary School Borgaon	22172500610	3	3.09
76	Kondagaon	Baderajpur	Khargaon	Govt.Higher Secondary School Vishrampuri	22171006325	3	3.09
77	Kondagaon	Pharasgaon	Lanjoda	Govt. Higher Secondary School Lanjoda	22172506214	2	2.06
78	Kondagaon	Kondagaon	Dahikonga	Govt.Higher Secondry School Dahikonga	22172626709	3	3.09
79	Kondagaon	Pharasgaon	Pharasgaon	Govt. Higher Secondary School Pharasgaon	22172500911	3	3.09

Sl. No.	District	Block	Village	School Name	School Code	Phy	Fin in lakh
80	Korba	Pali	Pali (Nagar Panchayat)	Govt Higher Secondary School Pali	22051819418	5	5.15
81	Korba	Korba	Bhaisma	Govt Higher Secondary School Bhaisma	22051010618	5	5.15
82	Korba	Pali	Makhanpur	Govt Higher Secondary School Makhanpur	22051804507	3	3.09
83	Korba	Pali	Chaitma	Govt Higher Secondary School Chaitma	22051806619	3	3.09
84	Korba	Pali	Korbi	Govt Higher Secondary School Korbi (Dhatura)	22051803312	4	4.12
85	Korba	Korba	Ram Sagarpara Ward-1	Govt Higher Sec. School Korba(Twd)	22051016902	3	3.09
86	Korba	Pali	Tivarta	Govt Higher Secondary School Tiwarta	22051802817	3	3.09
87	Korba	Kartala	Tuman	Govt Higher Secondary School Tuman (Kartala)	22050801507	2	2.06
88	Korba	Katghora	Chhuri	Govt Higher Secondary School Chhuri	22050900911	3	3.09
89	Koriya	Bharatpur	Janakpur	Govt. Boys Higher Secondary School Janakpur	22012407515	6	6.18
90	Koriya	Khadgava	Khadgava	Govt Higher Secondary School Khadgawan	22012201411	3	3.09
91	Mahasamund	Pithora	Sankra	Govt.Higher Secondary School Sankara	22121105311	4	4.12
92	Mahasamund	Saraypali	Baloda	Govt.Higher Secondary School Baloda	22122517908	3	3.09
93	Mahasamund	Mahasamund	Jhalap	Govt. Higher Secondary School Jhalap	22122100119	4	4.12
94	Mahasamund	Mahasamund	Khatti	Govt.Higher Secondary School Khatti	22122119604	4	4.12
95	Mahasamund	Basna	Badesajapali	Govt. Higher Sec. School Badesajapali	22122824902	3	3.09
96	Mungeli	Mungeli	Faster Pur	H S S Govt, Fasterpur	22191600503	5	5.15
97	Mungeli	Patharia	Patharia	H S S Govt, Patharia	22192100226	5	5.15
98	Mungeli	Patharia	Padiyain	H S Govt, Padiyain	22192104304	4	4.12

Sl. No.	District	Block	Village	School Name	School Code	Phy	Fin in lakh
99	Raigarh (Chhattisgarh)	Sarangarh	Kosir	Govt Hss Koshir	22041601713	5	5.15
100	Raigarh (Chhattisgarh)	Dharamjaigarh	Chhal	Govt. Boys H.S.S. Chhal	22040302811	3	3.09
101	Raigarh (Chhattisgarh)	Sarangarh	Chhind	Govt Hss Chhind	22041614307	3	3.09
102	Raigarh (Chhattisgarh)	Dharamjaigarh	Кари	Govt. Hss Kapu	22040315911	1	1.03
103	Raigarh (Chhattisgarh)	Raigarh	Kokaditarai	Govt Hss Kirodimal Nagar	22041508910	1	1.03
104	Raigarh (Chhattisgarh)	Raigarh	Raigarh-02 {N.P.}	Govt. Natwar Mult. Hss Raigarh	22041515014	1	1.03
105	Raipur	Dharshiwa	Birgaon	Govt Higher Secondary School Adwani Oerlikon Birgaon	22110407327	7	7.21
106	Raipur	Tilda	Kharora	Govt. Higher Secondary Kharora	22110813803	6	6.18
107	Raipur	Dharshiwa	Mowa	Govt Higher Secondary School Mowa	22110408910	5	5.15
108	Raipur	Dharshiwa	Silyari	Govt. Hss Khub Chand Baghel Silyari	22110424411	2	2.06
109	Raipur	Arang	Chandkhuri	Govt. Higher Secondary School Annat Ram Barchiha Chandkhuri	22112214010	1	1.03
110	Raipur	Dharshiwa	P.Madhav Raw Sapre Ward 68	Govt Higher Secondary School Pt. Girja Shankar Mishra	22110439602	2	2.06
111	Raipur	Arang	Kosrangi	Govt. Higher Secondary School Kosrangi	22112202009	3	3.09
112	Raipur	Dharshiwa	Mandhar	Govt Higher Sec.School Mandhar Basti	22110408616	3	3.09
113	Raipur	Abhanpur	Khorpa	Govt. Higher Secondary School Khorpa	22110607410	2	2.06
114	Rajnandgaon	Rajnandgaon	Rajnandgaon2	H.S.S. (Local) S.D.N.P.N. Rajnandgaon	22091118213	7	7.21
115	Rajnandgaon	Khairagarh	Atariya	Govt. H.S.S. Atariya Bazar	22090815107	1	1.03
116	Rajnandgaon	Khairagarh	Jalbandha	Govt. H.S.S. Jalbandha	22090804005	3	3.09
117	Rajnandgaon	Rajnandgaon	Ghumka	Govt. H.S.S. Ghumka	22091110910	4	4.12
118	Rajnandgaon	Dongargarh	Mohara	Govt. H.S.S.	22090614906	3	3.09

Sl.							Fin
No.	District	Block	Village	School Name	School Code	Phy	in
NO.							lakh
				Mohara			
119	Rajnandgaon	Dongargarh	Musra Kala	Govt. H.S.S. Musra	22090611207	2	2.06
120	Rajnandgaon	Rajnandgaon	Somni	Govt. H.S.S. Somni	22091106207	3	3.09
121	Rajnandgaon	Rajnandgaon	Pateva	Govt. H.S.S. Pateva	22091113405	1	1.03
122	Dainandaaan	Chowki	Chilhati	Govt. H.S.S.			
122	Rajnandgaon	Chowki	Chilhati	Chilhati	22090204008	3	3.09
122	Dainandaaan	Mohla	Catatala	Govt. H.S.S.			
123	Rajnandgaon	Моша	Gotatola	Gotatola	22091005407	3	3.09
				Govt.Higher			
124	Surajpur	Surajpur	Latori	Secondary School			
				Latori	22271405910	4	4.12
				Govt. Higher			
125	Surajpur	Ramanujnagar	Deonagar	Secondary School			
				Deonagar	22271804110	3	3.09
				Govt. Higher			
126	Surguja	Udaipur	Dandgaov	Secondary School			
				Dandgaon	22020705609	3	3.09
	Total					429	441.9

Annexure IV - J

List of Schools approved for Girls Toilets (Secondary Level)

Sl.						Recomn	nendation
No.	District	Block	Village	School Name	School Code	Phy	Fin in lakh
1	Raipur	Dharshiwa	Birgaon	Govt Higher Secondary School Adwani Oerlikon Birgaon	22110407327	7	7.21
2	Durg	Durg	Sector-11, Khursipar	Govt Higher Secondary School Sector 11, Khursipar Bhilai	22100718302	6	6.18
3	Balodabazar	Baloda Bazar	Lawan	Govt Higher Secondary School Lawan	22242009218	6	6.18
4	Kawardha	Sahaspur Lohara	Sahaspur Lohara	Govt Higher Secondary School Sahaspur Lohara	22081207016	5	5.15
5	Kondagaon	Makadi	Maakdi	Govt.Higher Secondary School Makadi	22172807024	6	6.18
6	Raipur	Tilda	Kharora	Govt. Higher Secondary Kharora	22110813803	6	6.18
7	Korba	Korba	Ram Sagarpara Ward-1	Govt Higher Sec. School Korba(Twd)	22051016902	5	5.15
8	Dhamtari	Nagri	Sankra	Government Higher Secondary School Sankra	22131308116	4	4.12
9	Balodabazar	Palari	Palari	Govt Higher Secondary School	22241808815	6	6.18

Sl.						Recomn	nendation
No.	District	Block	Village	School Name	School Code	Phy	Fin in lakh
				Palari			
10	Bilaspur (Chhattisgarh)	Bilha	Sirgitti	Govt. H S S Sirgitti	22070307930	6	6.18
11	Rajnandgaon	Khairagarh	Atariya	Govt. H.S.S. Atariya Bazar	22090815107	2	2.06
12	Kondagaon	Baderajpur	Khargaon	Govt.Higher Secondary School Vishrampuri	22171006325	4	4.12
13	Janjgir - Champa	Baloda	Seoni(Cha)	Govt. Higher Secoundary School Sivni(Cha)	22060209612	5	5.15
14	Raipur	Dharshiwa	Mowa	Govt Higher Secondary School Mowa	22110408910	5	5.15
15	Raigarh (Chhattisgarh)	Raigarh	Raigarh-02 {N.P.}	Govt. Natwar Mult. Hss Raigarh	22041515014	4	4.12
16	Durg	Dhamdha	Bori	Govt Higher Secondary School Bori	22100600105	5	5.15
17	Korba	Pali	Makhanpur	Govt Higher Secondary School Makhanpur	22051804507	4	4.12
18	Rajnandgaon	Khairagarh	Jalbandha	Govt. H.S.S. Jalbandha	22090804005	4	4.12
19	Durg	Durg	Anda	Govt Higher Secondary School Anda	22100703715	5	5.15
20	Kondagaon	Keshkal	Dhanora	Govt.Higher Secondary School Dhanora	22171204715	5	5.15
21	Surajpur	Surajpur	Latori	Govt.Higher Secondary School Latori	22271405910	4	4.12
22	Durg	Durg	Jamul	Govt Higher Secondary School Jamul Bhilai	22100720706	5	5.15
23	Raigarh (Chhattisgarh)	Dharamjaigar h	Kapu	Govt. Hss Kapu	22040315911	5	5.15
24	Raipur	Dharshiwa	Silyari	Govt. Hss Khub Chand Baghel Silyari	22110424411	3	3.09
25	Raipur	Dharshiwa	P.Madhav Raw Sapre Ward 68	Govt Higher Secondary School Pt. Girja Shankar Mishra	22110439602	4	4.12
26	Bilaspur (Chhattisgarh)	Masturi	Jayram Nagar	Govt. Hss Jayram Nagar	22071509206	4	4.12
27	Korba	Pali	Chaitma	Govt Higher Secondary School Chaitma	22051806619	4	4.12
28	Bilaspur (Chhattisgarh)	Masturi	Darri Ghat	Govt. H S S Darrighat	22071502508	5	5.15
29	Korba	Pali	Korbi	Govt Higher	22051803312	5	5.15

Sl.						Recommendation		
No.	District	Block	Village	School Name	School Code	Phy	Fin in lakh	
				Secondary School Korbi (Dhatura)				
30	Mahasamund	Basna	Badesajapali	Govt. Higher Sec. School Badesajapali	22122824902	4	4.12	
31	Kawardha	Pandariya	Kunda	Govt. Higher Secondary School Kunda	22081322411	5	5.15	
32	Durg	Dhamdha	Kumhari	Govt Higher Secondary School Kumhari	22100608117	2	2.06	
33	Kanker	Koyalibeda	Pakhanjur Camp	Govt. Higher Secondary School Pakhanjoore	22140134603	4	4.12	
34	Balrampur	Wadrafnagar	Pandri	Hss Pandari	22261105012	5	5.15	
35	Balodabazar	Bilaigarh	Tundri	Govt Higher Secondary School Tundri	22241014209	4	4.12	
36	Koriya	Khadgava	Khadgava	Govt Higher Secondary School Khadgawan	22012201411	5	5.15	
37	Balrampur	Ramchandrap ur	Ramchandra pur	Govt. Higher Secondary School Ramchandrapur	22260904122	4	4.12	
38	Dhamtari	Nagri	Sihawa	Government Higher Secondary School Sihawa	22131315712	2	2.06	
39	Balodabazar	Simga	Hathbandh	Govt. Higher Secondary School Hathbandh	22241602009	4	4.12	
40	Kanker	Koyalibeda	Kapsi	Govt. Girls Higher Secondary School Kapsi	22140110612	4	4.12	
41	Kawardha	Pandariya	Kodvagodan	Govt. Higher Secondary School Kodvagodan	22081312407	4	4.12	
42	Gariaband	Fingeshwar	Koundkera	Govt. Higher Secondary School Kaundkera	22252306111	3	3.09	
43	Mahasamund	Pithora	Sankra	Govt.Higher Secondary School Sankara	22121105311	4	4.12	
44	Janjgir - Champa	Jaijaipur	Kachanda	Govt. Higher Secoundary School Kachanda	22060709908	3	3.09	
45	Rajnandgaon	Dongargarh	Mohara	Govt. H.S.S. Mohara	22090614906	4	4.12	
46	Dhamtari	Dhamtari	Soram	Government Higher Secondry School Soram	22133014407	2	2.06	
47	Raipur	Arang	Chandkhuri	Govt. Higher Secondary School Annat Ram	22112214010	1	1.03	

Sl.					Recomn	nendation	
No.	District	Block	Village	School Name	School Code	Phy	Fin in lakh
				Barchiha Chandkhuri			
48	Raipur	Arang	Kosrangi	Govt. Higher Secondary School Kosrangi	22112202009	3	3.09
49	Janjgir - Champa	Malkharoda	Malkharoda	Govt. Higher Secondary School Malkharoda	22061300413	4	4.12
50	Bilaspur (Chhattisgarh)	Bilha	Tifra	Govt. Hss Tifra	22070307339	4	4.12
51	Bemetara	Nawagarh	Andhiyakhor	Govt Higher Secondary School Andhiyarkhor	22231003507	4	4.12
52	Bilaspur (Chhattisgarh)	Masturi	Khamhariya	Govt. H S S , Khamhariya	22071500208	3	3.09
53	Janjgir - Champa	Dabhara	Dabhara	Govt. Higher Secondary School Dabhara	22060504219	2	2.06
54	Raigarh (Chhattisgarh)	Raigarh	Kokaditarai	Govt Hss Kirodimal Nagar	22041508910	2	2.06
55	Raipur	Abhanpur	Tamaseoni	Govt. Higher Secondary School Tamasivni	22110602307	3	3.09
56	Rajnandgaon	Rajnandgaon	Sukul Daihan	Govt. H.S.S. Sukul Daihan	22091115104	3	3.09
57	Korba	Pali	Tivarta	Govt Higher Secondary School Tiwarta	22051802817	4	4.12
58	Korba	Pali	Pali (Nagar Panchayat)	Govt Higher Secondary School Pali	22051819418	2	2.06
59	Kanker	Bhanupratapp ur	Bhanupratap pur	Govt. Higher Secondary School Bhanupratappur	22141800421	3	3.09
60	Janjgir - Champa	Malkharoda	Chhapora	Govt. Higher Secondary School Chhapora	22061305108	1	1.03
61	Raipur	Dharshiwa	Amlidih	Govt Higher Secondary School Amlidih	22110409607	4	4.12
62	Mungeli	Mungeli	Faster Pur	H S S Govt, Fasterpur	22191600503	4	4.12
63	Bilaspur (Chhattisgarh)	Bilha	Beltara	Govt. H S S Beltara	22070313910	4	4.12
64	Rajnandgaon	Mohla	Gotatola	Govt. H.S.S. Gotatola	22091005407	4	4.12
65	Surajpur	Ramanujnagar	Deonagar	Govt. Higher Secondary School Deonagar	22271804110	1	1.03
66	Janjgir - Champa	Baloda	Paharia	Govt. Higher Secondary School Paharia	22060206112	3	3.09
67	Baster	Jagdalpur	Jagdalpur	Govt.Higher	22153308667	5	5.15

Sl.						Recommendation		
No.	District	Block	Village	School Name	School Code	Phy	Fin in lakh	
				Secondary School Dharampura Jagdalpur				
68	Durg	Dhamdha	Pendrawan	Govt Higher Secondary School Pendrawan	22100603403	4	4.12	
69	Raipur	Dharshiwa	Mandhar	Govt Higher Sec.School Mandhar Basti	22110408616	4	4.12	
70	Dhamtari	Dhamtari	Demar	Government Higher Secondary School Demar	22133005607	3	3.09	
71	Rajnandgaon	Rajnandgaon	Somni	Govt. H.S.S. Somni	22091106207	3	3.09	
72	Bilaspur (Chhattisgarh)	Bilha	Semartal	Govt. H S S Semartal	22070303206	2	2.06	
73	Bilaspur (Chhattisgarh)	Takhatpur	Ghutku	Govt. H S S Ghutku	22072506020	4	4.12	
74	Raigarh (Chhattisgarh)	Sarangarh	Hardi	Govt Higher Secondary Hardi	22041610303	3	3.09	
75	Bilaspur (Chhattisgarh)	Takhatpur	Sakarra	Govt.H S S Sakarra	22072514608	3	3.09	
76	Mahasamund	Saraypali	Baloda	Govt.Higher Secondary School Baloda	22122517908	3	3.09	
77	Balod	Balod	Jhalmala	Govt. Higher Secondary School Jhalmala	22220110410	4	4.12	
78	Korba	Pondi-Uproda	Pondi- Uproda	Govt Higher Sec. School Pondi Uprora	22052303810	4	4.12	
79	Raipur	Arang	Bhansoj	Govt. Higher Secondary School Bhansoj	22112203506	4	4.12	
80	Baster	Bastar	Ghatlohanga	Govt Higher Secondary School Ghatlohanga	22151712107	4	4.12	
81	Durg	Patan	Marra	Govt. Higher Secondary School Marra	22101104105	4	4.12	
82	Kawardha	Bodla	Rajnavagaon	Govt. Higher Secondary School Rajanavagaon	22080106907	3	3.09	
83	Korba	Pali	Utarda	Govt Higher Secondary School Utarda	22051805708	3	3.09	
84	Balod	Gunderdehi	Kalangpur	Govt Higher Secondary School Kalangpur	22220800904	3	3.09	
85	Balod	Balod	Kannewada	Govt Higher Secondary School Kannewada	22220111102	4	4.12	
86	Balodabazar	Palari	Rohasi	Govt Higher Secondary School	22241806910	3	3.09	

Sl.						Recomn	nendation
No.	District	Block	Village	School Name	School Code	Phy	Fin in lakh
				Rohansi			
87	Kawardha	Sahaspur Lohara	Udiya Khurd	Govt.High School Udiya Khurd	22081201803	2	2.06
88	Korba	Kartala	Tuman	Govt Higher Secondary School Tuman (Kartala)	22050801507	2	2.06
89	Balodabazar	Bilaigarh	Jora	Govt Higher Secondary School Jora	22241009005	3	3.09
90	Mahasamund	Mahasamund	Nartora	Govt.Higher Secondary School Nartora	22122112405	2	2.06
91	Balod	Balod	Latabod	Govt. Higher Secondary School Latabod	22220104108	2	2.06
92	Raipur	Dharshiwa	Dumartarai	Govt. Higher Secondary School Late Shri Ram Sharma Dumartarai	22110414706	2	2.06
93	Kanker	Durgukondal	Durgukondal	Govt. Higher Secondary School Durgukondal	22142112108	3	3.09
94	Durg	Durg	Nikum	Govt Higher Secondary School Nikum	22100704812	3	3.09
95	Bilaspur (Chhattisgarh)	Takhatpur	Ganiyari	Govt. H S S Ganiyari	22072505509	3	3.09
96	Mahasamund	Basna	Garhfuljhar	Govt. Higher Secondary School Garhphuljhar	22122808505	2	2.06
97	Durg	Patan	Jamgaon R.	Govt. Higher Secondary School Jamgaon (Aar)	22101100208	2	2.06
98	Balodabazar	Bilaigarh	Pendrawan	Govt Higher Secondary School Pendrawan	22241015106	3	3.09
99	Balodabazar	Baloda Bazar	Karmada	Govt. Higher Secondary School Karmada	22242012509	3	3.09
100	Jashpur	Pathalgaon	Tamta	Govt. Higher Secondary School Tamta	22031301210	2	2.06
101	Korba	Pali	Pondi	Govt Higher Secondary School Pondi (Lafa)	22051812114	2	2.06
102	Rajnandgaon	Khairagarh	Padadah	Govt. H.S.S. Pandadah	22090801508	2	2.06
103	Raigarh (Chhattisgarh)	Dharamjaigar h	Chhal	Govt. Boys H.S.S. Chhal	22040302811	3	3.09
104	Surajpur	Surajpur	Kandrai	Govt.Higher Secondary School Kandrai	22271404311	2	2.06

Sl.						Recomn	nendation
No.	District	Block	Village	School Name	School Code	Phy	Fin in lakh
105	Balod	Daundi Lohara	Dudhali	Govt. Higher Secondary School Dudhali	22220504007	2	2.06
106	Raipur	Abhanpur	Khorpa	Govt. Higher Secondary School Khorpa	22110607410	2	2.06
107	Durg	Durg	Camp-1 Bhilai	Govt Higher Secondary School Camp 1 Bhilai	22100716031	2	2.06
108	Balodabazar	Bhatapara	Karhi Bazar	Govt Higher Secondary School Karhibazar	22240207803	3	3.09
109	Korba	Kartala	Sohagpur	Govt Higher Secondary School Sohagpur	22050809005	3	3.09
110	Balodabazar	Simga	Hirmi	Govt. Higher Secondary School Hirmi	22241607606	3	3.09
111	Raipur	Arang	Parsada (Umariya)	Govt Higher Secondary School Parsada	22112206907	3	3.09
112	Mahasamund	Mahasamund	Sher	Govt. Higher Secondary School Sher	22122124507	3	3.09
113	Raipur	Dharshiwa	Gudhiyari	Govt Higher Secondary School Gogawn	22110418530	4	4.12
114	Kondagaon	Pharasgaon	Borgaon	Govt. Higher Secondary School Borgaon	22172500610	2	2.06
115	Balodabazar	Palari	Jarwe	Govt Higher Secondary School Jarwe	22241801808	3	3.09
116	Bilaspur (Chhattisgarh)	Bilha	Hardi Kala	Govt. H S S Hardikala (Tona)	22070305808	2	2.06
117	Kawardha	Bodla	Bodla	Govt. Higher Secondary School Bodla	22080100316	1	1.03
118	Rajnandgaon	Rajnandgaon	Pateva	Govt. H.S.S. Pateva	22091113405	1	1.03
119	Balod	Daundi Lohara	Pinkapar	Govt. Higher Secondary School Pinkapar	22220514405	3	3.09
120	Raigarh (Chhattisgarh)	Sarangarh	Chhind	Govt Hss Chhind	22041614307	1	1.03
121	Kanker	Narharpur	Dudhawa	Govt. Higher Secondary School Dudhawa	22140708906	3	3.09
122	Raipur	Dharshiwa	Saragao	Govt. Higher Secondary School Saragaon	22110422408	2	2.06
123	Rajnandgaon	Chowki	Chilhati	Govt. H.S.S. Chilhati	22090204008	3	3.09
124	Dhamtari	Nagri	Kukrel	Government	22131313707	2	2.06

CI	Sl. B					Recomn	Recommendation		
No.	District	Block	Village	School Name	School Code	Phy	Fin in lakh		
				Higher Secondary School Kukrel					
125	Mahasamund	Mahasamund	Khatti	Govt.Higher Secondary School Khatti	22122119604	2	2.06		
126	Balodabazar	Simga	Damakheda	Govt. Higher Se. Sch. Damakheda	22241607905	1	1.03		
127	Jashpur	Farsabahar	Tapkara	Govt. Higher Secondary School Tapkara	22030505817	1	1.03		
128	Surajpur	Ramanujnagar	Bhuvaneshva rpur	Govt. Higher Secondary School Bhuwaneshwarpur	22271800308	3	3.09		
129	Balodabazar	Bilaigarh	Beltikari	Govt.Hss. Beltikari	22241001904	3	3.09		
130	Korba	Katghora	Chhuri	Govt Higher Secondary School Chhuri	22050900911	3	3.09		
131	Bilaspur (Chhattisgarh)	Bilha	Bharari	Govt. H S Bharari	22070310907	2	2.06		
132	Bemetara	Berla	Gondgiri	Govt Higher Secondary School Gondgiri	22230303907	3	3.09		
133	Bilaspur (Chhattisgarh)	Bilha	Sendri	Govt. H S S Sendari	22070300406	3	3.09		
134	Surajpur	Bhaiyathan	Batra	Govt. Higher Secondary School Batra	22271501618	2	2.06		
135	Bilaspur (Chhattisgarh)	Masturi	Pandhi	HSSGovt, Pandhi	22071512406	3	3.09		
136	Kanker	Bhanupratapp ur	Bhiragaon	Govt. Higher Secondary School Bhiragaon	22141811307	2	2.06		
137	Kawardha	Pandariya	Pandatarai	Govt. Higher Secondary School Pandatarai	22081307717	3	3.09		
138	Bemetara	Berla	Kusmi	Govt Higher Secondary School Kusmi	22230312208	3	3.09		
139	Balodabazar	Bilaigarh	Purgaon	Govt Higher Secondary School Purgaon	22241003007	3	3.09		
140	Janjgir - Champa	Bamhnindih	Jharna	Govt.Hr.Secondary School Jharna	22060407208	3	3.09		
141	Raipur	Dharshiwa	Nagar Panchayat Kunra	Govt Higher Secondary Kunra (Edu And Rmsa)	22110410715	4	4.12		
142	Bemetara	Berla	Deorbija	Govt Higher Secondary School Deorbija	22230304810	3	3.09		
143	Rajnandgaon	Dongargarh	Musra Kala	Govt. H.S.S. Musra	22090611207	2	2.06		
144	Korba	Katghora	Ranjana	Govt Higher Secondary School Ranjna	22050916604	2	2.06		

Sl.						Recomn	nendation
No.	District	Block	Village	School Name	School Code	Phy	Fin in lakh
145	Mahasamund	Mahasamund	Bhoring	Govt.Higher Secondary School Bhoring	22122110510	2	2.06
146	Balodabazar	Kasdol	Tundra	Govt Higher Secondary School Tundra	22241206314	2	2.06
147	Raipur	Abhanpur	Seoni	Govt. Higher Secondary School Seoni	22110612205	2	2.06
148	Balrampur	Wadrafnagar	Chalgali	Govt. Higher Secondary School Chalgali	22261107713	3	3.09
149	Bilaspur (Chhattisgarh)	Bilha	Bartori	Govt. H S S Bartori	22070316208	2	2.06
150	Surajpur	Surajpur	Kalyanpur	Govt.Higher Secondary School Kalyanpur	22271403107	3	3.09
151	Korba	Katghora	Bhilai Bazar	Govt Higher Sec.School Bhilai Bazar	22050905409	1	1.03
152	Mahasamund	Saraypali	Peikin	Govt.Higher Secondary School Paikin	22122510706	3	3.09
153	Durg	Dhamdha	Ahiwara	Govt Higher Secondary School Ahiwara	22100609211	2	2.06
154	Durg	Durg	Naya Khursipar	Govt P J N Higher Secondary School New Khursipar	22100718007	1	1.03
155	Surajpur	Ramanujnagar	Ganeshpur	Govt. Higher Secondary School Ganeshpur	22271806708	3	3.09
156	Janjgir - Champa	Pamgarh	Sasaha	Govt. Higher Secondary School Sasha	22061902012	2	2.06
157	Rajnandgaon	Rajnandgaon	Surgi	Govt. H.S.S. Surgi	22091109106	3	3.09
158	Bemetara	Bemetara	Jawari	Govt Higher Secondary School Jewari	22230201204	3	3.09
159	Raipur	Dharshiwa	Dondekala	Govt. Higher Secondary School Dondekala	22110413907	2	2.06
160	Mahasamund	Mahasamund	Bemcha	Govt Higher School Bemcha	22122120810	3	3.09
161	Janjgir - Champa	Nawagarh	Bhadesar	Govt. Higher Econdary School Bhadesar	22061704704	3	3.09
162	Baster	Bakawand	Mooli	Govt.Higher Secondary School Mooli	22152910408	3	3.09
163	Raipur	Arang	Godhi	Govt Higher Secondary School Godhi	22112218304	2	2.06

Sl.						Recomn	nendation
No.	District	Block	Village	School Name	School Code	Phy	Fin in lakh
164	Kondagaon	Pharasgaon	Lanjoda	Govt. Higher Secondary School Lanjoda	22172506214	2	2.06
165	Koriya	Khadgava	Podi Bachra	Govt Higher Secondary School Pondi Bachra	22012201507	3	3.09
166	Raipur	Dharshiwa	Mathpurena	Govt Higher Secondary School Mathpurena	22110406210	1	1.03
167	Baster	Bakawand	Karpawand	Govt. Higher Secondary School Karpawand	22152909905	2	2.06
168	Balodabazar	Palari	Sasaha	Govt Higher Secondray School Sasha	22241812408	3	3.09
169	Dhamtari	Kurud	Bhakhara	Government Bisahu Gour Higher Secondary School Bhakhara	22130302922	2	2.06
170	Raipur	Dharshiwa	Bhatgaon	Nagar Mata Binni Bai Sonkar Bhathagaon	22110417909	2	2.06
171	Balodabazar	Bhatapara	Singarpur	Govt Higher Secondary School Singarpur	22240205207	2	2.06
172	Bemetara	Berla	Kathiya	Govt Higher Secondary School Kathiya	22230305803	3	3.09
173	Kawardha	Pandariya	Damapur	Govt. Higher Secondary School Damapur	22081301807	3	3.09
174	Baster	Tokapal	Bade Morthpal	Govt Hss Bademorathpal	22152314303	2	2.06
175	Durg	Durg	Borai	Govt Higher Secondary School Borai	22100706807	3	3.09
176	Surguja	Udaipur	Salka	Govt. Higher Secondary School Salka	22020706506	2	2.06
177	Mahasamund	Mahasamund	Patewa	Govt.Higher Secondary School Patewa	22122124205	3	3.09
178	Balod	Daundi	Kusumkasa	Govt. Higher Secondary School Kusumkasa	22220408509	2	2.06
179	Bilaspur (Chhattisgarh)	Kota	Kargi Kala	Govt. Hr. Sec. School Kargikala	22071102709	3	3.09
180	Bemetara	Berla	Sarda	Govt Higher Secondary School Sarda	22230308405	2	2.06
181	Bilaspur (Chhattisgarh)	Takhatpur	Sakari	Govt. H S S Sakri	22072514514	3	3.09
182	Kawardha	Sahaspur	Rakse	Govt. Higher	22081204705	2	2.06

Sl.						Recommendation		
No.	District	Block	Village	School Name	School Code	Phy	Fin in lakh	
		Lohara		Secondary School Rakse				
183	Bilaspur (Chhattisgarh)	Masturi	Loharsi Soan	Govt H S S, Loharsi (Soan)	22071502210	3	3.09	
184	Kondagaon	Baderajpur	Baderajpur	Govt.Higher Secondary School Baderajpur	22171004814	3	3.09	
185	Balod	Daundi Lohara	Achholi	Govt. Higher Secondary School Achholi	22220501007	3	3.09	
186	Raipur	Tilda	Tarpongi	Govt. Higher Secondary Tarpongi	22110811607	3	3.09	
187	Kawardha	Kawardha	Pipariya	Govt. Boys Higher Secondary School Pipriya	22080707010	3	3.09	
188	Bemetara	Bemetara	Bawamohtar a	Govt Higher Secondary School Bawamohtara	22230207003	3	3.09	
189	Rajnandgaon	Rajnandgaon	Tedesara	Govt. H.S.S. Tedesara	22091107009	2	2.06	
190	Balrampur	Ramchandrap ur	Nawadih	Govt. Higher Secondary School Nawadih	22260908707	3	3.09	
191	Raipur	Dharshiwa	Parsatrai	Govt Hss Dau Posan Lal Parastarai	22110410204	3	3.09	
192	Surguja	Ambikapur	Mendrakala	Govt. Higher Secondary School Mendrakala	22020101710	3	3.09	
193	Mungeli	Mungeli	Kanteli	H S S Govt, Kanteli	22191603705	3	3.09	
194	Rajnandgaon	Dongargaon	Bijebhatha	Govt. H.S.S. Bijebhatha	22090500903	2	2.06	
195	Surguja	Udaipur	Dandgaov	Govt. Higher Secondary School Dandgaon	22020705609	2	2.06	
196	Korba	Korba	Kudurmal	Govt Higher Secondry School Kudurmal	22051011804	3	3.09	
197	Kawardha	Bodla	Pondi	Govt. Higher Secondary School Pondi	22080109612	3	3.09	
198	Durg	Durg	Nandkathi	Govt Higher Secondary School Nandkathi	22100708606	3	3.09	
199	Balrampur	Ramchandrap ur	Jamwantpur	Govt. Higher Secondary School Jamwantpur	22260910605	2	2.06	
200	Balrampur	Wadrafnagar	Sulsuli	Govt Higher Secondary Sulsuli	22261103809	3	3.09	
201	Kawardha	Bodla	Rengakhar Kala	Govt. Higher Secondary School Rengakhar Kala	22080110506	3	3.09	

Sl.						Recomn	nendation
No.	District	Block	Village	School Name	School Code	Phy	Fin in lakh
202	Rajnandgaon	Dongargarh	Murmunda	Govt. H.S.S. Murmunda	22090608405	3	3.09
203	Kawardha	Kawardha	Raveli	Govt. Shaheed Narendra Sharma Higher Secondary School Raveli	22080720605	3	3.09
204	Koriya	Sonhat	Katgodi	Govt. Higher Secondary School Katgodi	22012103408	2	2.06
205	Surguja	Lundra	Bargidih	Govt. Higher Secondary School Bargidih	22020509211	3	3.09
206	Bilaspur (Chhattisgarh)	Bilha	Lakhram	Govt. H S S Lakhram	22070308707	3	3.09
207	Mungeli	Lormi	Baiga Kapa	H S S Govt Baigakapa	22191204107	3	3.09
208	Surajpur	Surajpur	Basdei	Govt. Higher Secondary School Basdei	22271406711	3	3.09
209	Kawardha	Kawardha	Marka	Govt. Higher Secondary School Marka	22080708804	2	2.06
210	Balodabazar	Palari	Bhawanipur	Govt Higher Secondary School Bhawanipur	22241804704	3	3.09
211	Dhamtari	Kurud	Semra (S)	Government Higher Secondary School Semra (B)	22130316602	1	1.03
212	Kondagaon	Pharasgaon	Badedongar	Govt. Higher Secondary School Badedongar	22172509926	1	1.03
213	Korba	Kartala	Umreli	Govt Higher Secondary School Umreli	22050810405	2	2.06
214	Dhamtari	Kurud	Avire	Government Higher Secondary School Anwari	22130312010	2	2.06
215	Koriya	Bharatpur	Madisarai	Govt. Higher Secondary School Madisarai	22012405704	3	3.09
216	Janjgir - Champa	Baloda	Pantora	Govt.H.S.S.Pantora	22060204512	3	3.09
217	Kondagaon	Kondagaon	Dahikonga	Govt.Higher Secondry School Dahikonga	22172626709	2	2.06
218	Durg	Dhamdha	Dargaon	Govt Higher Secondary School Dargaon	22100613005	2	2.06
219	Raipur	Dharshiwa	Siltara	Govt Higher Secondary School Siltara (Edu And Rmsa)	22110412908	4	4.12
220	Surguja	Lakhanpur	Lahpatra	Govt. Higher	22020602606	3	3.09

Sl.						Recomn	nendation
No.	District	Block	Village	School Name	School Code	Phy	Fin in lakh
				Secondary School Lahpatra			
221	Balodabazar	Bhatapara	Tarenga	Govt Higher Secondary School Tarenga	22240206306	3	3.09
222	Balod	Daundi Lohara	Badgaon	Govt. Higher Secondary School Badgaon	22220513106	3	3.09
223	Dhamtari	Nagri	Saloni	Government Higher Secondary School Saloni	22131310611	2	2.06
224	Bemetara	Nawagarh	Sambalpur	Govt Higher Secondary School Sambalpur	22231011106	3	3.09
225	Surguja	Ambikapur	Parsa	Govt. Higher Secondary School Parsa	22020105709	3	3.09
226	Durg	Durg	Kachandur	Govt Higher Secondary School Jeora Sirsa	22100709010	2	2.06
227	Balodabazar	Palari	Datan (P)	Govt Higher Secondary School Datan(P)	22241803010	3	3.09
228	Dhamtari	Dhamtari	Risai Para Paschim Ward	Govt Natthuji Jagtap Nagar Palika Nigam Higher Sec. School	22133000606	3	3.09
229	Bilaspur (Chhattisgarh)	Bilha	Sarvani	Govt. H S S Sarvani	22070305703	3	3.09
230		Tokapal	Tokapal	Govt. Higher Secondary School Tokapal	22152300509	3	3.09
231	Durg	Durg	Karanja Bhilai	Govt Higher Secondary School Karanja Bhilai	22100708207	2	2.06
232	Balrampur	Ramchandrap ur	Dindo	Govt. Higher Secondary School Dindo	22260906107	3	3.09
233	Baster	Jagdalpur	Nagarnar	Govt. Higher Secondary School Nagarnar	22153305208	3	3.09
234	Bilaspur (Chhattisgarh)	Marwahi	Andi	Govt. H S S Andi	22071410506	3	3.09
235	Raigarh (Chhattisgarh)	Sarangarh	Jashpur	Govt H.S.S Jashpur	22041600806	3	3.09
236	Balodabazar	Kasdol	Pisid	Govt Higher Secondary School Pisid	22241216405	2	2.06
237	Raigarh (Chhattisgarh)	Pussore	Badebhandar	Govt Hss Bade Bhandar	22041409303	2	2.06
238	Balod	Daundi Lohara	Nahanda	Govt. Higher Secondary School Nahanda	22220512405	2	2.06

Sl.						Recomn	nendation
No.	District	Block	Village	School Name	School Code	Phy	Fin in lakh
239	Rajnandgaon	Dongargarh	Devkatta	Govt. H.S.S. Devkatta	22090611503	1	1.03
240	Balrampur	Kusmi	Chando	Govt Girls Higher Secondary School Chando	22261303310	1	1.03
241	Bilaspur (Chhattisgarh)	Bilha	Koni	Govt. H S S Koni	22070300208	2	2.06
242	Balodabazar	Bilaigarh	Dhobni	Govt Higher Secondary School Dhobni	22241005108	2	2.06
243	Balodabazar	Kasdol	Chandan	Govt Higher Secondary School Chandan	22241221805	2	2.06
244	Raipur	Abhanpur	Sakari	Govt Higher Secondary Sakari (Edu And Rmsa)	22110605304	3	3.09
245	Rajnandgaon	Rajnandgaon	Bhaisatara	Govt. H.S.S. Bhaisatara	22091112004	2	2.06
246	Bilaspur (Chhattisgarh)	Masturi	Tikari	Govt H S , Tikari	22071503307	1	1.03
247	Gariaband	Chhura	Panduka	Govt. Higher Secondary School Panduka	22250506506	2	2.06
248	Balodabazar	Palari	Lachanpur	Govt Higher Secondary School Lachhanpur	22241802405	1	1.03
249	Surguja	Udaipur	Khamhariya	Govt. Higher Secondary School Khamhariya	22020708608	2	2.06
250	Raipur	Dharshiwa	Tilaknagar	Govt. Higher Secondary School Tilak Ngar Gudhiyari	22110419005	2	2.06
251	Surajpur	Pratappur	Govindpur	Govt. Higher Secondary School Govindpur	22271706308	1	1.03
252	Balrampur	Balrampur	Davra	Govt. Higher Secondary School Davra	22261003406	2	2.06
253	Balodabazar	Simga	Nawapara	Govt. Higher Secondary School Navapara	22241611806	2	2.06
254	Raipur	Dharshiwa	Bhanpuri	Govt Kashi Ram Sharma Hss Bhanpuri	22110406133	1	1.03
255	Raigarh (Chhattisgarh)	Sarangarh	Kedar	Govt. H.S. Kedar	22041604804	2	2.06
256	Janjgir - Champa	Bamhnindih	Choriya	Govt.Higher Secondry School Choriya	22060405311	2	2.06
257	Bilaspur (Chhattisgarh)	Masturi	Eram Sahi	Govt Hss Eramsahi	22071503507	2	2.06
258	Mahasamund	Mahasamund	Sirpur	Govt.Higher	22122123611	1	1.03

Sl.						Recommendation		
No.	District	Block	Village	School Name	School Code	Phy	Fin in lakh	
				Secondary School Sirpur			iakii	
259	Mungeli	Patharia	Padiyain	H S Govt, Padiyain	22192104304	2	2.06	
260	Balodabazar	Bilaigarh	Nagarda	Govt Higher Secondary School Nagarda	22241008219	2	2.06	
261	Balrampur	Ramchandrap ur	Vijaynagar	Govt. Higher Secondary School Vijaynagar	22260909907	2	2.06	
262	Kawardha	Pandariya	Kui	Govt. Higher Secondary School Kukdur	22081315806	1	1.03	
263	Rajnandgaon	Churia	Chichola	Govt. H.S.S. Chichola	22090402504	2	2.06	
264	Bemetara	Nawagarh	Nandghat	Govt Higher Secondary School Nandghat	22231003704	1	1.03	
265	Durg	Durg	Baghera	Govt. Hr. Sec. School Baghera	22100709604	1	1.03	
266	Raipur	Abhanpur	Uparwara	Govt. Higher Secondary School Uparwara	22110604509	1	1.03	
267	Raipur	Arang	Amsena	Govt. Higher Secondary School Amsena	22112207106	2	2.06	
268	Koriya	Manendragarh	Nagpur	Govt Higher Secondary School Nagpur	22012316402	2	2.06	
269	Raipur	Arang	Khouli	Govt. Higher Secondary School Khouli	22112215306	2	2.06	
270	Mungeli	Patharia	Patharia	H S S Govt, Patharia	22192100226	2	2.06	
271	Gariaband	Mainpur	Mainpur	Govt. Higher Secondary School Mainpur	22252611613	2	2.06	
272	Kawardha	Sahaspur Lohara	Silhati	Govt. Higher Secondary School Silhati	22081221202	2	2.06	
273	Rajnandgaon	Rajnandgaon	Rajnandgaon 2	H.S.S. (Local) S.D.N.P.N. Rajnandgaon	22091118213	2	2.06	
274	Raigarh (Chhattisgarh)	Kharsia	Sondka	Govt. H.S.S. Sondka	22040913008	2	2.06	
275	Balod	Gurur	Kaneri	Govt Higher Secondary School Kaneri	22220907806	2	2.06	
276	Raigarh (Chhattisgarh)	Raigarh	Tarkela	Govt Hss Tarkela	22041513907	2	2.06	
277	Balodabazar	Baloda Bazar	Damru	Govt. Higher Secondary School Damru	22242005408	2	2.06	
278	Bemetara	Bemetara	Khandsara	Govt Higher	22230200105	1	1.03	

Sl.					Recomn	nendation	
No.	District	Block	Village	School Name	School Code	Phy	Fin in lakh
				Secondary School Khandsara			
279	Bilaspur (Chhattisgarh)	Takhatpur	Nevra	Govt.Hssnevra(Ed u)	22072511805	1	1.03
280	Surajpur	Surajpur	Karva	Govt.Higher Secondary School Karwan	22271411511	2	2.06
281	Koriya	Bharatpur	Janakpur	Govt. Boys Higher Secondary School Janakpur	22012407515	2	2.06
282	Balrampur	Rajpur	Parsagudi	Govt. Higher Secondary School Parsagudi	22260809106	2	2.06
283	Balod	Gurur	Purur	Govt Higher Secondary School Purur	22220908607	2	2.06
284	Balodabazar	Baloda Bazar	Arjuni	Govt Higher Secondary School Arjuni (Baloda Bazar )	22242010813	2	2.06
285	Raipur	Arang	Riwa	Govt. Mahatma Gandhi Higher Secondary School Riwa (Lakholi)	22112219306	2	2.06
286	Janjgir - Champa	Dabhara	Dhurkot	Govt. Higher Secondary Dhurkot (D)	22060501708	1	1.03
287	Rajnandgaon	Manpur	Bharritola	Govt. H.S.S. Bharritola	22090906009	2	2.06
288	Rajnandgaon	Rajnandgaon	Singhola	Govt. H.S.S. Singhola	22091115706	1	1.03
289	Mungeli	Mungeli	Dasharang Pur	Govt H S S Dashrangpur	22191614804	2	2.06
290	Janjgir - Champa	Baloda	Khisora	Govt. H.S.S. Khisora	22060201407	2	2.06
291	Bemetara	Nawagarh	Marro	Govt Higher Secondary School Maro	22231010007	2	2.06
292	Balodabazar	Simga	Mohbhatta	Govt. Higher Secondary School Mohbhatta	22241611706	2	2.06
293	Surajpur	Premnagar	Navaparakal a	Govt. Higher Secondary School Navaparakala	22271902210	1	1.03
294	Mungeli	Patharia	Baitalpur	H S S Govt, Baitalpur	22192112906	2	2.06
295	Jashpur	Kansabel	Dokda	Govt. Higher Secondary School Dokra	22030803717	1	1.03
296	Balodabazar	Palari	Amera	Govt Rajmahant Jagtu Sonwani Higher Secondary	22241800808	2	2.06

Sl.						Recomn	nendation
No.	District	Block	Village	School Name	School Code	Phy	Fin in lakh
				School Amera			
297	Bilaspur (Chhattisgarh)	Bilha	Sewar	Govt. H S S Sewar	22070306905	2	2.06
298	Durg	Dhamdha	Limtara	Govt Higher Secondary School Limtara	22100608804	1	1.03
299	Kawardha	Kawardha	Indori	Govt. Higher Secondary School Indori	22080712608	2	2.06
300	Balodabazar	Simga	Rohra	Govt. Higher Secondary School Rohra	22241605306	2	2.06
301	Balodabazar	Bhatapara	Dewari	Govt Higher Secondary School Deori	22240201406	2	2.06
302	Janjgir - Champa	Jaijaipur	Hasoud	Govt.Higher Secondry School Hasoud	22060707914	1	1.03
303	Durg	Dhamdha	Medesara	Govt Higher Secondary School Medesara	22100604406	2	2.06
304	Durg	Dhamdha	Barhapur	Govt Higher Secondary School Barhapur	22100610804	2	2.06
305	Durg	Dhamdha	Hirri	Govt Higher Secondary School Hirri	22100601203	2	2.06
306	Bemetara	Saja	Bortara	Govt Higher Secondary School Bortara	22231204403	2	2.06
	Total					830	854.9

## Annexure IV - K

List of Schools approved for CWSN Toilets (Secondary Level)

				Recomm	endation
Sl. No.	School Category	School Name	UDISE Code	Physical	Financial in lakh
1	10	Govt. Higher Secondary School Amadula	22220404708	1	1.03
2	10	Govt. Higher Secondary School Khalari	22220408004	1	1.03
3	10	Govt. Boys Higher Secondary School Daundi	22220409318	1	1.03
4	10	Govt. Higher Secondary School Badgaon	22220513106	1	1.03
5	10	Govt Higher Secondary School Chourel	22220806303	1	1.03
6	10	Govt Higher Secondary School Kachandur	22220807508	1	1.03
7	10	Govt Higher Secondary School Gorkhapar	22220808204	1	1.03
8	10	Govt Bharti Higher Secondary Schoolarjunda	22220811716	1	1.03
9	10	Govt Higher Secondary School Armarikala	22220901711	1	1.03

				Recomm	endation
Sl. No.	School Category	School Name	UDISE Code	Physical	Financial in lakh
10	10	Govt Higher Secondary School Fagundah	22220909705	1	1.03
11	8	Govt Secondary School Penderwani	22220912604	1	1.03
12	10	Govt. Highr Secondary School Lahod	22242008108	1	1.03
13	10	Govt. Higher Secondary School Karmada	22242012509	1	1.03
14	10	Govt Higher Secondary School Nipania	22240200403	1	1.03
15	10	Govt Higher Secondary School Deori	22240201406	1	1.03
16	10	Govt Higher Secondary School Jora	22241009005	1	1.03
17	10	Govt Higher Secondary School Malda	22241213004	1	1.03
18	10	Govt Higher Secondray School Sasha	22241812408	1	1.03
19	10	Govt Higher Secondary School Jaroud	22241609304	1	1.03
20	10	Govt. Higher Secondary School Maharajganj	22261006210	1	1.03
21	10	Govt. Higher Secondary School Samari	22261304610	1	1.03
22	10	Govt. Higher Secondary School Madguri	22261306807	1	1.03
23	8	Govt.High School Karamdiha (B)	22261113808	1	1.03
24	10	Govt. Higher Secondary School Tarapur	22152916005	1	1.03
25	8	Govt.Girls High School Kilepal	22153000409	1	1.03
26	10	Govt Higher Secondary School Salemeta	22151702212	1	1.03
27	10	Govt Higher Secondary School Karmari	22151716801	1	1.03
28	10	Govt. Higher Secondary School Kalcha	22153306504	1	1.03
29	10	Govt. Higher Secondary School Tokapal	22152300509	1	1.03
30	10	Govt Hss Potanar	22152315906	1	1.03
31	10	Govt Higher Secondary School Mau	22230203103	1	1.03
32	10	Govt Girls Higher Secondary School Bemetara	22230204222	1	1.03
33	10	Govt Higher Secondary School Bawamohtara	22230207003	1	1.03
34	10	Govt Higher Secondary School Rajamohgaon	22231207104	1	1.03
35	10	Govt Higher Secondary School Gadadih	22231209804	1	1.03
36	10	Govt. H.S.S. Bhopalpatnam	22203601028	1	1.03
37	10	Govt. Girls Higher Secondary School Naimed	22200614916	1	1.03
38	10	Govt. H S S Bhadi	22070303105	1	1.03
39	10	Govt. Hss Bijour	22070309404	1	1.03
40	10	Govt. H S Bharari	22070310907	1	1.03
41	10	Govt. H S S Girls Sarkanda Bilaspur	22070322609	1	1.03
42	10	Govt Hs Korja (Twd)	22070603008	1	1.03
43	10	Govt Hss Nevsa (Twd)	22070604006	1	1.03
44	10	Govt Hss Basti (Twd)	22070607904	1	1.03
45	8	Govt. High School Dhuma (Edu)	22071103006	1	1.03
46	10	Govt. Hr. Sec. School Upgraded Salka Navagaon	22071104608	1	1.03
47	10	Govt. Hr. Sec. School Pondi	22071104906	1	1.03

				Recomm	endation
Sl. No.	School Category	School Name	UDISE Code	Physical	Financial in lakh
48	10	Govt. Hr. Sec. School Majhgaon	22071105505	1	1.03
49	10	Govt. Hr. Sec. School Sees	22071120403	1	1.03
50	10	Govt. H S S , Khamhariya	22071500208	1	1.03
51	3	Pvt Dav Mukhyamanti Pucplic School Deorikhurd	22072504903	1	1.03
52	10	Govt. H S S Ganiyari	22072505509	1	1.03
53	10	Govt. Higher Secondary School Bhansi	22162210106	1	1.03
54	10	Government Higher Secondary School Gudguda	22130301804	1	1.03
55	10	Government Higher Secondary School Bagdehi	22130306805	1	1.03
56	10	Government Higher Secondary School Amlidih	22132701407	1	1.03
57	10	Government Higher Secondary School Farsiyan	22131311509	1	1.03
58	10	Govt Higher Secondary School Kanharpuri	22100612805	1	1.03
59	10	Govt Higher Secondary School Chandkhuri	22100703209	1	1.03
60	10	Govt Higher Secondary School Anda	22100703715	1	1.03
61	10	Govt Higher Secondary School Vinayakpur	22100703903	1	1.03
62	10	Govt. Hr Secondary School Urla	22100709111	1	1.03
63	10	Govt. Higher Secondary School Jamgaon (Aar)	22101100208	1	1.03
64	10	Govt. Girls Higher Secondary School Ranitarai	22101101108	1	1.03
65	8	Govt. Naveen Secondary School Khudmudi	22101105903	1	1.03
66	10	Govt. Higher Secondary School Sinapali	22251401104	1	1.03
67	10	Govt. Girls Higher Secondary School Rajim	22252305629	1	1.03
68	10	Govt. Higher Secondary School Indagaon	22252612805	1	1.03
69	10	Govt.Higher Secondary School Akaltara	22060100334	1	1.03
70	10	Govt. Higher Secondary School Hardi (Jarve)	22060109505	1	1.03
71	8	Govt.Girls High School Nariyara	22060110903	1	1.03
72	10	Govt.Hr.Secondary School Jharna	22060407208	1	1.03
73	8	Hs Govt Sarahar	22060408111	1	1.03
74	10	Govt High School Khondhar	22060510605	1	1.03
75	10	Govt High School Devarghata	22060511005	1	1.03
76	10	Govt Higher Secondry School Kashigarh	22060701008	1	1.03
77	10	Govt High School Salni	22060706307	1	1.03
78	10	Govt. Girls Higher Secondary School Adbhar	22061300116	1	1.03
79	10	Govt. Higher Secondary School Malkharoda	22061300413	1	1.03
80	10	Govt. Higher Secondary School Mohandikala	22061303504	1	1.03
81	10	Govt. Higher Secondary School Amoda	22061703227	1	1.03
82	10	Govt.Higher Secondary School Navagarh	22061707814	1	1.03

				Recomm	endation
Sl. No.	School Category	School Name	UDISE Code	Physical	Financial in lakh
83	10	Govt Higher Secondary School Tanod	22061902608	1	1.03
84	10	Govt. Higher Secondary School Khaira	22062409907	1	1.03
85	8	Govt High School Kamarima	22030105515	1	1.03
86	10	Govt. Higher Secondary School Bagicha	22030107519	1	1.03
87	10	Govt. Higher Secondary School Duldula	22030400223	1	1.03
88	10	Govt Higher Secondry School Kolhenjharia	22030501115	1	1.03
89	10	Govt. Higher Secondary School Tapkara	22030505817	1	1.03
90	10	Govt. Higher Secondary School Bataikela	22030800219	1	1.03
91	10	Govt. Boys Higher Secondary School Kansabel	22030802124	1	1.03
92	10	Govt. Higher Secondary School Barjor	22030804706	1	1.03
93	10	Govt. Higher Secondary School Keradih	22031002815	1	1.03
94	10	Govt. High School Sureshpur	22031300214	1	1.03
95	8	Govt Girls High School Kotba	22031309622	1	1.03
96	10	Govt. Higher Secondary School Parsatoli	22031310407	1	1.03
97	10	Govt. Higher Secondary School Kolar	22140305104	1	1.03
98	10	Govt. Higher Secondary School Tumasnaar	22140305705	1	1.03
99	10	Govt. Higher Secondary School Bondanaar	22140307804	1	1.03
100	10	Govt. Higher Secondary School Girls Antagarh	22140315324	1	1.03
101	10	Govt. Higher Secondary School Bhanupratappur	22141800421	1	1.03
102	10	Govt. Higher Secondary School Korar	22141803512	1	1.03
103	10	Govt. Higher Secondary School Salhe	22141813809	1	1.03
104	10	Govt. Higher Secondary School Halba	22142700308	1	1.03
105	10	Govt. Higher Secondary School Puri	22142700804	1	1.03
106	10	Govt. Higher Secondary School Kurrutola	22142712306	1	1.03
107	10	Govt. Higher Secondary School Kodagaon	22143212803	1	1.03
108	8	Govt. High School Surhi	22140705007	1	1.03
109	10	Govt. Higher Secondary School Basanwahi	22140722804	1	1.03
110	10	Govt. Higher Secondary School Singhari	22080101806	1	1.03
111	10	Govt. Higher Secondary School Chilpi	22080109809	1	1.03
112	8	Govt.Ghashedas High School Dharamgarh	22081211103	1	1.03
113	10	Govt.Higher Secondary School Eragaon	22171204223	1	1.03
114	10	Govt. Higher Seconry School Madanar	22172601005	1	1.03
115	10	Govt.Girls Higher Secondary School Sambalpur	22172604107	1	1.03
116	10	Govt.Higher Secondry School Masora	22172611208	1	1.03
117	10	Govt.High School Malgaon	22172624915	1	1.03
118	10	Govt.Higher Secondary School Mayurdongar	22172634402	1	1.03
119	8	Govt.High School Bawai	22172806106	1	1.03
120	10	Govt. Higher Secondary School Shankarpur	22172501406	1	1.03

				Recomm	endation
Sl. No.	School Category	School Name	UDISE Code	Physical	Financial in lakh
121	10	Govt Higher Secondary School Barpali	22050807212	1	1.03
122	10	Govt Higher Secondary School Sohagpur	22050809005	1	1.03
123	10	Govt Higher Sec.School Katghora(Boys)	22050900136	1	1.03
124	10	Govt Higher Secondary School Jamnipali	22050903410	1	1.03
125	10	Govt Higher Secondary School Kudmura	22051005911	1	1.03
126	10	Govt Higher Secondary School Gorhi	22051009909	1	1.03
127	10	Govt Higher Secondary School Sada Korba(Girls)	22051023901	1	1.03
128	8	Govt Secondary School J P Colony	22051028401	1	1.03
129	10	Govt Higher Secondary School Pipariya	22052312916	1	1.03
130	10	Govt Higher Secondary School Targava	22012011806	1	1.03
131	10	Govt. Higher Secondary School Madisarai	22012405704	1	1.03
132	10	Govt. Higher Secondary School Tamora	22120903704	1	1.03
133	10	Govt. Higher School Bodaridadar	22120905806	1	1.03
134	10	Govt. Higher Secondary School Mongrapali	22120921202	1	1.03
135	10	Govt. Higher Secondary School Kolihadevari	22122801804	1	1.03
136	10	Govt. High School Jewra	22122830202	1	1.03
137	8	Govt. Girls High School Jhalap	22122100118	1	1.03
138	10	Govt. Paduman Singh Higher Secondary School Garhseoni	22122110204	1	1.03
139	10	Govt. Higher Secondary School Bamhani	22121103506	1	1.03
140	10	Govt. Higher Secondary School Kauhakuda	22121104506	1	1.03
141	10	Govt. Higher Secondary School Sukhipali	22121109804	1	1.03
142	10	Govt. Higher Secondary School Bhurkoni	22121111105	1	1.03
143	8	Govt. High School Gopalpur	22121111705	1	1.03
144	10	Govt. Higher Secondary School Savitripur	22121113506	1	1.03
145	10	Govt. Higher Secondary School Kolda	22121113708	1	1.03
146	10	Govt. Higher Secondary School Gadbeda	22121116406	1	1.03
147	10	Govt. Higher Secondary School Badhaipali	22121125003	1	1.03
148	10	Hss Govt Dindori	22191225602	1	1.03
149	10	H S S Govt, Kanteli	22191603705	1	1.03
150	10	H S Govt, Daupara, Mungeli	22191604952	1	1.03
151	10	H S S Municipal, Mungeli	22191604953	1	1.03
152	10	Hssgovt.Siltara	22192101304	1	1.03
153	10	Govt Hss Kudekela	22040301311	1	1.03
154	10	Govt. Boys H.S.S. Chhal	22040302811	1	1.03
155	10	Govt. H.S.S. Gorpar	22040901003	1	1.03
156	10	Govt. H.S.S. Turekela	22040905905	1	1.03
157	10	Govt. H.S.S. Halahuli	22040909008	1	1.03
158	10	Govt. H.S.S. Mura	22040912305	1	1.03
159	10	Govt. H.S.S. Kharsia	22040913636	1	1.03
160	10	Govt Hss Lamdand	22041111207	1	1.03

		School Name		Recommendation	
Sl. No.	School Category		UDISE Code	Physical	Financial in lakh
161	10	Govt Hss Kirodimal Nagar	22041508910	1	1.03
162	10	Nagar Palik Nigam Hss Raigarh	22041515020	1	1.03
163	10	Govt Higher Secondary Bhedwan	22041603406	1	1.03
164	10	Govt. Higher Secondary School Tekari	22110611405	1	1.03
165	10	Govt. S.R. Banjare Higher Secondary School Kurru	22110611503	1	1.03
166	8	Govt. High School Kolar	22110614005	1	1.03
167	10	Govt. Hs School Matrisadan Mandirhasoud	22112201017	1	1.03
168	10	Govt Higher Secondary School Parsada	22112206907	1	1.03
169	10	Govt Higher Secondary School Rakhi	22112215803	1	1.03
170	10	Govt. Mahatma Gandhi Higher Secondary School Riwa (Lakholi)	22112219306	1	1.03
171	10	Govt. Hss Jagannath Rao Naidu Ravi Gram Raipur	22110408524	1	1.03
172	10	Nagar Nigam Hss Wrs Khamtarai	22110432006	1	1.03
173	10	Govt. Higher Secondary School Tandwa	22110803705	1	1.03
174	10	Govt. H.S.S. Atargaon	22090200906	1	1.03
175	10	Govt. H.S.S. Chilhati	22090204008	1	1.03
176	10	Govt. H.S.S. Amatola	22090208405	1	1.03
177	10	Govt. H.S.S. Atariya Road	22090311905	1	1.03
178	10	Govt. H.S.S. Bijebhatha	22090500903	1	1.03
179	10	Govt. H.S.S. Ramatola	22090602006	1	1.03
180	10	Govt. H.S.S. Musra	22090611207	1	1.03
181	10	Govt. H.S.S. Bharritola	22090906009	1	1.03
182	10	Govt. H.S.S. Khadgaon	22090907506	1	1.03
183	10	Govt. H.S.S. Gotatola	22091005407	1	1.03
184	10	Govt. H.S.S. Girls Mohla	22091005613	1	1.03
185	10	Govt. H.S.S. (Baldev Pd. Mishra) Basantpur Rajnandgaon	22091118211	1	1.03
186	10	Govt Higher Secondry School Kerlpal	22210201105	1	1.03
187	10	Govt. Higher Secondary School Sukma	22210204043	1	1.03
188	10	Govt, Higher Secondary Girls School Aghina Salka	22271501007	1	1.03
189	10	Govt. Higher Secondary School Boys Premnagar	22271900120	1	1.03
190	10	Govt. Higher Secondary School, Koteya	22271906305	1	1.03
191	10	Govt. Higher Secondary School, Mahgai	22271907607	1	1.03
192	10	Govt. Higher Secondary School Tiwaragudi	22271809014	1	1.03
193	10	Govt. Higher Secondary School Patrapali	22271810007	1	1.03
194	10	Govt. Higher Secondary School Mendrakala	22020101710	1	1.03
195	10	Govt Higher Secondary School Bhagwanpur	22020103407	1	1.03
196	8	Govt. High School Karra	22020106608	1	1.03
197	10	Govt.Multipurpose Higher Secondary School	22020110873	1	1.03

				Recommendation	
Sl. No.	School Category		UDISE Code	Physical	Financial in lakh
		Ambikapur			
198	10	Govt. Higher Secondary School Gandhinagar Ambikapur	22020110877	1	1.03
199	10	Govt. Higher Secondary School Boda	22020202408	1	1.03
200	10	Govt. Higher Secondary School Turna	22020606012	1	1.03
201	10	Govt Higher Secondary School Piperchhedi	22220108705	1	1.03
202	10	Govt. Higher Secondary School Chikhala Kasa	22220409607	1	1.03
203	10	Govt Higher Secondary School Kanwar	22220912705	1	1.03
204	10	Govt Higher Secondary School Singarpur	22240205207	1	1.03
205	10	Govt Higher Secondary School Boys Sarsivan	22241007517	1	1.03
206	10	Govt Rajmahant Jagtu Sonwani Higher Secondary School Amera	22241800808	1	1.03
207	10	Govt. Higher Secondary School Dhodharepal	22152902903	1	1.03
208	10	Govt Higher Secondary School Hasda	22230303305	1	1.03
209	10	Govt Higher Secondary School Bortara	22231204403	1	1.03
210	10	Govt. Higher Secondary School Nelasnar	22203106912	1	1.03
211	8	Govt. High School Gollaguda	22203602308	1	1.03
212	10	Govt. Hr. Sec. School Chapora	22071109405	1	1.03
213	10	Govt. H S S Darrighat	22071502508	1	1.03
214	10	Govt. H S S , Kodgar (Twd)	22072200605	1	1.03
215	10	Govt. H S S Multi., Pendra (Twd)	22072202632	1	1.03
216	10	Government Higher Secondary School Amdi	22133004118	1	1.03
217	10	Government Higher Secondary School Charmudiya	22130314401	1	1.03
218	10	Government Higher Secondary School Mandroud	22130314909	1	1.03
219	10	Government Higher Secondary School Saloni	22131310611	1	1.03
220	10	Govt Higher Secondary School Nikum	22100704812	1	1.03
221	10	Govt Higher Secondary School Karanja Bhilai	22100708207	1	1.03
222	10	Govt. Higher Secondary School Teligundra	22101102003	1	1.03
223	8	Govt. High School Latapara	22251413002	1	1.03
224	10	Govt. Devi Sampat Higher Secondary School Rajim	22252305628	1	1.03
225	10	Govt. Higher Secondary School Tilai	22060105811	1	1.03
226	10	Higher Govt Secondary School Tundri	22060511210	1	1.03
227	10	Govt. Higher Secondary School Faguram	22061304707	1	1.03
228	10	Govt. Model Higher Secondary School Sakti	22062400142	1	1.03
229	10	Govt. Higher Secondary School Nagarda	22062401908	1	1.03
230	10	Govt. Higher Secondary School Lavsara	22062405307	1	1.03

				Recommendation	
Sl. No.	School Category	School Name	UDISE Code	Physical	Financial in lakh
231	10	Govt. Higher Secondary School Masaniyakala	22062406204	1	1.03
232	10	Govt. Higher Secondary School Ragja	22062406505	1	1.03
233	10	Govt. Boys Higher Secondary School Pandripani	22030500418	1	1.03
234	10	Govt. Higher Secondary School Sambalpur	22141800109	1	1.03
235	10	Govt. Higher Secondary School Singarbhat	22143213208	1	1.03
236	10	Govt.Higher Secondary School Parond	22171000705	1	1.03
237	10	Govt. Higher Secondary School Harvel	22171006324	1	1.03
238	10	Govt. Higher Secondary School Bahigaon	22171201908	1	1.03
239	10	Govt. Higher Secondary School Hirri	22172508005	1	1.03
240	8	Govt High School Salka	22012001605	1	1.03
241	10	Govt. Higher Secondary School Kotadol	22012411706	1	1.03
242	10	Govt. Higher Secondary School Bichhiya	22122829303	1	1.03
243	10	Govt.Higher Secondary School Patewa	22122124205	1	1.03
244	10	Govt.Higher Secondary School Birkol	22122515905	1	1.03
245	10	Govt Hss Nawapara(Tenda)	22040603308	1	1.03
246	10	Govt Higher Secondary Chharratangar	22040604003	1	1.03
247	10	Govt Twd Hss Raikera	22040607006	1	1.03
248	10	Govt Hss Kodasiya	22041100811	1	1.03
249	10	Govt Hss Tarkela	22041513907	1	1.03
250	10	Govt. Higher Secondary School Manacamp	22110403115	1	1.03
251	10	Govt. H.S.S. Boys Dongargaon	22090504720	1	1.03
252	10	Govt. H.S.S. Charbhatha	22090604506	1	1.03
253	10	Govt. H.S.S. Boys P.P.B. Khairagarh	22090812629	1	1.03
254	10	Govt. Higher Secondary School Majeera	22271415403	1	1.03
255	10	Govt Higher Secondary School Asnid	22241210004	1	1.03
256	10	Govt.Girls Higher Secondary School Lohandiguda	22152402409	1	1.03
257	10	Govt. Higher Secondary School Kutru	22203120902	1	1.03
258	10	Govt.Higher Secondary School Madded	22203600520	1	1.03
259	10	Govt. Girls H.S.S. Bijapur	22200600431	1	1.03
260	10	Govt. Higher Secondary School Bijapur	22200600432	1	1.03
261	3	Pvt. Dav Mukhya Matri Public School Kumhari	22071409405	1	1.03
262	10	Govt H.S. S. Amadand (Twd)	22072204306	1	1.03
263	10	Government Higher Secondary School Belargaon	22131308911	1	1.03
264	10	Government Higher Secondary School Amgaon	22131309203	1	1.03
265	10	Govt.High School Bhojpur (Champa)	22060400261	1	1.03
266	10	Govt. Higher Secondary School Lodam	22030700126	1	1.03
267	10	Govt. Higher Secondary School Sekharpur	22031303707	1	1.03

				Recommendation		
Sl. No.	School Category	School Name	UDISE Code	Physical	Financial in lakh	
268	10	Govt. Higher Secondary School Gondahur	22140134402	1	1.03	
269	10	Govt. Girls Higher Secondary School Pandariya	22081300129	1	1.03	
270	10	Govt. Higher Secondary School Damapur	22081301807	1	1.03	
271	10	Govt.Higher Secondary School Bunagaon	22172609706	1	1.03	
272	10	Govt. Higher Secondary School Karanjee Kokodi	22172620104	1	1.03	
273	10	Govt Higher Sevondary School Doman Hill	22012210812	1	1.03	
274	8	Govt.High School Achhola	22122110306	1	1.03	
275	10	Govt.Higher Secondary School Birkoni	22122112504	1	1.03	
276	10	Govt. Higher Secondary School Ghonch	22121117606	1	1.03	
277	10	H S S Govt, Kotri	22191212604	1	1.03	
278	10	H S S Govt, Semarsal	22191217503	1	1.03	
279	10	Govt Hss Kudumkela	22040601714	1	1.03	
280	10	Govt Hss Jatri	22041407006	1	1.03	
281	10	Govt Higher Secondary Hardi	22041610303	1	1.03	
282	10	Govt. Higher Secondary School Parsada	22110601209	1	1.03	
283	10	Govt. Higher Secondary School Kosrangi	22112202009	1	1.03	
284	10	Govt.Higher Secondary School Girls Surajpur	22271403921	1	1.03	
285	10	Govt. Higher Secondary School Gersa	22020301507	1	1.03	
286	10	Govt Girls Higher Secondary School Balod	22220100228	1	1.03	
287	10	Govt Higher Secondary School Lawan	22242009218	1	1.03	
288	10	Govt Higher Secondary School Gatadih	22241019707	1	1.03	
289	10	Govt. Higher Secondary School Hathbandh	22241602009	1	1.03	
290	10	Govt. Higher Secondary School Kuakonda	22161917506	1	1.03	
291	10	Government Girls Higher Secondary School Nagri	22131309545	1	1.03	
292	10	Govt Higher Secondary School Pendrawan	22100603403	1	1.03	
293	10	Govt. Higher Secondary School Marra	22101104105	1	1.03	
294	10	Govt. Mahamaya Higher Secondary School Pamgarh	22061906027	1	1.03	
295	10	Govt. Higher Secondary School Bargaon	22030710109	1	1.03	
296	10	Govt. Higher Secondary School Bharritola	22142702103	1	1.03	
297	10	Govt. Higher Secondary School Pandripani	22142709103	1	1.03	
298	10	Govt. Higher Secondry School Arandi	22171203413	1	1.03	
299	10	Govt.Higher Secondery School Barkai	22172804708	1	1.03	
300	10	Govt. Higher Secondary School Deori	22120904707	1	1.03	
301	10	Govt. Higher Secondary School Komakhan	22120917711	1	1.03	
302	10	Govt. H.S.S. Khamhar	22040310006	1	1.03	
303	10	Govt Jagannath Rao Dani Girls Hss Raipur	22110411928	1	1.03	
304	10	Govt. H.S.S. Sundra	22091108603	1	1.03	
305	10	Govt. Higher Secondary School Kandrai	22271404311	1	1.03	

		School Name		Recomm	endation
Sl. No.	School Category		UDISE Code	Physical	Financial in lakh
306	10	Govt. Higher Secondary School Belhari	22101106307	1	1.03
307	10	Govt.Girls Higher Secondary School Champa	22060400258	1	1.03
308	10	Govt. Higher Secondary School Dabhara	22060504219	1	1.03
309	10	Govt.Higher Secondary School Bijapur	22172802406	1	1.03
310	10	Govt Girls Hss Sariya	22040213123	1	1.03
311	10	Govt Hss Chhichhour Umaria	22041411603	1	1.03
312	10	Govt. Girls Hss. Mayaram Surjan Choubey Colony	22110431411	1	1.03
313	10	Govt. Higher Secondary School Davra	22261003406	1	1.03
314	10	Govt.Higher Secondary School Balond	22172800509	1	1.03
315	10	Govt. Higher Secondary School Garhphuljhar	22122808505	1	1.03
316	10	Govt Higher Secondary School Baya	22241217905	1	1.03
317	10	Govt. Higher Secondary School Chhapora	22061305108	1	1.03
318	10	Govt.Girls Higher Secondary School Kondagaon	22172613614	1	1.03
319	10	Govt. Girls H.S.S. Bhopalpatnam	22203601029	1	1.03
320	10	Govt. H S S Bartori	22070316208	1	1.03
321	10	Govt. Girls Higher Secondary School, Mahasamund	22122102461	1	1.03
322	10	Govt Higher Secondary School Senduras	22241010803	1	1.03
323	8	Govt. High School Pondi	22271807207	1	1.03
324	10	Govt Hss Bade Bhandar	22041409303	1	1.03
		Total		324	333.72

Annexure IV - L List of Schools approved for Ramps (Secondary Level)

Sl.	School			Recomm	endation
No.	Category	School Name	UDISE Code	Physical	Financial in lakh
1	10	Govt Higher Secondary School Pondi	22220100903	1	0.25
2	10	Govt. Higher Secondary School Latabod	22220104108	1	0.25
3	10	Govt. Higher Secondary School Surdongar	22220403806	1	0.25
4	10	Govt. Higher Secondary School Kumudkatta	22220408204	1	0.25
5	10	Govt. Higher Secondary School Kusumkasa	22220408509	1	0.25
6	10	Govt. Higher Secondary School Daundi Lohara	22220500110	1	0.25
7	10	Govt. Girls Higher Secondary School Daundi Lohara	22220500111	1	0.25
8	10	Govt. Higher Secondary School Tatenga	22220502905	1	0.25
9	10	Govt. Higher Secondary School Sahgaon	22220505003	1	0.25

Sl.	School			Recomm	endation
No.	Category	School Name	UDISE Code	Physical	Financial in lakh
10	10	Govt. Higher Secondary School Arajpuri	22220507003	1	0.25
11	10	Govt. Higher Secondary School Ranakhujji	22220508703	1	0.25
12	10	Govt. Higher Secondary School Badgaon	22220513106	1	0.25
13	10	Govt. Higher Sec. School Rengadabri	22220515405	1	0.25
14	10	Govt. Higher Secondary School Mangchuwa	22220516903	1	0.25
15	10	Govt Higher Secondary School Kachandur	22220807508	1	0.25
16	10	Govt Higher Secondary School Gorkhapar	22220808204	1	0.25
17	10	Govt Secondary School Dundera	22220812503	1	0.25
18	10	Govt Higher Secondary School Badbhum	22220900105	1	0.25
19	10	Govt Higher Secondary School Armarikala	22220901711	1	0.25
20	10	Govt Higher Secondary School Dhaneli	22220902403	1	0.25
21	10	Govt Higher Secondary School Purur	22220908607	1	0.25
22	8	Govt Secondary School Penderwani	22220912604	1	0.25
23	10	Govt. Higher Secondary School Raseda	22242000106	1	0.25
24	10	Govt Higher Secondry School Kohrod	22242004404	1	0.25
25	10	Govt. Higher Secondary School Damru	22242005408	1	0.25
26	10	Govt. Highr Secondary School Lahod	22242008108	1	0.25
27	10	Govt Higher Secondary School Lawan	22242009218	1	0.25
28	10	Govt. Higher Secondary School Karmada	22242012509	1	0.25
29	10	Govt.Pt Laxmiprasad Tiwari Higher Secondary School Baloda Bazar	22242014513	1	0.25
30	10	Govt Shivlal Mehta Higher Secondary School Bhatapara	22240204251	1	0.25
31	10	Govt Multi Purpose Higher Secondary School Bhatapara	22240204253	1	0.25
32	10	Govt Higher Secondary School Bilaigarh	22241011410	1	0.25
33	10	Govt Higher Secondary School Balpur	22241018908	1	0.25
34	10	Govt Higher Secondary School Malda	22241213004	1	0.25
35	10	Govt Higher Secondary School Gidpuri	22241809105	1	0.25
36	10	Govt Higher Secondary School Guma	22241809803	1	0.25
37	10	Govt. Higher Secondary School Hathbandh	22241602009	1	0.25
38	10	Govt Higher Secondary School Kesda	22241603305	1	0.25
39	10	Govt. Higher Secondary School Balak Simga	22241606031	1	0.25
40	10	Govt Higher Secondary School Jaroud	22241609304	1	0.25
41	10	Govt Higher Secondary School Navagaon	22241612603	1	0.25
42	10	Govt. Higher Secondary School Davra	22261003406	1	0.25
43	10	Govt. Higher Secondary School Maharajganj	22261006210	1	0.25
44	10	Govt. Higher Secondary School Madguri	22261306807	1	0.25
45	10	Govt Higher Secondary School Rajpur	22260804730	1	0.25
46	10	Govt Higher Secondary School Jigdi	22260806707	1	0.25
47	10	Govt. Higher Secondary School Bariyo	22260808709	1	0.25

Sl.	School			Recomm	endation
No.	Category	School Name	UDISE Code	Physical	Financial in lakh
48	8	Govt.High School Gaina	22261109807	1	0.25
49	10	Govt. Higher Secondary School Sargipal	22152903506	1	0.25
50	10	Govt. Higher Secondary School Karitgaon	22152905406	1	0.25
51	10	Govt. Higher Secondary School Jaibel	22152914710	1	0.25
52	10	Govt. Higher Secondary School Tarapur	22152916005	1	0.25
53	10	Govt Higher Secondary School Kungarpal	22151700907	1	0.25
54	10	Govt Higher Secondary School Salemeta	22151702212	1	0.25
55	8	Govt High School Ichchapur	22151705408	1	0.25
56	11	Govt Higher Secondary School Ichchapur	22151705409	1	0.25
57	10	Govt Higher Secondary School Karmari	22151716801	1	0.25
58	10	Govt.H.School Bhagatsingh Jagdalpur	22153302610	1	0.25
59	10	Govt. Higher Secondary School Madpal	22153305506	1	0.25
60	10	Govt Girls Higher Secondary School No. 2	22153308642	1	0.25
61	10	Govt.H.S.Railwaycolonyjagdalpur	22153323104	1	0.25
62	10	Govt.Higher Secondary School Lohandiguda	22152402410	1	0.25
63	10	Govt.Higher Secondry School Binta	22152406108	1	0.25
64	10	Govt. Higher Secondary School Tokapal	22152300509	1	0.25
65	10	Govt Higher Secondry School Keshloor	22152300713	1	0.25
66	10	Govt Hss Bademorathpal	22152314303	1	0.25
67	10	Govt Hss Potanar	22152315906	1	0.25
68	8	Govt Secondary School Khamhi	22230202704	1	0.25
69	10	Govt Higher Secondary School Mau	22230203103	1	0.25
70	10	Govt Higher Secondary School Pachbhaiya	22230205104	1	0.25
71	10	Govt Girls Higher Secondary School Berla	22230307813	1	0.25
		Govt Boys Higher Secondary School		4	
72	10	Nawagarh	22231008623	1	0.25
73	10	Govt Higher Secondary School Kongiyakala	22231204904	1	0.25
74	10	Govt Higher Secondary School Thelka	22231205205	1	0.25
75	10	Govt Higher Secondary School Rajamohgaon	22231207104	1	0.25
76	10	Govt Higher Secondary School Gadadih	22231209804	1	0.25
77	10	Govt Higher Secondary School Parpodi	22231211008	1	0.25
78	10	Govt. Higher Secondary School Nelasnar	22203106912	1	0.25
79	8	Govt. High School Koshalnar	22203113508	1	0.25
80	10	Govt.Higher Secondary School Madded	22203600520	1	0.25
81	10	Govt. H.S.S. Bhopalpatnam	22203601028	1	0.25
82	10	Govt. High Sec. School Pamgal	22203601308	1	0.25
83	10	Govt. Girls H.S.S. Bijapur	22200600431	1	0.25
84	10	Govt. Higher Secondary School Cherpal	22200601317	1	0.25
85	10	Govt. H S S Karma	22070301608	1	0.25
86	10	Govt. H S S Semartal	22070303206	1	0.25
87	10	Govt. Hss Bijour	22070309404	1	0.25
88	10	Govt. H S S Chakarbhatha	22070312810	1	0.25
89	10	Govt. Hs Pounsari	22070315904	1	0.25
90	10	Govt. H S S Girls Maharani Laxmi Bai,	22070325705	1	0.25

Sl.	School			Recommendation	
No.	Category	School Name	UDISE Code	Physical	Financial in lakh
		Dayalband, Bilaspur			
91	10	Govt Hs Korja (Twd)	22070603008	1	0.25
92	10	Govt Hss Basti (Twd)	22070607904	1	0.25
93	3	Pvt. Dav Mp School Gobripaat	22071100204	1	0.25
94	8	Govt. High School Dhuma (Edu)	22071103006	1	0.25
95	10	Govt. Hr. Sec. School Pondi	22071104906	1	0.25
96	10	Govt. Hr. Sec. School Ranigaon	22071116107	1	0.25
97	10	Govt. Hr. Sec. School Sees	22071120403	1	0.25
98	8	Govt. H S Upgraded Rumga	22071406708	1	0.25
99	3	Pvt. Dav Mukhya Matri Public School Kumhari	22071409405	1	0.25
100	10	Govt. Hs Girls Seepat	22071509013	1	0.25
101	10	Govt Hss Bhatchaura	22071514407	1	0.25
102	3	Pvt Dav Mukhyamanti Pucplic School Deorikhurd	22072504903	1	0.25
103	10	Govt Hs.Uslapur(Sakri)	22072516906	1	0.25
104	10	Govt. Higher Secondary School Bhansi	22162210106	1	0.25
105	8	Govt. High School Samloor	22160802708	1	0.25
106	6	Govt.Pota Caibin High School Dhanikarka	22161507503	1	0.25
107	10	Govt. Girls Higher Secondary School Kirandul	22161905714	1	0.25
108	10	Govt. Higher Secondary School Kodenar- 2	22161910304	1	0.25
109	10	Govt Natthuji Jagtap Nagar Palika Nigam Higher Sec. School	22133000606	1	0.25
110	6	Govt. Balika Shrawan Badhitarth Dhamtari	22133001003	1	0.25
111	10	Government Higher Secondary School Kharenga	22133003507	1	0.25
112	10	Government Higher Secondary School Bhothli	22133008507	1	0.25
113	10	Government Higher Secondry School Mujgahan Dhamtari	22133010006	1	0.25
114	10	Government Higher Secondary School Seonikala	22130300805	1	0.25
115	10	Government Higher Secondry School Sankari	22130301606	1	0.25
116	10	Government Higher Secondary School Gudguda	22130301804	1	0.25
117	10	Govt. Higher Secondary School Rampur	22130302004	1	0.25
118	10	Government Higher Secondry School Bhendra	22130303205	1	0.25
119	10	Government Higher Secondary School Charra	22130304904	1	0.25
120	10	Government Higher Secondary School Thuha	22130310706	1	0.25
121	10	Government Higher Secondary School Anwari	22130312010	1	0.25

Sl.	School	1		Recommendation		
No.	Category	School Name	UDISE Code	Physical	Financial in lakh	
122	10	Government Higher Secondary School Semra (B)	22130316602	1	0.25	
123	10	Government Higher Secondary School Amlidih	22132701407	1	0.25	
124	10	Government Higher Secondary School Mohera	22132705206	1	0.25	
125	10	Government Higher Secondary School Bhothidih	22132708505	1	0.25	
126	10	Government Higher Secondary School Birgudi	22131302505	1	0.25	
127	10	Govt. Higher Secondary School Risgaon	22131304403	1	0.25	
128	8	Government High School Kaspur	22131307410	1	0.25	
129	10	Government Higher Secondary School Sankra	22131308116	1	0.25	
130	10	Government Higher Secondary School Amgaon	22131309203	1	0.25	
131	10	Government Higher Secondary School Kukrel	22131313707	1	0.25	
132	10	Government Higher Secondary School Dugli	22131326610	1	0.25	
133	10	Govt Higher Secondary School Jarway	22100605305	1	0.25	
134	10	Govt Higher Secondary School Godhi	22100608006	1	0.25	
135	10	Govt Higher Secondary School Kanharpuri	22100612805	1	0.25	
136	10	Govt Higher Secondary School Utai	22100701121	1	0.25	
137	10	Govt Higher Secondry School Pauwara	22100702303	1	0.25	
138	10	Govt Higher Secondary School Chandkhuri	22100703209	1	0.25	
139	10	Govt Higher Secondary School Vinayakpur	22100703903	1	0.25	
140	10	Govt Higher Secondary School Nikum	22100704812	1	0.25	
141	10	Govt Higher Secondary School Rasmada	22100706013	1	0.25	
142	10	Govt Higher Secondary School Borai	22100706807	1	0.25	
143	10	Govt Higher Secondary School Nandkathi	22100708606	1	0.25	
144	10	Govt. Hr Secondary School Urla	22100709111	1	0.25	
145	10	Govt Adarsh Girls Higher Secondary School Durg	22100711638	1	0.25	
146	10	Govt Mahatma Gandhi Higher Secondary School Durg (Local Govt.)	22100711639	1	0.25	
147	10	Govt Secondary School Takiya Para Durg	22100712903	1	0.25	
148	10	Govt. Hr. Sec. School Ramnagar Muktidham	22100715021	1	0.25	
149	10	Govt Higher Secondary School Kurud Bhilai	22100715210	1	0.25	
150	10	Govt. Higher Sec. School Sector- 6, Bhilai	22100721514	1	0.25	
151	10	Govt Girls Higher Secondary School Patan	22101100127	1	0.25	
152	10	Govt. Higher Secondary School Jamgaon (Aar)	22101100208	1	0.25	

Sl.	School	ool		Recommendation	
No.	Category	School Name	UDISE Code	Physical	Financial in lakh
153	10	Govt. Higher Secondary School Teligundra	22101102003	1	0.25
154	10	Govt. Higher Secondary School Gondpendri	22101102905	1	0.25
155	8	Govt. Secondary School Gabdi	22101108803	1	0.25
156	10	Govt. Higher Secondary School Patshivani	22250500102	1	0.25
157	10	Govt. Higher Secondry School Madagaon	22251403708	1	0.25
158	8	Govt. High School Latapara	22251413002	1	0.25
159	10	Govt. Higher Secondary School Jamgaon	22252302204	1	0.25
160	10	Govt. Girls Higher Secondary School Rajim	22252305629	1	0.25
161	10	Govt. Higher Secondary School Amora	22060104107	1	0.25
162	10	Govt. Higher Secondary School Sonsari	22060105606	1	0.25
163	10	Govt. Higher Secondary School Hardi (Jarve)	22060109505	1	0.25
164	8	Govt.Girls High School Nariyara	22060110903	1	0.25
165	10	Govt. Higher Secoundary School Nariyara	22060110904	1	0.25
166	10	Govt.H.S.S. Jarve(B)	22060205310	1	0.25
167	10	Govt.Girls Higher Secondary School Champa	22060400258	1	0.25
168	10	Govt.Boys Higher Secondary School Champa	22060400259	1	0.25
169	10	Govt.High School Bhojpur (Champa)	22060400261	1	0.25
170	10	Govt. Dds .Higher Secondary School Birra	22060400511	1	0.25
171	10	Govt. Higher Secondary School Bamhanidih	22060403411	1	0.25
172	10	Govt.Hr.Secondary School Jharna	22060407208	1	0.25
173	8	Hs Govt Sarahar	22060408111	1	0.25
174	10	Govt High School Chandali	22060500904	1	0.25
175	10	Govt. Higher Secondary School Dabhara	22060504219	1	0.25
176	10	Govt High School Reda	22060506405	1	0.25
177	10	Govt Higher Secondary School Kirari (D)	22060507912	1	0.25
178	10	Govt Higher Secondary School Madawa	22060509505	1	0.25
179	10	Govt High School Khondhar	22060510605	1	0.25
180	10	Govt High School Devarghata	22060511005	1	0.25
181	10	Govt High School Sakrali (D)	22060514009	1	0.25
182	10	Govt Higher Secondry School Kashigarh	22060701008	1	0.25
183	10	Govt.Higher Secondary School Thathari	22060701214	1	0.25
184	10	Govt.Higher Secondry School Akalsara	22060701806	1	0.25
185	10	Govt Higher Secondry School Nandeli	22060702506	1	0.25
186	8	Govt High School Jamadi	22060704405	1	0.25
187	10	Govt High School Salni	22060706307	1	0.25
188	10	Govt.Higher Secondry School Pendri	22060708306	1	0.25
189	10	Govt. Girls Higher Secondary School Adbhar	22061300116	1	0.25
190	10	Govt. Higher Secondary School Baderabeli	22061300309	1	0.25

Sl.	Cahool	School		Recommendation		
No.	Category	School Name	UDISE Code	Physical	Financial in lakh	
191	10	Govt. Higher Secondary School Malkharoda	22061300413	1	0.25	
192	10	Govt. Higher Secondary School Adil	22061303305	1	0.25	
193	10	Govt. Higher Secondary School Mohandikala	22061303504	1	0.25	
194	10	Govt. Higher Secondary School Amoda	22061703227	1	0.25	
195	10	Govt. Higher Econdary School Bhadesar	22061704704	1	0.25	
196	10	Govt. Higher Secondary School Kera	22061707107	1	0.25	
197	10	Govt. Higher Secondary School Misda	22061707409	1	0.25	
198	10	Govt.Higher Secondary School Navagarh	22061707814	1	0.25	
199	10	Govt. Higher Secondary School Kutighat	22061900303	1	0.25	
200	10	Govt Higher Secondary School Tanod	22061902608	1	0.25	
201	10	Govt. Higher Scondary School Rahod	22061902715	1	0.25	
202	8	Govt. High School Kaserpara Sakti	22062400141	1	0.25	
203	8	Govt. High School Stationpara Sakti	22062400143	1	0.25	
204	10	Govt. Higher Secondary School Nagarda	22062401908	1	0.25	
205	10	Govt. Higher Secondary School Lavsara	22062405307	1	0.25	
206	10	Govt. Higher Secondary School Masaniyakala	22062406204	1	0.25	
207	8	Govt. High School Champa	22030100614	1	0.25	
208	8	Govt High School Kamarima	22030105515	1	0.25	
209	10	Govt. Higher Secondary School Bagicha	22030107519	1	0.25	
210	8	Govt. High School Tatkela	22030110804	1	0.25	
211	10	Govt. Higher Secondary School Mahadeodand	22030113117	1	0.25	
212	10	Govt. Higher Secondary School Duldula	22030400223	1	0.25	
213	8	Govt. High School Patratoli	22030400709	1	0.25	
214	10	Govt. Girls Higher Secondary School Pandripani	22030500417	1	0.25	
215	10	Govt. Boys Higher Secondary School Pandripani	22030500418	1	0.25	
216	10	Govt Higher Secondry School Kolhenjharia	22030501115	1	0.25	
217	10	Govt. Higher Secondary School Ganjhiyadih	22030508607	1	0.25	
218	8	Govt High School Singibahar	22030512107	1	0.25	
219	10	Govt. M.L.B. Girls Higher Secondary School Jashpur	22030704949	1	0.25	
220	10	Govt. Naveen Adarsh Higher Secondary School Jashpur	22030704950	1	0.25	
221	10	Govt. Higher Secondary School Bargaon	22030710109	1	0.25	
222	10	Govt. Higher Secondary School Bataikela	22030800219	1	0.25	
223	3	Pvt. D.A.V. Mukhyamantri Public School Kansabel	22030802122	1	0.25	
224	10	Govt. Boys Higher Secondary School Kansabel	22030802124	1	0.25	
225	8	Govt. H Igh School Tangargaon	22030804309	1	0.25	
226	10	Govt. Higher Secondary School Basantala	22031000907	1	0.25	

Sl.	School			Recommendation	
No.	Category	School Name	UDISE Code	Physical	Financial in lakh
227	10	Govt. Higher Secondary School Keradih	22031002815	1	0.25
228	10	Govt. Higher Secondary School Kaliba	22031004512	1	0.25
229	8	Govt High School Lodhma	22031004910	1	0.25
230	10	Govt. Higher Secondary School Bandarchunwa	22031008218	1	0.25
231	8	Govt High School Baherna	22031200511	1	0.25
232	8	Govt High School Sogda	22031206607	1	0.25
233	8	Govt High School Shaila	22031207803	1	0.25
234	10	Govt. High School Sureshpur	22031300214	1	0.25
235	10	Govt. Higher Secondary School Ludeg	22031305621	1	0.25
236	10	Govt. Higher Secondary School Chiknipani	22031307109	1	0.25
237	8	Govt. High School Khutapani	22031308505	1	0.25
238	8	Govt Girls High School Kotba	22031309622	1	0.25
239	10	Govt. Higher Secondary School Parsatoli	22031310407	1	0.25
240	10	Govt. Higher Secondary School Tadoki	22140304304	1	0.25
241	10	Govt. Higher Secondary School Tumasnaar	22140305705	1	0.25
242	10	Govt. Higher Secondary School Bondanaar	22140307804	1	0.25
243	10	Govt. Higher Secondary School Kodagaon	22140309703	1	0.25
244	10	Govt. Higher Secondary School Antagarh	22140315323	1	0.25
245	10	Govt. Higher Secondary School Girls Antagarh	22140315324	1	0.25
246	10	Govt. Higher Secondary School Sambalpur	22141800109	1	0.25
247	10	Govt. Higher Secondary School Bhanupratappur	22141800421	1	0.25
248	10	Govt. Higher Secondary School Korar	22141803512	1	0.25
249	10	Govt. Higher Secondary School Bhanbeda	22141807607	1	0.25
250	10	Govt. Higher Secondary School Kachhe	22141812805	1	0.25
251	10	Govt. Higher Secondary School Salhe	22141813809	1	0.25
252	10	Govt. Higher Secondary School Tudge	22141815202	1	0.25
253	10	Govt. Higher Secondary School Halba	22142700308	1	0.25
254	10	Govt. Higher Secondary School Puri	22142700804	1	0.25
255	10	Govt. Higher Secondary School Kottara	22142701805	1	0.25
256	10	Govt. Higher Secondary School Pandripani	22142709103	1	0.25
257	10	Govt. Higher Secondary School Kurrutola	22142712306	1	0.25
258	8	Govt. High School Chikhli	22142100103	1	0.25
259	10	Govt. Higher Secondary School Hatkondal	22142104906	1	0.25
260	10	Govt. Higher Secondary School Dhanelikanhar	22143207904	1	0.25
261	10	Govt. Higher Secondary School Murdongri	22143209306	1	0.25
262	10	Govt. Higher Secondary School Bande	22140104313	1	0.25
263	8	Govt. High School Esebeda	22140121901	1	0.25
264	10	Govt. Higher Secondary School Badgaon	22140150803	1	0.25

Sl. No.	School Category	School Name	UDISE Code	Recommendation	
				Physical	Financial in lakh
265	10	Govt. Girls Higher Secondary School Narharpur	22140702920	1	0.25
266	8	Govt. High School Surhi	22140705007	1	0.25
267	10	Govt. Higher Secondary School Jaamgaon	22140705407	1	0.25
268	10	Govt. Higher Secondary School Dudhawa	22140708906	1	0.25
269	10	Govt. Higher Secondary School Bhaismundi (Gagru)	22140713802	1	0.25
270	10	Govt. Girls Higher Secondary School Sarona	22140723702	1	0.25
271	10	Govt. Higher Secondary School Kusumghata	22080101608	1	0.25
272	10	Govt. Higher Secondary School Singhari	22080101806	1	0.25
273	10	Govt. Higher Secondary School Kukdur	22081315806	1	0.25
274	10	Govt. Higher Secondary School Kunda	22081322411	1	0.25
275	10	Govt. High School Navghata	22081205803	1	0.25
276	10	Govt.High School Virendranagar Lohara	22081206304	1	0.25
277	8	Govt. High School Chhirbandha	22081207703	1	0.25
278	10	Govt.Higher Secondary School Parond	22171000705	1	0.25
279	10	Govt. Higher Secondry School Kopra	22171001508	1	0.25
280	10	Govt. Higher Secondary School Badbattar	22171002512	1	0.25
281	10	Govt.Higher Secondary School Banskot	22171002804	1	0.25
282	10	Govt.Higher Secondary School Baderajpur	22171004814	1	0.25
283	10	Govt.Higher Secondary School Vishrampuri	22171006325	1	0.25
284	10	Govt.Higher Secondary School Surdongar	22171201334	1	0.25
285	10	Govt. Higher Secondry School Arandi	22171203413	1	0.25
286	10	Govt.Higher Secondary School Eragaon	22171204223	1	0.25
287	10	Govt.Higher Secondary School Dhanora	22171204715	1	0.25
288	10	Govt. Higher Seconry School Madanar	22172601005	1	0.25
289	10	Govt.Boys Higher Secondary School Mardapal	22172602121	1	0.25
290	10	Govt. Higher Secondary School Hasalnar	22172613343	1	0.25
291	10	Govt.Higher Secondry School Tahsilpara Kondagaon	22172613615	1	0.25
292	10	Govt. Higher Secondary School Karanjee Kokodi	22172620104	1	0.25
293	10	Govt.Higher Secondary School Mulmula	22172621808	1	0.25
294	10	Govt.High School Malgaon	22172624915	1	0.25
295	10	Govt.Higher Secondry School Dahikonga	22172626709	1	0.25
296	10	Govt.Higher Secondary School Mayurdongar	22172634402	1	0.25
297	10	Govt.Higher Secondary School Torandi	22172801907	1	0.25
298	10	Govt.Higher Secondary School Bijapur	22172802406	1	0.25
299	10	Govt.Higher Secondary School Anantpur	22172804514	1	0.25
300	8	Govt.High School Bawai	22172806106	1	0.25
301	10	Govt.Higher Secondary School Shampur	22172806410	1	0.25
302	10	Govt.Higher Secondary School Katagaon	22172806909	1	0.25

Sl. No.	School Category	School Name	UDISE Code	Recommendation	
				Physical	Financial in lakh
303	10	Govt.Higher Secondary School Randhana	22172809510	1	0.25
304	10	Govt. Higher Secondary School Shankarpur	22172501406	1	0.25
305	10	Govt. Higher Secondary School Lanjoda	22172506214	1	0.25
306	10	Govt Higher Secondary School Tuman (Kartala)	22050801507	1	0.25
307	10	Govt Higher Secondary School Rampur	22050806810	1	0.25
308	10	Govt Higher Secondary School Barpali	22050807212	1	0.25
309	10	Govt Higher Secondary School Karainara	22050808506	1	0.25
310	10	Govt Higher Secondary School Sohagpur	22050809005	1	0.25
311	10	Govt Higher Secondary School Nonbirra	22050811008	1	0.25
312	10	Govt Higher Sec.School Katghora(Girls)	22050900135	1	0.25
313	10	Govt Higher Sec.School Katghora(Boys)	22050900136	1	0.25
314	10	Govt Higher Secondary School Chhuri	22050900911	1	0.25
315	10	Govt Higher Secondary School Jamnipali	22050903410	1	0.25
316	10	Govt Higher Secondary School Ranjna	22050916604	1	0.25
317	10	Govt Higher Secondary School Kudmura	22051005911	1	0.25
318	10	Govt Higher Secondary School Shyang	22051008808	1	0.25
319	10	Govt Higher Sec.School Tilkeja	22051011119	1	0.25
320	10	Govt Higher Sec. School Korba(Twd)	22051016902	1	0.25
321	8	Govt Secondary School J P Colony	22051028401	1	0.25
322	10	Govt Higher Secondary School Makhanpur	22051804507	1	0.25
323	8	Govt Secondary School Parsada	22051805507	1	0.25
324	10	Govt Higher Secondary School Pondi (Lafa)	22051812114	1	0.25
325	8	Govt Secondary School Polmi	22051813808	1	0.25
326	8	Govt Secondary School Pali(Girls)	22051819417	1	0.25
327	10	Govt Higher Secondary School Pali	22051819418	1	0.25
328	8	Govt Secondary School Madai	22052306706	1	0.25
329	10	Govt Higher Secondary School Pipariya	22052312916	1	0.25
330	10	Govt Higher Secondary School Mahalpara	22012000139	1	0.25
331	10	Govt. Girls Higher Secondary School Baikunthpur	22012000140	1	0.25
332	10	Govt Girls Higher Secondry School Charcha	22012003214	1	0.25
333	10	Govt Higher Secondary School Soranga	22012005207	1	0.25
334	10	Govt. Girls Higher Secondary School Patna	22012005716	1	0.25
335	10	Govt. Higher Secondary School Chiitajhorpondi	22012015307	1	0.25
336	3	Govt. Model School Janakpur (Rmsa)	22012407513	1	0.25
337	10	Govt Higher Sevondary School Doman Hill	22012210812	1	0.25
338	10	Govt Higher Secondary School Belbahra	22012304406	1	0.25
339	10	Govt Higher Secondary School Kachhaud	22012310607	1	0.25
340	8	Govt High School Ghughra	22012101006	1	0.25
341	8	Govt High School Rajauli	22012102305	1	0.25

Sl.	School			Recommendation	
No.	Category	School Name	UDISE Code	Physical	Financial in lakh
342	10	Govt. Higher Secondary School Katgodi	22012103408	1	0.25
343	10	Govt H.S.S. School Aklasarai	22012104504	1	0.25
344	10	Govt. Higher Secondary School Khairatkhurd	22120915903	1	0.25
345	10	Govt. Higher Secondary School Komakhan	22120917711	1	0.25
346	10	Govt Higher Secondary School Sukharidabari	22120935005	1	0.25
347	10	Govt. Girls Higher Sec. School Bhanwarpur	22122808008	1	0.25
348	8	Govt High School Khoksa	22122817705	1	0.25
349	10	Govt Higher Secondary School Gidhali	22122818505	1	0.25
350	10	Govt. High School Jewra	22122830202	1	0.25
351	8	Govt. Girls High School Jhalap	22122100118	1	0.25
352	10	Govt. Higher Secondary School Jhalap	22122100119	1	0.25
353	10	Govt. Higher Secondary School Raitum	22122101405	1	0.25
354	10	Govt. Dhanraj Meghraj Shri Shrimal Higher Secondary School Mahasamund	22122102462	1	0.25
355	10	Govt. Paduman Singh Higher Secondary School Garhseoni	22122110204	1	0.25
356	10	Govt.Higher Secondary School Nartora	22122112405	1	0.25
357	8	Govt. High School Mungaser	22122114603	1	0.25
358	10	Govt.Higher Secondary School Bawankera	22122119405	1	0.25
359	10	Govt. Higher Secondary School Gondbahal	22121101405	1	0.25
360	10	Govt. Higher Secondary School Sukhipali	22121109804	1	0.25
361	10	Govt. Higher Secondary School Kolda	22121113708	1	0.25
362	10	Govt. Higher Secondary School Gadbeda	22121116406	1	0.25
363	10	Govt. Higher Secondary School Bhuthiya	22122504004	1	0.25
364	10	Govt.Higher Secondary School Mohada	22122515609	1	0.25
365	10	Govt.Higher Secondary School Baloda	22122517908	1	0.25
366	10	H S S Govt, Gond Khamhi	22191200608	1	0.25
367	10	H S Govt, Barampur	22191206504	1	0.25
368	10	H S S Govt, Kanteli	22191603705	1	0.25
369	10	Hss Govt B.R.Sao Mungeli	22191604951	1	0.25
370	10	H S Govt, Daupara, Mungeli	22191604952	1	0.25
371	10	Hssgovt.Siltara	22192101304	1	0.25
372	10	H S S Govt, Amora	22192103803	1	0.25
373	10	H S S Govt Anda	22192110206	1	0.25
374	8	Govt H School Birkoni	22192111103	1	0.25
375	10	Govt Girls Hss Jhal	22040216505	1	0.25
376	10	Govt Hss Kudekela	22040301311	1	0.25
377	10	Govt. Boys H.S.S. Chhal	22040302811	1	0.25
378	8	Govt. Hs Bojiya	22040306204	1	0.25
379	10	Govt. H.S.S. Sisringa	22040312508	1	0.25
380	3	D.A.V. Mukhya Mantri Public School Dharamjaigarh	22040319236	1	0.25

Sl. School				Recommendation	
No.	Category	School Name	UDISE Code	Physical	Financial in lakh
381	10	Govt Hss Kudumkela	22040601714	1	0.25
382	10	Govt Hss Nawapara(Tenda)	22040603308	1	0.25
383	8	Govt Hs Bahirkela	22040605807	1	0.25
384	8	Govt. Hs Kotarimal	22040606304	1	0.25
385	10	Govt Higher Secondary Porda	22040606903	1	0.25
386	10	Govt Twd Hss Raikera	22040607006	1	0.25
387	10	Govt. H.S.S. Gorpar	22040901003	1	0.25
388	10	Govt. H.S.S. Barra	22040901405	1	0.25
389	10	Govt. H.S. Barbhauna	22040903803	1	0.25
390	10	Govt. H.S. Tiur	22040905805	1	0.25
391	10	Govt. H.S.S. Halahuli	22040909008	1	0.25
392	10	Govt. H.S.S. Mura	22040912305	1	0.25
393	8	Govt H.S. Badehardi	22041406006	1	0.25
394	10	Govt Hss Rengalpali	22041409003	1	0.25
395	10	Govt Hss Padigaon	22041413506	1	0.25
396	10	Govt Hss Tilga	22041502603	1	0.25
397	10	Govt Hss Kirodimal Nagar	22041508910	1	0.25
398	10	Govt Hss Dhanagar	22041510505	1	0.25
399	10	Govt Hss Nandeli	22041510806	1	0.25
400	10	Govt Girls Hss Kusmura	22041511306	1	0.25
401	10	Nagar Palik Nigam Hss Raigarh	22041515020	1	0.25
402	10	Govt Hss Chhind	22041614307	1	0.25
403	10	Govt.Multi. Hss Sarangarh	22041629739	1	0.25
404	10	Govt. Girls. Hss Sarangarh	22041629740	1	0.25
405	8	Municipal Hs Sarangarh	22041629741	1	0.25
406	8	Govt. H.S. Daxin Regaon	22041703003	1	0.25
407	8	Govt. H.S. Badgaon	22041706704	1	0.25
408	8	Govt. Girls H.S. Bijna	22041709303	1	0.25
409	10	Govt. Higher Secondary School Khola Govt. S.R. Banjare Higher Secondary	22110609805	1	0.25
410	10	School Kurru	22110611503	1	0.25
411	10	Govt. Girls Higher Escondary School Navapara Rajim	22110613616	1	0.25
412	8	Govt. High School Kolar	22110614005	1	0.25
413	10	Govt. Hs School Matrisadan Mandirhasoud	22112201017	1	0.25
414	10	Govt Higher Secondary School Ganoud	22112206306	1	0.25
415	10	Govt Higher Secondary School Godhi	22112218304	1	0.25
416	10	Nagar Nigam Shahid Smarakmoudha Para	22110410902	1	0.25
417	10	Govt Higher Secondary School Mandhar Colony	22110413105	1	0.25
418	10	Govt. Higher Secondary School Late Shri Ram Sharma Dumartarai	22110414706	1	0.25
419	10	Govt. Higher Secondary School Manabasti	22110417816	1	0.25
420	10	Nagar Mata Binni Bai Sonkar Bhathagaon	22110417909	1	0.25
421	10	Govt. Higher Secondary School Deori	22110419504	1	0.25

Cl Cabaal				Recommendation		
Sl. No.	School Category	School Name	UDISE Code	Physical	Financial	
	,				in lakh	
422	10	Govt. Hss Khub Chand Baghel Silyari	22110424411	1	0.25	
423	10	N.N.Naveen Sarswati Girls Hss Purani Basti	22110426310	1	0.25	
424	10	Govt. Girls Hss. Mayaram Surjan Choubey Colony	22110431411	1	0.25	
425	10	Govt. Higher Secondary Khouna	22110801703	1	0.25	
426	10	Govt Higher Secondary School Bangoli	22110806805	1	0.25	
427	10	Govt. Higher Secondary Kharora	22110813803	1	0.25	
428	10	Govt. H.S.S. Atargaon	22090200906	1	0.25	
429	10	Govt. H.S.S. Girls Chowki	22090201725	1	0.25	
430	10	Govt. H.S.S. Bhadsena	22090202903	1	0.25	
431	10	Govt. H.S.S. Chilhati	22090204008	1	0.25	
432	10	Govt. H.S.S. Makke	22090206303	1	0.25	
433	10	Govt. H.S.S. Rengakathera	22090208303	1	0.25	
434	10	Govt. H.S.S. Arajkund	22090212903	1	0.25	
435	10	Govt. H.S.S. Dhodha	22090301303	1	0.25	
436	10	Govt. H.S.S. Girls Gandai	22090302814	1	0.25	
437	10	Govt. H.S.S. Salhewara	22090310004	1	0.25	
438	10	Govt. H.S.S. Atariya Road	22090311905	1	0.25	
439	10	Govt. H.S.S. Udaypur	22090315106	1	0.25	
440	10	Govt. H.S.S. Bholapur	22090407206	1	0.25	
		Govt. Bharat Ratna Dr. Bheemrao				
441	10	Ambedkar H.S.S. Salhe	22090414503	1	0.25	
442	10	Govt. H.S.S. Chirchari Kala	22090418306	1	0.25	
443	10	Govt. H.S.S. Umarvahi	22090419605	1	0.25	
444	10	Govt. H.S.S. Kokpur	22090500105	1	0.25	
445	10	Govt. H.S.S. Bijebhatha	22090500903	1	0.25	
446	10	Govt. H.S.S. Boys Dongargaon	22090504720	1	0.25	
447	10	Govt. H.S.S. Mohad	22090505304	1	0.25	
448	10	Govt. H.S.S. Kirgi	22090507705	1	0.25	
449	10	Govt. H.S.S. Ramatola	22090602006	1	0.25	
450	10	Govt. H.S.S. Andi	22090602706	1	0.25	
451	10	Govt. H.S.S. Bortalab	22090603308	1	0.25	
452	10	Govt. H.S.S. Bagrekasa	22090604603	1	0.25	
453	10	Govt. H.S.S. Bagnadi	22090605303	1	0.25	
454	10	Govt. H.S.S. Kothitola	22090605504	1	0.25	
455	10	Govt. H.S.S. Medha	22090609205	1	0.25	
456	10	Govt. H.S.S. Paragaon Khurd	22090610205	1	0.25	
457	10	Govt. H.S.S. Rengakathera	22090610405	1	0.25	
458	10	Govt. H.S.S. Musra	22090611207	1	0.25	
459	8	Govt. High School Palandur	22090614503	1	0.25	
460	10	Govt. H.S.S. Pandadah	22090801508	1	0.25	
461	10	Govt. H.S.S. Madarakuhi	22090805703	1	0.25	
462	10	Govt. H.S.S. Badhaitola	22090811903	1	0.25	
463	10	Govt. H.S.S. Boys P.P.B. Khairagarh	22090812629	1	0.25	
464	10	Govt. H.S.S. Kamtha	22090815305	1	0.25	
465	10	Govt. H.S.S. Chichola	22090818003	1	0.25	
466	10	Govt. H.S.S. Bhavsa	22090905505	1	0.25	
	·	<u> </u>		i		

Sl. School				Recommendation	
No.	Category			Physical	Financial in lakh
467	10	Govt. H.S.S. Bharritola	22090906009	1	0.25
468	10	Govt. H.S.S. Khadgaon	22090907506	1	0.25
469	10	Govt. H.S.S. Gotatola	22091005407	1	0.25
470	10	Govt. H.S.S. Girls Mohla	22091005613	1	0.25
471	10	Govt. H.S.S Karmari	22091012303	1	0.25
472	10	Govt. H.S.S. Dhangaon	22091116904	1	0.25
473	8	Govt.Girls High School Tongpal	22213519902	1	0.25
474	10	Govt. Higher Secondary School Kukanar	22213529822	1	0.25
475	10	Govt Higher Secondry School Kerlpal	22210201105	1	0.25
476	10	Govt. Higher Secondary School Sukma	22210204043	1	0.25
477	10	Govt. Higher Secondary School Biharpur	22271600112	1	0.25
478	10	Govt. Higher Secondary School Chendra	22271607711	1	0.25
479	10	Govt. Higher Secondary School Lanjit	22271607911	1	0.25
480	10	Govt. Higher Secondary Girls School Pratappur	22271702724	1	0.25
481	10	Govt. Higher Secondary School Govindpur	22271706308	1	0.25
482	10	Govt. Higher Secondary School Silouta	22271709304	1	0.25
483	10	Govt. Higher Secondary School Boys Premnagar	22271900120	1	0.25
484	10	Govt. Higher Secondary School Girls Premnagar	22271900121	1	0.25
485	10	Govt. Higher Secondary School Chandannagar	22271900807	1	0.25
486	10	Govt. Higher Secondary School Navaparakala	22271902210	1	0.25
487	10	Govt. Higher Secondary School, Koteya	22271906305	1	0.25
488	10	Govt. Higher Secondary School,Mahgai	22271907607	1	0.25
489	10	Govt. Higher Secondary School Bhuwaneshwarpur	22271800308	1	0.25
490	10	Govt. Higher Secondary School Sonpur	22271802106	1	0.25
491	10	Govt. Higher Secondary School Salhi	22271803106	1	0.25
492	10	Govt. Higher Secondary School Ganeshpur	22271806708	1	0.25
493	10	Govt. Higher Secondary School Tiwaragudi	22271809014	1	0.25
494	10	Govt.Model Higher Secondary School Boys Surajpur	22271403920	1	0.25
495	10	Govt.Higher Secondary School Kandrai	22271404311	1	0.25
496	10	Govt. Higher Secondary School Mendrakala	22020101710	1	0.25
497	10	Govt. Higher Secondary School Boys Darima	22020102813	1	0.25
498	8	Govt. High School Karra	22020106608	1	0.25
499	10	Govt. Higher Secondary School Karjee	22020107507	1	0.25
500	10	Govt. Higher Secondary School Badadamali	22020109208	1	0.25
501	10	Govt.Multipurpose Higher Secondary	22020110873	1	0.25

Sl.	School			Recommendation	
No.	Category	School Name	UDISE Code	Physical	Financial in lakh
		School Ambikapur			
502	10	Govt. Higher Secondary School Gandhinagar Ambikapur	22020110877	1	0.25
503	8	Govt. High School Bilaspur	Govt. High School Bilaspur 22020201607		0.25
504	10	Govt. Higher Secondary School Boda	22020202408	1	0.25
505	10	Govt. Higher Secondary School Gumgarakala	22020603007	1	0.25
506	10	Govt. Higher Secondary School Salka	22020706506	1	0.25
507	8	Govt.High School Lalati	22020706905	1	0.25
508	10	Govt. Higher Secondary School Kedma	22020707709	1	0.25
509	10	Govt. Higher Secondary School Khamhariya	22020708608	1	0.25
		Total		509	127.25

# Annexure IV - M List of Schools approved for Computer Room (Secondary Level)

Sl. No.	District	Block	School Code	School Name
1	Balod	Daundi	22220409318	Govt. Boys Higher Secondary School Daundi
2	Balod	Daundi Lohara	22220506604	Govt. Higher Sec. School Rivagahan
3	Baster	Bakawand	22152900111	Govt. Kanya Higher Secondary School Bakawand
4	Baster	Bakawand	22152900112	Govt. Higher Secondary School Bakawand
5	Baster	Bakawand	22152913333	Govt. Higer Secoundry School Kolawal
6	Baster	Bakawand	22152916005	Govt. Higher Secondary School Tarapur
7	Baster	Bastar	22151715901	Govt Higher Secondary School Bade Chakwa
8	Baster	Bastar	22151722402	Govt Higher Secondary School Mundagaon
9	Baster	Jagdalpur	22153304404	Govt. Higher Secondary School Asna
10	Baster	Tokapal	22152305406	Govt.Higher Secondary School Sirisguda
11	Bilaspur	Bilha	22070301608	Govt. H S S Karma
12	Bilaspur	Bilha	22070302005	Govt. H S S Dagania
13	Bilaspur	Bilha	22070303105	Govt. H S S Bhadi
14	Bilaspur	Bilha	22070304007	Govt. H S Deori Khurd
15	Bilaspur	Bilha	22070313015	Govt. H S S Surajmal Bilha
16	Bilaspur	Bilha	22070313910	Govt. H S S Beltara
17	Bilaspur	Bilha	22070325705	Govt. H S S Girls Maharani Laxmi Bai, Dayalband, Bilaspur
18	Bilaspur	Gourela	22070601905	Govt Hs Pakaria (Twd)
19	Bilaspur	Gourela	22070603008	Govt Hs Korja (Twd)
20	Bilaspur	Gourela	22070603206	Govt Hss Dhanouli (Twd)
21	Bilaspur	Gourela	22070604006	Govt Hss Nevsa (Twd)
22	Bilaspur	Gourela	22070605104	Govt Hs Keonchi (Twd)
23	Bilaspur	Gourela	22070605828	Govt Hss Mishridevi Girls Gourela (Twd)
24	Bilaspur	Gourela	22070605906	Govt Hss Khodri (Twd)

Sl. No.	District	Block	School Code	School Name
25	Bilaspur	Kota	22071100125	Govt. H S S Boys D.K.P. Kota
26	Bilaspur	Kota	22071100125	Govt. High School Amali (Edu)
	•			Govt. Hr. Sec. School Upgraded Salka
27	Bilaspur	Kota	22071104608	Navagaon Sandar Spiritude Santa
28	Bilaspur	Kota	22071104906	Govt. Hr. Sec. School Pondi
29	Bilaspur	Kota	22071107104	Govt. Hr. Sec. School Shivtarai
30	Bilaspur	Kota	22071107907	Govt. Hr. Sec. School Kenda
31	Bilaspur	Marwahi	22071402307	Govt. H S Barour
32	Bilaspur	Marwahi	22071403105	Govt. H S Banshital
33	Bilaspur	Masturi	22071500327	Govt. Boys H S S , Masturi
34	Bilaspur	Masturi	22071500328	Govt. Girls H S S , Masturi
35	Bilaspur	Masturi	22071503307	Govt H S , Tikari
36	Bilaspur	Masturi	22071503507	Govt Hss Eramsahi
37	Bilaspur	Masturi	22071509511	Govt. Hss Gatoura
38	Bilaspur	Masturi	22071512406	H S S Govt, Pandhi
39	Bilaspur	Masturi	22071513204	Govt Hs Hirri
40	Bilaspur	Pendra	22072202307	Govt. H S , Murmur (Twd)
41	Bilaspur	Pendra	22072202631	Govt. H S S Girls, Pendra (Twd)
42	Bilaspur	Pendra	22072202632	Govt. H S S Multi., Pendra (Twd)
43	Bilaspur	Pendra	22072202913	Govt. H. S. Bacharwar (Twd)
44	Bilaspur	Pendra	22072205107	Govt. H. S. S. Kotamikala(Twd)
45	Bilaspur	Takhatpur	22072506020	Govt. H S S Ghutku
46	Bilaspur	Takhatpur	22072508804	Govt.H S Kodapuri
47	Bilaspur	Takhatpur	22072509905	Govt. H S Lakhasar
48	Bilaspur	Takhatpur	22072511805	Govt.Hssnevra(Edu)
49	Bilaspur	Takhatpur	22072514514	Govt. H S S Sakri
50	Bilaspur	Takhatpur	22072514608	Govt.H S S Sakarra
51	Bilaspur	Takhatpur	22072516625	Govt.H S S Boys, Takhatpur
52	Dhamtari	Dhamtari	22133000606	Govt Natthuji Jagtap Nagar Palika Nigam Higher Sec. School
53	Dhamtari	Dhamtari	22133009106	Government Mehatru Ram Dhiwar Navin Girls Higher Secondary School Dhamtari
54	Dhamtari	Kurud	22130301606	Government Higher Secondry School Sankari
55	Dhamtari	Kurud	22130310706	Government Higher Secondary School Thuha
56	Dhamtari	Kurud	22130314909	Government Higher Secondary School Mandroud
57	Dhamtari	Kurud	22130315407	Government Higher Secondary School Katalbod
58	Dhamtari	Magarlod	22132700121	Government Higher Secondary School Magarload
59	Dhamtari	Magarlod	22132700307	Government Higher Secondary School Mohdi
60	Durg	Dhamdha	22100608117	Govt Higher Secondary School Kumhari
61	Janjgir - Champa	Bamhnindih	22060405816	Govt.B.D.M. Higher Secondary Saragaon
62	Janjgir - Champa	Dabhara	22060509311	Govt. Higher Secondary School Kotmi
63	Jashpur	Bagicha	22030107519	Govt. Higher Secondary School Bagicha
64	Jashpur	Farsabahar	22030506013	Govt. High School Purainbandh
65	Jashpur	Kansabel	22030802125	Govt. Girls Higher Secondary School

Sl. No.	District	Block	School Code	School Name
				Kansabel
66	Kanker	Charama	22142700604	Govt. Higher Secondary School Tarasgaon
67	Kanker	Kanker	22143213103	Govt. Higher Secondary School Sidesar
68	Kawardha	Sahaspur Lohara	22081221202	Govt. Higher Secondary School Silhati
69	Kondagaon	Keshkal	22171201334	Govt.Higher Secondary School Surdongar
70	Korba	Kartala	22050807212	Govt Higher Secondary School Barpali
71	Korba	Korba	22051011119	Govt Higher Sec.School Tilkeja
72	Korba	Pali	22110431411	Govt. High School Chodha
73	Koriya	Manendragarh	22012316402	Govt Higher Secondary School Nagpur
74	Koriya	Sonhat	22012103408	Govt. Higher Secondary School Katgodi
75	Mahasamund	Bagbahara	22120920204	Govt. Higher Secondary School Narra
76	Mahasamund	Bagbahara	22120930702	Govt. Higher Sec. School Pacheda
77	Mahasamund	Basna	22122803906	Govt. Higher Secondary School Baroli
78	Mahasamund	Basna	22122817705	Govt High School Khoksa
79	Mahasamund	Mahasamund	22122112504	Govt.Higher Secondary School Birkoni
80	Mahasamund	Mahasamund	22122119604	Govt.Higher Secondary School Khatti
81	Mahasamund	Mahasamund	22122125202	Govt. High School Turenga
82	Mungeli	Lormi	22191203705	H S Govt, Dongaria
83	Mungeli	Patharia	22192112906	H S S Govt, Baitalpur
84	Raigarh	Kharsia	22040913637	Municipal Girls H.S.S. Kharsia
85	Raipur	Abhanpur	22110602009	Govt. Higher Secondary School Chapajhar
86	Raipur	Arang	22112200309	Govt.Higher Secondary School Samoda
87	Raipur	Arang	22112202009	Govt. Higher Secondary School Kosrangi
88	Raipur	Arang	22112206907	Govt Higher Secondary School Parsada
89	Raipur	Dharshiwa	22110410403	Govt Higher Secondary School Tulsi(Baradera)
90	Raipur	Dharshiwa	22110413907	Govt. Higher Secondary School Dondekala
91	Raipur	Tilda	22110815903	Govt.Higher Secondary School Kanki
92	Rajnandgaon	Chowki	22090204008	Govt. H.S.S. Chilhati
93	Rajnandgaon	Churia	22090415010	Govt. H.S.S. Chhuria
94	Rajnandgaon	Dongargaon	22090500903	Govt. H.S.S. Bijebhatha
95	Rajnandgaon	Dongargarh	22090602006	Govt. H.S.S. Ramatola
96	Rajnandgaon	Dongargarh	22090614906	Govt. H.S.S. Mohara
97	Rajnandgaon	Rajnandgaon	22091117204	Govt. H.S.S. Hardi
98	Sukma	Konta	22213410708	Govt. Higher Secondary School Dornapal
99	Sukma	Konta	22213418205	Govt. Higher Secondary School Jagargunda
100	Surguja	Ambikapur	22020102711	Govt. Higher Secondary School Sargawan

# Annexure IV - N List of Schools (KGBVs + Porta Cabins) approved for Electrification (Elementary Level)

SN DISTRICT BLOCKS	UDISE CODE	CAPACITY
--------------------	------------	----------

SN	DISTRICT	BLOCKS	UDISE CODE	CAPACITY
KGB	Vs	·		
1	Balodabazar	Baloda Bazar	22242002918	100
2	Balodabazar	Kasdol	22241202905	100
3	Balodabazar	Bilaigarh	22241020807	100
4	Balodabazar	Bhatapara	22240204103	100
5	Balrampur	Kusmi	22261309507	100
6	Balrampur	Wadrafnagar	22261101916	100
7	Balrampur	Ramchandrapur	22260901018	100
8	Balrampur	Rajpur	22260804718	100
9	Baster	Jagdalpur	22153308633	100
10	Baster	Bastanar	22153001006	100
11	Baster	Bakawand	22152903505	100
12	Baster	Lohandiguda	22152402406	100
13	Baster	Tokapal	22152300323	100
14	Baster	Bastar	22151711202	100
15	Baster	Darbha	22150406201	100
16	Bemetara	Saja	22231200202	100
17	Bemetara	Nawagarh	22231008613	100
18	Bemetara	Bemetara	22230204213	100
19	Bijapur	Bhopalpatnam	22203601011	100
20	Bijapur	Bhairamgarh	22203102716	100
21	Bijapur	Usoor	22201415001	100
22	Bijapur	Bijapur	22200614905	100
23	Bijapur	Bijapur	22200600416	100
24	Bilaspur	Takhatpur	22072506902	100
25	Bilaspur	Pendra	22072200604	100
26	Bilaspur	Masturi	22071513908	100
27	Bilaspur	Marwahi	22071400120	100
28	Bilaspur	Kota	22071109404	100
29	Bilaspur	Gourela	22070601004	100
30	Bilaspur	Bilha	22070316207	100
31	Dantewada	Dantewada	22162244501	100
32	Dantewada	Kuakonda	22161917502	100
33	Dantewada	Katekalyan	22161501209	100
34	Dantewada	Geedam	22160805717	100
35	Dhamtari	Magarlod	22132700111	100
36	Dhamtari	Nagri	22131320202	100
37	Gariaband	Mainpur	22252611608	100
38	Gariaband	Gariaband	22251904320	100
39	Gariaband	Deobhog	22251402804	100
40	Janjgir - Champa	Sakti	22062401904	100
41	Janjgir - Champa	Pamgarh	22061902006	100
42	Janjgir - Champa	Nawagarh	22061708306	100
43	Janjgir - Champa	Jaijaipur	22060708206	100
44	Janjgir - Champa	Bamhnindih	22060400508	100
45	Janjgir - Champa	Baloda	22060206110	100
46	Janjgir - Champa	Akaltara	22060109502	100
47	Jashpur	Pathalgaon	22031305011	100

SN	DISTRICT	BLOCKS	UDISE CODE	CAPACITY
48	Jashpur	Kansabel	22030802118	100
49	Jashpur	Bagicha	22030113113	100
50	Kanker	Antagarh	22140315316	100
51	Kawardha	Pandariya	22081301503	100
52	Kawardha	Sahaspur Lohara	22081221103	100
53	Kawardha	Kawardha	22080703325	100
54	Kawardha	Bodla	22080100312	100
55	Kondagaon	Makadi	22172807016	100
56	Kondagaon	Kondagaon	22172604325	100
57	Kondagaon	Pharasgaon	22172500605	100
58	Kondagaon	Keshkal	22171201315	100
59	Kondagaon	Baderajpur	22171006323	100
60	Korba	Pondi-Uproda	22052303805	100
61	Korba	Pali	22051816808	100
62	Korba	Korba	22051015018	100
63	Korba	Katghora	22050900131	100
64	Korba	Kartala	22050803408	100
65	Koriya	Bharatpur	22012407511	100
66	Koriya	Manendragarh	22012301606	100
67	Koriya	Khadgava	22012201504	100
68	Koriya	Sonhat	22012101210	100
69	Mahasamund	Basna	22122802904	100
70	Mahasamund	Pithora	22121102702	100
71	Mahasamund	Bagbahra	22120918720	100
72	Mungeli	Patharia	22192109010	100
73	Mungeli	Mungeli	22191617202	100
74	Mungeli	Lormi	22191200306	100
75	Narayanpur	Narayanpur	22183705417	100
76	Narayanpur	Abujhmad	22182002516	100
77	Raigarh	Lailunga	22041109905	100
78	Raigarh	Dharamjaigarh	22040310504	100
79	Sukma	Chhindgarh	22213510308	100
80	Sukma	Konta	22213413110	100
81	Sukma	Sukma	22210204027	100
82	Surajpur	Premnagar	22271900108	100
83	Surajpur	Pratappur	22271702719	100
84	Surajpur	Odgi	22271603408	100
85	Surajpur	Bhaiyathan	22271502912	100
86	Surajpur	Surajpur	22271403919	100
87	Surguja	Udaipur	22020700113	100
88	Surguja	Lakhanpur	22020606605	100
89	Surguja	Lundra	22020508409	100
90	Surguja	Mainpat	22020405608	100
91	Surguja	Sitapur	22020304505	100
92	Surguja	Bataoli	22020200409	100
93	Surguja	Ambikapur	22020102707	100
Port	a Cabins			
94	Bijapur	Bhairamgarh	22203101607	500

SN	DISTRICT	BLOCKS	UDISE CODE	CAPACITY
95	Bijapur	Bhairamgarh	22203100711	500
96	Bijapur	Bhairamgarh	22203100408	500
97	Bijapur	Usoor	22201413304	500
98	Sukma	Chhindgarh	22213510314	500
99	Sukma	Sukma	22213501718	500
100	Sukma	Sukma	22213414506	500

Annexure IV - 0 List of Girls Hostels approved for Electrification (Secondary Level)

Sl. No	District	Block	Place of Girls Hostel	Strength
1	Balodabazar	Balodabazar	100 seater GH Balodabazar	100
2	Balodabazar	Bhatapara	100 seater GH Bhatapara	100
3	Balodabazar	Kasdol	100 seater GH Kasdol	100
4	Balodabazar	Bilaigarh	100 seater GH Bilaigarh	100
5	Balrampur	Ramanujgang	100 seater GH Ramanujgang	100
6	Balrampur	Wadrafnager	100 seater GH Wadrafnager	100
7	Balrampur	Rajpur	100 seater GH Rajpur	100
8	Balrampur	Kusmi	100 seater GH Kusmi	100
9	Bemetara	Bemetara	100 seater GH Bemetara	100
10	Bilaspur	Bilha	100 seater GH Bartori, Bilha	100
11	Bilaspur	Marwahi	100 seater GH Kumhari, Marwahi	100
12	Bilaspur	Gourela	100 seater GH Semra,Gourela	100
13	Bilaspur	Kota	100 seater GH Chapora, Kota	100
14	Bilaspur	Pendra	100 seater GH Kodgar, Pendra	100
15	Bilaspur	Masturi	100 seater GH Panchpedi, Masturi	100
16	Bilaspur	Takhatpur	100 seater GH Takhatpur	100
17	Gariyaband	Devbhog	100 seater GH Devbhog	100
18	Gariyaband	Mainpur	100 seater GH Mainpur	100
19	Janjgir-champa	Pamgarh	100 seater GH Sasaha	100
20	Jashpur	Bageecha	100 seater GH Mahadevdand, Bageecha	100
21	Jashpur	Kansabel	100 seater GH Kansabel	100
22	Jashpur	Patthalgaon	100 seater GH Pandaripani	100
23	Kabirdham	Pandariya	100 seater GH Dullapur	100
24	Kabirdham	Kawardha	100 seater GH Kawardha	100
25	Kabirdham	Bodla	100 seater GH Bodla	100
26	Korba	Korba	100 seater GH Korba	100
27	Korba	Kartala	100 seater GH Sendripali	100
28	Korba	Katghora	100 seater GH Katghora	100
29	Korba	Pali	100 seater GH Mungadih, Pali	100
30	Korba	Podi-Uproda	100 seater GH Podi-Uproda	100
31	Korea	Bharatpur	100 seater GH Janakpur	100
32	Korea	Manendragarh	100 seater GH Banji	100
33	Korea	khadgava	100 seater GH Bacharapodi	100
34	Mungeli	Pathariya	100 seater GH Sargaon(Mungeli)	100
35	Mungeli	Mungeli	100 seater GH Chaterkhar	100
36	Mungeli	Lormi	100 seater GH Sardha	100
37	Raigarh	Dharamjaygarh	100 seater GH Jamraga	100
38	Raigarh	Lailunga	100 seater GH Jhagarpur	100
39	Surajpur	Odgi	100 seater GH Odgi	100
40	Surajpur	Pratappur	100 seater GH Pratappur	100

Sl. No	District	Block	Place of Girls Hostel	Strength
41	Surajpur	Surajpur	100 seater GH Surajpur	100
42	Surajpur	Bhaiyathan	100 seater GH Bhaiyathan	100
43	Surguja	Mainpat	100 seater GH Mainpat, Narmadapur	100
44	Surguja	Lakhanpur	100 seater GH Lakhanpur	100
45	Surguja	Ambikapur	100 seater GH Ambikapur, Sagawan	100
46	Surguja	Batoli	100 seater GH Batoli	100
47	Surguja	Lundra	100 seater GH Lundra	100
48	Surguja	Sitapur	100 seater GH Sitapur	100
49	Surguja	Udaypur	100 seater GH Udaypur	100

S.No.	DISTNAME	BLKNAME	Village	School Name	SCHCD	Remarks
1	Narayanpur	Abujhmad (Orcha)	Kurusnar	GOVT.HIGH SCHOOL KURUSHNAR	22182011303	
2	Narayanpur	Narayanpur	mahavir chowk	GOVT.HIGHER SECONDARY SCHOOL MAHAVIR CHWOK NARAYANPUR	22183702528	
3	Narayanpur	Narayanpur	Narayanpur	GOVT.BOYS HIGHER SECONDARY SCHOOL NARAYANPUR	22183702529	
4	Narayanpur	Narayanpur	Banglapara	GOVT.GIRLS HIGHER SECONDARY SCHOOL BANGLAPARA	22183702905	
5	Narayanpur	Narayanpur	Devgoan	GOVT. UPPER PRIMARY SCHOOL DEVGAON	22183703003	
6	Narayanpur	Narayanpur	Garhbengal	GOVT.HIGHER SECONDARY SCHOOL GARHBENGAL	22183703206	
7	Narayanpur	Narayanpur	halami munjmeta	GOVT. UPPER PRIMARY SCHOOL HALAMI MUNJMETA	22183703603	Transport
8	Narayanpur	Narayanpur	remawand	GOVT.HIGHER SECONDARY SCHOOL REMAWAND	22183705509	allowance for 800 students
9	Narayanpur	Narayanpur	nelwad	U.P.S NELWAD	22183706203	
10	Narayanpur	Narayanpur	Bhatpal	GOVT.AADARSH KANYA HIGHER SECONDARY SCHOOL BHATPAL	22183708209	
11	Narayanpur	Narayanpur	Bhatpal	GOVT.AADARSH BALAK HIGHER SECONDARY SCHOOL BHATPAL	22183708210	
12	Narayanpur	Narayanpur	Singoditarai	GOVT.HIGH SCHOOL SINGODITARAI	22183708604	
13	Narayanpur	Narayanpur	Karlkha	GOVT.HIGH SCHOOL KARLKHA	22183708905	
14	Narayanpur	Narayanpur	Guriya	GOVT. UPPER PRIMARY SCHOOL GURIYA	22183709003	
15	Narayanpur	Narayanpur	Binjli	GOVT.HIGHER SECONDARY SCHOOL BINJLI	22183709108	
16	Narayanpur	Narayanpur	Edka	GOVT.HIGHER SECONDARY SCHOOL EDKA	22183710703	
17	Narayanpur	Narayanpur	Jamhari	GOVT.UPPER PRIMARY	22183711502	

S.No.	DISTNAME	BLKNAME	Village	School Name	SCHCD	Remarks
				SCHOOL JAMHARI		
18	Narayanpur	Narayanpur	Bakulwaahi	GOVT.HIGHER SECONDARY SCHOOL BAKULWAAHI	22183712813	
19	Narayanpur	Narayanpur	Bakhrupara	GOVT.HIGH SCHOOL BAKHRUPARA	22183715606	

**Annexure VI** 

Annexure VI (A)

# KGBV (Type I) for Furniture/ Equipment (including kitchen), TLM & equipment including library books and bedding:

Name of District	Name of Block	Year of Sanctioned
Rajnandgaon	Mohala	2018-19

Annexure VI (B)

# List of KGBVs (Type I) for replacement of bedding:

Sl. No	District Code	District	Block/ Municipal Area, where KGBV sanctioned	Place of KGBV	U-DISE Code
1	24	Balodabazar	Balodabazar	Bhathagaon	22242002918
2	24	Balodabazar	Bhatapara	Patpar	22240204103
3	24	Balodabazar	Bilaigarh	Bilaigarh	22241020807
4	24	Balodabazar	Kasdol	Gordha	22241202905
5	26	Balrampur	kusmi	Semra	22261309507
6	26	Balrampur	Ramanujganj	Ramanujganj	22260901018
7	26	Balrampur	Rajpur	Rajpur	22260804718
8	26	Balrampur	Wadrafnagar	Wadrafnagar	22261101916
9	15	Bastar	Bakawand	Sargipal	22152903505
10	15	Bastar	Bastanar	Bastanar	22153001006
11	15	Bastar	Bastar	Bastar	22151711202
12	15	Bastar	Darbha	Badekadma	22150406201
13	15	Bastar	Jagadalpur	Jagadalpur	22153308633
14	15	Bastar	Lohandigura	Kodebeda	22152402406
15	15	Bastar	Tokapal	Bademorathpal	22152300323
16	20	Bijapur	Bijapur	Bijapur	22200600416
17	20	Bijapur	Bijapur	Naimed	22200614905
18	20	Bijapur	Bhairamgarh	Bhairamgarh	22203102716
19	20	Bijapur	Bopalpatanam	Bopalpatanam	22203601011
20	20	Bijapur	Usoor	Awapalli	22201415001
21	7	Bilaspur	Bilha	Bartori	22070316207
22	7	Bilaspur	Gourela	Semra	22070601004
23	7	Bilaspur	Kota	Chapora	22071109404
24	7	Bilaspur	Marwahi	Kumahari	22071400120
25	7	Bilaspur	Masturi	Pachpedi	22071513908
26	7	Bilaspur	Pendra	Kodgarh	22072200604
27	7	Bilaspur	Takhatpur	Jareli	22072506902
28	23	Bemetara	Bemetara	Bemetara	22230204213
29	23	Bemetara	Nawagarh	Nawagarh	22231008613
30	23	Bemetara	Saja	Dongitarai	22231200202
31	13	Dhamtari	Magarlod	Bhaismudi	22132700111
32	13	Dhamtari	Nagari	Nirrabeda	22131320202

Sl. No	District Code	District	Block/ Municipal Area, where KGBV sanctioned	Place of KGBV	U-DISE Code
33	16	Dantewada	Dantewada	Lal Bahadur Shastri Ward	22162244501
34	16	Dantewada	Geedam	Geedam	22160805717
35	16	Dantewada	Kuakonda	Kuakonda	22161917502
36	16	Dantewada	Katakalyan	Badelakhpal	22161501209
37	25	Gariaband	Gariaband	Gariaband	22251904320
38	25	Gariaband	Mainpur	Mainpur	22252611608
39	25	Gariaband	Deobhog	Deobhog	22251402804
40	3	Jashpur	Kansabel	Kansabel	22030802118
41	3	Jashpur	Bagicha	Kurrog	22030113113
42	3	Jashpur	Pathalgaon	Mudapara	22031305011
43	6	Janjgir_Champa	Akaltara	Hardi	22060109502
44	6	Janjgir_Champa	Baloda	Pahariya	22060206110
45	6	Janjgir_Champa	Bamhanidih	Birra	22060400508
46	6	Janjgir_Champa	Jaijaipur	Chisda	22060708206
47	6	Janjgir_Champa	Nawagarh	Bargaon	22061708306
48	6	Janjgir_Champa	Pamgarh	Sasaha	22061902006
49	6	Janjgir_Champa	Sakti	Nagarda	22062401904
50	14	Kanker	Antagarh	Antagarh	22140315316
51	8	Kawaradha	Kawaradha	Kawaradha	22080703325
52	8	Kawaradha	Bodala	Bodala	22080100312
53	8	Kawaradha	S. Lohara	Sahaspur Lohara	22081221103
54	8	Kawaradha	Pandaria	Dullapur	22081301503
55	17	Kondagaon	Baderajpur	Khargaon	22171006323
56	17	Kondagaon	Keskal	Keskal	22171201315
57	17	Kondagaon	Kondagaon	Bajarpara 05	22172604325
58	17	Kondagaon	Makdi	Makdi	22172807016
59	17	Kondagaon	Farasgaon	Borgaon	22172500605
60	5	Korba	Kartala	Sendripali	22050803408
61	5	Korba	Katghora	Katghora	22050900131
62	5	Korba	Pali	Mungadih	22051816808
63	5	Korba	Pondiuproda	Pondiuproda	22052303805
64	5	Korba	Korba	Andhi Kachhar	22051015018
65	1	korea	Sonhat	Sonhat	22012101210
66	1	korea	Manendragarh	Banji	22012301606
67	1	korea	Khadganwa	Podi Bachara	22012201504
68	1	korea	Bharatpur	Janakpur	22012407511
69	12	Mahasmuind	Bagbahra	Bagbahra	22120918720
70	12	Mahasmuind	Pithora	Lakhagarh	22121102702
71	12	Mahasmuind	Basna	Bansula	22122802904
72	19	Mungeli	Mungeli	Chatarkhar	22191617202
73	19	Mungeli	Lormi	sardha	22191200306
74	19	Mungeli	Patharia	Sargaon	22192109010
75	18	Narayanpur	Narayanpur	Sulenga	22183705417
76	18	Narayanpur	Orchha	Orchha	22182002516
77	4	Raigarh	Lailunga	Jhagarpur	22041109905
78	4	Raigarh	Dharamjaigarh	Jamarga	22040310504
79	10	Sukma	Sukma	Sukma	22210204027
80	10	Sukma	Chindgarh	Chindgarh	22213510308
81	10	Sukma	Konta	Konta	22213413110
82	27	Surajpur	Bhaithan	Bhaithan	22271603408
83	27	Surajpur	Odagi	Odagi	22271702719
84	27	Surajpur	Pratappur	Pratappur	22271403919

Sl.	District	District	Block/ Municipal Area,	Place of KGBV	U-DISE Code
No	Code	District	where KGBV sanctioned	I lace of Ruby	0-DISE Code
85	27	Surajpur	Premnagarn	Premnagarn	22271900108
86	27	Surajpur	Surajpur	Surajpur	22271502912
87	2	Surguja	Ambikapur	Sargava	22020102707
88	2	Surguja	Lakhanpur	Rajpurikala	22020606605
89	2	Surguja	Udaipur	Udaipur	22020700113
90	2	Surguja	Batouli	Bhatko	22020200409
91	2	Surguja	Lundra	Lundra	22020508409
92	2	Surguja	Sitapur	Sontarai	22020304505
93	2	Surguja	Mainpat	Narmdapur	22020405608

#### **Annexure VII**

				S	pill Ove	r						
Fi		l Year:2018-2019 onth: March		СНН	IATTISG	ARH		(Rs.In Lacs)				
			Apj	Budget Approved (Cummulative)		Cummulative Progress (Since Inception)			Spill Over			
	F	Particular	Phys	Financi	Phys		Financi	Physical			Financia	
				al	Comp lete	In- prog ress	al	In- progr ess	Not Start ed	Total	1	
Acce	ss & Ret	tention										
		lew / Upgraded										
Scho		ng of New Schools -										
	_	lementary)										
	1.	New school Building (Up. Pry)	0	21.85	0	0	0.00	0	0	0	21.85	
1	1.a	Primary School (I – V)	0	174.80	0	0	0.00	0	0	0	174.80	
	1.b	Upgradation of PS to UPS (VI - VIII)	1	11.84	0	0	0.00	0	1	1	11.84	
	Schoo	for Opening of New ols - NR entary)	1	208.49	0	0	0.00	0	1	1	208.49	
	Openi	ng of New / ded Schools - NR										
2	3.a	1 Section School (Class IX - X)	2	342.18	0	0	0.00	0	2	2	342.18	
3	3.b	2 Section School (Class IX - X)	144	11400.5 5	0	0	0.00	0	144	144	11400.5 5	
	Total for Opening of New / Upgraded Schools - NR (Secondary)		146	11742.7 3	0	0	0.00	0	146	146	11742.7 3	
		ng of New / ded Schools - NR (Hr. dary)										
5	5.a	Higher Secondary School - Science Stream (XI - XII)	17	2159.00	0	0	0.00	0	17	17	2159.00	
	Total for Opening of New / Upgraded Schools - NR (Hr. Secondary)		17	2159.00	0	0	0.00	0	17	17	2159	
Resid	dential S	School / Hostels										
		ential Schools - NR (Capacity 100)				1			1			
13	13.a	Furniture / Equipment (including kitchen equipment)	800	24.00	0	0	0.00	0	800	800	24.00	
	13.b	TLM and equipment including library	800	28.00	0	0	0.00	0	800	800	28.00	

				S	pill Ove	ŗ					
Fi		Year:2018-2019 onth: March		СНН	ATTISGA	ARH			(Rs.l	n Lacs)	
		AVAIL PAGE 1	Budget Approved (Cummulative)		Cummulative Progress (Since Inception)			Spill Over			
	P	articular	Phys	Financi	Phys	ical	Financi	F	hysical	<u> </u>	Financia
			ical	al	Comp lete	In- prog ress	al	In- progr ess	Not Start ed	Total	l
		books (New)									
	13.c	Bedding (New)	800	6.00	0	0	0.00	0	800	800	6.00
	13.e	Construction of building (new)	4	1604.19	0	0	0.00	0	4	4	1604.19
	13.f	Boring/ Handpump	4	8.00	0	0	0.00	0	4	4	8.00
	13.g	Non – Recurring Cost for 35 LWE Districts	3	630.00	0	0	0.00	0	3	3	630.00
	Schoo	for Residential ls - NR (New) city 100)	2411	2300.19	0	0	0.00	0	2411	2411	2300.19
		ential Schools - NR				I			I		
	(New)	(Capacity > 100)				T			T		
17	17.d	Replacement of bedding (once in 3 years)	60	225.00	0	60	225.00	60	0	60	0.00
	Total for Residential Schools - NR (New) (Capacity > 100)		60	225.00	0	60	225.00	60	0	60	0
	Reside	ential Hostels - NR (Capacity 50)									
21	21.d	Replacement of bedding (once in 3 years)	24	9.00	0	0	0.00	0	24	24	9.00
	Hoste	for Residential ls - NR (New) city 50)	24	9.00	0	0	0.00	0	24	24	9
		ential Hostels - NR				<u>I</u>			<u>I</u>		
	(New)	(Capacity 100)				ı			ı	T	
	27.d	Replacement of bedding (once in 3 years)	10	7.50	0	0	0.00	0	10	10	7.50
27	27.g	Non – Recurring Cost for 35 LWE Districts	3	330.00	0	0	0.00	0	3	3	330.00
	Total for Residential Hostels - NR (New) (Capacity 100)		13	337.50	0	0	0.00	0	13	13	337.5
Stren	trengthening of Existing Schools										
37	Strengthening of Schools - NR (up to Highest Class										
	37.b	Additional Classrooms (Upto	0	10525.0 4	0	0	0.00	0	0	0	10525.0 4

				S	pill Ove	•						
Fi		Year:2018-2019 onth: March		СНН	ATTISGA	ARH			(Rs.l	n Lacs)		
	1410	nen. Maren	App	idget proved nulative)		Cummulative Progress (Since Inception)			Spill Over			
	P	articular	Phys Financi		Phys	ical	Financi	Physical			Financia	
			ical	al	Comp lete	In- prog ress	al	In- progr ess	Not Start ed	Total	l	
		Class VIII)										
	37.d	Boys Toilets	0	717.96	0	0	0.00	0	0	0	717.96	
	37.e	Girls Toilets (Upto Class VIII)	0	1309.81	0	0	0.00	0	0	0	1309.81	
	37.j	CWSN Toilets (Upto Class VIII)	0	124.68	0	0	0.00	0	0	0	124.68	
	37.k	Major Repair (Upto Class VIII)	0	546.53	0	0	0.00	0	0	0	546.53	
	of Sch	for Strengthening ools - NR (up to st Class VIII)	0	13224.0 2	0	0	0.00	0	0	0	13224.0 2	
	_	thening of Existing s (IX - X) - NR										
	38.a	Additional Classroom	160	3127.58	0	0	0.00	0	160	160	3127.58	
	38.b	Science Lab	319	4230.45	0	0	0.00	0	319	319	4230.45	
	38.c	Lab Equipment (Sci Lab)	325	1725.00	0	0	0.00	0	325	325	1725.00	
	38.d	Art/Craft Room	320	2748.86	0	0	0.00	0	320	320	2748.86	
	38.e	Library Room	320	3458.54	0	0	0.00	0	320	320	3458.54	
38	38.f	Drinking Water	11	6.09	0	0	0.00	0	11	11	6.09	
	38.g	Boys Toilet	57	53.01	0	0	0.00	0	57	57	53.01	
	38.h	Girls Toilet	57	53.01	0	0	0.00	0	57	57	53.01	
	38.i	Toilets for CWSN	158	134.30	0	0	0.00	0	158	158	134.30	
	38.j	Removal of Architectural Barriers	74	18.50	0	0	0.00	0	74	74	18.50	
		for Strengthening sting Schools (IX - R	1801	15555.3 4	0	0	0.00	0	1801	1801	15555.3 4	
	Teach	er Quarter - NR (up hest Class X or XII)		1	1	1	1		1		1	
39	39.a	Residential Quarter	100	766.67	0	50	220.22	50	50	100	546.45	
	Total for Teacher Quarter - NR (up to Highest Class X or XII)		100	766.67	0	50	220.22	50	50	100	546.45	
4.4	Other	(Non-Recurring) Idary & Sr.			•				•			
41		Boys Hostel	36	5097.23	0	36	1403.03	36	0	36	3694.20	
	41.	Furniture for Boys Hostel	36	284.76	0	0	0.00	0	36	36	284.76	

				S	pill Ove	ŗ					
Fi		Year:2018-2019 nth: March		СНН	ATTISGA	ARH			(Rs.)	n Lacs)	
	1410	nen. Platen	App	idget proved nulative)	Cummulative Progress (Since Inception)			Spill Over			
	P	articular	Phys	Financi	Phys	ical	Financi	Physical			Financia
			ical	al	Comp lete	In- prog ress	al	In- progr ess	Not Start ed	Total	l
		Furniture for Girls Hostel	20	158.20	0	0	0.00	0	20	20	158.20
		Girls Hostel	20	2619.82	0	20	720.47	20	0	20	1899.35
	Recuri Sr. Sec	or Other (Non- ring) (Secondary & ondary)	112	8160.01	0	56	2123.50	56	56	112	6036.51
	(Secon	fication in Schools dary and Sr. lary) - NR							T		
43	43.b	Solar Panel For Hostels	25	93.75	0	25	93.75	25	0	25	0.00
	in Sch	or Electrification ools (Secondary . Secondary) - NR	25	93.75	0	25	93.75	25	0	25	0
Tota		cess & Retention	4710	54781.7 0	0	191	2662.47	191	451 9	4710	52119.2 3
Quali	ty Inter	ventions				•			•	•	
ICT a	nd Digit	al Initiatives									
		d Digital Initiatives Highest Class VIII) -									
	100.a	Tablets/Laptop/No tebook/PCs	295	1274.40	0	0	0.00	0	295	295	1274.40
100	100.b	Operating System / Softwares	295	59.00	0	0	0.00	0	295	295	59.00
	100.c	Furniture	295	59.00	0	0	0.00	0	295	295	59.00
	Initiat	for ICT and Digital ives (up to Highest /III) - NR	885	1392.40	0	0	0.00	0	885	885	1392.4
		d Digital Initiatives Highest Class XII) -									
102	102.b	Operating System / Softwares	1246	8271.85	0	0	0.00	0	1246	1246	8271.85
	Total for ICT and Digital Initiatives (upto Highest Class XII) - NR		1246	8271.85	0	0	0.00	0	1246	1246	8271.85
Tota	otal for Quality Interventions		2131	9664.25	0	0	0.00	0	213 1	2131	9664.25
Teacl	eacher Education			•	•	•		•	•	•	
infra	trengthening of physical nfrastructure& Establishment of ew DIETs										
111	Establi	shment of Special									

				S	pill Ove	r					
Fi		Year:2018-2019 nth: March		СНН	ATTISGA	ARH			(Rs.l	n Lacs)	
			App	idget proved nulative)		Cumm gress ( inception	•	Spill Over  Physical Finance			
	P	articular	Phys	Financi	Phys	ical	Financi	F	hysical		Financia
			ical	al	Comp lete	In- prog ress	al	In- progr ess	Not Start ed	Total	l
	Cells in	SCERT - NR									
	111.a	Science	1	10.00	0	0	0.00	0	1	1	10.00
	111.b	Mathematics	1	10.00	0	0	0.00	0	1	1	10.00
	111.c	Social Studies	1	10.00	0	0	0.00	0	1	1	10.00
	111.d	Education Technology/Comp uter	1	10.00	0	0	0.00	0	1	1	10.00
	111.e	Language/English Education	1	10.00	0	0	0.00	0	1	1	10.00
		or Establishment cial Cells in SCERT -	5	50.00	0	0	0.00	0	5	5	50
		nent's in Teacher ion Institutions - NR									
	112.a	SCERT	1	20.00	0	0	0.00	0	1	1	20.00
112	112.b	DIETs	19	380.00	0	0	0.00	0	19	19	380.00
	Teach	or Equipment's in er Education ttions - NR	20	400.00	0	0	0.00	0	20	20	400
		shment of tions - NR			T	1			1		
113	113.b	Construction of New DIET Building (Previous Year)	1	425.01	0	0	0.00	0	1	1	425.01
		or Establishment	1	425.01	0	0	0.00	0	1	1	425.01
		itutions - NR thening of Physical				<u> </u>			<u> </u>		
		ructure - NR									
115	115.a	Civil works, hostel facilities, etc of the existing TEIs (SCERTs/DIETs/BI TEs)	5	215.89	0	0	0.00	0	5	5	215.89
		or Strengthening sical Infrastructure	5	215.89	0	0	0.00	0	5	5	215.89
Tech		Support to TEIs				•			•		
		ology Support to									
122	122.a	Hardware & Software Support	20	128.00	0	0	0.00	0	20	20	128.00
		or Technology rt to TEIs (NR)	20	128.00	0	0	0.00	0	20	20	128

				S	pill Ove	r					
Fi		Year:2018-2019 nth: March		СНН	ATTISGA	ARH			(Rs.l	n Lacs)	
			Apj	udget proved mulative)		Cumm gress ( nception	•		Spi	ll Over	
	P	articular	Phys	Financi	Phys	ical	Financi	F	hysical		Financia
			ical	al	Comp lete	In- prog ress	al	In- progr ess	Not Start ed	Total	l
Tota	<b>l for</b> Tea	acher Education	51	1218.90	0	0	0.00	0	51	51	1218.9
Gend	er & Eq	uity									
Kastı (KGB	Vs)	ndhi Balika Vidyalaya									
		Type - I (NR) (New) es VI -VIII)		T	Ī	T	<b>-</b>		ı	ı	
135	135.a	Construction of Building (New)	1	300.00	0	0	0.00	0	1	1	300.00
133	135.d	Boring/ Handpump	1	2.00	0	0	0.00	0	1	1	2.00
		for KGBV - Type - I New) (Classes VI -	2	302.00	0	0	0.00	0	2	2	302
	KGBV -	· Type - IV (NR) (Classes IX - XII)		l							
147	147.a	Construction of Building (New)	10	489.01	0	0	0.00	0	10	10	489.01
14/	147.b	Boundary Wall	42	249.90	13	29	249.90	29	0	29	0.00
		for KGBV - Type - IV New) (Classes IX -	52	738.91	13	29	249.90	29	10	39	489.01
	Porta ( (New)	Cabin (Hostels) - NR									
	151.a	Construction of Building (New)	2	276.00	0	0	0.00	0	2	2	276.00
	151.b	Boundary Wall	2	23.80	0	0	0.00	0	2	2	23.80
151	151.c	Furniture & Equipment (Including Kitchen)	2	22.82	0	0	0.00	0	2	2	22.82
	151.d	Kitchen Equipment	56	192.50	0	0	0.00	0	56	56	192.50
		for Porta Cabin els) - NR (New)	62	515.12	0	0	0.00	0	62	62	515.12
Tota	<b>l for</b> Gei	nder & Equity	116	1556.03	13	29	249.90	29	74	103	1306.13
		ducation									
Educ	Introduction of Vocational Education at Secondary and higher Secondary										
3.5	Introduction of VE in schools - NR										
163	163.a	Tools, Equipment & Furniture (New)	155	930.00	0	0	0.00	0	155	155	930.00
		for Introduction of schools - NR	155	930.00	0	0	0.00	0	155	155	930

				S	pill Ove	•							
Fi		Year:2018-2019 nth: March		СНН	ATTISGA	ARH			(Rs.In Lacs)				
			App	udget proved nulative)		Cumm gress ( nception	•		Spi	ll Over			
	P	articular	Phys Financi Physical Financi			P	l	Financia					
				al	Comp lete	In- prog ress	al	In- progr ess	Not Start ed	Total	l		
		on of VE Course in g Schools - NR											
167	167.a	Tools, Equipment & Furniture (Existing Schools)	270	1442.20	270	0	1442.20	0	0	0	0.00		
		or Addition of VE e in Existing ls - NR	270	1442.20	270	0	1442.20	0	0	0	0		
Tota	l for Vo	cational Education	425	2372.20	270	0	1442.20	0	155	155	930		
Gran	d Total		7433	69593.0 8	283	220	4354.57	220	693 0	7150	65238.5 1		

### **Annexure VIII**

				C	OSTING					
	Pa	rtic	ulars			Proposa	]	Final A	pprove	d Outlay
Major	Sub			Activity Master	Physi	Unit	Financi	Physi	Unit	Financ
Compo	Compone				cal	Cost	al	cal	Cost	ial
nent	nt	_		0 1 634						
Access &	Opening of New /	1		Opening of New Schools - NR						
Retenti	Upgraded			(Elementary)						
on	Schools		<b>1.</b> b	Upgradation of PS to UPS (VI – VIII)	2	12.84000	25.68	1	12.840 00	12.84
				Total of Opening of			25.68		00	12.84
				New Schools - NR (Elementary)						
		3		Opening of New /						
				Upgraded Schools - NR (Secondary)						
			<b>3.</b> b	2 Section School (Class IX - X)	18	75.32000	1355.76	9	75.320 00	677.88
				Total of Opening of			1355.76			677.88
				New / Upgraded Schools - NR						
				(Secondary)						
		4		Opening of New /						
				Upgraded Schools						
				- Recurring						
			<b>4.</b> a	(Secondary) Subject Teacher	108	2.25000	243	9	25.000	225
				,	100		_10	,	00	
				Total of Opening of			243			225
				New / Upgraded Schools -						
				Recurring						
				(Secondary)						
				pening of New /			1624.44			915.72
	Residential	- <b>Ե</b> թչ	graueu	Schools   Residential						
	School /	5		Schools - NR						
	Hostels			(Previous Year)						
			<b>15.</b> a	(Capacity 100) Furniture /	1100	0.03000	33	300	0.0300	9
			13.a	Equipment	1100	0.03000	33	300	0.0300	9
				(including kitchen						
			4 = 1	equipment)						
			<b>15.</b> b	TLM and equipment including library	1100	0.03500	38.5	300	0.0350	10.5
			<b>15.</b> c	books (New) Bedding (New)	1100	0.00750	8.25	300	0.0075	2.25
			<b>15.</b> f	Boring/ Handpump	7	2.00000	14	3	2.0000	6
				Total of Residential Schools - NR (Previous Year) (Capacity 100)			93.75		U	27.75
		1 6		Residential Schools - Recurring (Previous Year)						

		C	COSTING					
Par	ticulars			Proposal		Final A	pproved	l Outlay
		(Capacity 100)						
	<b>16.</b> a	Maintenance per child per month	1100	0.18000	198	1100	0.1800	198
	<b>16.</b> b	Stipend per child per month	1100	0.01200	13.2	1100	0.0120	13.2
	<b>16.</b> c	Supplementary TLM, Stationery and other educational material	1100	0.01000	11	1100	0.0100	11
	<b>16.</b> d	1 Warden	7	4.20000	29.4	7	4.2000 0	29.4
	<b>16.</b> f	4 - 5 Fulltime teachers as per RTE Norms	7	12.00000	84	7	12.000	84
	<b>16.</b> h	3 Part time teachers	7	2.52000	17.64	7	2.5200	17.64
	<b>16.</b> i	1 Full time Accountant	7	2.16000	15.12	7	2.1600	15.12
	<b>16</b> .j	2 Support staff - (Accountant/Assista nt, Peon, Chowkidar)	7	1.68000	11.76	7	1.6800	11.76
	<b>16.</b> k	1 Head Cook	7	0.96000	6.72	7	0.9600 0	6.72
	<b>16.</b> l	2 Assistant Cook	7	1.68000	11.76	7	1.6800 0	11.76
	<b>16.</b> m	Specific Skill training	1100	0.01000	11	1100	0.0100	11
	<b>16.</b> n	Electricity / water charges	1100	0.01000	11	1100	0.0100	11
	<b>16.</b> 0	Medical care/contingencies	1100	0.01250	13.75	1100	0.0125 0	13.75
	<b>16.</b> p	Maintenance	1100	0.00750	8.25	1100	0.0075 0	8.25
	<b>16.</b> q	Miscellaneous	1100	0.00750	8.25	1100	0.0075 0	8.25
	<b>16.</b> t	Provision of Rent	1100	0.10000	110	9	1.0000	9
	<b>16.</b> v	Physical / Self Defence Training	1100	0.00200	2.2	7	0.1000 0	0.7
		Total of Residential Schools - Recurring (Previous Year) (Capacity 100)			563.05			460.55
	0	Residential Schools - Recurring (Previous Year)(Capacity > 100)						
	<b>20.</b> a	Maintenance per child per month	30000	0.18000	5400	30000	0.1800 0	5400
	<b>20.</b> b	Stipend per child per month	30000	0.01200	360	30000	0.0120	360
	<b>20.</b> c	Supplementary TLM, Stationery and other educational	30000	0.01000	300	30000	0.0100	300

		C	OSTING					
Pa	rticula	'S_		Proposal		Final A	pprove	d Outlay
		material						
	20.	d 1 Warden	60	4.20000	252	60	4.2000 0	252
	20.	4 Fulltime teachers as per RTE Norms	60	12.00000	720	60	12.000 00	720
	20.		60	12.60000	756	60	12.600 00	756
	20.	1 Full Time Accountant	60	2.16000	129.6	60	2.1600	129.6
	20.		60	3.36000	201.6	60	3.3600	201.6
	20.	1 Head Cook	60	0.96000	57.6	60	0.9600 0	57.6
	20.	2 Assistant Cook	60	5.04000	302.4	60	5.0400	302.4
	20.	Specific Skill training	30000	0.01000	300	30000	0.0100	300
	<b>20</b> m		30000	0.01000	300	30000	0.0100	300
	20.		30000	0.01250	375	30000	0.0125 0	375
	20.	Maintenance	30000	0.00750	225	30000	0.0075 0	225
	20.	Miscellaneous	30000	0.00750	225	30000	0.0075 0	225
	20.	Physical / Self Defence Training	30000	0.00200	60	30000	0.0020	60
		Total of Residential Schools - Recurring (Previous Year)(Capacity > 100)			9964.2			9964.2
	2 4	Residential Hostels - Recurring (Previous Year) (Capacity 50)						
	24.		1200	0.18000	216	1200	0.1800	216
	24.	-	1200	0.01200	14.4	1200	0.0120	14.4
	24.	Supplementary TLM, Stationery and other educational material	1200	0.01000	12	1200	0.0100	12
	24.	3 Part time teachers	24	2.52000	60.48	24	2.5200 0	60.48
	24.	(Accountant/Assista nt, Peon, Chowkidar)	24	0.84000	20.16	24	0.8400	20.16
	24.		24	1.68000	40.32	24	1.6800 0	40.32
	<b>24</b> m	Electricity / water charges	1200	0.01000	12	1200	0.0100	12
	24.		1200	0.01250	15	1200	0.0125	15

		CO	OSTING					
Partic	ulars			Proposal		Final A	pproved	l Outlay
		care/contingencies					0	
	<b>24.</b> 0	Maintenance	1200	0.00750	9	1200	0.0075 0	9
	<b>24.</b> u	Physical / Self Defence Training	1200	0.00200	2.4	24	0.1000	2.4
		Total of Residential Hostels - Recurring (Previous Year) (Capacity 50)			401.76			401.76
9		Residential Hostels - NR (Previous Year) (Capacity 100)						
	<b>29.</b> a	Furniture/ Equipment (including kitchen)	300	0.03000	9	300	0.0300	9
	<b>29</b> .b	TLM and equipment including library books	300	0.03500	10.5	300	0.0350	10.5
	<b>29.</b> c	Bedding (new)	300	0.03000	9	300	0.0300	9
		Total of Residential Hostels - NR (Previous Year) (Capacity 100)			28.5			28.5
3 0		Residential Hostels - Recurring (Previous Year) (Capacity 100)						
	<b>30.</b> a	Food/lodging per child per month	1300	0.18000	234	1300	0.1800	234
	<b>30</b> .b	Stipend per child per month	1300	0.01200	15.6	1300	0.0120	15.6
	<b>30.</b> c	Supplementary TLM, Stationery and other educational material	1300	0.01000	13	1300	0.0100	13
	<b>30.</b> d	1 Warden	13	4.20000	54.6	13	4.2000 0	54.6
	<b>30.</b> g	3 Part time teachers	13	2.52000	32.76	13	2.5200 0	32.76
	<b>30.</b> h	1 Full Time Accountant	13	2.16000	28.08	13	2.1600	28.08
	<b>30.</b> i	2 Support staff - (Accountant/Assista nt, Peon, Chowkidar)	13	1.68000	21.84	13	1.6800	21.84
	<b>30.</b> j	1 Head Cook	13	0.96000	12.48	13	0.9600 0	12.48
	<b>30.</b> k	2 Assistant Cook	13	1.68000	21.84	13	1.6800	21.84
	<b>30</b> .l	Specific Skill training	1300	0.01000	13	1300	0.0100	13
	<b>30.</b> m	Electricity / water charges	1300	0.01000	13	1300	0.0100	13
	<b>30.</b> n	Medical care/contingencies	1300	0.01250	16.25	1300	0.0125 0	16.25

			CO	OSTING					
Pa	rtic	ulars			Proposa				d Outlay
		<b>30.</b> o	Maintenance	1300	0.00750	9.75	1300	0.0075	9.75
		<b>30.</b> p	Miscellaneous	1300	0.00750	9.75	1300	0.0075 0	9.75
		<b>30.</b> s	Provision of Rent	3	10.00000	30	3	9.0000	27
		<b>30.</b> u	Physical / Self Defence Training	1300	0.00200	2.6	13	0.1000	1.3
			Total of Residential Hostels - Recurring (Previous Year) (Capacity 100)			528.55			524.25
		tai of R stels	esidential School /			11579.8 1			11407.0 1
Strengthen ing of Existing Schools	3 7		Strengthening of Schools - NR (up to Highest Class VIII)						
		<b>37.</b> d	Boys Toilets	288	1.03000	296.64	55	1.0300	56.65
		<b>37.</b> e	Girls Toilets (Upto Class VIII)	467	1.03000	481.01	119	1.0300	122.57
		<b>37.</b> f	Drinking Water (Upto Class VIII)	3241	0.75000	2430.75	1115	0.7500 0	836.25
		<b>37.</b> k	Major Repair (Upto Class VIII)	89	11.39726	1014.356 14	62	11.761 00	729.182
		<b>37.</b> p	Dilapited Building (Primary)	1	0.00001	0.00001	60	11.548 00	692.88
			Total of Strengthening of Schools - NR (up to Highest Class VIII)			4222.76			2437.53
	3 8		Strengthening of Existing Schools (IX - X) - NR						
		<b>38.</b> a	Additional Classroom	954	8.64000	8242.56	223	8.6400 0	1926.72
		<b>38.</b> b	Science Lab	320	9.13000	2921.6	95	9.1300 0	867.35
		<b>38.</b> c	Lab Equipment (Sci Lab)	320	1.00000	320	95	1.0000	95
		<b>38.</b> f	Drinking Water	2022	1.00000	2022	137	1.0000	137
		<b>38.</b> g	Boys Toilet	4561	1.03000	4697.83	429	1.0300	441.87
		<b>38.</b> h	Girls Toilet	6433	1.03000	6625.99	830	1.0300	854.9
		<b>38.</b> i	Toilets for CWSN	656	1.03000	675.68	324	1.0300	333.72
		<b>38.</b> j	Removal of Architectural Barriers	1179	0.25000	294.75	509	0.2500	127.25
		<b>38.</b> k	Computer Room	378	7.36000	2782.08	100	7.3600 0	736
			Total of Strengthening of Existing Schools			28582.4 9			5519.81

				C	OSTING					
	Pa	rtic	ulars			Proposa	l	Final A	pprove	d Outlay
				(IX - X) - NR		•				
		4 2		Electrification in Schools (Elementary) - NR						
			<b>42.</b> a	Solar Panel	153	4.31800	660.654	100	3.3000	330
				Total of Electrification in Schools (Elementary) - NR			660.65			330
		4 3		Electrification in Schools (Secondary and Sr. Secondary) - NR						
			<b>43</b> .b	Solar Panel For Hostels	49	4.31800	211.582	49	3.3000 0	161.7
				Total of Electrification in Schools (Secondary and Sr. Secondary) - NR			211.58			161.7
				trengthening of chools			33677.4 8			8449.04
	Transport & Escort Facilities	4 7		Transport / Escort Facility (Elementary)						
			<b>47.</b> b	Children in remote habitation	862	0.03000	25.86	862	0.0300	25.86
				Total of Transport / Escort Facility (Elementary)			25.86			25.86
			al of T ilities	ransport & Escort			25.86			25.86
	Total for Acc	cess	& Rete	ntion			46907.5 9			20797.6
RTE	Free	4		Uniform						
Entitle ments	Uniforms	9	<b>49.</b> a	All Girls	10399 82	0.00600	6239.892	103998 2	0.0060 0	6239.89 2
			<b>49.</b> b	ST Boys	59079 2	0.00600	3544.752	590792	0.0060 0	3544.75 2
			<b>49.</b> c	SC Boys	24075 8	0.00600	1444.548	234966	0.0060 0	1409.79 6
			<b>49.</b> d	BPL Boys	41186 1	0.00600	2471.166	411861	0.0060	2471.16
				Total of Uniform			13700.3			13665.6
			al of F	ree Uniforms			13700.3 6			13665.6 1
	Free	5		Free Text Books						
	Textbooks	0	<b>50.</b> a	Text Books (Class I - II)	59286 8	0.00250	1482.17	592868	0.0025	1482.17
			<b>50</b> .b	Braille Books (Class I – II)	170	0.00250	0.425	170	0.0025	0.425
			<b>50.</b> c	Large Print Books (Class I – II)	1308	0.00250	3.27	1308	0.0025	3.27
			<b>50.</b> d	Text Books (Class III - V)	88556 0	0.00250	2213.9	885560	0.0025	2213.9
			<b>50.</b> e	Braille Books (Class III - V)	274	0.00250	0.685	274	0.0025 0	0.685

			CO	OSTING					
Pa	rtic	ulars	,		Proposa				d Outlay
		<b>50.</b> f	Large Print Books (Class III - V)	2142	0.00250	5.355	2142	0.0025 0	5.355
		<b>50.</b> g	Text Books (Class VI - VIII)	96934 4	0.00400	3877.376	969344	0.0040	3877.37 6
		<b>50.</b> h	Braille Books (Class VI – VIII)	321	0.00400	1.284	321	0.0040	1.284
		<b>50.</b> i	Large Print Books (Class VI - VIII)	2488	0.00400	9.952	2488	0.0040	9.952
			Total of Free Text Books			7594.42			7594.42
	Tot	al of F	ree Textbooks			7594.42			7594.42
Reimburse ment	5 1		Reimbursement of Fee						
towards expenditur e incurred for 25% of Admision		<b>51.</b> a	Reimbursement of Fee against 25% admission under Section 12(1)(c) of RTE Act 2009 (Entry	17136 0	0.09909	16980.07 4	171360	0.0000	4949.6
under 12 (1)(c) RTE Act			Level)  Total of  Reimbursement of			16980.0 7			4949.6
	tow	vards e urred :	Fee eimbursement expenditure for 25% of Admision (1)(c) RTE Act			16980.0 7			4949.6
Special Training of Out of School	5 2	<b>T</b> 0.1	Special Training for OoSC - Non- Residential (Fresh)						
Children (OoSC)		<b>52.</b> b	6 Months (Non- Residential - Fresh)	797	0.03000	23.91	797	0.0300	23.91
		<b>52.</b> c	9 Months (Non - Residential - Fresh)	4415	0.04500	198.675	4415	0.0450 0	198.675
			Total of Special Training for OoSC - Non-Residential (Fresh)			222.58			222.58
	5 3		Special Training for OoSC - Residential (Fresh)						
		<b>53.</b> b	6 Months (Residential - Fresh)	242	0.10000	24.2	242	0.1000 0	24.2
		<b>53.</b> c	9 Months (Residential - Fresh)	9458	0.15000	1418.7	9458	0.1500 0	1418.7
			Total of Special Training for OoSC - Residential (Fresh)			1442.9			1442.9
	5 7		Intervention for Migrant Children/ Seasonal Hostel (Residential)						
		<b>57.</b> b	6 Months (Residential - Migrant)	483	0.10000	48.3	483	0.1000	48.3
			Total of Intervention for			48.3			48.3

				C	OSTING					
	Pa	rtic	ulars			Proposa	1	Final A	pprove	d Outlay
				Migrant Children/ Seasonal Hostel (Residential)			1=10=0			1-10-0
				pecial Training of lool Children (OoSC)			1713.78			1713.78
	Media & Communit y Mobilizatio	6		Media & Community Mobilization (Elementary)						
	n		<b>61.</b> b	Media & Community Mobilization	43786	0.01500	656.79	43786	0.0150	656.79
			<b>61.</b> c	Training of SMC/ SDMC	43786	0.03000	1313.58	43786	0.0300	1313.58
				Total of Media & Community Mobilization (Elementary)			1970.37			1970.37
		6 2		Media & Community Mobilization (Secondary)						
			<b>62.</b> a	Media & Community Mobilization	4552	0.01500	68.28	4552	0.0150	68.28
			<b>62.</b> b	SMDC Training	4552	0.03000	136.56	4552	0.0300	136.56
				Total of Media & Community Mobilization (Secondary)			204.84			204.84
				ledia & Community			2175.21			2175.21
	Total for RT		bilizat titleme				42163.8			30098.6
Quality Interve ntions	Funds for Quality (LEP,	6 3		Quality Components (Elementary)						-
	Innovation, Guidance etc)		63.	Quality Improvement Special Program	150	0.20000	30	150	0.1500 0	22.5
				Reporting by Head of Schools	5406	0.01000	54.06	17219	0.0050	86.095
				Support to English Medium Schools	300	8.40000	2520	300	3.0000	900
				Teacher Motivation Strategies	177	0.05000	8.85	177	0.0200	3.54
				Teaching Learning Material Kit	5406	0.50000	2703	5406	0.2500 0	1351.5
			<b>63.</b> j	Orientation Programme for Teachers on Safety and Security	14672 5	0.00500	733.625	148725	0.0100	1487.25
			L	Shaala Siddhi	43785	0.01000	437.85	43785	0.0060	262.71
			<b>63</b> .k	Fund for Safety and Security at School Level	43785	0.01000	437.85	43785	0.0050 0	218.925
				Total of Quality Components (Elementary)			6925.24			4332.52

		C	OSTING					
Part	iculars	,		Proposa	l	Final A	pprove	d Outlay
4		Quality Components (Secondary & Sr. Secondary)						
	64.	Funds for Safety and Security	4552	0.00500	22.76	4552	0.0050	22.76
		Orientation Programme for Teachers on safety and Security	31767	0.01000	317.67	31767	0.0100	317.67
		Reporting by Head of Schools	4552	0.01000	45.52	4552	0.0050	22.76
	<b>64.</b> a e	UNNATI	40795 9	0.00300	1223.877	407959	0.0030	1223.87 7
	<b>64.</b> b	Shaala Siddhi	4552	0.05000	227.6	4552	0.0060	27.312
	<b>64.</b> d	Teacher Exchange programme	100	0.20000	20	100	0.1500 0	15
	<b>64.</b> s	Yoga Project	1372	0.01500	20.58	1372	0.0150 0	20.58
	<b>64.</b> x	Special transport allowance	800	0.06000	48	800	0.0600 0	48
		Total of Quality Components (Secondary & Sr. Secondary)			1926.01			1697.96
		Project - Innovative Activities (Secondary & Sr. Secondary)						
	66.	CCTV Camera	4684	0.22000	1030.48	100	0.2200	22
		Documentation of Best Practices on Shagun Portal	1	25.00000	25	1	25.000 00	25
		Fire Exinguser	4552	0.10000	455.2	4552	0.0500 0	227.6
		Interactive Multimedia Tools for Visual Impaired Children	200	0.50000	100	100	0.5000	50
		Teacher IdCards	31767	0.00060	19.0602	31767	0.0005 0	15.8835
		Transcending pedagogy through blending learning	1000	1.00000	1000	1000	0.5000	500
		Youth & Eco Club	4552	0.25000	1138	4552	0.2500	1138
	<b>66.</b> a 0	Empowering Adolescents with life skills education in Schools	4157	0.08000	332.56	4157	0.0500	207.85
	<b>66.</b> g	BAND Competition	146	0.03403	4.96838	1	5.0000 0	5
	<b>66.</b> n	Career Guidance / Councelling	11133 94	0.00100	1113.394	111339 4	0.0003	334.018 2
		Total of Project - Innovative			5218.66			2525.35

		COSTING						
Par	ticular	'S		Proposa	1	Final A	pproved	d Outlay
	6	Activities (Secondary & Sr. Secondary) Project Innovation		-				•
	7 67.	500000000000000000000000000000000000000	34981	0.00120	4197.743	1	4800.0	4800
		Assessment Youth & Eco Club	19 12869	0.15000	1930.35	12869	0.1500	1930.35
		Youth & Eco Club(stand alone primary only schools)	30916	0.05000	1545.8	30916	0 0.0500 0	1545.8
	<b>67.</b> a		14872 5	0.00050	74.362	148680	0.0005	74.34
	<b>67.</b> 0	ShaalaKosh	48497	0.07500	3637.275	48497	0.0470	2279.35 9
		Total of Project Innovation (Elementary)			11385.5 3			10629.8 5
	6 9 69.1	Project Kala Utsav (Secondary)  Kala Utsav	146	0.07858	11.472	1	11.472	11.4726
		Total of Project	140	0.07030	11.472	1	68	8 11.47
		Kala Utsav (Secondary)						
	7	LEP (Class I - II)						
	2 72.	Local Language	10471	0.00050	52.356	104713	0.0005	52.3565
		Reading writing Materials( Educational Kit)	45024	0.00050	22.512	45024	0.0005	22.512
		Work book for Children- Math/Language	31881	0.00050	15.94	31881	0.0005	15.9405
	<b>72.</b> a	Work book in English and Math Matics	70412 4	0.00050	352.062	704124	0.0005	352.062
	72.0		3264	0.00050	1.632	3264	0.0005	1.632
	72.	Dialect (Class I & II)	60488 9	0.00050	302.444	604889	0.0005 0	302.444 5
	72.0		26403	0.00050	13.202	26403	0.0005 0	13.2015
		Total of LEP (Class I - II)			760.15			760.15
	7	LEP (Class III - V)						
	3 73.	book for 4-5 student	62562	0.00030	18.768	52562	0.0003	15.7686
		Remedial Teaching Worksheet	10267	0.00100	10.267	10267	0.0010	10.267
	<b>F</b> 0	Special Coaching in Narayanpur Ashram	500	0.09000	45	500	0.0900	45
	<b>73.</b> a	Energized Work book for English /Mathematics	11072 89	0.00050	553.647	9	0.0005	553.644 5
	73.a v		30586	0.00500	152.93	30586	0.0050 0	152.93

Total of LEP (Class VI-VIII)   Total of LEP (Class VI-VIIII)   Total of LEP (Class VI-VIII)   Total of LEP (Class VI-VIIII				C	OSTING					
Total of LEP (Class VIVIII)   Total of Learning (Elementary)   Total of Learning	Pa	rtic	ulars			Proposa	l	Final A	pproved	d Outlay
Total of LEP (Class VI-VIII)   Total of Shagunotsav (Secondary VI-VIII)   Total of Shagunotsav (Secondary VI-VIII)   Total			<b>73.</b> d	Remedial Teaching		0.00100	266.554	266554		266.554
material to support reading and writing habits   Total of LEP (Class   1248.9   12			<b>73.</b> f	Maths Activity Book	22197	0.00030	6.659	22197		6.6591
Total of Legementary    Total of Legementary    Total of Experiential Learning (Elementary)   Total of Legementary    Total of Experiential Learning (Elementary)   Total of Legementary    Total of Shagunotsav (Secondary & Sr. Secondary)   Total of Shagunotsav (Secondary & Sr. Secondary & Sr. Secondary & Sr. Secondary & S			<b>73.</b> k	material to support reading and writing		0.00030	195.072	650238	0.0003	195.071 4
4   74.				Total of LEP (Class			1248.9			1245.89
Dook for 6-8   Students   Stude				LEP (Class VI - VIII)						
Special Coaching in Narayanpur Ashram   Spec		4	74.	book for 6-8	53	0.00030				370.455 9
Narayanpur Ashram   74.a   Work sheets for UPS   12348   0.00120   1481.824   123485   0.0012   1481.824   123485   0.0012   1481.824   123485   0.0012   1481.824   123485   0.0012   1481.824   123485   0.0012   1481.824   123485   0.0012   1481.824   123485   0.0012   1481.824   123485   0.0012   1481.824   123485   0.0012   1481.824   123485   0.0012   1481.824   123485   0.0012   1481.824   123485   0.0012   1481.824   123485   0.0012   1481.824   123485   0.0015   0.0050   65.995   13199   0.0050   65.995   13199   0.0050   65.995   13199   0.0050   65.995   13199   0.0050   65.995   13199   0.0050   65.995   13199   0.0050   66.599   46				Remedial Teaching		0.00100	308.712	308712		308.712
Students to improve   S3					500	0.09000	45	500		45
Total of LEP (Class VI - VIII)				Work sheets for UPS students to improve Los for aspirational		0.00120	1481.824			1481.82 36
VI - VIII)   Shagunotsav   Shagunotsav   Elementary)   75.a   Shagunotsav   43066   0.01500   645.99   44539   0.0061   27   6   27   76.a   28   28   28   28   28   28   28   2				Maths Activity Book	13199	0.00500	65.995	13199		65.995
Total of Experiential Learning (Elementary)   Total of Learning (Elementary)   Total of Legislation   Total of Shagunotsav (Secondary)   Total of Shagunotsav (Secon							2271.99			2271.99
Total of Shagunotsav (Elementary)										
Shagunotsav (Elementary)			<b>75.</b> a		43066	0.01500		44539		274.36
Company   Comp				Shagunotsav (Elementary)			645.99			274.36
Total of Experiential Learning (Elementary)				Learning						
Experiential Learning (Elementary)			<b>76.</b> a		1	5.00000	5	1		5
7 77.k Remedial Teaching 81592 0.00500 407.96 81592 0.0050 40  Total of LEP (Class IX - XII)  1 Shagunotsav (Secondary & Sr. Secondary)  116. a  Total of Shagunotsav (Secondary & Sr. Secondary)  Total of Shagunotsav (Secondary & Sr. Secondary)  Total of Shagunotsav (Secondary & Sr. Secondary)		-		Experiential Learning (Elementary)			5			5
Total of LEP (Class IX - XII)  1 Shagunotsav (Secondary & Sr. Secondary)  116. a Shagunotsav (Secondary & Sr. a Shagunotsav (Secondary & Sr. a Shagunotsav (Secondary & Sr. secondary)  Total of Shagunotsav (Secondary & Sr. Secondary)			<b>77.</b> k	, ,	81592	0.00500	407.96	81592		407.96
1 (Secondary & Sr. Secondary)  116. a Shagunotsav 4569 0.01605 73.33 4664 0.0076 4 35  Total of Shagunotsav (Secondary & Sr. Secondary)							407.96		0	407.96
Total of Shagunotsav (Secondary & Sr. Secondary)		1		Shagunotsav (Secondary & Sr.						
Total of Shagunotsav (Secondary & Sr. Secondary)				Shagunotsav	4569	0.01605	73.333	4664		35.633
m · 1 cm · 1 c · 0 · 10				Shagunotsav (Secondary & Sr.			73.33			35.63
		(LE	P, Inno	unds for Quality			30880.2 2			24198.1 4

			C	OSTING						
Pa	rtic	ulars			Proposa	1	Final A	pprove	d Outlay	
Assessmen t at National &	7 9		Assessment at State level (Elementary)							
State level		<b>79.</b> a	Assessment at State level	27	20.00000	540	27	10.000	270	
			Total of Assessment at State level (Elementary)			540			270	
			ssessment at & State level			540			270	
Training for In-	8 1		In-Service Training (I - VIII)							
service Teacher		<b>81.</b> a	Class I & II	35957	0.03000	1078.71	35957	0.0250	898.925	
and Head Teachers		<b>81.</b> b	Class III to V	53934	0.03000	1618.02	53934	0.0250	1348.35	
		<b>81.</b> c	Class VI to VIII	58834	0.03000	1765.02	58834	0.0250	1470.85	
			Total of In-Service Training (I - VIII)			4461.75			3718.12	
	8 2		In-Service Training (IX - XII )							
		<b>82.</b> a	Class IX to X	17287	0.03000	518.61	12965	0.0300	388.95	
		<b>82.</b> b	Class IX to XII	2209	0.03000	66.27	1656	0.0300	49.68	
		<b>82.</b> c	Class XI to XII	10504	0.03000	315.12	7880	0.0300	236.4	
			Total of In-Service Training (IX - XII )			900			675.03	
	8 5		Training of Resource Persons & Master Trainers (Elementary)							
		85.	Printing of Integrated Teacher Training Package	14872 5	0.00150	223.0875	148725	0.0015	223.088	
		<b>85.</b> a	KRPs Training at State level ( Class I to VIII)	1055	0.02500	26.375	1000	0.0600	60	
		<b>85.</b> b	SRPs Training by NIEPA at State Level ( Class I to VIII)	211	0.02500	5.275	200	0.0200	4	
		<b>85.</b> c	KRPs Travel/Accommoda tion	1266	0.02500	31.65	1200	0.2500	300	
	8 6			Total of Training of Resource Persons & Master Trainers (Elementary)			286.39			587.09
			Training of Resource Persons & Master Trainers (Secondary)							
		<b>86.</b> b	Master Trainers/Key Resource Persons	1458	0.02500	36.45	1095	0.0250 0	27.375	

			C	OSTING						
Pa	rtic	ulars			Proposa	l	Final A	pproved	d Outlay	
			(KRPs) Training for Class IX to X							
		<b>86</b> .c	Master Trainers/Key Resource Persons (KRPs) Training for Class XI & XII	11	0.02500	0.275	11	0.0250	0.275	
			Total of Training of Resource Persons & Master Trainers (Secondary)			36.72			27.65	
	8 8		School Leadership Training of Head Teachers/ Principals/RPs (Secondary)							
		<b>88.</b> c	School Leadership Training Program (SLDP) 1 month Certificate Course	200	0.12000	24	200	0.1200	24	
		<b>88.</b> d	Training of HMs (SLDP)	1815	0.02500	45.375	1362	0.0250	34.05	
			Total of School Leadership Training of Head Teachers/ Principals/RPs (Secondary)			69.38			58.05	
	9		Training of Educational Administrators (Secondary)							
		<b>90.</b> a	Secondary Level (Classes IX to X)	200	0.01500	3	200	0.0150	3	
			Total of Training of Educational Administrators (Secondary)			3			3	
	ser	vice T	raining for In- eacher and Head			5757.24			5068.94	
Composite School Grant	9 1	chers	Annual Grant (up to Highest Class VIII)							
		<b>91.</b> a	School Grant - (Enrol 1- 15)	2817	0.12500	352.125	2759	0.1250 0	344.875	
		91.b	School Grant -(Enrol >15 - 100)	31476	0.25000	7869	31032	0.2500	7758	
		<b>91</b> .c	School Grant - (Enrol > 100 and <= 250)	8459	0.50000	4229.5	7919	0.5000	3959.5	
		<b>91</b> .d	School Grant - (Enrol > 250 and <= 1000)	1032	0.75000	774	624	0.7500	468	
		<b>91.</b> e	School Grant - (Enrol > 1000)	1	1.00000	1	1	1.0000	1	
			Total of Annual Grant (up to Highest Class VIII)			13225.6 2			12531.3 8	

			CO	OSTING					
Pa	1	ulars			Proposa	1	Final A	pprove	d Outlay
	9 2		Annual Grant (up to Highest Class X or XII)						
		<b>92.</b> a	School Grant (Enrol 1-15)	31	0.12500	3.875	28	0.1250 0	3.5
		<b>92</b> .b	School Grant -(Enrol >15 - 100)	1301	0.25000	325.25	1208	0.2500	302
		<b>92.</b> c	School Grant - (Enrol > 100 and <= 250)	1452	0.50000	726	1407	0.5000	703.5
		<b>92.</b> d	School Grant - (Enrol > 250 and <= 1000)	1752	0.75000	1314	1752	0.7500 0	1314
		<b>92.</b> e	School Grant - (Enrol > 1000)	16	1.00000	16	16	1.0000	16
			Total of Annual Grant (up to Highest Class X or XII)			2385.12			2339
	Tot Gra		omposite School			15610.7 5			14870.3 8
Libraries	9 5		Library (upto Highest Class VIII)						
		<b>95.</b> a	Composite Elementary Schools (I – VIII)	124	0.13000	16.12	124	0.1300 0	16.12
		<b>95.</b> b	Upper Primary Schools (VI – VIII)	13075	0.10000	1307.5	13075	0.1000 0	1307.5
		<b>95.</b> c	Primary School (I – V)	30586	0.03000	917.58	30586	0.0300	917.58
			Total of Library (upto Highest Class VIII)			2241.2			2241.2
	9 6		Library (upto Highest Class XII)						
		<b>96.</b> a	Composite Secondary Schools (Class I - X)	51	0.15000	7.65	51	0.1500	7.65
		<b>96.</b> b	Schools with Class VI - XII	2	0.15000	0.3	2	0.1500 0	0.3
		<b>96.</b> c	Secondary Schools (Classes IX & X)	1895	0.10000	189.5	1864	0.1000 0	186.4
		<b>96.</b> d	Composite Secondary Schools (Class IX - XII)	2519	0.15000	377.85	2514	0.1500	377.1
		<b>96.</b> e	Senior Secondary School Only (Class XI - XII)	8	0.10000	0.8	8	0.1000	0.8
		<b>96.</b> f	Composite Senior Secondary Schools (Class I - XII)	72	0.20000	14.4	72	0.2000	14.4
		<b>96.</b> g	Schools with Class VI - X	5	0.15000	0.75	5	0.1500 0	0.75
			Total of Library (upto Highest Class			591.25			587.4
	Tot	al of L	XII) ibraries			2832.45			2828.6
Rastriya	9	UI II	Rashtriya						_5_510
Aavishkar	7		Aavishkar						

			CO	OSTING			T			
Pa	rtic	ulars			Proposa	l	Final A	pprove	d Outlay	
Abhiyan			Abhiyaan (Elementary)							
		97.	Demonstration in Selected District	5	2.00000	10	5	0.2500	1.25	
			Kabad se Jugad Workshops at different levels	27	1.00000	27	27	0.5000	13.5	
			Model Science/Math Corners in Schools	150	0.01000	1.5	150	0.0100	1.5	
		<b>97.</b> a	Science Exhibition / Book Fair	177	0.10000	17.7	177	0.1000	17.7	
		<b>97.</b> b	Quiz Competition	177	0.10000	17.7	177	0.1000	17.7	
		<b>97.</b> d	Exposure visit outside State	354	0.40000	141.6	354	0.0400	14.16	
		<b>97.</b> g	Science Kit	13199	0.07639	1008.274	13199	0.0768 9	1014.87 111	
		97.h	Excursion Trip for Students within State	30000	0.00500	150	30000	0.0025 0	75	
		<b>97.</b> i	Maths Kit	13199	0.01661	219.233	13199	0.0166 1	219.235 39	
			Total of Rashtriya Aavishkar Abhiyaan (Elementary)			1593.01			1374.92	
	9		Rashtriya Aaviskaar Abhiyan (Secondary)							
		<b>98.</b> a	Science Exhibition / Book Fair	27	1.00000	27	27	0.5000 0	13.5	
		<b>98.</b> c	Quiz Competition	27	0.05200	1.404	27	0.0520	1.404	
		<b>98.</b> d	Study Trip for Students to Higher Institutions (Within States)	7400	0.00760	56.24	7400	0.0076	56.24	
		<b>98.</b> e	Exposure visit outside State	292	0.05000	14.6	292	0.0400	11.68	
		<b>98.</b> h	Maths Kit	4552	0.01907	86.806	4552	0.0190 7	86.8066 4	
		<b>98.</b> k	Science Kit	4552	0.10947	498.306	4552	0.1094 7	498.307 44	
			Total of Rashtriya Aaviskaar Abhiyan (Secondary)			684.36			667.94	
		al of R hiyan	astriya Aavishkar			2277.36			2042.85	
Academic support	1 0	liyan	Provision for BRCs/URCs							
through BRC/URC/ CRC	8	<b>108</b> .	Salary for 6 Resource Persons at BRC	46	3.00000	138	46	3.0000	138	
		<b>108</b> . b	Salary for 2 Resource Persons for CWSN	164	2.76000	452.64	164	2.7600 0	452.64	
		<b>108.</b> c	Salary for 1 MIS Coordinator in position	150	1.80000	270	150	1.8000	270	

				C	OSTING						
	Pa	rtic	ulars			Proposa	l	Final A	pprove	d Outlay	
			<b>108</b> . d	Salary for 1 Data Entry Operator in position	150	1.80000	270	150	1.8000	270	
			<b>108.</b> e	Salary for 1 Accountant-cum- support staff	150	2.40000	360	150	2.3000	345	
			<b>108.</b> g	Furniture Grant	150	3.00000	450	150	1.0000	150	
			<b>108.</b> i	Contingency Grant	150	0.50000	75	150	0.3000	45	
			<b>108.</b> j	Meeting, TA	150	0.40000	60	150	0.1000	15	
			<b>108.</b> k	Maintenance Grant	150	0.50000	75	150	0.2000	30	
				Total of Provision for BRCs/URCs			2150.64			1715.64	
		1 1		Provisions for CRCs							
		0	<b>110.</b> b	Furniture Grant	2703	1.40000	3784.2	5540	0.8000	4432	
			<b>110.</b> c	Contingency Grant	2703	0.30000	810.9	5540	0.2000	1108	
			<b>110.</b> d	Meeting, TA	2703	0.20000	540.6	5540	0.1000 0	554	
			<b>110.</b> e	TLM Grant	2703	0.20000	540.6	5540	0.1200 0	664.8	
			<b>110.</b> f	Maintenance Grant	2703	0.20000	540.6	2703	0.1000 0	270.3	
			<b>110</b> . g	Mobility Support for CRC(Strengthening of CRC)	43785	0.01000	437.85	42335	0.0100	423.35	
				Total of Provisions for CRCs			6654.75			7452.45	
		thr	ough E	cademic support BRC/URC/CRC			8805.39			9168.09	
	Total for Qu		Interv				66703.4 1			58447.0 0	
Teacher	Salaries of	1		Teachers							
Educati on	Teacher Educators (TEIs)	7		Educators Salary in TEIs (Academic Posts)							
			<b>117.</b> b	DIETs	198	15.21717	3013	198	5.5043 0	1089.85 14	
				Total of Teachers Educators Salary in TEIs (Academic Posts)			3013			1089.85	
				alaries of Teacher			3013			1089.85	
	Drogram 0		acators	S (TEIS)							
	Program & Activities	1 2		Program & Activities							
	including	1		including Faculty							
	Faculty			Development of							
	Developme nt of		121.	Teacher Educators	10	20.00000	F70	10	20.000	F70	
	Teacher		b	Program & Activities (DIET)	19	30.00000	570	19	30.000	570	
	Educators		<b>121.</b> c	Specific projects for Research activities (DIET)	19	9.21053	175	19	9.2100	174.99	

				CO	OSTING					
	Pa	rtic	ulars			Proposal		Final A	pproved	l Outlay
			<b>121.</b> g	Program & Activities (SCERT)	1	40.00000	40	1	40.000	40
			<b>121.</b> h	Specific programme for Research activities (SCERT)	1	30.00000	30	1	15.000 00	15
				Total of Program & Activities including Faculty Development of Teacher Educators			815			799.99
		inc Dev	luding	rogram & Activities Faculty tent of Teacher			815			799.99
	Technolog y Support to TEIs	1 2 3		Recurring Support on (Technology Support)						
			<b>123.</b> d	Recurring Support on Technology (TEIs)	19	2.40000	45.6	19	2.4000	45.6
				Total of Recurring Support on (Technology Support)			45.6			45.6
			al of T ΓEIs	echnology Support			45.6			45.6
	Annual Grant for TEIs	1 2 4	124.	Annual Grant for TEIs SCERT	1	25 00000	25	1	25 000	25
	IEIS	4	a 124.	DIETs	19	35.00000	35	1 19	35.000 00 20.000	35
			b		19	20.00000		19	00	
			1.64	Total of Annual Grant for TEIs			415			415
	Tatal far Ta			nnual Grant for TEIs			415			415
Sports	Total for Tea	acne 1	r Eauc	Sports & Physical			4288.60			2350.44
& Physical	Physical Education	2 7		Education (upto Highest Class VIII)						
Educati on			<b>127.</b> a	Sports & Physical Education (Primary Schools )	30588	0.05000	1529.4	30588	0.0500	1529.4
			<b>127.</b> b	Sports & Physical Education (Upper Primary Schools )	13199	0.10000	1319.9	13199	0.1000	1319.9
				Total of Sports & Physical Education (upto Highest Class VIII)			2849.3			2849.3
		1 2 8		Sports & Physical Education (upto Highest Class XII)						
			<b>128.</b> a	Sports & Physical Education (Secondary)	4552	0.25000	1138	4552	0.2500	1138
				Total of Sports & Physical Education (upto Highest Class XII)			1138			1138

				C	OSTING					
	Pa	rtic	ulars			Proposa	l	Final A	pprove	d Outlay
				ports & Physical			3987.3			3987.3
	Total for Sp		cation	ı ical Education			3987.30			3987.30
Salary	Teacher	1	x rnys	Teacher Salary -			3907.30			3907.30
of	Salary	3		(Elementary)						
Teacher s	(HMs/Teac hers)	1	<b>131.</b> a	Primary Teachers- Existing, in position (Regular)	8686	1.80000	15634.8	8133	1.8000	14639.4
				Total of Teacher Salary – (Elementary)			15634.8			14639.4
		1 3 3		Upper Primary Teachers (Regular) - (Elementary)						
			<b>133.</b> d	Upper Primary Teachers	6223	2.40000	14935.2	6223	2.4000	14935.2
	1 3		Total of Upper Primary Teachers (Regular) – (Elementary)			14935.2			14935.2	
				Staff for Previous Year Schools (Secondary)						
			<b>134.</b> b	Subject Teacher	2882	3.00000	8646	2882	3.0000	8646
				Total of Staff for Previous Year Schools (Secondary)			8646			8646
				eacher Salary achers)			39216			38220.6
	Total for Sal						39216.0 0			38220.6 0
Gender & Equity	Kasturba Gandhi Balika Vidyalaya	1 3 7		KGBV - Type - I (NR) (Previous Year) (Classes VI - VIII)						
	(KGBVs)		<b>137.</b> f	Furniture/ Equipment (including kitchen)	1	0.30000	0.3	1	0.3000	0.3
			<b>137.</b> g	TLM and equipment including library books	1	3.50000	3.5	1	3.5000	3.5
			137. h	Bedding	1	7.50000	7.5	100	0.0075 0	0.75
			<b>137.</b> i	Replacement of bedding (once in 3 years)	93	0.75000	69.75	9300	0.0075	69.75
				Total of KGBV - Type - I (NR) (Previous Year) (Classes VI -VIII)			81.05			74.3
		1 3 8		KGBV - Type - I (Recurring) (Previous Year) (Classes VI -VIII)						
			<b>138.</b> a	Fooding / Lodging per girl per month	9400	0.18000	1692	9400	0.1800 0	1692

		CO	OSTING						
Particu	ılars			Proposal		Final A	pproved	l Outlay	
	<b>138.</b> b	Stipend per girl per month	9400	0.01200	112.8	9400	0.0120	112.8	
	<b>138.</b> c	Supplementary TLM, Stationery and other educational material	9400	0.01000	94	9400	0.0100	94	
	<b>138.</b> d	1 Warden	94	4.20000	394.8	94	4.2000	394.8	
	<b>138.</b> f	4 - 5 Full Time Teachers	470	2.40000	1128	470	2.4000	1128	
	<b>138.</b> h	3 Part Time Teachers	282	0.84000	236.88	282	0.8400	236.88	
	<b>138.</b> i	1 Full Time Accountant	94	2.16000	203.04	94	2.1600	203.04	
	<b>138.</b> j	2 Support Staff – (Accountant/ Assistant, Peon, Chowkidar)	188	0.84000	157.92	188	0.8400	157.92	
	<b>138.</b> k	1 Head Cook	94	0.96000	90.24	94	0.9600	90.24	
	<b>138.</b>	2 Assistant Cook	188	0.84000	157.92	188	0.8400	157.92	
	<b>138.</b> m	Specific skill training per girl	9400	0.01000	94	9400	0.0100	94	
	<b>138.</b> n	Electricity / Water Charges	9400	0.01000	94	9400	0.0100	94	
	<b>138.</b> 0	Medical care / Contingencies	9400	0.01250	117.5	9400	0.0125 0	117.5	
	<b>138.</b> p	Maintenance	9400	0.00750	70.5	9400	0.0075	70.5	
	<b>138.</b> q	Miscellaneous	9400	0.00750	70.5	9400	0.0075	70.5	
	<b>138.</b> r	Preparatory Camps	9400	0.00200	18.8	94	0.0700	6.58	
	<b>138.</b> s	P.T.A.	9400	0.00300	28.2	9400	0.0030	28.2	
	<b>138.</b> t	Provision of Rent	1	10.00000	10	1	9.6000	9.6	
	<b>138.</b> u	Capacity Building	9400	0.00500	47	94	0.1000	9.4	
	<b>138.</b> v	Physical / Self Defence	9400	0.00200	18.8	94	0.1000	9.4	
		Total of KGBV - Type - I (Recurring) (Previous Year) (Classes VI -VIII)			4836.9			4777.28	
1 5 0		KGBV - Type - IV (Recurring) (Previous Year) (Classes IX - XII)							
	<b>150.</b> a	Food/Lodging per child per month	7400	0.18000	1332	7400	0.1800 0	1332	
	<b>150.</b> e	1 Warden	74	0.60000	44.4	74	0.6000	44.4	
	<b>150.</b> g	1 Chowkidar	74	1.20000	88.8	74	0.8400	62.16	
	<b>150.</b> h	1 Head Cook	74	1.20000	88.8	74	0.9600 0	71.04	

		C	OSTING			T 10 1			
Pa	rticulars			Proposa				d Outlay	
	<b>150</b> . i	2 Assistant Cook	148	1.08000	159.84	148	0.8400	124.32	
	<b>150</b> . k	Electricity / Water Charges	74	0.60000	44.4	74	0.6000	44.4	
	<b>150.</b> l	Medical care / Contingencies	7400	0.00750	55.5	7400	0.0075	55.5	
	<b>150.</b> m	Maintenance	74	0.40000	29.6	74	0.3500	25.9	
	<b>150.</b> n	Miscellaneous	74	0.40000	29.6	74	0.3500	25.9	
	<b>150.</b> u	News Papers / Magazine & Supports	74	0.24000	17.76	74	0.0200	1.48	
	<b>150.</b> v	Toiletaries & Sanitation	7400	0.01200	88.8	7400	0.0085 0	62.9	
		Total of KGBV - Type - IV (Recurring) (Previous Year) (Classes IX - XII)			1979.5			1850	
	1 5 4	Porta Cabin (Hostels) - Recurring (Previous Year)							
	<b>154.</b> a	Food/Lodging per child per month	5450	0.18000	981	5450	0.1800 0	981	
	<b>154.</b> e	1 Warden	58	0.60000	34.8	58	0.6000	34.8	
	<b>154.</b> g	1 Chowkidar	58	1.20000	69.6	58	0.8400	48.72	
	<b>154.</b> h	1 Head Cook	58	1.20000	69.6	58	0.8400	48.72	
	<b>154.</b> i	2 Assistant Cook	116	1.08000	125.28	116	0.8400	97.44	
	<b>154.</b> k	Electricity / Water Charges	58	0.60000	34.8	58	0.6000	34.8	
	<b>154.</b>	Medical care / Contingencies	5450	0.00750	40.875	5450	0.0075 0	40.875	
	154. m	Maintenance	58	0.40000	23.2	58	0.4000	23.2	
	<b>154.</b> n	Miscellaneous	58	0.40000	23.2	58	0.4000	23.2	
	<b>154.</b> u	News Papers / Magazine & Supports	58	0.24000	13.92	58	0.1000	5.8	
	154. v	Toilet and Sanitation	1950	0.01200	23.4	1950	0.0075	14.625	
		Total of Porta Cabin (Hostels) - Recurring (Previous Year)			1439.68			1353.18	
		Kasturba Gandhi			8337.12			8054.76	
Special Projects for Equity	Balika Vi   1   5   8	dyalaya (KGBVs)  Project- Girls Empowerment (Secondary)							
11-4	158. b	Training in Martial Arts to all girls / Self Defence	1074	0.15000	161.1	1074	0.0900	96.66	

				C	OSTING					
	Pa	rtic	ulars			Proposa	l	Final A	pprove	d Outlay
				Total of Project- Girls Empowerment (Secondary)			161.1			96.66
			tal of S uity	pecial Projects for			161.1			96.66
	Self defence training for	1 5 9		Self Defence Training (up to Highest Class VIII)						
	Girls		<b>159.</b> a	Self Defence Training (Upto Class VIII)	9051	0.09000	814.59	9051	0.0900	814.59
				Total of Self Defence Training (up to Highest Class VIII)			814.59			814.59
			tal of S Girls	elf defence training			814.59			814.59
	Total for Ge			ity			9312.82			8966.01
Inclusiv e Educati	Provision for Children	1 6 0		Inclusive Education (up to Highest Class VIII)						
on	with Special		160.	Equipments for Resource Room	150	3.50000	525	150	3.5000	525
	Needs (CWSN) -			LD based Training for 4 days	4629	0.00800	37.032	4629	0.0080	37.032
	Recurring			Renovation of District Resource Centre	16	5.00000	80	16	5.0000	80
				Skill Development Prog for MR Children 5 days	1784	0.04000	71.36	1784	0.0400	71.36
			<b>160.</b> a	Sports Events	26	4.00000	104	26	1.0000	26
			<b>160.</b> aq	Exposure Visit	166	0.14000	23.24	166	0.1400	23.24
			<b>160</b> .	Purchase/Developm ent of instructional materials	46901	0.00200	93.802	46901	0.0020	93.802
			<b>160.</b> f	Helper/Ayas/Attend ant	136	0.72000	97.92	136	0.7200 0	97.92
			<b>160.</b> g	Braille Stationary Material (Inc. Embossed Charts, globes etc)	317	0.50000	158.5	317	0.2000	63.4
			<b>160.</b> h	Providing Aids & Appliances	15259	0.01000	152.59	15259	0.0100	152.59
			<b>160.</b> i	Identification and Assessment (Medical Assessment Camps)	139	2.90000	403.1	139	0.5000	69.5
			<b>160.</b> l	Assistive Devices,Equipments and TLM	1974	0.08000	157.92	1974	0.0800	157.92
			<b>160.</b> m	Transportation allowance	2796	0.03000	83.88	2796	0.0300	83.88
			<b>160.</b> n	Stipend for Girls	17662	0.02000	353.24	17662	0.0200	353.24
			<b>160.</b> 0	In-service Training	248	0.02500	6.2	248	0.0250	6.2

			CO	OSTING					
Particulars				Proposal		Final A	pprove	d Outlay	
			of Special Educators					0	
		<b>160.</b> p	Environment Building programme	6394	0.00800	51.152	6394	0.0080	51.152
		<b>160.</b> q	Orientation of Principals, Educational administrators, parents / guardians etc.	602	0.00500	3.01	602	0.0050	3.01
		<b>160.</b> u	Development of Training Material	106	0.02500	2.65	106	0.0250	2.65
		<b>160.</b> v	Escort Allowance	4010	0.03000	120.3	4010	0.0300	120.3
		160. w	Home Base Education	2423	0.00500	12.115	2423	0.0050 0	12.115
	1		Total of Inclusive Education (up to Highest Class VIII) Inclusive			2537.01			2030.31
	6 1		Education (Student Oriented Components) (up to Highest Class X or XII)						
		<b>161.</b> f	Braille Stationary Material (Inc. Embossed Charts, globes etc)	171	0.02000	3.42	171	0.0200	3.42
		<b>161.</b> g	Providing Aids & Appliances	4234	0.01000	42.34	4234	0.0100	42.34
		<b>161.</b> h	Identification and Assessment (Medical Assessment Camps))	4234	0.00200	8.468	4234	0.0020	8.468
		<b>161.</b> i	Reader Allowance	171	0.02000	3.42	171	0.0200	3.42
		<b>161.</b> j	Uniform	4234	0.00600	25.404	4234	0.0060 0	25.404
		<b>161</b> . k	Assistive Devices,Equipments and TLM	4234	0.01000	42.34	4234	0.0100	42.34
		<b>161.</b>	Escort Allowance	171	0.02000	3.42	171	0.0200	3.42
		<b>161.</b> m	Sports & Exposure Visit	4234	0.01000	42.34	4234	0.0100	42.34
		<b>161.</b> n	Stipend for Girls	1906	0.02000	38.12	1906	0.0200	38.12
		161. 0	Transportation allowance	171	0.01000	1.71	171	0.0100	1.71
			Total of Inclusive Education (Student Oriented Components) (up to Highest Class X or XII)			210.98			210.98
	1 6 2		Inclusive Education (Recurring) (Upto						

				C	OSTING					
	Pa	rtic	ulars			Proposal		Final A	pprove	d Outlay
			100	Highest Class - XII)		0.40055			0.1055	
			<b>162.</b> c	Environment Building programme	146	0.10000	14.6	146	0.1000	14.6
			<b>162.</b> d	Orientation of Principals, Educational administrators, parents / guardians etc.	135	0.01000	1.35	135	0.0100	1.35
				Total of Inclusive Education (Recurring) (Upto Highest Class - XII)			15.95			15.95
		Chi	ldren v	rovision for with Special Needs Recurring			2763.94			2257.24
	Total for Inc						2763.94			2257.24
Vocatio nal	Introductio n of	1 6		Recurring Support VE - Existing						
<b>Educati</b> Vocational	Vocational Education	6	166.	Internship for Higher secondary students	10000	0.04400	440	10000	0.0150	150
	Secondary and higher			Job Mela	3000	0.01000	30	28	0.5000	14
	Secondary		<b>166.</b> a	Financial Support for Vocational Teacher/ Trainer (Existing)	1092	2.64000	2882.88	1092	2.4000	2620.8
			<b>166.</b> b	Financial Support for Resource Persons (Existing)	546	2.01100	1098.006	546	2.0110	1098.00 6
			<b>166.</b> c	Raw material grant for new school per course (Existing)	546	3.62000	1976.52	546	3.6200	1976.52
		160	<b>166.</b> d	Cost of providing Hands Training Students (Existing)	546	1.93000	1053.78	546	1.9300 0	1053.78
			<b>166.</b> e	Assessment and Certification Cost (Existing)	51143	0.00600	306.858	50614	0.0060	303.684
			<b>166.</b> f	Office Expenses / Contingencies for School (Existing)	546	1.60900	878.514	546	1.6090 0	878.514
			<b>166.</b> h	In-service Training of VE - Teachers (5 - Days) - (Existing)	1092	0.02500	27.3	1092	0.0250	27.3
				Total of Recurring Support VE - Existing			8693.86			8122.6
		Voc Sec	cationa	ntroduction of al Education at y and higher			8693.86			8122.6
	Total for Vo						8693.86			8122.60
Monitor ing of	Monitoring Informatio	1 6		Monitoring of the Scheme						
the Scheme	n System (MIS)	9	<b>169.</b> c	Management Information System	20635 02	0.00002	41.27	578127 6	0.0000	115.625 52

				C	OSTING					
Particulars				Proposal			Final Approved Outlay			
				(Udise +)						
				Total of			41.27			115.63
				Monitoring of the						
				Scheme						
				Ionitoring			41.27			115.63
				on System (MIS)						
	Total for Mo		ring of				41.27			115.63
Progra	Program	1		Program						
m	Manageme	7		Management						
Manage	nt	0	170	(MMER) (I - XII)		1015500	1015500		06604	066045
ment			<b>170.</b> a	Program	1	10457.99	10457.99	1	8668.1	8668.15
				Management					5380	4
				(MMER) (I - XII)			10457.9			8668.15
				Total of Program Management			9			8008.15
				(MMER) (I - XII)			9			
		Tot	tal of P	rogram			10457.9			8668.15
			nagem				9			0000.13
Total for Program Management					10457.9			8668.15		
		- B- W-					9			0000110
Total	l .				1		234536.			182031.
							62			23

Final Approval								
Scheme Name	NON Recuring	Recuring	Total					
<b>Elementary Education</b>	2910.92	139510.81	142421.73					
Secondary Education	6359.39	30899.66	37259.05					
Teacher Education	0	2350.44	2350.44					
Total	9270.31	172760.91	182031.23					

Final Approval						
Major Component	Total					
Access & Retention	20797.63					
RTE Entitlements	30098.62					
<b>Quality Interventions</b>	58447					
Teacher Education	2350.44					
Salary of Teachers	38220.6					
Gender & Equity	8966.01					
Inclusive Education	2257.24					
<b>Vocational Education</b>	8122.6					
Sports & Physical Education	3987.3					
Monitoring of the Scheme	115.63					
Program Management	8668.15					
Total	182031.23					